Ref Year mod h min (GMT) sLat Long Depth Mag. 1 Mag. 2	Int N
THE SEAL ME IS MAIN (CALL) SHALL MONEY SEPTEMBER. A MAY. A	T11 / 21
QUE B 1956 1 19 19 50 32 29.5 81.5	
BCIS 1956 1 19 19 50 33 30 81.5	
SHL B 1956 1 19 19 50 40 29 82 *CGS 1956 7 3 10 17 57 28 84.5	
BCIS 1956 7 3 10 17 56 28 25 85	
*ISS 1956 10 10 15 31 36 28.15 77.67 6.5 TN2	8MM
CGS 1956 10 10 15 31 34 28.5 78	
SHL B 1956 10 10 15 31 40 28.4 78.5 6.01	KIR
*BCIS 1957 3 1 15 40 6 29.5 79.75	to the second
QUE B 1957 3 1 15 40 6 29.5 79.75 SHL B 1957 3 1 15 40 9 29.2 80.2	
*ISS 1957 4 14 7 11 52 30.64 84.21	
BCIS 1957 4 14 7 11 50 31 84.5 6.25	PAS
CGS 1957 4 14 7 11 50 31 84.5	
SHL B 1957 4 14 7 11 50 31 84.5	
MOS B 1957 4 14 7 11 53 30 84.5 *BCIS 1957 4 14 16 36 48 31 84.5	
MOS B 1957 4 14 16 36 50 30 84.5	
*CGS 1957 4 22 0 18 16 30.5 84.5	
SHL B 1957 4 22 0 18 20 30 85	
*ISS 1957 4 22 1 42 18 30.85 84.31	
CGS 1957 4 22 1 42 15 30.5 84.5 *QUE B 1957 12 9 21 17 30 30 79.75	•
*ISS 1958 1 23 5 30 10 30 77 84.16	
CGS 1958 1 23 5 30 10 30.5 84	
SHL B 1958 1 23 5 30 20 29 84 5.88	KEW
*BCIS 1958 3 31 3 42 45 29.5 82	
SHL B 1958 3 31 3 42 45 29.5 82 *SHL B 1958 4 30 9 33 35 28.5 82	
*BCIS 1958 8 12 12 23 52 30.5 81.5	
*BCIS 1958 8 12 12 40 2 30.5 81.5	
*QUE B 1958 8 15 16 0 15 29. 75 81. 25	
*BCIS 1958 9 1 8 48 36 26.5 75	
*ISS 1958 10 28 10 46 32 30.61 84.47 SHL B 1958 10 28 10 46 25 31 85 6.63 SHL	
SHL B 1958 10 28 10 46 25 31 85 6.63 SHL CGS 1958 10 28 10 46 27 30.5 85	
MOS B 1958 10 28 10 46 37 30.5 85 6.4	UPP
*ISS 1958 11 3 14 31 37 30.51 84.5	
MOS B 1958 11 3 14 31 20 30 84.5	
SHL B 1958 11 3 14 31 30 31 85 CGS 1958 11 3 14 31 35 30 84.5	
BCIS 1958 11 3 14 31 37 30 84	
QUE B 1958 11 3 14 31 39 30.5 84.5	
*ISS 1958 11 23 20 15 48 28 79 86 94	
MOS B 1958 11 23 20 15 40 29 87	
CGS 1958 11 23 20 15 48 29 87	
*QUE B 1958 11 25 4 0 12 27 86.5 SHL B 1958 11 25 4 0 15 26.5 86.5	F
*CGS 1958 12 3 2 23 40 27 86	F
	•
SHL B 1958 12 3 2 23 35 27 87.5	, F
*ISS 1958 12 28 5 34 38 30.01 79.94 6.3 TN2 CGS 1958 12 28 5 34 36 29.5 80	e e e e e e e e e e e e e e e e e e e
QUE B 1958 12 28 5 34 40 29.5 80 6.34	MAT
SHL B 1958 12 28 5 34 44 29 81	
MOS B 1958 12 28 5 34 50 31.5 80.5	* .
*ISS 1958 12 31 3 45 15 30.09 79.86 6 TN2	

Ref		iear n	10 a	2 .	n	min (GMT)	ន	Lat	цонд	Depth M	ag.1	Mag. 2	Int	. TA .
CGS		1958 1			3	45	18	30, 5	70.5					
JUE	В		2 3		3	45	18	30	. 80					
SHL.	В		2 3		3	45	25	30	79. 5		•			
* SS		1959	5 1		0	35	47	32.4						
PEK	В	1959	5 1		0	35	42	32. 5	79		6.3 QUE			
CGS		1959	5 1		0	35	46	32. 5	79					
KOS -	В	1959	5 1		0	35	52	32. 5	79			6. 3 QUE		
PEK	В	1959	5 2			28	7	25. 5	90		5 PEK			
MOS .	В	1959	5 2			28	20	25. 5	90			5 PEK		
*BCIS					13	1	30	35	80					
*PEK	В				10	46	49	34	79			•		
*BCIS				8.	0	. 0	42	28.5	82.5					
*BCIS			11		16	29	30	31	81				~1111	
*BCIS				5	7	9	45	27	88				5MM	
*CGS		1960	1:	4	3	57	3	26	90				 -	
QUE	В	1960	1	4	3	57	14	26	90				F	
QUE	В	1960	2	4	10	20	47	35	77	^				
*ISS		1960		5		25	3	29.49	81. 19	0.				
CGS	Β.	1960		5		25	7	29	81					
QUE	B	1960		5		25	<u>7</u>	29 29	81 82				·	
MOS	В	1960		5 5		25 25			82 82					
SHL	В	1960				25 50	10 38	29 29	81					
*CGS →	ь	1960			23 23	49	30	29 29	82					
shl Que	8 8	1960 1960			23	50	38	29				*		
	Đ	1960			14	36	27	25.5	89.5			•		
*CGS *SHL	D	1960		8	1	38	20	35	79			•		
SHL	B B	1960			10	42	45	26.5	89.9		5. 5 MAT			
*CGS	U	1960	8 2		3	29	4. 9	27	88. 5	29	O. O marti	*		
301S		1960	8 2		3	29	4. 9	27	88. 5	29				:
SHL	В	1960	8 2		-3	29	5	28	87. 3		5. 5 SHL			<u> </u>
*QUE	В	1960	8 2		12	31	2	27	90		O. O OIL	* .		
*CGS	•	1960	8 2			58	5 <u>9</u>	28. 6	76.7	58		e San		
TN2		1960	8 2			58	59	28. 2	77. 4		6		7MM	
SHL	В	1960	8 2	27	15	58	50	28	78			A Company of the Comp		
*BC1S	-	1960			19	39	58	29	85. 5					
*BCIS		1960		5	4	34	48	31	82				•	
*SHL	В	1961	2 1			10	20	28	81.5			45		
*ISS		1961	2 1	5	11	28	53		84. 35	41		and the state of the		
301S		1961	2 1	5	11	28	55	30.8	84. 4					
SHL	В		2 1	5	11	29		30	84. 6					
BICS		1961	3 2		23	. 11	38. 9	30.6	84, 4	24		•		
*ISS		1961		4	7	33	4	34. 18	81.93	11	*	4		
JUE	В	1961		4	7	32	48		82. 25		6. 5 PAS	the Harrison of		
10S	В	1961	_	4	7	33	5	34	- 82		* *	6 MOS		
SHL	В	1961		4	7	33	10	33	82					
×188				4	7	43	40	34. 16	82. 13	. 0				
*ISS				4	13	51	33		81.88	40				
×ISS			9 2		22	36	16	28. 33	88.05	0	•			
HL	В	1961	9 2		22	36	30	28	87				5MM	_
ISS					10	19	50	30. 92	87. 2	0				
(OS	В	1961 1	2		10	19	40	30.6	87	33		4 - 42°		
NI II	В				10	19	45	31.6	87		4.5 MOS			:
)IIL	В				10	19	:	46	31.6	87		4.5 MOS		
			2 2		7	13	30		80.83	59		•		
BM					7	13	26		80. 75		5. 7 UPP		•	
BM USS	В	1961 1	2 2	.+										
BM USS UE	8 B	1961 1 1961 1			7	13	48	32	81	·		4.75 MOS		
EBM (188 NUE (108		1961 1 1961 1 1961 1	2 2	4				32 28. 8	81 81. 5	·		4. 75 MOS		*
SHL EBM *1SS DUE HOS GHL	В	1961 1	2 2	4	7	13	48					4. 75 MOS		

Ref		Year	no d	h	min (G	mt)	s	Lat	Long	Deptl	Mag.1	Mag.2	Int N
* SS MOS	В	1962 1962	1 11 1 11	3		1	27 6	28. 05 27	84. 99 85	. 0	5 MOS		:
EBM	В	1962	1 11	3		1	16	27	85			5 PEK	
PEK	В	1962	1 11	3		1	27	28	85				
SHL	В	1962	1 11	3		1.	30	27	85			·	
*MOS Pek	B B	1962 1962	1 22			22	15 15	32 31	82 80. 5			•	,
*188	U	1962	6 17			22 39	15 39	33. 74	75. 83	88		•	
PEK	В	1962	6 17	4		39	27	33. 5	75. 5	00	5. 25 MOS		
MOS	В	1962	6 17			39	30	33. 2	75. 9		0. 20 1100	5. 25 MOS	
SHL	В	1962	6 17			39	30	33. 5	76.5				
QUE	В	1962	6 17			40	13	33. 5	76				
* \$\$		1962	7 13			1	6	30. 64	79. 48	0			
TN2	_	1962	7 13			. 1	9	30.9	79.6		5.5		
SHL	В	1962	7 13			1	10	30	80		4.5 MOS	. 5 1100	
MOS	В	1962	7 13]	12	30.7	79.3		. antv	4. 5 MOS	
QUE Pek	B B	1962 1962	7 13 7 13			1.	12 16	30 31	79. 5 80. 5		4 PEK	4 PEK	
* \$\$	D	1962	7 14			58	54	30. 64				4 I'LIX	
TN2		1962	7 14			58	54	30. 4			5.5		_
QUE	8	1962	7 14			58	52	30			4. 5 PEK		
MOS	В	1962	7 14			_58_	55	30.6	79.4			4. 75 MOS	
SHL	В	1962	7 14			58	55	30					:
PEK	_B	1962	7 14			58	59	31	80.5		100		+
*QUE	В	1962		18		43	35	33, 5				•	* •
*QUE	В	1962 1962	8 29 9 29			30 27	41 46	32. 75 28. 6			3. 5		
*IMD *MOS	В		9 29 10 29			6	48	20. 0 33			3. 3	4 MOS	•
*SHL	В	1963	1 22			55	40	32			4. 75 MOS	7 1100	
MOS	В	1963	1 22			55	6	31				4. 75 MOS	
PEK	В	1963	1 22			55	16	31.5					• •
*TN2		1963	1 30			33	50	29.4			5. 5		
SHL	В	1963	1 30			33	50	29. 5					
*CGS	_	1963	2 22	1		32	24. 1	27. 7			3 4.2		4.7
PEK	В	1963	2 22			32	20	27					
MOS SHL	B B	1963 1963	2 22			32 32	23 30	27. 1 27. 2	87. 7 87. 1	1			
*SHL	В	1963	3 5	2		35	10	28. 8					
MOS	В	1963	3 5		-	35	12						
*15S	-	1963	4 6	17		49		34. 28					
EBM	₿	1963		17	•	48	40	33	83		5 MOS		
PEK	В	1963		17	<u> </u>	48	47	33. 3				5 MOS	
PEK	В	1963	4 6			48	48	33. 5				•	
QUE	B	1963		17		48	51.8	32. 8			5. 3 QUE	E 0 00E	
SHL	В	1963 1963	4 6		-	48	55 29	33	83 78. 79		•	5. 3 QUE	
*ISS EBM	В	1963	4 12 4 12	0		41 41	3	30. 2			, 5.8 UPP		
PEK	В	1963	4 12			41	28		79. 25		0.0011	4. 75 PEK	
MOS	В	1963	4 12	Ö		41	30	32. 2	78. 9				,
SHL	В.	1963	4 12	Ö		41	50	30. 2					•
*QUE	В	1963	5 23	17		13	10	33	76			:	
ND I	В	1963	5 23	17		13	11	33	77	1 1 1	112		
MOS	В	1963	5 23		-	13	12	32.8					
*BCIS		1963		23		51		30					
* \$\$		1963	6 11			7	19						•
PEK	В	1963	6 11			7	13	30. 5 31. 3	87.5		4. 75 PEK		
QUE Mos	B B	1963 1963	6 11 6 11			7	15 19				4 7 QUE	4. 75 MOS	
INOO	ָט	1900	V II	10		ŧ	19	20.0	. 01.0			7. 10 1100	

Ref	Year mod h min (G	MT) sLat	Long Depthl	Mag.1	Mag.2	Int N
*QUE B *QUE B	1963 6 19 6	38 3 28.7		0 000		F
*QUE B *QUE B	1963 7 14 14 1963 9 1 1	48 23 30. 7 34 25 34. 4		8 CGS		
SHL B	1963 9 2 1	34 30 34	75	<u> </u>	5. 1 CGS	
*BCIS	1963 9 20 15	1 42 30				
*BCIS	1963 10 22 20	43 30 28.5				
*QUE B *TN2	1963 10 22 21 1963 11 27 21	22 26. 2 30. 3 10 40 30. 8		5. 1		
QUE B	1963 11 27 21	10 25 30.8		0. 1	•	
MOS B	1963 11 27 21	10 42 31.1	78. 9			
*MOS B	1963 12 3 15	58 16 33. 5				
*SHL B *MOS B	1963 12 3 17 1963 12 15 7	8 35 28.8 33 21 34.5				
*#US D * SC	1964 1 25 7	13 32.6 28.27				25
MOS	1964 1 25 7	13 30 28.4	87			
USCGS	1964 1 25 7	13 30.8 28.5		4. 5 BUSCGS		
*180	1964 2 1 11	28 19. 2 27. 3		4. 8 BISC		20
USCGS *1SC	1964 2 1 11 1964 2 8 11	28 19.4 27.4 54 23.1 29		4. 8 BUSCGS		- 16
SHL	1964 2 8 11	54 20 29				10
USCGS	1964 2 8 11	54 23.1 29	82. 2 33		• • •	
*ND1	1964 2 16 10	6 37 29		F 5100		40
*ISC	1964 3 27 23 1964 3 27 23	3 41.1 27.3 3 41 26.8		5 BISC	4. 5 MOS	46
MOS USCGS	1964 3 27 23 1964 3 27 23	3 41 26.8 3 41.7 27.6		6. 3 BUSCGS	4. 0 muo	
*ISC	1964 5 4 19	22 36.5 31.1	80. 5 0	0. 0 D		6
NDI	1964 5 4 19	22 51 29.4				
*ISC	1964 5 24 0	0 48.5 30.04		5 BISC		57
ND I USCGS	1964 5 24 0 1964 5 24 0	0 47 29.5 0 50.2 30.1		5. 1 BUSCGS		
MOS	1964 5 24 0	1 30.7		0. 1 000000		
*SJ\$	1964 5 27	30, 5	78. 1	•		5MM
*1SC	1964 6 16 18	13 10 28				
*ND1	1964 8 13 11 1964 8 30 2	22 52 29.5 35 7.3 27.36		5. 1 BISC		78
*1SC SHL	1964 8 30 2	35 7. 3 27. 30 35 5 27		J. 1 DISC		10
NOS	1964 8 30 2	35 6 27.1			5 NOS	**
USCGS	1964 8 30 2	35 8. 1 27. 6		5. 2 BUSCGS	17	
*!SC	1964 8 30 5	12 32. 2 27. 9				6
*1SC *1SC	1964 8 31 17 1964 9 11 4	30 10 29 51 49, 4 31, 35		٠	•	8 :
*ISC	1964 9 14 17	21 12 30.2				9
*ISC	1964 9 16 22	37 35 35	76		•	
*1SC	1964 9 26 0	46 2.6 29.96		5.8 BISC	·	155
USCGS	1964 9 26 0 1964 9 26 0	46 2. 8 30. 1 46 3 30. 4		6. 2 BUSCGS	5. 75 MOS	
MOS SHL	1964 9 26 0 1964 9 26 0	46 5 29		•	J. 75 mos	
*1SC	1964 10 2 20	9 30 28.2				
*1SC	1964 10 4 4	22 44. 6 32. 48				8
*1SC	1964 10 6 20	19 32.1 29.4		5. 3 BISC	:	87
USCGS SHI	1964 10 6 20 1964 10 6 20	19 34. 1 29. 3 19 35 29		5. 1 BUSCGS		
SHL Mos	1964 10 6 20	19 38 29 7			5 MOS	
*ISC	1964 10 7 16	8 35 29.3		<u> </u>	- 14-0	10
*1SC	1964 10 7 23	4 47.9 32.5	83. 8 33			<u>10</u>
USCGS	1964 10 7 23	4 47.9 32.7	83.9 33	,		4 ¬
* \$C	1964 10 10 4 1964 10 10 4	47 47. 6 32. 28 47 43 32. 2				: 17
ND I	1304 10 10 4	40 02. Δ	07. U			*

Re <i>£</i>	Year mod h min	(GMT)	s Lat	Long	Depth M	fag.1	Mag.2	Int N
USCGS	1964 10 10 4	47	1 5. 7 32	87. 3	20			
*ISC	1964 10 19 2	16	4.6 31.84		72			!
¥OS	1964 10 19 2	15	57 31.2					
JSCGS	1964 10 19 2		58. 1 31. 4		33	4. 8 BUSCGS		
*1SC	1964 10 25 15	40	7 27.9		0	4. 0 D00000		
NDI	1964 10 25 15	40	9 27.8		v			
					70	E DIOA		r
kISC	1964 11 9 16		51. 9 29. 53		33	5 BISC		5
JSCGS	1964 11 9 16		50, 6 29, 5		33	4. 7 BUSCGS		
10S	1964 11 9 16	12	57 29.9				4. 5 MOS	
*ISC	1964 12 2 8		11.7 29.5 8		3	5. 1 BISC		5
USCGS	1964 12 2 8	21	13.3 29.5	81.3	23	5. 1 BUSCGS		
NOS	1964 12 2 8	21	49 30	80.9			4.75 MOS	
*ISC	1964 12 3 9		35.6 29.4		48			
NDI	1964 12 3 9	25	38 29				•	
*ISC	1964 12 3 11		10. 1 31. 49		33	4. 4 BISC	*	. 1
	1964 12 6 16	12	31. 43		. 00	4. 4 DISO		ſ
*ISC								
*ISC	1964 12 15 19	9	14 27.8		33	P 0 P 00	E +	
kISC	1964 12 20 3		32. 1 29. 35		9	5.3 BISC		4
JSCGS	1964 12 20 3	31	36 29.5		33	5. 2 BUSCGS		
NOS	1964 12 20 3	31	38 29.7	81			4.5 MOS	
*ISC	1965 1 12 13	32	24. 1 27. 4	87.84	23	5.8 B SC		15
PEK	1965 1 12 13	32		87. 75	- :		5. 75 PEK	
QUE.	1965 1 12 13	32	23 28		33	5.5 QUE		
USCGS	1965 1 12 13	32	24 47.6			6. 1 BUSCGS) .	
SHL		32	25 26.8			0. 1 posous		
							E E NOC	
YOS	1965 1 12 13	32	<u>26 27.5</u>			- F 0 0100	5.5 MOS	
*ISC	1965 1 12 13		18. 1 27. 31			5. 2 BISC		5
PEK	1965 1 12 13	55	17 28	87.75				
USCGS	1965 1 12 13	55	20 27. 3			5. 3 BUSCGS	3	
*1SC	1965 1 17 3	58	37.5 30.98	77.2	101		•	
*ISC	1965 1 21 13	31	30, 8 34, 83	86, 85	34	4.9 BISC	*	5
Mos	1965 1 21 13	31	25 34.8				5 MOS	
PEK	1965 1 21 13	31	26 35				- 1	
USCGS	1965 1 21 13		29. 4 34. 6			5 BUSCGS		
*1SC	1965 2 21 3		36. 7 32. 79			4. 5 BISC	•	1
								,
USCGS	1965 2 21 3		35. <u>1</u> 32. 4			4. 5 BUSCGS	<u> </u>	
*ISC	1965 3 11 14	57	43 30. 2				•	
*ISC	1965 3 18 2		30. 3 29. 55			5 BICC		. 3
USCGS	1965 3 18 2	41	27.6 29.9			5. 2 BUSCGS		
PEK	1965 3 18 2	41	32 30.5	18			4. 25 PEK	
*ISC	1965 3 27 20	45	51 27.3					
*ISC	1965 3 30 22		13.7 31.70		Ō	4.5 BISC		٦
NDI	1965 3 30 22	31	27 30.3			1. 0 D100	•	
							•	
*ISC	1965 3 31 10	42		80. 25				•
NDI	1965 3 31 10	42		80, 3		*	•	
*NDI	1965 4 13 6	34		76.6				
*ISC	1965 4 14 22	35	30.6 29.41	81. 22	69			
*ND I	1965 4 14 22	35	30 = 29. 2	81. 1				
*ISC	1965 4 20 5		19.8 33.86		89			
USCGS	1965 4 20 5		24. 4 34. 1					
							• •	
*1SC	1965 4 30 9	16		84.3		4 6 5100		,
*1SC	1965 5 13 10			80. 19	75	4.8 BISC		,
SHL	1965 5 13 10	51	10 30		. :		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
USCGS	1965 5 13 10	50	15. 5 29. 8	80.5	33	5.1 BUSCGS	3	
PEK	1965 5 13 10	51	22 29.75			•	•	
*ND!	1965 5 25 9	Ž	16 30.2					
*ISC	1965 5 30 6			80. 92				
			2 U. 7 LV. 1					
ND1	1965 5 30 6	17	16 29.5	80.5				

Ref	Year mod h mi	n (GMT)	s Lat	Long	Depth.	Mag.1	Mag.2	Int N
*ISC	1965 5 31 2	4	42. 9 32. 65	77.99	28	5. 1 BISC		112
USCGS	1965 5 31 2	4	42. 9 32. 6	78. 2		5. 3 BUSCGS		• • • •
MOS	1965 5 31 2	4	44 32.8			!	5. 25 MOS	
PEK	1965 5 31 2	4	45 33					
*1SC	1965 6 1 2	28	55 32.4			4. 3 BISC		12
*ISC	1965 6 1 7 1965 6 1 7	52	25. 1 28. 59 24. 2 28. 9		20 20	5. 3 BISC 5. 3 BUSCGS		118
USCGS Pek	1965 6 1 7 1965 6 1 7	52 52	25 29			5. 5 postes	4. 75 PEK	
OUE	1965 6 1 7	<u>52</u>	25 28. S			5. 4 QUE	-1, 10 LR	
SHL	1965 6 1 7	52	30 2					
*ISC	1965 6 14 13	17	2, 4 32, 09			5. 2 BISC		94
PEK	1965 6 14 13	16	55 32. 25				4. 75 PEK	
USCGS	1965 6 14 13	17	1.2 3			5. 6 BUSCGS	F 1100	
MOS	1965 6 14 13	17	2 32. 8. 2 32. 04			4. 8 BISC	5 MOS	45
*ISC PEK	1965 6 16 23 1965 6 16 23	49 49		1 87.46 2 87.25		4. 0 DISC	4. 25 PEK	40
USCGS	1965 6 16 23	49	7 4 32.			5. 1 BUSCGS	4. 20 I ER	
*1SC	1965 6 17 20	14	50.1 32.12			5, 1	100	_133
PEK	1965 6 17 20	14	49 32. 2				5. 5 PEK	
USCGS	1965 6 17 20	14	49.8 3.			5. 3 BUSCGS		
QUE	1965 6 17 20	14	51 32.				•	1
MOS	1965 6 17 20	14	53 32.			5. 75 MOS		
SHL	1965 6 17 20	15	10 30			E 1 DICO		95
*1SC PEK	1965 6 18 1 1965 6 18 1	18 18	39 32.0 35 32.3			5. 1 BISC	4. 75 PEK	95
MOS	1965 6 18 1	18	39 32.				T. / J L.N	
QUE	1965 6 18 1	18	40 31.		33			
USCGS	1965 6 18 1	18	41.1 32.			5. 2 BUSCGS		
*USCGS	1965 7 3 17	10	16 32.			4. 4 BUSCGS		
*QUE	1965 10 11 20	15	15 33.1			5. 2 QUE	•	* * * * * * * * * * * * * * * * * * * *
*ND(1965 10 23 17	17	54 32					
QUE	1965 10 23 17 1965 11 5 22	18 18	10 32.5 18 32.					
*QUE *USCGS	1965 11 5 22 1965 11 14 5	13	15. 8 34.			4. 8 BUSCGS		. •
*TN2	1965 11 18 2	41	28 29.			5. 2		
*NDI	1965 12 29 14	13	57 31.					
*1SC	1966 1 11 12	42	8 27.		33			: 8
USCGS	1966 1 11 12	42	6 27.			4. 5 BUSCGS		
*ND I	1966 1 25 15	2	10 31.					. **
*NDI	1966 2 16 3	25	57 28.3			5. 3 BISC		116
*1SC USCGS	1966 3 6 2 1966 3 6 2	10 10	52 31.5 53.6 31.0			5. 7 BUSCGS		116
QUE	1966 3 6 2	11	3 31.4			5. 4 QUE		
*ISC	1966 3 6 2	15	57. 2 31. 49			6 BISC		209
MOS	1966 3 6 2	15	56 31.				6.5 MOS	
USCGS	1966 3 6 2	15	57. 2 31.		50	6 BUSCGS		
iSC	1966 3 6 19	9	25 31.6				.	9
USCGS	1966 3 6 19	9	24. 6 31.			4.8 BUSCGS		
*1SC	1966 3 9 15	6	28. 2 34. 6			4. 2 BISC		12
USCGS	1966 3 9 15 1966 3 16 0	6 8	27. 5 34. 1 17. 3 33. 23	80, 4 75, 91	33 33	4. 5 BUSCGS 4. 7 BISC	151	52
*ISC QUE	1966 3 16 0	8	15 33.4		160	4. / 0130		. : JZ
USCGS	1966 3 16 0	8	17. 9 33. 3		36	5 BUSCGS		
*1SC	1966 3 17 5	44	47. 9 31. 6		11	4. 7 BISC		29
USCGS	1966 3 17 5	44	47.7 31.6		11	4. 9 BUSCGS		
USCGS	1966 3 23 22	52	24. 2 25. 9	90		4. 4 BUSCGS		
*ND1	1966 4 23 6	3	8 28.4	86.7				
*QUE	1966 6 10 7	27	50 29.8	76	287			

				. :			•	
e£	Year mod h	min (GMT)	s Lat	Long	Depth:	Mag.1	Mag.2	Int N
ISC	1966 6 20 13	42	57 28.		53	4. 7 BISC		15
SCGS ISC	1966 6 20 13 1966 6 25 12	42 5	56. 5 28. 1 4. 1 30. 4		34 45	4. 7 BUSCGS 4. 8 BISC		20
SCGS	1966 6 25 12	5	3.8 30.	5 82. 3	46	5. 1 BUSCGS		
ISC SCGS	1966 6 27 10 1966 6 27 10	41 41	8. 1 29. 65 7. 8 29. 6		33 33	6 BISC 6 BUSCGS	ŧ	239
OS	1966 6 27 10	41	8 29.	7 80.8			6. 25 MOS	
JE ISC	1966 6 27 10 1966 6 27 10	41 47	13 30, 2 45, 1 29, 59		100 43	5. 75 OUE 5. 3 BISC	•	27
SCGS	1966 6 27 10	47	45. 2 29. 5	80.9	43	5. 3 BUSCGS		
ISC SCGS	1966 6 27 10 1966 6 27 10		51 29.5 46 29.6		72 16	5. 4 BISC 5. 9 BUSCGS		99
OS	1966 6 27 10	49	49 29.	7 80. 9		•	5. 63 MOS	
ISC SCGS	1966 6 27 10 1966 6 27 10		18.1 29.7		36 13	6 BISC 6 BUSCGS		211
os Os	1966 6 27 10 1966 6 27 10	59 59	14. 1 29. 18 29. 18		13	0 003003	6.5 MOS	
JE	1966 6 27 10	59	30 29 9	80.2	100	6.5 QUE		ርግ
ISC SCGS	1966 6 27 11 1966 6 27 11	21 21	42 29.5 43.3 29.		26 33	5. 2 BISC 5. 3 BUSCGS		67
ISC	1966 6 27 13	55	49. 3 29. 62	80.93	. 18	5. 3 BISC		112
JE SCGS	1966 6 27 13 1966 6 27 13	55 55	49. 2 29. 49. 8 29.		33 19	5. 4 BUSCGS		
ISC	1966 6 28 15	43	38 29.	5 81	29	4.9 BIS		24
SCGS ISC	1966 6 28 15 1966 6 29 0	·	40.8 29.6 10 29.6		48 21	5. 2 BUSCGS 5. 2 BISC		17
SCGS	1966 6 29 0	42	9.3 29.8	81	15	5. 3 BUSCGS		
ISC Di	1966 7 13 14 1966 7 13 14		21.1 29.4 31 29.4		0			8
NDI	1966 7 17 0	:11	39 27.	3 87				_
ISC Dl	1966 7 29 6 1966 7 29 6		42 29.1 47 28.1		17			
ISC	1966 8 5 1	. 3	2. 1 32. 70	6 79.61	31	5. 2 BISC	1 1	131
SCGS UE	1966 8 5 1 1966 8 5 1	3 3	2. 4 32. 3 32.			5. 2 BUSCGS		•
ISC	1966 8 15 2	15	28 28.6	7 78. 93	5	5. 6 BISC		157
SCGS UE	1966 8 15 2 1966 8 15 2		34. 4 28. 35 29. 35			5. 6 BUSCGS 6. 2 QUE	a e e	
NDI	1966 9 3 6	40	11 2	7 85, 9		-		
ISC SCGS	1966 10 5 7 1966 10 5 7			3 81, 23 2 81, 1	33 33	4. 7 BISC		13
180	1966 10 13 12	42	42 31.4	80.19	29	4. 7 BISC		44
JE SCGS	1966 10 13 12 1966 10 13 12		35, 7 32, 42 31.		33 29	5. 3 QUE 5. 1 Buscgs		
ISC	1966 10 20 0	53	38. 7 33. 5	5 78.7	28	4.7 BISC		92
SCGS: ISC	1966 10 20 0 1966 11 5 18		39. 8 33. 0 3. 3 28. 2			5 BUSCGS 4. 8 BISC	4	43
SCGS	1966 11 5 18		3. 3 28.			5. 1 BUSCGS		40
ISC	1966 11 7 4		11 33.9			4. 7 BISC		43
SCGS ISC	1966 11 7 4 1966 12 15 19	_	14. 4 34. 52. 5 29. 8			4. 7 BUSCGS	4	5
)l	1966 12 15 19	43	56 29.	80.8		E 7 DICO		001
ISC OS	1966 12 16 20 1966 12 16 20		16. 3 29. 6 13 29.		19	5. 7 BISC	6 MOS	231
scgs	1966 12 16 20	52	16 29.	7 80.9		5. 8 BUSCGS		. *
UE ISC	1966 12 16 20 1966 12 16 22		20 29. 49. 7 29. 6			6. 2 QUE 4. 9 BISC		23
SCGS	1966 12 16 22	12	49.1 29.	80.9	7	5. 1 BUCGS		
ISC	1966 12 18 22	. 42	37 29.5	3 80. 91	16	4.7 BISC		17
			- 1 (М.				

Ref	Year mod h mi	n (GMT)	s	Lat	Long	DepthM	lag.1	Mag.2	Int N
JSCGS	1966 12 18 22	42 10	39. 3 59. 3	29. 5 29. 65	80. 9 80. 79	33	4. 9		0.4
⊁ISC JSCGS	1966 12 21 22 1966 12 21 22	10	48.8	29. 7	80. 8	21 21	5. 2 BISC 5. 4 BUSCGS		84
Jouan JUE	1966 12 21 22	11	40. 0	29. 7	80.8	33	5. 4 BUSUGS 5. 6 QUE		
rLAO	1966 12 28 3	59	7	28	89	00	J. V GUL		
*LAU *ISC	1967 1 2 22	39 17	56	30.6	79. 13	- 25	4. 7 BISC		23
JSCGS	1967 1 2 22	17	56. 3	30. 64	79. 27	25	4. 8 BUSCGS		۷.
⊁LAO	1967 1 5 20	19	4	30	86	20	4. U DUJUUS	5. 2 LA0	
*ND1	1967 1 25 0	47	39	29	81			U. Z. LNU	
*ISC	1967 2 10 5	46	29	33. 28	75. 29	21	4.8 BISC		60
DUE	1967 2 10 5	46	29	33.3	75. 4	- 160	5. 5 QUE		
JSCGS	1967 2 10 5	46	31.8		75. 29	35	4. 8 BUSCGS		
*ISC	1967 2 19 13	58	37	29.7	76. 5	191	1. 0 200042		
QUE	1967 2 19 13	58	25	31.3	78. 4	220			
NDI	1967 2 19 13	58	37	27.6	79.3	2.20		٠	
*ISC	1967 2 20 14	23	48. 7	33. 69	75. 42	38	4. 7 BISC	•	32
QUE	1967 2 20 14	23	45	33. 4	75. 4	96	4. 8 QUE		
USCGS	1967 2 20 14	23	48. 2	33. 68	75. 45	34	4. 7 BUSCGS	4 - 1	
NDI	1967 2 20 14	23	52	33	76. 7				
*ISC	1967 2 20 15	18	39		75. 33	20	5.5 BISC		209
USCGS	1967 2 20 15	18	38. 8	33.66		18	5. 6 BUSCGS		
NOS	1967 2 20 15	18	40	33.6	75. 2			5. 5 NOS	•
QUE	1967 2 20 15	18	40	33. 7	75. 4	100	6 QUE		
QUE	1967 2 20 15	39	48	33. 7	75. 4	96	4. 7 QUE		
JSCGS	1967 2 20 15	-39	49.5	33.84	75. 13	33	4. 3 BUSCGS		
kISC .	1967 2 21 1	20	12. 5	33.42	75	96			;
QUE	1967 2 21 1	20	9	33. 8	75. 3	96	4. 5 QUE		
*ISC	1967 2 21 11	29	32	33.6	75	150		·	
QUE	1967 2 21 11	29	28	33.6	75. 2	150	4. 6 QUE	: *	
*ISC	1967 2 21 12	37	43	33.65	75. 44	20	5 BISC		8
NE	1967 2 21 12	37	42	33.6	75 . 6	100	5. 5 QUE		
JSCGS	1967 2 21 12	37	46. 1		<u>75. 41</u>	41	5. 1 BUSCGS	** .	
*ISC	1967 2 24 0	17	38. 8		75. 39	32	4. 9 BISC	•	3:
JSCGS	1967 2 24 0	: 17	39. 7	33. 62		39	5 BUSCGS		
PQUE	1967 2 24 10	21	2	33	75. 6	90			
kISC	1967 3 2 11	47	13		86. 38	20	4. 8 BISC		1
JSCGS	1967 3 2 11	47	12. 7		86. 39	23	4. 9 BUSCGS		: 0.
*1SC	1967 3 11 18	45		29. 32		33	4. 6 BISC		29
JSCGS	1967 3 11 18	45	44. 5		81.41	33	4. 8 BUSCGS		4.4
kISC	1967 3 16 17	38	27	29.8	85	17	0 0 000000	and the second	10
USCGS	1967 3 16 17	38	26. 9	29.85	85	15	3.9 BUSCGS		
DUE	1967 3 26 22	38	40	33.7	75.4	96	 		
*ISC	1967 5 3 4	42	41.3	30. 17	81.76	0			,
VD (1967 5 3 4	42	46	29. 2	81.4				E1111
×IMD	1967 5 11 4	22	5	27	75. 2	40	4 o pico		5MM
*ISC	1967 7 2 8	32	39.7	33. 21	75.71	42	4. 8 BISC		·. · 7
JSCGS	1967 7 2 8	32	38. 5	33. 2	75. 6	33	4. 8 BUSCGS	A C OUC	
DUE	1967 7 2 8	32	41	3.3	75. 6	100		4.5 QUE	
kQUE	1967 7 2 18	29	22	33. 2	76	100		4.0140	
×LAO	1967 7 16 9	38	57	28	82			4. 9 LAO	
k)SC	1967 7 22 13	46	57	31.6	75. 1	0		•	İ
*ND1	1967 8 3 9	6_	26	30.2	79.6	:	E 0 1 40		
kLAO	1967 8 14 11	1	13	28	80		5. 2 LA0	E 0 140	
rLAO	1967 9 13 19	37	2	27	87	FA		5. 2 LAO	4
	1967 9 20 20	25	7	32. 9	76. 1	58			- 1:
rISC		^ F	F ^	20 2					
risc Jscgs Jue	1967 9 20 20 1967 9 20 20	25 25	5. 6 6	32. 6 33. 2	76. 1 76	59 33		•	:

Ref	Year mod h	min (GMT)	s Lat	Long	DepthMag.1	Mag.2	Int N
*ISC	1967 12 18 10	51	36. 4 29. 40	3 81.71	42 5	BISC	60
USCGS	1967 12 18 10		34. 8 29.			BUSCGS	
*ISC	1967 12 30 12	36	57 31.6			BISC	14
USCGS	1967 12 30 12		<u>55.8 31.</u>			BUSCGS	
*ISC	1968 1 5 6		44. 4 30. 4			BISC	69
USCGS	1968 1 5 6		44. 7 30.		7 5.4	BUSCGS	
*LAO	1968 2 7 1	22	6 30.9		0.0	4.71	LAO
*QUE *1SC	1968 2 8 17 1968 2 10 17	41 3	35 33.3 3 34.12		96	DICO	78
USCGS	1968 2 10 17	3	3 34.12 3.8 34.			BISC BUSCGS	10
*1SC	1968 2 11 2		11 33.			BISC	16
USCGS	1968 2 11 2		1. 2 34.			BUSCGS	
*ISC	1968 2 11 20		27 34.15			BISC	127
QUE	1968 2 11 20		26 34		96 5.3		
USCGS	1968 2 11 20		29.4 34.			BUSCGS	
*ISC	1968 2 11 23		18 34		62	Dilacoo	10
USCGS	1968 2 11 23		16 34.5			BUSCGS	***
*ISC USCGS	1968 5 27 18 1968 5 27 18		57. 7 29. 70 57 29. 7			BISC BUSCGS	40
*1SC	1968 5 31 3		35. 7 29. 9°			BISC	32
USCGS	1968 5 31 3		35, 7 29.			BUSCGS	. 02
USCGS	1968 7 3 19		53. 7 34.			BUSCGS	
*ISC	1968 10 12 19	6	27 31.	6 76.1	160		21
QUE	1968 10 12 19		21 32				
*ISC	1968 10 28 17		30. 1 27. 5			BISC	28
USCGS	1968 10 28 17	48	29.1 27.3			BUSCGS	
*ISC Que	1968 11 5 2 1968 11 5 2		44. 7 32. 2 42 32.			BISC	91 F
USCGS	1968 11 5 2		42 32. 44. 2 32.			BUSCGS	F
HOS	1968 11 5 2		45 32.			DOSOGO	٠
*ISC	1968 11 5 3		4 32. 2				19
USCGS	1968 11 5 3		8. 3 32.	4 76.6			•
* SC	1969 1 5 9		39 28.7				13
USCGS	1969 1 5 9		41.1 2				
*ISC	1969 1 23 20		21 32.1			.: Duogna	7
USCGS	1969 1 23 20		19.5 3			BUSCGS	. 7
*ISC Que	1969 1 23 23 1969 1 23 23		30 - 31. 1 23 - 32.				7
USCGS	1969 1 23 23		26 32.			4	•
*LAO	1969 2 4 5		2 28.			LAO	
LAO	1969 2 11 22		2 27.			6.3	LAO
*LAO	1969 2 11 22		57 28.	1 82. 7		6. 2	LAO
*LAO	1969 2 13 3	21	30 27.			5 1	LAO
*LAO	1969 2 13 6		36 28.			LAO	
*LAO	1969 2 13 10		54 28.				•
*LAO	1969 2 24 10		21 37.	9 85.6		A C	LAO
*LAO	1969 2 28 3 1969 3 3 6		16 32 21 30.0	3 80 4 79 84		4. 6 BISC	106
*ISC USCGS	1969 3 3 6 1969 3 3 6			2 79.9		BUSCGS	100
MOS	1969 3 3 6		25 30.			5	SMOS
QUE	1969 3 3 6		26 30.				
*ISC	1969 3 5 11			6 81 02			21
USCGS	1969 3 5 11	15	0.6 29.			BUSCGS	
*LAO	1969 3 7 8	6_	23 28.	1 83.8		4.8	
*LAO	1969 4 13 11	57	13 28.			4. 9	LAO
*TN2	1969 5 3 6		22 30.	2 79.9			مدم ما
*1SC	1969 6 22 1	33	23 30.			BISC	146
USCGS	1969 6 22 1	33	24. 1 30.	6 79.4	19 5. 4	BUSCGS	· F

MOS		1969	6 3	22 1		33	28	30.8	79.3				5.	2 SMOS		
*ISC		1969	8			53	45. 1	32. 31	82. 99	39	4. 5	BISC	٠.	E 011100		32
USCGS		1969		12 0		53	45	32. 3	83	39		BUSCGS				
QUE		1969		3 17		13	53	34. 2	75. 5	160						
*ISC		1969		3 0		43	14	32	75. 4	108						10
QUE		1969		3 . 0		43	10	32. 9	76. 1	160						
*ISC		1969	12	5 18		45	13. 9	29. 13	80, 95	33		BISC				29
USCGS				5 18		45	17. 4	29. 7	80.8	33	4. 9	BUSCGS				
MOS		1969		5 17		45	19	29.9	80. 9							
*ISC		1970		2 20		1	2	32. 5		96		100				15
*ISC		1970	-	17 18		33	2		76. 64	22	4. /	ISC				29
*ISC		1970		19 8		34	24. 9 8		77. 03 88. 5	96	A C	ISC				20
*ISC		1970	2	23 12		2 51	48.4	32.46	81. 57	24 25		ISC				28 109
*1SC *1SC		1970 1970		12 1 26 19		30	14. 5		85. 7	96		ISC				127
*1SC		1970		26 23		21	20	27. 3		31		ISC				22
*ISC		1970	3	5 18		34	21. 2	32. 32		33		ISC				55
*ISC		1970		16 3		47	7			57		ISC	•			31
* SC	•	1970		18 7		40	55		76. 6	18						10
*ISC		1970	6	11 10)	30	39. 9		75. 72							11
*QUE	ľ	1970		26 23		18	57	30.8		33	4. 5	QUE				4
*ISC		1970	7	2 (29	33. 7		75. 13	103						5
*LAO	1	1970	7	6		0	24					100				1
*1SC		1970		21 15		37			84. 84			ISC				30
*ISC		1970	7			35 6		25. 72		32 5		ISC ISC				103 40
* SC * SC		1970 1970	<u>8</u> 9	7 21		19	15 9	34. 25 33	79. 45 75. 2	54	4. 0	130	······································			14
*QUE	1	1971	1	1 1		6	10			33	4 9	QUE		•		רו
*ISC	•	1971	•	30 20		15	40. 9			56		BISC				36
*ISC		1971	2	6 21		37	21.5		75. 98	281			:			6
*QUE	1	1971		25		36	24	32.6		160						
*ISC		1971	5	3 (33	24. 6			27		BISC			* .	154
*ISC		1971	6	6 10		34	49. 6		85. 58	42	4.9	BUSGS				15
*QUE	l	1971	6			15	13		75	33		511 5				
*1SC		1971	6			10			83. 55	96	4. 1	QUE				27
*QUE		1971	8	<u>16 </u>		44 20	53 9 6	34. 9 32. 27		33 16		<u> </u>				6
* SC * SC		1971 1971				59		28. 29		57	ΛΩ	BISC				42
*1SC				29 17		16	47. 9		86. 43	6		BISC	- "			63
*ISC				22 19		22		32. 23		71		QUE				6
*QUE	1	1971				32	37	33. 2		50		QUE			•	
*ISC	•	1971		4 8		38	0. 2		87. 94	29		BISC	-			46
+HF\$1	1	1971	12	19 2		51	2. 3	25. 5		0				•		
+QUE	ļ	1971			<u>;</u>	50	3	34. 6		100		QUE				
* SC		1972		29 6		49	9. 6		76. 23	47		BQUE				34
*ISC		1972		4 14		8		30.34		18		BISC			1.10	81
*ISC		1972	2			2			80. 37	33		BISC				61
*1SC		1972	3			42		30. 52		12		BISC		-	÷',	106
*ISC		1972		8 6		42 50		29. 66 33. 19		120		BUSGS	•		100	25
⊧ISC ⊧ISC		1972 1972	4 :			50 19		34. 98		139 21		BQUE BISC		•		82
risc risc		1972	4 2			52		31. 33		32		BISC				96
kISC		1972	6			30		31. 84		1	J	2100				17
* \$C		1972		20 15		34		31.79		58	4. 2	BQUE			:	9
*ISC		1972		17 18		14		30. 74		33		BISC	ii.			32
*ISC		1972		21 14		4		27. 33		33		BISC		<u>. :</u>		53
×ISC		1972	8 2	21 18		55	7. 2	27. 22	88. 02	33	5. 1	BUSCGS	. :			24
*ISC		1972	9	6 2		51	27. 7	32. 49	78. 51	14	5	BISC	٠.			79

Ref	Year mod h min (GMT) s	Lat Long	Depth Mag. 1	Mag.2	Int N
*ISC	1972 10 26 14	5 55.5	32. 04 76. 34	82 4.4 BISC		20
*ISC	1972 11 6 10	56 13.5	26.87 88.42	59 4.4 BISC		61
*1SC	1972 11 7 6		31.78 77.32			
*ISC	1972 12 30 13	29 36. 4	33.64 87.66	38 4.4 BISC		41
*ISC	1972 12 30 23	54 6.3	33.6 87.54	33 4. 7 BISC	•	73
*\SC	1973 1 2 22	25 58.1	31.17 88.08	43 5.1 BISC		123
*1SC	1973 1 14 11	39 26	32. 94 75. 5	98 4.4 BQUE		. 15
*ISC	1973 1 16 21	31 25.9	33, 29 75, 83	39 5, 1 BISC		180
*ISC	1973 1 16 23	38 43, 2	33, 39 75, 79	56	•	. 11
*QUE	1973 1 17 1	8 16	33.3 76	96		-
*1SC	1973 1 23 23	51 14.9	33. 7 75. 81	33	•	7
*ISC	1973 2 10 6	51 20.8	30, 5 80, 33	0 4.6 BISC		13
* SC	1973 2 19 17	34 46	32. 57 88. 71	29		21
*\SC *\SC	1973 3 22 1 1973 4 1 9	6 57.4 45 27.2	28. 11 87. 14 32. 12 77. 83	33 5 BISC 90 5.6 BQUE		119 17
*ISC	1973 4 1 9		30. 78 83. 45	48 4. 5 BISC		32
*130 :*1\$C	1973 4 10 0	10 2.9	33. 17 75. 74			16
:*(MD	1973 6 26 18	2 19	27 75.2	01 4.70100		4MM
*ISC	1973 7 13 22	3 38.1	33, 17 75, 67	48 4.8 BISC		74
*ISC	1973 7 13 22		33. 18 75. 7	55 4.4 BISC		25
*ISC	1973 7 14 9		31.73 83.19	0		17
*ISC	1973 7 14 17		34.91 86.61	55 4.3 BISC	*	. 17
*1SC	1973 7 18 22	55 13. 2	33. 1 75. 54	63 4.6 BUSG	\$	14
*ISC	1973 7 18 23	25 7. 1	33. 05 75. 6	65		11
*QUE I	1973 7 20 20	41 42	33. 3 76. 2		* 7	
*ISC	1973 8 1 14	5 15.5	29. 58 89. 16	6.3 4.9 BISC		89
*ISC	1973 8 15 17		33. 15 86. 81	33 4.6 HFS		17
*1SC	1973 8 16 8	2 49.7	33, 24 86, 83			168
*ISC	1973 9 8 7	25 40. 9	33, 29 86, 82			247
*ISC *ISC	1973 9 8 7 1973 9 30 14	59 30 26 25.5	33. 18 86. 88 33 84. 61			86 16
*ISC	1973 9 30 14 1973 10 16 9	50 43.7	28. 35 82. 98			114
*1SC	1973 10 24 5	23 51.3	33. 14 75. 91	37 5. 3 BISC		197
*ISC	1973 10 24 14		33. 29 76. 11	142		6
*ISC	1973 10 24 19		33. 11 75. 92		· 	92
*ISC	1973 10 25 2		32.86 75.56			9
*ISC	1973 10 30 15		33.14 76.19	64 3.9 BUSG		10
*ISC	1973 11 21 19	47 56.4	34.62 81.11	25 5. 1 BISC		128
*ISC	1973 11 27 9		33. 18 86. 76			70
*ISC	1973 12 16 9		32. 36 76. 18			71
*ISC	1973 12 30 9		33.1 86.91	29 4. 7 BISO		21
*ISC	1974 1 2 17		27. 98 75. 12			7
*1SC	1974 1 3 7		27. 32 75. 18		0.	10
*ISC	1974 1 22 10		28. 09 88. 7			9
*1SC	1974 1 24 8	1 18.1	29. 42 89. 24			8
* SC	1974 2 11 16 1974 2 19 20		29. 19 85. 16 26. 84 89. 84			5 6
*180 *180	1974 2 19 20 1974 2 20 22		28. 19 76. 35			10
*ISC	1974 2 24 21		30. 96 78. 46			28
*ISC	1974 3 3 4		30. 74 86. 31	29 5. 4 BISC		127
*ISC	1974 3 6 17		32. 29 85. 59			25
*ISC	1974 3 13 6		29. 37 81. 38			21
*ISC	1974 3 14 12		34. 15 84. 46			- 8
*ISC	1974 3 24 14		27.66 86			299
*ISC	1974 3 24 16		27. 62 86. 01	3 4.7 BISC		81
*ISC	1974 3 26 17	46 0.5	27. 86 75. 52	33		. 8
*!SC	1974 4 13 23		33.1 81.01			7
*ISC	1974 4 20 16	<u> 25 52. 7</u>	31. 42 77. 39	62		8

Ref	Year mod h min	(GMT)	s Lat	Long	Depth k	fag. 1	Mag.2	Int N
*ISC	1974 5 6 1	7	3, 5 29, 34	81. 64	60.	4. 5 BISC		24
*ISC	1974 6 10 23	15	42. 7 30. 63			4.0 0100		8
*1SC	1974 6 11 9	17	21. 5 34. 06		40	4.1 BISC		8
*ISC	1974 6 22 17	31	3.4 30.77		33	1.		7
*ISC	1974 6 24 6	8	34, 2 30, 65	80.98	33		:	6
*ISC	1974 7 7 20	56	55, 3 30, 54		96	4. 7 BISC		89
*ISC	1974 9 27 5	26	33, 6 28, 59		20	5. 5 BISC	*	219
*ISC	1974 10 4 5	33	7. 3 28. 58		33		•	10
*ISC	1974 10 13 21	29	52. 2 34. 76		33	5. 1 BISC		87
*1SC	1974 10 31 4	<u>26</u>		84. 85	33	4. 5 BISC		<u>10</u> 25
*ISC	1974 11 10 6	55 10	51. 8 31. 38 34. 4 33. 01		33 36	4. 6 BISC 4. 8 BISC	•	29 59
*\SC *\SC	1974 11 16 16 1974 11 16 21	18 5	9.6 33.08		42	4. 6 proc		12
*130 *180	1974 11 21 6	16	37. 9 28. 72		33			8
*ISC	1974 11 22 6	51	36. 3 33. 5		49	4.6 BISC		20
*ISC	1974 11 27 11	57	4. 8 34. 49		61	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		- 11
*ISC	1974 12 1 10	54	51.3 33.99		33		•	11
*ISC	1974 12 23 9	45	42. 1 39. 32		45	5. 2 BISC		129
*ISC	1974 12 24 0	40	40.8 31.18		33	4.6 BISC		29
*18C	1975 1 19 8	0_	18 32.3		12.	5. 1 BISC		142
*ISC	1975 1 19 8	1	57. 7 32. 38		1	6. 2 BISC		355
*ISC	1975 1 19 8	12	9.8 31.93		49	2. 8 BISC		95
*ISC	1975 1 19 8	18	23.3 31.98		33	4.8 BISC		14
*1SC	1975 19 9	12	57. 8 32. 26 37. 5 32. 11	78, 66 79, 12	54	4. 6 BISC 3. 8 BUSGS		15 6
*1SC *1SC	1975 1 19 10 1975 1 19 13	39 4	37. 5 32. 11 36. 4 32. 11	79. 12 78. 66	33 33	4. 9 BISC		81
*1SC	1975 1 19 16	16	6. 7 32. 25		0	4. 7 BISC		. 13
*1SC	1975 1 19 17	41	6.8 32.8		33	4. 2 BISC	•	6
*ISC	1975 1 20 4	37	28. 4 32. 45		7	4. 5 BISC		16
*ISC	1975 1 20 4	40	30, 8 32, 25		0	4. 7 BISC		10
*ISC	1975 1 20 11	6	53. 1 32. 48		48	4. 7 BISC		88
*ISC	1975 1 20 13	24	14. 6 32. 09		49	4.6 BISC		17
*1SC	1975 1 22 17	26	37. 4 31. 92		51	4.6 BISC		63
*(SC	1975 1 23 0	7	45. 1 32. 63		110	4 5 DICO		7
* SC	1975 1 23 1	37	42.6 27.44		33	4. 5 BISC		33
*1SC *1SC	1975 1 27 8 1975 1 27 9	10 23	13. 6 32. 28 36. 3 32. 03		2 19	4. 9 BISC 4. 7 BISC		65 37
* SC	1975 1 27 13	41	35 32.51		1	4. 7 BISC		52
*1SC	1975 1 27 15	58	7.8 32.83		36	4. 5 BISC		13
*ISC	1975 1 29 15	49	25. 7 31. 95			4.8 BISC		57
*ISC	1975 1 31 12	38	50. 8 28. 08			5 BISC		137
*ISC	1975 1 31 14	4	11.1 32.31			4.4 BISC		21
*ISC	1975 2 2 19	14	9. 7 32. 55		21	5. 1 BISC		140
*1SC	1975 2 4 1	11	12 32.63		33		*	5
*ISC	1975 2 6 6	39	48. 7 27. 95		63	4. 7 BISC		17
*ISC	1975 2 6 23	26	23. 3 32. 01	78, 6	33	4 0 0100		7
*1SC	1975 2 11 6	43	32.4 32.07		33	4.6 BISC		- 18
* SC	1975 2 19 6	54	21. 4 32. 45					5 5
*ISC	1975 2 23 17	41	52. 5 32. 17 1. 9 32. 21		33 35	4. 9 BISC	•	69
*1SC *1SC	1975 3 10 3 1975 3 11 13	39	35. 4. 32. 15			4. 7 BISC		19
*15C	1975 3 11 13	13	32. 5 32. 15		33	7. 7 0100		8
*130 *180	1975 3 15 0	10	22. 9 32. 35		57			12
*1SC	1975 3 23 14	33	57. 2 34. 58		190			5
* SC	1975 3 24 20	53	6. 1 32. 03		48	4. 6 BISC		22
*ISC	1975 3 26 4	47	15.5 31.99		33	4. 5 BISC		13
*1SC	1975 3 29 2	57	46. 3 28. 5		35	4. 8 HFS	4,	15
*1SC	1975 4 1 16	18	45.1 31.9	78. 39	40	4.5 BISC		36

Re£	Year mod h	nin (GMT)	s Lat	Long	Depth M	ag.1	Mag.2	Int N
:180	1975 4 7 17	30	3 33.62		33			9
180	<u> 1975 4 9 0</u>	32	18. 4 33. 34		33		10 a.	5
180	1975 4 9 3	28	28. 1 30. 81	84. 79		4. 7 BISC	•	67
ISC	1975 4 9 21	45	40. 6 32. 07		16	4. 6 BISC		27
ISC	1975 4 12 1	1	36. 7 31. 57		0	4. 7 HFS	•	11
ISC	1975 4 24 1	35	51. 2 27. 43			4. 9 BISC		94
ISC	1975 4 28 4	51	37. 2 28. 78		0			5
180	1975 4 30 3	_8	27. 8 28. 21			4. 5 BISC		10
ISC	1975 5 8 11	56	2. 3 32. 31		2	4. 6 BISC		84
ISC	1975 5 11 6	48	37. 4 31. 92		19	4. 7 BISC		45
1SC	1975 5 14 12	16		80.75	124			7
ISC	1975 5 14 17	34		78. 34		- 1 0 UFO		8
ISC	1975 5 27 22	14		84. 64		4. 6 HFS		5
180	1975 5 28 16	33		78. 42	114	4.0.0100		9
ISC	1975 5 29 20	37	37. 5 32. 01		50	4. 6 BISC		15
ISC	1975 6 10 6	44	14. 4 32. 53		5	4. 9 BISC		73
180	1975 6 19 2	51	6.7 32.6		0	4. 4 HFS		5
180	1975 6 24 15	38		87. 49		4.8 BISC		62
180	1975 7 2 11	6	28.8 32.49		33	4.9 BISC		81
180	1975 7 19 6	10 26	53.9 31.94		31 58	5. 1 BISC		183 20
180 180	1975 7 19 7 1975 7 19 12	20	31. 4 32. 16 0. 8 31. 83		44	4. 4 BISC 4. 1 BQUE		8
ISC	1975 7 20 11	31	0. 0 31. 82	78 36	97	4. I DUOL		<u>-</u>
ISC	1975 7 21 7	26	37.5 32.07		38	4.6 BISC		44
ISC	1975 7 29 2	40	51. 2 32. 57		0	5. 5 BISC		217
ISC	1975 8 14 15	16	37. 4 31. 86		19	3. 9 BUSGS		30
ISC	1975 8 18 19	6	57. 8 31. 85		33			7
ISC	1975 8 23 3	8	56. 9 30. 69	79.4		4. 1 BISC		9
(ISC	1975 8 27 7	40	17 34.79			4.8 BISC		66
:ISC	1975 8 28 22	28	18. 7 28. 18			4. 7 HFS		12
480	1975 9 6 4	44	33, 1 29, 21			5. 1 BISC		86
ISC	1975 9 8 22	6	22. 8 31. 58	84. 72	47	4. 9 BISC		59
ISC	1975 9 16 4	20		76. 25		4. 6 BISC		26
ISC	1975 9 19 17	53		78.69	56	4. 3 BUSGS		14
ISC	1975 9 19 17	59		78. 41	38	4. 8 BISC	•	19
180	1975 9 27 19	46		85. 78		4. 4 BISC		14
ISC	1975 10 7 5	50	16 31.56		33			5
QUE I	1975 10 21 13	33	43 30.5 13.1 30.66	79.3				7
180	1975 10 23 7 1975 10 24 17	47		86. 23		4. 2 BUSGS		11
ISC Que i	1975 10 24 17	44 45		80.8		4. Z D03Q3	4 7	. 11
QUE I	1975 10 28 8	11	47 32.4		96			
ISC	1975 10 30 14	20	54. 4 32. 89			4. 7 BISC		21
-150 -150	1975 10 30 14	36	44. 4 32. 97		45	4. 8 BISC		38
ISC	1975 11 5 0	35	56. 7 32. 06			5 BISC		99
ISC	1975 11 6 0	11	30. 4 29. 61			4. 8 BISC		80
ISC	1975 11 13 14	35	40.6.34.61			4. 7 BISC		69
1SC	1975 11 16 19	34	51. 7 32. 57			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		4
ISC	1975 11 17 15	58	29. 3 30. 01					11
ISC	1975 11 21 13	49	27. 9 26. 95			4. 9 BISC		28
ISC	1975 11 26 15	2	31. 1 28. 14	87.8	33	5 BISC		25
SC	1975 11 26 15	30	49 32.39					8
ISC	1975 11 29 20	31	24. 5 32. 79				·····	7
ISC	1975 12 5 7	37	10.5 33.09			5.3 BISC		169
ISC	1975 12 6 19	7	41.9 31.94					6
ISC	1975 12 6 22	46	33. 6 32. 21	78. 09	79			7
QUE I	1975 12 10 6	25	22 32.6	80.6	96			
180	1975 12 10 3	26	5. 6 32. 95	76. 1	5	5. 3 BISC		225
			•					
				•			٠.	
	•		444					
*			- 110	-				

Ref	Year mod h min(GMT)	s Lat	Long	Depth M	lag. 1	Mag.2	Int N
*1SC	1975 12 10 5	3	47.3 32.78	78. 91	76	4. 7 BISC		22
*1SC	1975 12 10 5	- 8	44.8 32.9	76, 06	70	4. 6 BISC	A. Carrier	23
*(SC	1975 12 11 10	9	50. 2 32. 99	76. 17	42	5 BISC		111
*1SC	1975 12 28 13	49	7. 2 32. 14		19	4. 9 BISC		54
*1SC	1976 1 7 0	24	52. 9 32. 97	76, 12	40	5. 3 BISC		173
*ISC	1976 1 8 22	34	25, 5 32, 95	76. 15	43	4. 8 BISC		94
*ISC	1976 1 8 23	48	21.1 33.01	76. 16	46	4 E D) CO		10
*180	1976 1 9 23	50	16. 5 32. 78 32. 6 33. 2	75, 98 76, 09	96 96	4. 5 BISC		47
*1SC *1SC	1976 1 10 0 1976 1 13 10	45 36	26, 5 33, 25		96			8 5
*1SC	1976 1 16 14	1	10.8 32.91					6
*180	1976 1 16 21	20	24. 1 28. 43		79		•	12
*ISC	1976 1 18 5	4	18.5 32.72	76	0			8
*ISC	1976 1 18 11	49	50.9 34.12	76, 96				7
*QUE	1 1976 1 22 14	38	13 31.6	79. 4	96			
*1SC	1976 1 23 17	41	41. 5 31. 4		96			6
*ISC	1976 1 23 21	27	25. 1 29. 04					9
*1SC	1976 1 24 19	41	32. 1 32. 24			4. 8 BISC		4 33
*180	1976 1 27 19 1976 2 5 12	23	20. 8 33. 03 30. 6 31. 23		46 6	5 BISC		61
*1SC *1SC	1976 2 5 12 1976 2 14 18	4 19	57, 5, 34, 71			4. 6 BISC		48
*1SC	1976 2 24 22	26	3. 4 32. 35			4. 9 BOUE		7
*1SC	1976 3 1 15	26	35. 4 32. 99			.,		- 11
*ISC	1976 3 4 18	45	44. 3 32. 58			3.7 BUSGS	<u> </u>	12
*ISC	1976 4 10 4	38	38.6 32.7					4
*ISC	1976 4 10 7	9	19, 1 32, 64			4. 3 BISC		20
*ISC	1976 4 10 18	3	5. 2 32. 9			0 3 011000		7
*1SC	1976 4 12 23	16	54. 7 33. 05			3. 7 BUSGS		11
*1SC *1SC	1976 4 16 20 1976 4 20 11	15 23	13. 1 32. 68 54. 7 34. 78			3. 9 BISC	1.	10 5
*15C	1976 4 20 11	23 8	48. 4 32. 12			4. 2 BUSGS		17
*1SC	1976 5 6 8	21	37. 7 31. 52			4. 5 BISC		17
*1SC	1976 5 7 18	3	4.4 33					9
*1SC	1976 5 10 18	43	52. 5 29. 32	81.45	22	5. 2 BISC	<u> </u>	198
*ISC	1976 5 22 18	32	53.6 33.04			4.4 BISC		19
*1SC	1976 5 31 21	38	59.6 33.53					6
*ISC	1976 6 13 11	47	2. 4 32. 02			4 C DICO		4
*1SC	1976 6 14 11	10	10. 5 32. 99 31. 9 32. 15		0 71	4.6 BISC		13 8
*1SC *1SC	1976 6 22 20 1976 7 6 2	43 55	48. 9 32. 43			5. 1 BISC	-	58
*1SC	1976 7 12 3	12	49. 7 34. 25			4.8 BISC		71
*1SC	1976 7 17 2	2	32. 3 34. 19			4. 2 BISC		7
*1SC	1976 7 18 1	10	16.8 34.63					5
*1SC	19767_231	56	7.2 31.72			4.8 BISC		30
* SC	1976 8 1 2	5	26. 2 34. 56			4. 6 BISC		36
*1 SC	1976 8 27 6	5	13. 1 29. 26					5
*1SC	1976 9 8 20	13	1. 2 32. 03			5.3 BISC		186
*1SC	1976 9 12 15	36	12 27.68			4. 5 BISC		38
*ISC	1976 9 14 6	43 30	51, 6 29, 8 55 31, 06	89. 56 84. 64	75 33	5. 4 BISC		275 10
*!SC *!SC	1976 9 28 22 1976 9 29 2	51	24.9 29.5	81.5	33	4.9 BISC		74
*15C	1976 9 29 7	47	16. 6 31. 83			4. 9 BISC		108
*1SC	1976 10 3 15	3	43. 5 31. 92			4. 7 BISC		49
*1SC	1976 10 23 16	9	21. 2 28. 63			5. 1 BUSGS	*	12
*ISC	1976 11 1 5	51	33. 6 31. 73			4. 5 HFS		5
*QUE	1 1976 11 6 13	59	14 32.5	76. 3	96	:		
*1SC	1976 11 24 3	58	48. 4 30. 33		61	-		11
*ISC	1977 1 6 21	50	7.8 31.24	87. 97	25	5 BISC	•	90

4

Ref		Year	mod 1	h	min (GMT)	s Lat	Long	DepthM	lag.1	Mag.2	Int N
*ISC		1977	1 6	22	20	14. 3 31. 16	88. 04	33			7
*!SC		1977	1 14	12	9	32. 6 34. 68			4. 7 BISC		60
*150		1977		17	57.		80.42				4
*QUE	1	1977		14	57		78. 7				40
* SC		1977		14	57	46. 4 32. 76			4. 5 BISC		43
*150		1977	1 28	3	48	53. 2 31. 42			4. 7 BISC		20
*1SC *1SC		1977	2 19 2 19	6	15	25. 1 31. 79 42. 6 31. 71			5. 4 BISC		209 27
*1SC		1977 1977		6 23	39 43		78.35 81.29		4. 6 BISC 5. 1 BISC		172
*1SC		1977	2 20	1	45 45	33. 8 34. 59		33	4. 5 BUSGS		13
*1SC		1977		17	45	59 34.78			7. 0 D0000		5
*QUE	f	1977		18	39	55 33.5					-
*ISC	_	1977	3 12	0	2	28. 8 32. 98					. 12
* SC		1977		1	1	3.4 31.4			4.8 BISC		89
*1SC		1977		12	56		89.37		5 BISC		63
*1SC	<u>. </u>	1977		8	35_		<u>87.91</u>		5. 1 HFC		15
*ISC		1977	3 27	5	36	48. 6 32. 6			5. 1 BISC		93
*1SC		1977		18	26		78.47		4. 4 BISC		28
* SC		1977		4	21	9. 3 30. 48			4. 9 BISC		43 7
*1SC *QUE	1	1977 1977	4 28 5 11	4 22	37 24	12. 9 30. 43 51 33. 2			4. 6 HFS		,
*ISC	. 1	1977	5 16		37		2 81.11	33			10
*1SC		1977		19			7 88.43		4. 7 BISC		49
*ISC		1977			4		83.56		4. 3 BISC		6
*ISC		1977		15	53	29 33 1			4. 9 BISC	*	119
*QUE	1 -	1977	6 22		3	14 33.					
*ISC		1977	7 8	1	58	6. 7 32. 8					5
*ISC		1977		13			3 75.88				. 7
*1SC		1977	7 24	2	3		80.82		•		, ·.
*QUE	ľ	1977		19	8	44 33.					
*QUE	ł	1977	8 4	8	5	17 33.5				*	0
*ISC *QUE	1	1977 1977		12 20		56, 8 33, 58 11 33, 4				•	8
*\UC * SC	1	1977		5	39 51		1 /0. i 3 81. 05	96 23	4. 3 BISC		27
*1SC		1977	9 24		34	17.8 32.59			4. 0 0100		5
*ISC		1977	9 25	2	13		87.58				8
*ISC		1977		22	12	29 31.5			4. 4 HFS		11
*ISC		1977		7	14	46.7 32.7			4.4 BISC		20
*QUE	ı		10 21	6	20	55 33.	6 76.8	96			
*1SC				12	16	12.5 30					18
*ISC		1977		23	54	44.7 29.			4. 8 BISC	: 1	69
*ISC		1977			20		4 -88. 38		5. 7 BISC		334
*1SC		1977		5	33	20 32.6			4. 4 BISC		17
*180		1977		11	27	27. 7 32. 5			4. 6 BISC 4. 7 BISC		41 9
* SC * SC			11 18 11 18		10 23	42. 4 32. 69 25. 3 32. 69			4. 7 BISC 4. 9 BISC		106
* SC		1977			12		88.34		4. 6 BISC		38
*1SC		1977			40	35 32 6			4. 7 BUSGS		6
*ISC	•	1977	12 13		48	10.7 29.9			11 1 1 1 1 1 1 1		8
*ISC			12 18		5	33 33.50					6
*ISC	•	1977	12 20		12	35. 1 33. 4			4. 7 BISC		39
*ISC		1977	12 21	2	8	15. 3 33. 44	4 76:17	29	4. 9 BISC		55
*ISC		1978	1 1	11	25	57. 1 30.			4. 3 BISC		8
*ISC	* *	1978	1 7	7	23	20 30.5			4. 6 BISC		65
*ISC		1978	1 15	0	17	19 31.00			4.2 BISC		13
*1SC		1978	1 15	1	10	19. 7 31. 8			A E DICC		7
* SC		1978	1 15	2	30 30	30. 7 31. 8			4. 5 BISC		18 21
*\SC		1978	2 4	۷,	υU	14 29.29	J 01. 39	36	4. 4 BISC		71

Ref		Year mod h	min (GMT)	s Lat	Long	Depth 1	lag.1	Mag.2	Int N
*1SC		1978 2 10 16	53	2. 8 27. 9	85	- 33	4. 4 BISC		9
*ISC		1978 2 10 17		47. 1 28. 03	84. 69	0	5. 3 BISC		157
*1SC		1978 2 11 9		59. 5 34. 06	88. 11	38	4. 3 BISC		14
*ISC		1978 2 12 6		11. 6 28. 47		33			9
*ISC		1978 2 14 10		0, 8 34, 13	76. 17	96			6
*1SC		1978 2 19 4		29. 1 29. 3	84.96	22	4.5 BISC		49
*ISC		1978 2 19 18		30. 9 31. 79	75. 27	45	4 BISC		17
*ISC		1978 2 23 2		25. 7 33. 42	76.06	15	4.8 BISC		93
*ISC		1978 2 28 17		4. 6 29. 33	80, 69	54	4. 7 BISC		93
*ISC		1978 3 3 14		11 33.37	75.02	33			7
*ISC		1978 3 7 10		59. 1 29. 29	81.26	33	4. 2 BISC		17
*QUE	1	1978 3 7 10	23	23 34. 2	75. 6	96			
*1SC		1978 3 21 0	5	51. 1 30. 1	81.34	91			11
*iSC		1978 3 29 9	0	43. 1 32. 74	88. 43	33	4. 4 BISC	•	20
* SC		1978 3 30 23	44	46. 8 32. 68	78. 46	50	4. 2 BISC		8
*1\$C		1978 4 4 0		29. 2 32. 98		19	5, 5 BISC		309
*ISC		1978 4 10 12		15. 8 33. 25		33	4. 2 BISC		10
*1SC		<u> 1978 4 11 7</u>		39, 9 32, 72	78. 72	33	4. 5 BISC		: 25
*ISC		1978 4 12 2		16. 2 33, 71	75. 42	33	3. 8 BISC	•	13
*ISC		1978 5 16 6			75. 18	96	4. 1 BISC		14
*ISC		1978 5 17 8		15. 3 32. 89	75. 73	96	4 BISC		9
*ISC		1978 5 21 23		17. 5 31. 51	77. 87	70	4. 2 BISC		8
*ISC		1978 6 1 6			80. 44	50	4. 4 BISC		28
*ISC		1978 6 14 16		4. 9 32. 23	76. 61	. 7	5 BISC		135
*1SC		1978 6 15 6			79.66	160	4. 1 BISC	•	16 15
*!SC		1978 7 14 20			83, 03	33 3	4.4 BISC		163
*1SC		1978 8 8 10 1978 8 9 17		29. 1 32. 26 30. 6 32. 3	83. 1 83. 17	33	5. 1 BISC 4. 8 BISC		27
*1SC *1SC		1978 8 9 17 1978 8 13 22		59. 8 28. 07	85. 24	1	4. 5 BISC		40
*1SC		1978 8 15 12		24, 7 31, 32		33	4. 8 BISC		16
*ISC		1978 8 18 13		15. 4 27. 84		59	4. 0 pioo		11
*1SC		1978 8 24 7		40. 3 32. 03		33	4.5 BISC		9
*1SC		1978 8 31 22		39. 5 34. 65		33	4. 3 BISC		6
*1SC		1978 9 3 20		44. 5 32. 33		40	4. 5 BISC		53
*1SC		1978 9 14 22		10.8 34.52		116	4. 1 BISC	•	8
*ISC		1978 9 28 5		16. 5 33. 49		40	4. 8 BISC		45
*ISC		1978 10 4 13		50. 7 27. 82		19	5. 2 BISC		147
*1SC		1978 10 14 18	48	18. 9 27. 65	87. 32	. 27	4. 8 BISC		24
	1	1978 10 16 3	26	12 28.7		33			
*1SC		1978 10 17 20	10	11, 5 32, 42		86			11
*1SC		1978 10 19 6		56. 5 34. 55		33			- 8
*1SC		1978 10 23 14		50. 4 28. 56		33	4. 4 BISC		20
* SC		1978 10 26 21		58. 9 32. 59		33	4. 6 BISC		38
*ISC		1978 10 26 22		20. 6 32. 79		33	4. 7 BISC		18
*1SC		1978 10 27 23		52. 9 29. 37		79			14
	i	1978 11 25 20		59 33.6	76. 3			•	
*!SC		1978 11 29 14		12. 7 32. 64		33	4. 2 BISC		8
*ISC		1978 11 30 6		16.8 32.71	<u>85. 67</u>	33	4.9 BISC		42 45
*ISC		1978 12 1 19		44. 3 32. 79	82. 8	33	4. 8 BISC		45
*ISC		1978 12 7 2		22. 1 32. 68		39	4. 9 BISC		18
*1SC		1978 12 10 23		0.3 30.64		33	מסומ ג' ג	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	8
*1SC		1978 12 12 10		52.9 29.2		-56	4. 4 BISC		20
*1SC		1978 12 14 20		37 29.63		33	4.1 BISC	*	13
	Į	1978 12 14 22		34 33.7	75. 7	33	A g bico		17
*(SC		1978 12 25 20		2. 2 28. 07		33	4. 6 BISC		17
*(SC		1979 1 1 21			82. 92	33	4.3 BISC		19
*1SC		1979 1 24 8 1979 3 5 23		12 33 19 50 30 32		33 8	4. 7 BISC 4. 2 BISC		10 19
*ISC		1919 0 0 40	04	JU JU, JZ	₹₽. Ŭ	Ð	7. L DIOU		19

Ref	Year	r moʻd	h	min (GMT)	s Lat	Long	Depth 1	lag. 1	Mag.2	Int N
*1SC	1979	3 2	7 - 5	27	55. 2 32. 2	78. 64	33	4. 2 BISC		9
*ISC	1979			58	59.9 29.9		33	4. 2 BISC		10
*!SC	1979				10.4 32.71	89. 24		4. 6 BISC	•	64
*ISC	1979				12, 25, 97	88. 84		4. 7 BISG	•	29
*!SC	1979	-			39. 4 32. 95	83. 39		4. 4 BISC		60
*ISC	1979			29	20 34.81	76. 04		4. 2 BISC		
*ISC	1979			56	9.9 34.96	76.82		3, 3 BISC		5 5
*ISC	1979		5 11	22	48. 4 27. 26	85. 66	33	4. 2 BISC		21
*ISC	1979			46		78. 87	33	4. 4 BISC		19
*1SC	1979				11.6 29.93		16	5. 7 BISC	•	379
*ISC	1979				27. 2 33. 58	76. 44		4. 7 BISC		49
*!SC	1979	6	2 13	. 5	21.3 33.75	76	33	4. 7 BISC	* .	10
*1SC	1979	61	1 15	46	50 34.9	80.87	18	4.7 BISC		126
*1SC	1979	61	1 23	25	35, 3 33, 13	76. 25	41	4. 5 BISC	•	56
*ISC	1979	61	9 16	29	8.4 26.74	87. 48	2	5. 2 BISC		223
*ISC	1979	9 63	0 9	18	49.4 33.86	87. 81	33	4. 4 BISC		14
*1SC	1979		3 16	56	53.1 27.77	84. 41	33	4. 1 BISC		15
*ISC	1979	7	5 11	49	51. 1 27. 72	86. 14	0	•		7
*ISC	1979			0	13, 7, 34, 56	87. 71	44	4. 5 BISC	•	49
*1SC	1979				13.6 32.97			4. 4 BISC		13
*ISC	1979		6 2		1. 7 32. 76	85. 65		4. 7 BISC		117
*ISC	1979					87.61	33	4.6 BISC		12
*ISC	1979		66		18. 4 32. 92			4. 6 BISC		25
*ISC	1979				27. 4 27. 94			4. 6 BISC	•	20
*ISC	:1979				35. 1 31. 42		33	4 BISC		6
*1SC	1979		6 13		47. 5 34. 33			3. 8 LPEK		16
*1SC	1979				45 33.1	75. 89		4.8 BISC		90
* SC	1979			59	18. 3 30. 82		23	5 BISC		22
*1SC	1980		7 12		20. 5 33. 1	76. 01	39	4.7 BISC		36
*ISC	1980		9 10		20. 5 32. 7	88. 67	33	4. 3 BISC		8
*ISC	1980		6 20		35. 2 29. 51	79.99				10
*ISC	1980				26 33.76			4. 7 BISC		63
*1SC	1980				15. 9 33. 74	82. 3		4. 4 BISC		21
* SC	1980				12. 3 33. 64		33	4. 4 BISC		21
*1SC	1980				56. 9 33. 25	75. 8		4. 2 BISC		. 7
*ISC	1980				7. 5 29. 37	81		4 BISC		13
* SC	1980				44. 8 30. 55			5. 7 BISC	•	378
*ISC	1980				56 30.62			4. 8 BISC	•	27
* SC	1980				50. 9 30. 64			4. 7 BISC		24
*1SC	1980				44.9 30.55			4. 6 BISC		46
* SC	1980		2 11	7	22. 2 30. 61			4. 4 BISC		15
* SC	1980		2 11	58 50		88. 73		4. 7 BISC	•	51
* SC	1980		2 19			88. 59		4 BISC		7
* SC	1980				59.6 30.55			4. 2 BISC		6
*150	1980					82. 37		4. 4 BISC	:	14
* \$0	1980				36. 3 32. 73			4. 5 BISC		19
*1SC	1980		8 11		41. 5. 30. 54			4. 3 BISC		17
* SC	1980		4 7		49. 4 30. 53			4. 7 BISC		39
*1SC	1980	3 1	3 13	24	40.6 34.28			4.9 BISC		129
*ISC	1980		0 19		12 31.07			4 7 BICC		7
*180	1980		7 17		33.6 28.64			4. 7 BISC		67
* SC	1980		1 5		4.4 33.1			4. 6 BISC		52 01
* SC	1980		1 5			75. 97		4. 9 BISC		91
*1SC	1980		9 22		51. 2 31. 46			4. 2 BUSGS		11
* SC	1980		3 20		9. 3 30. 75			4. 8 BISC		143
*1SC	1980					88. 57		4. 6 BISC		15
*ISC	1980				53. 2 30. 13			5. 1 BISC		218
*1SC	1980	0 6 2	4 7	35	44. 7 32. 99	88. 54	3	5.1 BISC	-	205

		-				
Ref	Year mod h min (GMT)	s Lat	Long	Depth Mag. 1	Mag.2	Int N
*180 *180	1980 6 25 2 53 1980 6 25 21 32	54. 9 32. 82 49. 3 .31. 56				119 14
*\SC	1980 7 29 12 23	7.7 29.33		3 5.7 BIS	C	314
* SC	1980 7 29 14 58	41.6 29.62				451
* SC	1980 7 29 18 44	22.1 29.42		19 4.4 BIS	C	21
*1SC	1980 7 29 21 57	35. 8 29. 15				26
*[SC	1980 7 30 1 0	38. 6 29. 62 51. 9 29. 63				96 8
*1SC *1SC	1980 7 30 5 30 1980 7 31 14 22	1.4 29.46				20
* SC	1980 8 4 16 52	43, 7 29, 28				16
*ISC	1980 8 14 21 45	2.8 32.99				122
*1SC	1980 8 17 14 23	17. 6 30. 71				5
*\SC	1980 8 20 1 5	54. 2 29. 46				15
* SC * SC	1980 8 23 21 36 1980 8 23 21 50	49 32.96 1.2 32.9				261 253
*1SC	1980 9 4 1 48		75.67	122 4.5 BIS		12
*ISC	1980 9 8 7 42	6.9 29.92	80, 35	33 4.4 BIS	C ·	-14
*1SC	1980 9 22 20 37					43
*1SC	1980 10 8 16 19		87. 71			68
* SC	1980 10 10 14 2		81. 28 85. 17			62 67
*1SC *1SC	1980 11 18 13 46 1980 11 19 19 0		88. 79			436
*18C	1980 11 20 4 3		85. 23	36 4.8 BIS	C	55
*1SC	1980 11 25 9 27				C	17
*1SC	1980 11 26 7 52				0	6
*1SC	1980 12 21 14 12 1980 12 22 4 36	25. 9 34. 68 8 26. 66				6 15
*!SC *!SC	1980 12 22 4 36 1980 12 26 5 19					16
*ISC	1981 2 8 2 30		88. 61			9
*1SC	1981 2 9 15 49	21.6 27.19				101
*1SC	1981 3 6 5 58		80.66			132
*1SC *1SC	1981 3 12 20 15 1981 4 9 17 19	45.6 34.83 29.4 28.08			C .	<u>43</u> 59
*1SC	1981 5 11 15 33					5
*ISC	1981 5 13 2 7	51.8 32.57	82: 35	18 5 BIS		155
*ISC	1981 5 15 17 22					170
*1SC	1981 5 28 23 14		78. 43			196
*\SC *\SC	1981 6 10 13 52 1981 6 13 0 56		88. 46 78. 46			53 184
*1SG	1981 6 19 10 41	45. 3 30. 44				23
*ISC	1981 6 21 9 51	3. 2 27. 15	87. 13			7
*ISC	1981 7 1 20 <u>38</u>	11 5 30.76	80.3			8
*ISC	1981 7 4 3 49					10
*180	1981 7 12 8 45 1981 7 31 5 49		75. 08			56 11
* SC * SC	1981 7 31 5 49 1981 8 2 17 37	45 30.9				11
*1SC	1981 8 10 10 58	24. 4 31. 1		33 4.6 BIS		26
*ISC	1981 8 17 9 11	15, 8 33, 41	75. 62	6 4.9 BIS	C ·	154
*ISC	1981 8 31 12 31	44.8 34.6				83
*1SC	1981 9 10 3 47		81. 13	33 4.8 BIS		96 66
*1SC *1SC	1981 9 15 3 31 1981 9 27 11 10	56. 4 34. 82 42. 5 33. 29	77.44	23 4.5 BIS 33 4.5 BIS		66 16
*ISC	1981 10 16 23	36 34. 95		33 4 BIS		9
*1SC	1981 10 19 10 46	22. 4 31. 32	88.11	33 4.5 BUS	as .	15
*1SC	1981 11 9 19 31	2. 5 33. 32	75. 85	33 4.5 BIS	9	17
*18C	1981 11 21 4 25		89, 11	50 4.8 BIS	9	80
* SC	1981 11 22 18 9	25. 7 29. 68		33 0 3.9 BIS		7 6
*ISC	1981 12 2 12 46	54. 2 30, 67	19. 02	0 3.8 DIS	,	Ū

ef	Year	mo d	h	min (G	MT)	B	Lat	Long	Depth	Mag.1		Mag.2	Int N
ISC		12 14			25		33. 18			4. 5 B			
ISC EIS	1982 1982				29	55. 9				5.3 BI		5, 3 BNE1S	2
ISC ·	1982				30 37	0. 3 29. 2	30. 82 31. 67			5.3 SN 6 BI		O. O DIVETO	. 4
EIS	1982	1 23	17		37	30. 3	31.69	82. 24	33	6.5 SN	EIS	6 BNE IS	2
ISC	1982		17		48	1. 9		82. 2		5. 3 BI		m 4 min 10	. 1
EIS ISC	1982 1982		17 18		48 19	2. 1 41. 4	31.58	82. 2 82. 24		6 SN 4. 9 BI		5.4 BNEIS	1
EIS	1982				19	46. 4					IEIS		:
ISC	1982	1 23	18		58	38. 5	31. 33	82. 3	70	4. 4 Bi	SC	•	
EIS	1982				58	36				4. 2 BN			
ISC EIS	1982 1982		19 19		17 17	2. 9 8. 4	31. 6 31. 63			4. 8 BI 4. 7 BN			1.
ISC	1982		19		52		31. 49			4. 9 BI			1
EIS	1982				52	8. 4				5 B)			
ISC EIS	1982 1982				43 43	20. 9 21. 3		82. 27 82. 35		4. 3 BI 4. 4 BN			
ISC	1982			•	44	41.9				4. 3 BI			
ISC	1982	1 24	1:3		31	52. 9	31.48	82. 25	23	4. 5 B	SC		
EIS	1982				31	54. 1		82. 38		4. 6 BN			1
ISC EIS	1982 1982				46 46		31.53 31.58			4. 5 BI 4. 5 BI			
ISC	1982				30		31.71		33	4. 1 B			
ISC	1982		10		3		31.58			4. 6 B			
EIS ISC	1982 1982		10 10		3 46	35. 1 15. <i>1</i>	31. 65 31. 47			4. 6 B) 4. 3 B			
EIS	1982		10	÷	46	15. 1		82. 38		4. 4 BI			
ISC	1982	2 1 24	17	•	27	47. 8	31.48	82.16	5 25	4. 3 B	ISC		
EIS	1982 1982				27	49.1	31.59 31.52			4. 5 Bl 4. 5 B		•	
ISC ISC	1982				12 26		31.58			5.1 B			. 1
EIS	1982	! 1 2!		•	26	17. 5	31.64	82. 3	3 33	4. 4 S	NEIS	5.1 BNEIS	
ISC	1982		6		6		31.46			4.5 B			
EIS ISC	<u>1982</u> 1982		1 6 3 10		$\frac{6}{43}$	49. o 43. 2	31. 38 31. 38	82 27) <u>33</u> / 33	4. 6 Bl 4. 3 B			
isc	1982	2 19	21		46	51.3	33, 61	80. 78	33	4. 6 B		• .	
ELS	1982				46	50, 9		80, 83		4. 7 BI			
ISC ISC	1982 1982				21 11	49. 3	27.7 31.59	85. 73		4. 5 B 4. 3 B			
ISC	1982				2		33. 29			7.00	100		
ISC	1982	3 24	1 23		17	51.5	30, 54	88. 7	33	4. 6 B			
EIS	1982				17		30.56			4. 6 BI	VEIS	•	
QUE 1 ISC	1982 1982		; 17		14 19	42 43 2	31. 4 27. <u>3</u> 8			5 B	ISC	<u>.</u>	;
ĒĪŠ	1982	4	<u> 2</u> 2		19		27. 41			4. 7 SI		5. 1 BNE IS	
ISC	1982	2 5 2	11		31	22. 8	29. 16	81. 68		4. 5 B			÷
ISC Eis	1982 1982				44 44		32. 62 32. 61			4. 8 B 4. 8 B			
isc	1982				29		28. 52			4. 4 B			
ISC	1982	2 6 9	19		25	35. 1	34. 2	86. 28	33		٠.		:
ISC	1982			3 S	27		31.65			4. 9 B		A O DNETO	•
EIS ISC	1982 1982				27 29		31. 54 26. 24			4. 6 SI 4. 5 B		4.9 BNE15)
ISC	1982				38		30. 37			4. 1 B			
ISC	1982	2 7 6	22		9		31. 32						
ISC	1982 1982				36 15		30. 9 30. 89			4. 4 B 4. 1 B			
ISC Eis	1982) 4) 4		15		30, 39			4. 1 B		•	
-•-			•				, .						
	* 1						- 116	, -					

NES ***NES**** ***NES*************									
*ISC	Daf	Var mad h min	(cswir)	e T.5+	Long	Donth M	'acr 1	War 2	ro to M
NEIS	rer.	zear mo a n man	(GMI)	BIAL	Tong	Depunk	ay	Mag. Z	THEN
ISC 1982 8 18 18 1									38
NEIS 1982 8 18 18 1 8 1 8 3 27.08 89.49 58 4 6 BNEIS *1982 9 2 6 37 33.4 33.47 82.59 0 4.5 BISC *\strict{1982 9 9 2 6 37 33.4 33.47 82.59 0 4.5 BISC *\strict{1982 9 9 4 12 33 56.6 33.01 76.1 33 4.3 BNEIS *\strict{1982 9 9 12 2 5 34.28 81.35 33 4.4 BISC *\strict{1982 9 9 12 5 30.9 28.63 81.1 33 4.2 SNEIS *\strict{1982 9 9 12 5 30.9 28.63 81.1 33 4.2 SNEIS *\strict{1982 9 9 12 5 30.9 28.63 81.1 33 4.5 SNEIS *\strict{1982 9 9 12 2 28 56.9 28.67 81.99 33 4.5 BISC *\strict{1982 9 9 19 36 14.5 31.78 84.88 33 4.5 BISC *\strict{1982 10 16 2 22 55.5 30.41 79.24 26 4.6 BISC *\strict{1982 10 16 2 22 55.5 30.41 79.24 26 4.6 BISC *\strict{1982 10 16 2 22 55.7 30.32 79.12 71 4.5 BNEIS *\strict{1982 10 30 8 33 44.6 34.5 81.66 33 4.3 BISC *\strict{1982 10 30 8 33 44.6 34.5 81.66 33 4.3 BISC *\strict{1982 10 30 8 33 44.6 34.5 81.66 33 3.4 BISC *\strict{1982 11 10 16 46 41.5 31.66 88.33 3 3 BNEIS *\strict{1982 11 12 18 10 21 28.8 81.05 0 0 4.4 BIND *\strict{1982 11 12 18 10 21 28.8 81.05 0 0 4.4 BIND *\strict{1982 11 22 13 57 4.2 27.75 84.91 64 4.2 BISC *\strict{1982 12 12 12 13 57 4.2 27.75 84.91 64 4.2 BISC *\strict{1982 12 12 12 13 57 32.47 31.45 78.91 1 4.4 BISC *\strict{1982 12 12 12 13 57 32.47 31.45 78.91 1 4.4 5 BISC *\strict{1982 12 12 12 13 57 32.47 31.45 78.91 1 4.4 5 BISC *\strict{1982 12 12 12 13 57 32.47 31.45 78.91 1 4.4 5 BISC *\strict{1982 12 12 12 13 57 32.47 31.45 78.91 1 4.4 33 4.6 BISC *\strict{1982 12 12 12 13 13 46.5 29.2 91 81.37 32 4.7 31.45 78.91 1 4.4 5 BISC *\strict{1982 12 12 12 13 13 46.5 29.2 91 81.37 32 4.7 31.45 78.91 1 4.4 5 BISC *\strict{1982 12 12 12 13 13 46.5 29.2 91 81.37 33 4.6 BISC *\strict{1983 1 12 21 1 45 33.3 2.3 23.3 33 33 4.8 BISC *\strict{1983 1 12 21 1 45 33.3 2.3 23.3 33 33 4.8 BISC *\strict{1983 1 12 21 1 45 33.3 2.3 23.3 33 33 34.8 BISC *\strict{1983 1 12 21 1 45 33.3 2.3 23.3 33 33 34.8 BISC *\strict{1983 1 12 21 1 45 33.3 2.3 23.3 33 33 34.8 BISC *\strict{1983 1 12 21 1 45 33.3 2.3 23.3 33 33 34.8 BIS									26
*ISC									35
*ISC									18 8
NEIS									18
*ISC		والمراكب							10
ISC									9
*ISC		1982 9 9 12		4 28.8		33	4. 4 BISC		44
*ISC								4.4 BNEIS	14
*ISC									9
NEIS									7
*\sc 1982 10 29 2 26 15 1 32 43 87 04 33 4.5 81 8C *\sc 1982 10 30 8 33 44 5 34 5 81 20 33 4.3 81 8C *\sc 1982 11 10 16 46 41 53 1.66 88 33 33 33 33 80 81 81 81 *\sc 1982 11 10 16 46 41 53 1.66 88 33 33 33 33 80 81 81 81 *\sc 1982 11 12 13 57 28 01 85 03 64 4.2 81 8C *\sc 1982 11 22 13 57 4.2 27 75 84 91 64 4.2 81 8C *\sc 1982 12 14 23 57 29 6 31 38 78 96 11 4.5 81 8C *\sc 1982 12 14 23 57 29 6 31 38 78 96 11 4.5 81 8C *\sc 1982 12 14 23 57 32 7 31 45 78 91 33 4.6 88 15 *\sc 1982 12 12 12 8 46 6 29 19 81 37 33 4.7 80 81 8C *\sc 1982 12 12 13 13 46 5 29 27 81 44 33 4.6 81 8C *\sc 1982 12 12 13 13 46 5 29 27 81 44 33 4.6 81 8C *\sc 1982 12 21 13 13 46 5 29 27 81 43 33 4.6 81 8C *\sc 1982 12 21 13 13 46 5 29 27 81 43 33 4.6 81 8C *\sc 1982 12 29 0 9 17 7 30 04 79 89 22 4 77 30 *\sc 1982 12 29 0 9 17 7 30 04 79 89 22 4 78 8C *\sc 1983 1 6 20 29 16 31 47 82 17 0 4.9 81 8C *\sc 1983 1 6 20 29 16 31 47 82 17 0 4.9 81 8C *\sc 1983 1 27 4 45 40 3 29 04 81 34 33 4.7 80 81 8C *\sc 1983 1 27 4 45 40 3 29 04 81 34 33 4.7 80 81 8C *\sc 1983 1 27 20 31 41 8 31 8 81 33 34 8 80 18 81 *\sc 1983 2 27 20 33 43 8 80 81 33 43 8 80 81 81 *\sc 1983 2 27 20 33 43 83 83 83 43 83 83									20
ISC* 1982** 10 30 8 33 44.5 34.5 81.06 33 4.3 BISC** NEIS*** 1982** 10 30 8 33 44.6 34.58 81.23 33 4.3 BISC** **ISC*** 1982** 11 10 16 46 41.5 31.66 88.33 33 ** **NDI*** 1 1982** 11 12 18 10 21 28.8 81.05 0 4.4 BNDI** **ISC*** 1982** 11 12 13 57 2.2 8.01 85.03 64 4.2 BISC** NEIS*** 1982** 11 12 13 57 4.2 27.75 84.91 64 4.2 BISC** **ISC*** 1982** 12 12 13 57 4.2 27.75 84.91 64 4.2 BISC** **ISC*** 1982** 12 14 23 57 29.6 31.38 78.96 11 4.5 BISC** **ISC*** 1982** 12 14 23 57 29.6 31.38 78.96 11 4.5 BISC** **ISC*** 1982** 12 14 23 57 29.6 31.38 78.96 11 4.5 BISC** **ISC*** 1982** 12 12 12 8 46.9 29.21 81.48 31 4.8 BISC** **ISC*** 1982** 12 12 12 8 46.6 29.19 81.37 33 4.6 BNE1S** **ISC*** 1982** 12 12 13 13 46.5 29.27 81.44 33 4.6 BISC** **NEIS*** 1982** 12 21 13 13 46.5 29.27 81.44 33 4.6 BISC** **NEIS*** 1982** 12 29 0 9 12.2 30.27 79.8 33 4.8 BNE1S** **ISC*** 1982** 12 29 0 9 20.2 30.27 79.8 33 4.8 BNE1S** **ISC*** 1982** 12 29 0 9 20.2 30.27 79.8 33 4.8 BNE1S** **ISC*** 1983** 1 6 20 29 16 31.47 82.17 0 4.9 BISC** **ISC*** 1983** 1 6 20 29 16 31.47 82.17 0 4.9 BISC** **ISC*** 1983** 1 12 21 45 33.2 32.38 79.22 33** **ISC*** 1983** 1 27 4 45 40.3 29.04 81.34 33 4.8 BNE1S** **ISC*** 1983** 1 27 4 45 40.3 29.04 81.34 33 4.9 BISC** **ISC*** 1983** 1 27 4 45 40.3 29.04 81.34 33 4.9 BISC** **ISC*** 1983** 1 27 4 45 40.3 29.04 81.34 33 4.9 BISC** **ISC*** 1983** 1 27 20 31 40.6 33.17 88.19 33 4.5 BNE1S** **ISC*** 1983** 1 27 20 33 6.5 32.61 78.55 33 4.9 BNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 BNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC*** 1983** 2 27 20 33 6.5 32.61 78.55 33 4.9 SNE1S** **ISC**								•	F 12
NEIS									14
*ISC									10
*NDI 1 1982 11 21 8							4. O DRETO		6
*ISC							4. 4 BND1		
NEIS 1982 11 22 13 57 4.2 27.75 84.91 64 4.2 BNEIS F *ISC 1982 12 6 11 52 14.1 29.84 80.84 0 4.2 BNEIS F *ISC 1982 12 14 23 57 32.7 31.45 78.91 33 4.6 BNEIS *ISC 1982 12 11 12 8 46.9 29.21 81.48 31 4.8 BISC *ISC 1982 12 21 12 8 46.6 29.19 81.37 33 4.7 BNEIS *ISC 1982 12 21 13 13 46.5 29.27 81.44 33 4.6 BISC *NEIS 1982 12 21 13 13 46.5 29.27 81.44 33 4.6 BISC *NEIS 1982 12 21 13 13 46.2 29.29 81.37 32 4.3 BNEIS *NOI 1 1982 12 22 14 14 12 29.4 77.3 0 **SISC 1982 12 29 0 9 17.7 30.04 79.89 22 4.7 BISC *ISC 1983 1 6 20 29 16 31.47 82.17 0 4.9 BISC *ISC 1983 1 12 21 45 33.2 32.38 79.22 33 *ISC 1983 1 12 21 45 33.2 32.38 79.22 33 *ISC 1983 1 27 4 45 40.2 29.05 81.39 33 4.8 BNEIS *ISC 1983 1 29 20 31 40.6 33.17 88.19 33 4.2 BISC *ISC 1983 2 20 10 8 39.3 28.85 81.42 33 *ISC 1983 2 27 20 33 6.5 32.61 78.55 33 4.2 BISC *ISC 1983 2 27 20 33 6.5 32.61 78.55 33 4.9 SNEIS *ISC 1983 2 27 20 33 6.5 32.61 78.55 33 4.9 SNEIS *ISC 1983 3 2 7 7 20 33 6.5 32.61 78.55 33 4.9 SNEIS *ISC 1983 3 14 1 22 2 7.6 30.66 84.06 0 4.2 BISC *ISC 1983 5 20 12 52 12 30.66 84.06 0 4.2 BISC *ISC 1983 5 20 12 52 12 30.36 79.76 33 *ISC 1983 5 20 12 52 12 30.36 79.76 33 *ISC 1983 5 20 12 55 12 30.36 79.76 33 *ISC 1983 5 30 8 39 49.4 32.71 75.48 41 4.6 BISC *ISC 1983 5 30 8 39 49.4 32.71 75.48 41 4.6 BISC *ISC 1983 5 30 8 39 49.4 32.71 75.48 41 4.6 BISC *ISC 1983 5 30 12 5 50 40.5 34.59 79.66 8 5 BISC *ISC 1983 7 5 17 26 49.6 29.29 80.86 3 33 4.5 BISC *ISC 1983 7 5 17 26 49.6 29.29 80.86 3 33 4.5 BISC								• •	16
*ISC		1982 11 22 13	57 4 .						
NEIS								* *	14
*ISC									24
NEIS									15
*ISC									49
NEIS						33			30 43
*ND1								· ·	19
*ISC							4. 0 DNL 10		. 10
NEIS 1982 12 29 0 9 20.2 30.27 79.8 33 4.8 BNEIS *ISC 1983 1 6 20 29 16 31.47 82.17 0 4.9 BISC NEIS 1983 1 12 21 45 33.2 32.38 79.22 33 *ISC 1983 1 27 4 45 40.3 29.04 81.34 33 4.9 BISC NEIS 1983 1 27 4 45 40.3 29.05 81.39 33 4.8 BNEIS *ISC 1983 1 29 20 31 41.8 33.18 88.1 33 4.2 BISC NEIS 1983 1 29 20 31 40.6 33.17 88.19 33 4.5 BNEIS *ISC 1983 2 20 10 8 39.3 28.85 81.42 33 *ISC 1983 2 21 20 7 54.7 34.07 87.43 33 4.2 BISC *ISC 1983 2 27 20 33 6.5 32.61 78.55 33 4.9 SNEIS 5.3 BNEIS *QUE 1 1983 2 27 20 33 6.5 32.61 78.55 33 4.9 SNEIS 5.3 BNEIS *QUE 1 1983 2 27 20 33 6.5 32.61 78.55 33 4.9 SNEIS 5.3 BNEIS *ISC 1983 3 21 7 12 8.2 29.76 30.66 84.06 0 4.2 BISC *ISC 1983 5 30 8 39 49.4 32.71 75.48 41 4.6 BISC *ISC 1983 5 30 8 39 49.4 32.71 75.48 41 4.6 BISC *ISC 1983 5 31 21 5 40.5 34.59 79.66 8 5 BISC NEIS 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 7 5 17 26 49.6 29.29 80.86 33 4.5 BISC							4. 7 BISC		50
*ISC									25
*ISC		1983 1 6 20	29	6 31.47		0			43
*ISC							4.7 BNEIS		23
NEIS 1983 1 27 4 45 40.2 29.05 81.39 33 4.8 BNEIS F *ISC 1983 1 29 20 31 41.8 33.18 88.1 33 4.2 BISC NEIS 1983 1 29 20 31 40.6 33.17 88.19 33 4.5 BNEIS *ISC 1983 2 20 7 54.7 34.07 87.43 33 4.2 BISC *ISC 1983 2 25 21.2 33.34 78.58 33 *ISC 1983 2 27.20 33 6.5 32.6 78.56 40 5.3 BISC NEIS 1983 2 27.23 9 6.3 33.3 80.2 33 *ISC 1983 3 21.7 12 8.2 29.76 79.76 33 *ISC 1983 3 21.2 32.71 86.95 33 <									. 7
*ISC								•	24
NEIS									F 15
*ISC								,	13
*ISC							7. U DILLIU		9
*ISC							4.2 BISC		. 7
*ISC									10
NEIS 1983 2 27 20 33 6.5 32.61 78.55 33 4.9 SNEIS 5.3 BNEIS *QUE I 1983 2 27 23 9 6.3 33.3 80.2 33 *ISC 1983 3 14 1 22 27.6 30.66 84.06 0 4.2 BISC *ISC 1983 3 21 7 12 8.2 29.76 79.76 33 *ISC 1983 5 20 12 52 1.2 30.36 79.76 33 4.2 BISC *ISC 1983 5 30 8 39 49.4 32.71 75.48 41 4.6 BISC *ISC 1983 5 31 21 5 40.5 34.59 79.66 8 5 BISC *ISC 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 \$NEIS 5 BNEIS *ISC							5.3 BISC	4	209
*ISC							4. 9 SNE1S	5.3 BNE1S	- 112
*\sc \									÷
*ISC							4. 2 BISC	•	. 8
*ISC 1983 5 20 12 52 1. 2 30. 36 79. 76 33 4. 2 BISC *ISC 1983 5 30 8 39 49. 4 32. 71 75. 48 41 4. 6 BISC *ISC 1983 5 31 21 5 40. 5 34. 59 79. 66 8 5 BISC NEIS 1983 5 31 21 5 45. 4 34. 53 79. 73 47 4. 3 SNEIS 5 BNEIS *ISC 1983 7 5 17 26 49. 6 29. 29 80. 86 33 4. 5 BISC									12
*ISC 1983 5 30 8 39 49.4 32.71 75.48 41 4.6 BISC *ISC 1983 5 31 21 5 40.5 34.59 79.66 8 5 BISC NEIS 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 7 5 17 26 49.6 29.29 80.86 33 4.5 BISC							4 a Dico	•	7
*ISC 1983 5 31 21 5 40.5 34.59 79.66 8 5 BISC NEIS 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 7 5 17 26 49.6 29.29 80.86 33 4.5 BISC									13 44
NEIS 1983 5 31 21 5 45.4 34.53 79.73 47 4.3 SNEIS 5 BNEIS *ISC 1983 7 5 17 26 49.6 29.29 80.86 33 4.5 BISC			5 49.						142
*ISC 1983 7 5 17 26 49.6 29.29 80.86 33 4.5 BISC								5 RNFIS	76
								O DREIG	14
NEIS 1983 7 5 17 26 49.2 29.49 80.69 33 4.6 BNEIS	NEIS	1983 7 5 17					4. 6 BNE IS	•	6
*ISC 1983 8 10 15 44 46.7 26.8 86.55 33								1.0	ារ័
*ISC 1983 8 23 22 43 12.8 27.95 84.95 65 4.5 BISC							4.5 BISC	•	34
NEIS 1983 8 23 22 43 12.2 27.96 84.96 61 4.3 BNEIS F		1983 8 23 22	43 12.	2 27.96	84. 96	61			F 22 5
*ISC 1983 9 16 14 16 22 34.73 78.17 33	*ISC	1983 9 16 14	16 2	2 34.73	78. 17	33			
*ISC 1983 10 1 1 24 8.5 28.63 85.64 33	*ISC	1983 10 1 1	24 8.	5 28.63	85. 64	33		•	7

Ref	Year	mo	ď	h	min (GMT)	8	Lat	Long	Depth A	lag.1	Mag.2	Int	t N
*1SC	1983	10	3	12	55	20. 7	33. 94	76. 4	33				10
* SC	1983	10	12	2	44	42.2	33.76	75.72	33	4.5 BISC			15
NEIS	1983	10	12	2	44	41. 2	33, 52	75.46	33	4.6 BNEIS	•	D	13
*1SC	1983	11	5	19	48	24. 6	33, 92	89.94	33	5.1 BISC			265
NEIS	1983	11	5	19	48	24. 5	33, 96	89.95	33	5.2 SNE1S	5. 1 BNEIS		167
*1SC	1983	11	11	8	32	11.7	34	83.12	33				7
NEIS	1983	11	11	8	32	14. 2	33.69	82. 72	33		•		6
*NE1S	1983	-11	23	5	. 5	52. 3	30.35	83. 1	33	4.6 BNEIS			6
*1SC	1983	12	16	15	15	40. 1	28. 37	86.65	116	4. 2 BISC			21
* SC	1983	12	23	19	35	44. 3	25.86	87. 9	33	4.3 BISC	•		10
NEIS	1983	12	23	19	35	43. 2	25, 38	87.62	33	4.3 BNEIS		F	5
*ISC	1983	12	24	. 4	55	12	28. 22	79.61	33				5
*{SC	1984	- 1	6	23	48	10.6	27.83	84.61	49	4.5 BISC			33
*1SC	1984	- 1	8	1	53	13. 3	32. 18	79.65	36	4. 4 BISC	•		27
* SC	1984	- 1	-11	14	2	30.5	28.05	84.63	33				14
*ISC	1984	- 1	14	6	2	31. 4	31.4	88.05	62	4.3 BNEIS			11
*\SC	1984	- 1	25	23	49	44. 6	27.48	86, 09	12	4.6 BISC	•		36
*ISC	1984		19		46		29.84		21	5. 1 BISC	•		166
*1SC	1984	2	23	1	0	13. 2	31.43	75, 83	20	4 MSSP			15
*1SC	1984	3	14	- 1	32	11	29. 17	81. 12	15	5 BISC			82
*1SC	1984	- 3	.14	15	32	32. 5	34. 23	79.63	22	5.1 BISC			153
*ISC	1984				52	42. 8			33			:	9
*ISC	1984	- 3	23	0	33	32. 4	32. 93	77. 14	33	4.6 BISC			14
*ISC	1984	4	5			57. 6		81.05	33	4.1 BISC			8
*ISC	1984			2		6. 2			33	4. 7 BISC			7
*ISC	1984			8	15	29. 1		79.67	40	4.8 BISC			100
*ISC	1984					41. 7				5 BISC			118
*ISC	1984		22				30.56		33	4.7 BISC			<u>22</u> 7
*NE IS	1 1984	4	27	23	16	27. 1	33. 67	89. 45	33	4. 9 BNE IS			7

NOTES

- 1. The following abbreviations were used in the reference (Ref) column.
- G.R Gutenberg and Richter (1954)
- MIL Milne (1911)
- OLD 01dham (1883)
- SRS Srivastava and Somayajulu (1966)
- TN1 Tandon (1956)
- TN2 Tandon (1975)
- TR1 Turner et al (1911)
- 2. An * in column 1 preceding reference indicates the primary estimate of an event. A balnk indicates an alternate estimate.
- 3. Agency code is given in the Ref column. Data source following reference is indicated by: B BCIS, I ISS/ISC, N NEIS, T Telex, direct otherwise.
- 4. Magnitudes 1 and 2 list first and second magnitude, respectively. A letter following the magnitude refers to the following type magnitude estimate.
- () unspecified
- B Body wave magnitude
- C Coda length magnitude
- D Duration magnitude
- L Local (Richter) magnitude
- N Magnitude from Lg phases (Nuttli)
- S Magnitude from surface waves
- 5. Under the Int column, the following abbreviations apply. D Damage reported, F Felt report(s). Intensity Scales are abbreviated as follows:
- absent unspecified
- CS Mercalli Cancani Seberg
- J Japanese Meterological Agency
- M Mercalli
- MM Modified Mercalli
- RF Rossi Forel
- SK Medevev Sponheur Karnik
- 6. Column N gives the number of stations associated with the determination.
- 7. The primary sources of data for this catalog are:
- 1904 1952 Gutenberg and Richter "Seismicity of the Earth"
- 1913 1963 International Seismological Summary (ISS)
- 1935 Bureau Central International de Seismologie (BCIS)
- 1950 1963 Nov.29 Bureau Central International de Seismologie (BCIS)

1950 - 1963 L.R. Sykes catalogue of ridge events

1928 - 1960 United States Coast and Geodetic Survey

1964 - 1983 International Seismological Centre (ISC) prime estimates

1984 - 1986 Preliminary Determination of Epicentres from United States

National Earthquake Information Service (NEIS)

8. The following code for data sources were used.

BCIS Bureau Central International de Seismologie, Strasbourg, France

CGS U.S.Coast and Geodetic Survey, USA

EBM Esen Boulak, Mongolia

HFS Hagfors, Sweden

HFS1 Hagfors, Sweden

IMD India Meterological Department

IRK Irkutsk, USSR

ISC International Seismological Centre, UK

ISS International Seismological Summary, UK

KEW Kew, UK

KIP Kipapa, Oahu

KIR Kiruna, Sweden

LAO Large Aperture Seismic Array, Montana, USA

MAT Matsushiro, Japan

MOS Moscow, USSR

NDI Delhi, India

NEIS National Earthquake Information Service, Colorado, USA

PAS Pasadena, California, USA

PDE Preliminary Determination of Epicentres from NEIS/CGS

PEK Peking, China

POO Poona, India

PUL Pulkovo, USSR

QUE Quetta, Pakistan

ROM Rome, Itary

SHI Shillong, India

SHL Shillong, India

SJS Instituto Costarricense de Electricidad, Costa Rica

SPC Skalnate - Pleso, Czechoslovakia

UPP Uppsala, Sweden

USCGS United States Coast and Geodetic Survey

USGS United States Geological Survey

ANNEX 2 DETAILED BREAKDOWN OF CONSTRUCTION COSTS FOR HYDROPOWER POTENTIAL SCHEMES

3. DETAILED BREAKDOWN OF CONSTRUCTION COSTS FOR HYDROPOWER POTENTIAL SCHEMES

In order to select a few to several hydropower priority schemes, a total of 31 hydropower potential schemes have been examined technically and economically as mentioned in Appendix IV of Supporting Report Preliminary cost estimates for these hydropower potential schemes were based on the unit price and the work quantity.

A tentative optimal scale of each scheme was sought by comparing three development alternatives; the run-of-river type schemes selected three peaking operations of 8 hours, 12 hours and 16 hours for firm discharge. On the other band, draft rates of 0.6, 0.7 and 0.8 were selected as three development alternatives for the reservoir type schemes. It is assumed in this optimization of reservoir type schemes that peaking operation time for a selected draft rate is fixed at 8 hours.

This ANNEX shows the detailed breakdown of construction costs required for the development of the above-mentioned three alternatives of the hydropower potential schemes.

A list of 31 hydropower potential schemes is given below:

• •	**	•
Name of Scheme	Tributary	Type of Scheme
Karnali River Basin		
BR-1	Bheri	Run-of-river
BR-3A	Bheri	Reservoir
BR-3B	Bheri	Reservoir
BR-4	Bheri	Reservoir
BR-5	Bheri	Reservoir
BR-6	Bheri	Run-of-river
BR-7	Bheri	Run-of-river
BR-8	Bheri	Run-of-river
HKR-1	Humla	Run-of-river
HKR-2	Humla	Run-of-river
HKR-3	Humla	Run-of-river
HKR-4	Humla	Run-of-river
KR-2	Karnali	Reservoir
KR-3	Karnali	Run-of-river
KR-4	Karnali	Run-of-river
KR-7	Karnali	Run-of-river
LR-1	Lohore	Reservoir
TR-1	Tila	Run-of-river
TR-2	Tila	Run-of-river
TR-3	Tila	Run-of-river
TR-4	Tila	Run-of-river
MKR-1	Mugu	Run-of-river
MKR-2	Mugu	Run-of-river
MKR-3	Mugu	Run-of-river
SR-6	Seti	Reservoir
SR-3	Seti	Run-of-river
SR-7	Seti	Run-of-river
BS-1	Buriganga	Run-of-river
THR-1	Thuli Gad	Run-of-river
Mahakali River Basin		
CR-1	Chamliya	Run-of-river
CR-2	Chamliya	Run-of-river

Item No.	Work Item	Unit			mount C.(USS)	
-						
.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				8,812,140
.00	CIVIL WORKS					
10	INTAKEDAM					
	Open Excavation					
	Open excavation, common	m3	41,700	3.50	145,950	
	Open excavation, weathered rock	m3	41,700	6.00	250,200	
	Open excavation, hard took	m3	16,000	10.00	160,000	
	Concrete Mass concrete	m3	33,000	90.00	2,970,000	
	Reinforced concrete	m3	101,000	140.00	14,140,000	
	Reinforcement bar	ton	3,030	1,500.00	4,545,000	
	Curtain grouting	m	3,900	70.00	273,000	
	Consolidation grouting	m	4,200	90.00	378,000	
	Others (20%)	L.S.			4,572,430	
	Subtotal					27,434,580
20	DESANDING BASIN					
	Excavation					
	Excavation, common	m3	25,000	3.50	87,500	
	Excavation, weathered rock	m3	25,000	6.00	150,000	
	Excavation hard rock	m3	32,000	10.00	320,000	
	Concrete Reinforctment bars	m3	18,000 900	140.00 1,500.00	2,520,000 1,350,000	
	Keinforetment bars Cortain grouting	tom m	1,000	70.00	70,000	
	Consolidation grouting	m)	5,000	90.00	450,000	
	Others (20%)	L.S.	• • •	• •	989,500	
	Subtotal					5,937,00
50 51	WATERWAY INTAKE				•	
	Proposition					
	Excavation Excavation, common	m3	2,000	3.50	7,000	
	Excavation, weathered rock	m3	2,000	6.00	12,000	
	Excavation hard rock	m3	2,600	10.00	26,000	
	Concrete, open structure	m3	3,000	140,00	420,000	
	Reinforcement	ton	90	1,500.00	135,000	
	Others (20%)	L.S.			120,000	
	Suistotal	•				720,00
32	HEADRACE TUNNEL				. • •	
	Excavation tunnel	rm3	209,100	55.00	11,500,500	
	Concrete, tunnel	m3	67,700	160.00	10,832,000	
	Reinforcement	ton	700	1,500.00	1,050,000	
	Consolidation grout	m	18,900 400	90.00 70.00	1,701,000 28,000	
	Curtain grout Backfill grout	m m3	8,700	200.00	1,740,000	
	Others (20%)	LS.	74		5,370,300	- 1
	Subtotal					32,221,80
12	·	•			•	,,
13	SURGE TANK		4			•
	Excavation, shaft	т3	18,500	55.00	1,017,500	
	Concrete, shaft	m3	5,400	160.00	864,000	
•	Reinforcement Consolidation grout	ton m	, 200 1,000	1,500.00 90.00	390,000 90,000	
	Others (20%)	L.S.	.,	•	454,300	
	Subtotal					2,725,80
34	PENSTOCK					
. •	A AM TO EXPONE					-
	Excavation tunnel	m3	13,100	55.00	720,500	
	Concrete,tunnel	m3	5,400	160.00	864,000	
	Reinforcement	ton	110	1,500.00	165,000	
	Curtain grout	m ma	400 500	70,00 200.00	28,000	
	Backfill grout Others (20%)	m3 L.S.	500	200.00	100,000 375,500	
	Outers (2010)				3,5,000	
	Subtotal				*	2,253,0
10	OPEN POWERHOUSE					-
	:.					
	Excavation Excavation common	m3	9,300	3.50	32,550	
			•			

	The carreston weath and rock	m3	9,300	6.00	55,800		
	Excavation, weathered rock						
•	Excavation hard rock	m3	12,400	10.00	124,000		
	Concrete, submructure	m3	8,900	250.00	2,225,000		
	Concrete, second stage	m3	2,300	140.00	322,000		
	Reinforcement	ton	800	1,500.00	900,000		
	Others (20%)	L.S.	1		731,870		
	4						
	Subtotal					4,391,220	
	54565(44					-(
2.50	TAILRACE						
	Excavation						
	Excavation,common	m3	120,000	3.50	420,000		
	Excavation, weathered rock	m3	120,000	6.00	720,000	'	
	Excavation hard rock	m3	200,000	10.00	2,000,000		
	Concrete, structure	m3	50,000	140.00	7,000,000		
					225,000		
	Reinforcement	ton	150	1,500.00			
	Others (20%)	L.S.			2,073,000		
	Subtotal					12,438,000	
	•						
2.60	ARCHITECTURAL BUILDINGS	m2	3,000	1,100.00	3,300,000	3,300,000	
2.60	ARCHITECTURAL BUILDINGS	1116	3,000	1,100.00	21-200,000	2,00,000	
					*		
2.70	ACCESS ROAD						
	New construction	m	15	600,000.00	9,000,000		
	Upgraced	m	69	50,000.00	3,450,000		
	AP81						
	841					12,450,000	
	Subtotal					12,450,000	
3.00	METAL WORKS						
						•	
*	Penstock steel pipes	ton	2,000	5,000.00	10,000,000		
	Gotat						
	Gates	ton	160	7,000.00	1,120,000		
	•					11.120.000	
	Gates Subtotal					11,120,000	
	Subtotal					11,120,000	
4.00	•					11,120,000	
4.00	Subtotal GENERATING EQUIPMENT	ton .	160	7,000.00	1,120,000	11,120,000	
4.00	Subtotal				1,120,000 7,667,000	11,120,000	
4.00	Subtotal GENERATING EQUIPMENT	ton .	160	7,000.00	1,120,000	11,120,000	
4.00	Subtotal GENERATING EQUIPMENT Turbines Generators	ton ton ton	160 410 700	7,000.00 18,700.00 20,400.00	1,120,000 7,667,000 14,280,000	11,120,000	
4.00	Subtotal GENERATING EQUIPMENT Turbines	ton ton	160	7,000.00 18,700.00	1,120,000 7,667,000	11,120,000	
4.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers	ton ton ton	160 410 700	7,000.00 18,700.00 20,400.00	1,120,000 7,667,000 14,280,000		
	Subtotal GENERATING EQUIPMENT Turbines Generators	ton ton ton	160 410 700	7,000.00 18,700.00 20,400.00	1,120,000 7,667,000 14,280,000	11,120,000 22,320,500	
4.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers	ton ton ton	160 410 700	7,000.00 18,700.00 20,400.00	1,120,000 7,667,000 14,280,000		
	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal	ton ton ton MVA	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500	22,320,500	
	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND	ton ton ton	160 410 700	7,000.00 18,700.00 20,400.00	1,120,000 7,667,000 14,280,000		
	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal	ton ton ton MVA	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	7,667,000 14,280,000 373,500	22,320,500	
	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTITTIONS	ton ton ton MVA	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	7,667,000 14,280,000 373,500	22,320,500	
	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND	ton ton ton MVA	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	7,667,000 14,280,000 373,500	22,320,500 690,000	
	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTITTIONS	ton ton ton MVA	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	7,667,000 14,280,000 373,500	22,320,500 690,000	
5.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost	ton ton MVA km	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,560 690,000 146,814,040	
	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTITTIONS	ton ton MVA km	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	7,667,000 14,280,000 373,500	22,320,500 690,000	
5.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION	ton ton MVA km	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140	
5.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost	ton ton MVA km	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,560 690,000 146,814,040	
5.00 6.00 7.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost ŁAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES	ton ton ton MVA km	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140	
5.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION	ton ton MVA km	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140	
5.00 6.00 7.00 8.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983	
5.00 6.00 7.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost ŁAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES	ton ton ton MVA km	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140	
5.00 6.00 7.00 8.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00	Subtotal GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	
5.00 6.00 7.00 8.00 9.00	GENERATING EQUIPMENT Turbines Generators Transformers Subtotal TRANSMISSION LINES AND SUBSTATIONS Total of Direct Cost LAND AQUISITION AND COMPENSATION ADMINISTRATION EXPENSES ENGINEERING SERVICES PHYSICAL CONTINGENCY	ton ton ton MVA km LS LS	410 700 90	7,000.00 18,700.00 20,400.00 4,150.00	1,120,000 7,667,000 14,280,000 373,500 690,000 0	22,320,500 690,000 146,814,040 1,468,140 1,468,140 10,276,983 14,681,404	

m No.	Work Item	Unit			i.C.(US\$)	
00 PREP	ARATORY WORKS	L.S.				6,818,86
٠	(10 % of Civil Works)	•				
o civii	L WORKS					
Ó	INTAKE DAM					
	Open Excavation	m3	37 700	1.60	121.040	
	Open excavation, common Open excavation, weathered rock	m3	37,700 37,700	3.50 6.00	131,950 226,200	
•	Open excavation hard rock	m3	50,200	10.00	502,000	
	Concrete		•			
	Mass concrete	m3	33,000	90.00	2,970,000	
	Reinforced concrete	m3	101,000	140.00	14,140,000	
	Reinforcement bar Curtain growing	ton m	3,030 3,800	1,500.00 70.00	4,545,000 252,000	
	Consolidation grouting	m.	4,200	90.00	378,000	
	Others (20%)	L.S.			4,629,030	
	Subtotal					27,774,18
0	DESANDING BASIN					
	Excavation					•
	Excavation, common	m3	18,000	3.50	63,000	
	Excavation, weathered rock	m3	18,000	6.00	108,000	
	Excavation hard rock	m3	24,000	10.00	240,000	
•	Concrete Reinforcement bars	m3 tom	8,500 250	140.00 1,500.00	1,190,000 375,000	
	Curtain grouting	m	800	70.00	56,000	
	Consolidation grouting	m	4,000	90.00	360,000	
	Others (20%)	L.S.			478,400	
	Subtotal					2,870,40
)	WATERWAY					
1	INTAKE				•	
	Excavation					
	Excavation, common	m3	1,700	3.50	5,950	
	Excavation, weathered rock	m3	1,700	6.00	10,200	
	Excavation,hard rock Concrete,open structure	m3 m3	2,200 2,500	19.00 140.00	22,000 350,000	
	Reinforcement	ton	75	1,500.00	112,500	
•	Others (20%)	L.S.			100,130	
	Subtotal					600,78
2	HEADRACE TUNNEL					
	Excavation,tunnel	m3	136,000	55.00	7,480,000	
	Concrete, namel	m3	45,500	160.00	7,280,000	
	Reinforcement	ton	480	1,500.00	690,000	
	Consolidation grout	m	5,100	90.00	459,000	
	Curtain grout	m 2	250	70.00	17,500	
* *	Backfill grout Others (20%)	m3 L.S.	7,200	200.00	1,440,000 3,473,300	
	Subtotal					20,839,86
3	SURGE TANK					
	Excavation, shaft	m3	13,600	55.00	748,000	
	Concrete, shaft	m3	4,000	160.00	640,000	
-	Reinforcement	ton	120	1,500.00	180,000	•
	Consolidation grout Others (20%)	m L.S.	500	90.00	45,000 322,600	
	Subtotal					1,935,6
	PENSTOCK					1,722,0
4						
4		m3 .	10,800	55.00	594,000	
4	Excavation tunnel		4,800	160.00 1,500.00	768,000 150,000	
4	Concrete tunnel	m3	100	12007.00	120,000	
4	Constete, tunnel Reinforcement	ton	100 250			
•	Concrete tunnel		100 250 400	70.00 200.00	17,500 80,000	:
4	Concrete, tunnel Reinforcement Currain grout	ton m	250	70.00	17,500	:
•	Constete tunnel Reinforcement Cunain grout Backfill grout	ton m m3	250	70.00	17,500 80,000	1,931,4
. D	Constete tunnel Reinforcement Curtain grout Backfill grout Others (20%)	ton m m3	250	70.00	17,500 80,000	1,931,4
	Consiste tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal	ton m m3	250	70.00	17,500 80,000	1,931,4

	Excavation, weathered rock	m3	6,900	6.00	41,400	
	Excavation, hard rock	m3	9,100	10,00	91,000	
	Concrete, substructure	m3	6,500	250.00	1,625,000	
	Concrete, second stage	m3	1,700	140.00	238,000	
	Reinforcement	ton	425	1,500.00	637,500	
	Others (20%)	L.S.	1,00	1,000.00	531,410	
		. 2			031,110	
	Subrotal					3,188,460
2.70	TAILRACE					-
	Excavation					
	Excavation, common	m3	80,000	3.50	280,000	
	Excavation, weathered rock	m3	000,08	6.00	480,000	
	Excavation hard rock	m3	100,000	10.00	1,000,000	
	Concrete, structure	m3	40,000	140.00	5,600,000	
	Reinforcement	ton	120	1,500.00	180,000	
	Others (20%)	L.S.	120	1,500,00	1,508,000	
	Subtotal				4 .	9,048,000
	, ·					
2.80	ARCHITECTURAL BUILDINGS	m2	2,600	1,100.00	2,860,000	2,860,000
2.90	ACCESS ROAD					
	New construction	m	15	600,000.00	9,000,000	
			69	50,000.00		
	Upgraded	m	62	30,000,00	3,450,000	
	Subtotal					12,450,000
3.00	METAL WORKS			-		
	Penstock steel pipes	ton	1,600	5,000.00	8,000,000	
	Gates	ton	120	7,000.00	840,000	
	Subtotal					8,840,000
4.00	GENERATING EQUIPMENT		•			**
	Turbines	ton	300	18,700.00	5,610,000	
	Generators	ton	550	20,400.00	11,220,000	
	Transformers	MVA	58	4,600.00	266,800	
	Sultotal					17,096,800
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	15	46,000.00	690,000 0	690,000
	Total of Direct Cost			274		116,944,282
6.00	LAND AQUISITION AND COMPENSATION	LS			. 0	1,169,443
7.00	ADMINISTRATION EXPENSES	LS			0	1,169,443
8.00	ENGINEERING SERVICES	LS			0	8,186,100
9.00	PHYSICAL CONTINGENCY	LS			0	11,694,428
	GRAND TOTAL				139,163,696	139,163,696

tem No.	Work Item	Unit			nount C.(US \$)	

.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				6,285,636
.00	CIVIL WORKS					
.10	INTAKE DAM					
7.7					٠.	
	Open Excavation Open excavation,common	m3	33,800	3.50	118,300	
	Open excavation weathered rock	m3	33,800	6.00	202,800	
	Open excavation hard rock Concrete	m3	45,100	10.00	451,000	
	Mass concrete	m3	33,000	90.00	2,970,000	
	Reinforced concrete	m3	101,000	140.00	14,140,006	
	Reinforcement bar Curtain grouting	ton	3,030 3,400	1,500.00 70.00	4,545,000 238,000	
	Consolidation grouting	m m	4,100	90.00	369,000	
	Others (20%)	L.S.			4,606,820	
	Subtotal		•			27,640,920
40	DESANDING BASIN				•	
	Excavation Excavation, common	m3	14,000	3.50	49,000	
	Excavation, weathered rock	m3	14,000	6.00	84,000	
	Excavation hard rock Concrete	m3 m3	19,000 4,000	10.00 140.00	190,000 560,000	
	Reinforcement bars	tom	120	1,500.00	180,000	
	Curtain grouting	m,	700	70.00	49,000	
	Consolidation grouting Others (20%)	m L.S.	3,000	90.00	270,000 276,400	
	Oplicas (E0 %)	L.			2.0,100	
	Subtotal					1,658,400
50	WATEAWAY					:
51	INTAKE					
	Excavation					
	Excavation common	ra3	1,400	3.50	4,900	
	Excavation, weathered rock	m3	1,400	6,00	8,400	
	Excavation hard rock Concrete, open structure	m3 m3	1,900 2,100	10.00 140.00	19,000 294,000	
	Reinforcement	ton	65	1,500.00	97,500	
	Others (20%)	L.S.	, ***		84,760	
	Subtotal				. 4	508,560
52	HEADRACE TUNNEL					-
	Excavation tunnel	m3	105,500	55.00	5,802,500	
	Concrete, tunnel	m3	38,200	160.00	5,792,000	
	Reinforcement Consolidation grout	ton m	365 4,400	1,500.00 90.00	547,500 396,000	•
•	Curtain grout	m m	250	70.00	17,500	
	Backfill grout	m3	6,500	200.00	1,300,000	
	Others (20%)	L.S.			2,771,100	
	Subtotal					16,626,600
53	SURGE TANK	100				•
	Excavation, shaft	m3	10,200	55.00	561,000	
	Concrete, shaft	m3	3,000	160.00	480,000	
	Reinforcement Consolidation grout	ton m	100 300	1,500.00 90.00	150,000 27,000	
	Others (20%)	L.S.			243,600	
	Subtotal					1,461,600
54	PENSTOCK					
						
	Excavation,tunnel	m3 m3	8,700 4,300	55.00 160.00	478,500 688,000	
	Concrete,tunnel Reinforcement	ton	4,300	1,500.00	67,500	
	Curtain grout	,m	250	70.00	17,500	
	Backfill grout	m3	500	200.00	100,000	
	Others (20%)	L.S.			270,300	
	Subtotal					1,621,800
90	OPEN POWERHOUSE					
	•					
	Excavation	m3	5,200	3.50	18,200	

	Excavation, weathered rock	m3	5,200	6.00	31,200	
	Excavation hard rock	m3	6,900	10.00	69,000	
	Concrete, substructure	m3 .	4,900	250.00	1,225,000	
	Concrete, second stage	rn3	1,300	140.00	182,000	
	Reinforcement	ton	350	1,500.00	525,000	
	Others (20%)	L.S.			410,080	
	Subtotal					2,460,480
2.70	TAILRACE					
	Excavation					
	Excavation common	m3	70,000	3.50	245,000	
	Excavation, weathered rock	m3	70,000	6.00	420,000	
	Excavation, hard rock	m3	100,000	10.00	1,000,000	
	_					
	Concrete, siniciure	m3	40,000	140.00	5,600,000	
	Reinforcement	ton	1,200	1,500.00	1,800,000	
	Others (20%)	L.S.		•	1,813,000	
	Subtotal					10,878,000
2.80	ARCHITECTURAL BUILDINGS	m2	2,500	1,100.00	2,750,000	2,750,000
2.90	ACCESS ROAD			•		
	N		15	: 400,000,00	0.000,000	
	New construction	m	15	600,000.00	9,000,000	
	Upgraded	m	69	50,000.00	3,450,000	* .
	Subraial					12,450,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	1,300	5,000.00	6,500,000	
	Gates	ton	90	7,000.00	630,000	•
	0.11			,		7,130,000
	Subtota!				•	7,130,000
4.00	GENERATING EQUIPMENT					•
	Turbines	ton	240	18,700.00	4,488,000	
	Generators	ion	450	20,400.00	9,180,000	
	Treasformers	AVM	44	4,800.00	211,200	
	0.1.1.1					13,879,200
	Subtotal					13,977,200
5.00	TRANSMISSION LINES AND SUBSTATIONS) Joseph	15	46,000.00	690,000 0	690,000
	Total of Direct Cost				•	106,041,196
6.00	LAND AQUISITION AND COMPENSATION	LS			0	1,060,412
7.00	ADMINISTRATION EXPENSES	LS			0	1,060,412
8.00	ENGINEERING SERVICES	LS			0	7,422,884
9.00	PHYSICAL CONTINGENCY	LS			0	10,604,120
	GRAND TOTAL				126,189,023	126,189,023

Item No.	Work Item	Unit C			nount	
	· · · · · · · · · · · · · · · · · · ·			:(US\$) F.	C.(USS)	
1.00	PREPARATORY WORKS	L.S.				42,202,095
	(10 % of Civil Works)					
2.00	CIVIL WORKS					
2.10	DIVERSION TUNNEL	•				
	Open Excavation of Inlet & Outlet Open excavation common	m3	27,000	3.50	94,500	
	Open excavation, weathered rock	m3	28,000	6.00	168,000	
	Open excavation hard rock	m3	36,000	10.00	360,000	
	Concrete of Intel & Outlet Tunnel Excavation	m3 m3	12,000 465,000	140.00 55.00	1,680,000 25,575,000	
	Tunnet Concrete	m3	136,000	160.00	21,760,000	
	Reinforcement bar	m3	3,000	1,500.00	4,500,000	
	Plug Concrete Others (20%)	m3 L.S.	18,000	160.00	2,880,000 11,403,500	
		2.14.			111103 200	48 48 A
	Subtotal					68,421,000
.20	COFFER DAM					
	Excavation	_				
	Excavation common Embankment	m3	152,000	3.50	532,000	
	Embankment,core	m3	271,000	5.00	1,355,000	
	Embankment, filter	m3	66,000	10.00	660,000	
	Embankment, rock Others (20%)	m3 L.S.	1,899,000	6.00	11,394,000 2,788,200	
	•	5-5.			-1	
	Subtotal					16,729,200
.30	MAIN DAM					
	Excavation	_	****	A		
	Excavation common Excavation weathered rock	m3 m3	389,000 400,000	3.50 6.00	1,361,500 2,400,000	
	Excavation hard	m3	250,000	10.00	2,500,000	
	Emberkment				-	
	Embankment, core Embankment, filter	m3 m3	1,857,000 412,000	5.00 10.00	9,285,000 4,120,000	
	Embankmentrock	m3	11,313,000	6.00	67,878,000	
	Curtain Grouting	m	72,000	70.00	5,040,000	
	Consolidation Grouting	m	14,000	90.00	1,260,000	
	Others (10%)	L.\$.			9,384,450	
	Subtotal					103,228,950
4 0	SPILLWAY					
	Excavation					
	Excavation common	m3	228,000	3.50	798,000	
	Excavation, weathered rock	m3	319,000	6.00	1,914,000	
	Excavation,hard rock Concrete	m3 m3 .	2,922,000 118,000	10.00 140.00	29,220,000 16,520,000	
	Reinforcement bars	tom	3,540	1,500.00	5,310,000	
	Others (20%)	L.S.			10,752,400	
	Subtotal				-	64,514,400
.50	WATERWAY					
.51	INTAKE					
-						
	Excavation common	m3	11,000	3.50	38,500	
	Excavation weathered rock	m3	11,000	6.00	66,000	
	Excavation hard took Concrete, open structure	ա3 m3	15,000 16,000	18.00 140.00	150,000 2,240,000	
	Reinforcement	ton	490	1,500.00	735,000	
	Others (20%)	L.S.			645,900	
	Subtotal					3,875,40
.52	HEADRACE TUNNEL					
			675,000	55.00	37,125,000	
	Excavation, tunnel Concrete, tunnel	m3 m3	200,000	160.00	37,125,000 32,000,000	
	Reinforcement	ton	2,000	1,500.00	3,000,000	
	Consolidation grout	ព	32,000 1,800	90.00	2,880,000	
	Curtain grout Backfill grout	m m3	1,800 4,300	70.00 200.00	126,000 860,000	
	Others (20%)	L.S.	•		15,198,200	
	Subtotal					91,189,20
.53	PENSTOCK					
	Bacavation tunnel	m3	61,000	55.00	3,355,000	
	Concrete, tunnel Reinforcement	m3 ton	13,000 390	1,500.00 1,500.00	2,080,000 585,000	
	Curtain grout	m	1,800	70.00	126,000	
	Backfill grout	m3	960	200.00	192,000	
	Others (20%)	L.S.			1,267,600	
	Subtotal					7,605,60
.60	OPEN POWERHOUSE					
						: *
	Excavation Excavation,common	m3	138,000	3.50	483,000	
		_				

	Excavation, weathered rock	m3	138,000	6,00	828,000	
	Excavation, hard rock	m3	184,000	10.00	1,840,000	
	Concrete, substructure	m3	144,000	250.00	36,000,000	
	Concrete, second stage	m3	20,000	140.00	2,800,000	
	Reinforcement	ton	8,500	1,500.00	12,750,000	
	Others (20%)	L.S.	0,000	*,******	10,940,200	
	Subtotal					65,641,200
2.70	TAILRACE					
	Excavation					
	Excavation common	m3	8,000	3.50	28,000	
	Excavation weathered rock	m3	8,000	6.00	48,000	
	Excavation,hard rock	m3	12,000	10.00	120,000	
	Concrete, structure	m3	2,600	140.00	364,000	•
	Reinforcement	ton	80	1,500.00	120,000	
	Others (20%)	L.S.			136,000	
	Subtotal					816,000
	**************************************					•
2.80	ARCHITECTURAL BUILDINGS	m2	4,600	1,100.00	5,060,000	5,060,000
2.90	ACCESS ROAD					
	New construction	m	0	600,000.00	0	
	Upgraded	m	69	50,000.00	3,450,000	
	Subtotal					3,450,000
3.00	METAL WORKS					
	Penstock steel pipes	ten	4,900	5,000.00	24,500,000	
	Gates	ton	900	7,000.00	6,300,000	
	Subtotal					30,800,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	3,700	18,700.00	69,190,000	
	Generators	ton	4,500	20,400.00	91,800,000	
	Transformers	MVA	760	2,900.00	2,284,000	
	1 missofiles	. · m·n	700	1,500.00	2,204,000	*
	Subtotal					163,194,000
					1000	
		4			4-4-00	
5.00	TRANSMISSION LINES AND	km	15	46,000.00	690,000	690,000
	SUBSTATIONS					
	Total of Direct Cost					667,417,045
6.00	LAND AQUISITION AND COMPENSATION	LS			0	33,370,852
7.00	ADMINISTRATION EXPENSES	LS			0	6,674,170
8.00	ENGINEERING SERVICES	LS			0	46,719,193
9.00	PHYSICAL CONTINGENCY	LS			0	66,741,705
	GRAND TOTAL			1.0	820,922,965	820,922,965

tem No.	Work Item	Unit			mount C.(US\$)	
				1033) 1.	<u> </u>	
.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				46,548,57
00	CIVIL WORKS					
0	DIVERSION TUNNEL					
•				٠		
	Open Excavation of Inlet & Outlet Open excavation, common	m3	27,000	3.50	94,500	
	Open excavation, weathered rock	m3	28,000	6.00	168,000	
	Open excavation hard rock Concrete of Inlet & Outlet	m3 m3	36,000	10.00 140.00	360,000 1,680,000	
	Tunnel Excavation	m3	12,000 490,000	55.00	26,950,000	
	Tunnel Concrete	m3	143,000	160.00	22,880,000	
	Reinforcement ber Plug Concrete	m3 m3	3,100 18,000	1,500.00 160.00	4,650,000 2,880,000	
	Others (20%)	L.S.		120,00	11,932,500	
	Subtotal					71,595,00
0	COFFER DAM					
	Excavation					
	Excavation continon	m3	157,000	3.50	549,500	
	Embankment	_	•	£ 00	1 200 000	
	Embankment,core Embankment,filter	m3 m3	272,000 66,000	5.00 10.00	1,360,000	
	Embankment rock	m3	1,990,000	6.00	11,940,000	
	Others (20%)	L.S.			2,901,900	
	Subtotal					17,411,4
0	MAIN DAM		•	•		
	Excavation			•		
	Excavation common	m3	552,000	3.50	1,932,000	
	Excavation, weathered rock Excavation hard	m3 m3	500,000 281,000	6.00 10.00	3,000,000 2,810,000	
	Embankment	,,,,	201,000	10.00	5,510,555	
	Embankment,core	m3	2,079,000	5.00	10,395,000	
	Embankment, filter Embankment, rock	m3 m3	460,000 13,010,000	10.00 6.00	4,600,000 78,060,000	
	Curtain Grouting	m	77,000	70.00	5,390,000	
	Consolidation Grouting	m.	19,000	90.00	1,710,000	
	Others (10%)	L.S.			10,789,700	
	Subtotal					118,686,70
0	SPILLWAY					
4	Excavation	_			4.0.000	
	Excavation,common Excavation,weathered rock	m3 m3	214,000 299,000	3.50 6.00	749,000 1,794,000	
	Excavation hard rock	m3	2,453,000	10.00	24,530,000	
	Concrete	m3	120,000	140.00	16,800,000	
	Reinforcement bars Others (20%)	tom L.S.	3,600	1,500.00	5,400,000 9,854,600	
	Subtotal					59,127,6
D	WATERWAY					•
I	INTAKE					
	Excavation Bacavation common	m3	12,000	3.50	42,000	
	Excavation, weathered rock	m3	12,000	6.00	72,000	
	Excavation hard rock	. m3	18,000	10.00	180,000	
	Concrete, open structure Reinforcement	m3 ton	19,000 570	140.00 1,500.00	2,660,000 855,000	
	Others (20%)	L.S.			761,800	
	Subtotal	-	•			4,570,8
2	HEADRACE TUNNEL					
-		, m ³	740 000	55.00	41 105 000	
	Excavation,tunnel Concrete, tunnel	m3 m3	749,000 221,000	160.00	41,195,000 35,360,000	
	Reinforcement	ton	2,210	1,500.00	3,315,000	
	Consolidation grout	m	34,000	90.00 70.00	3,060,000 133,600	•
	Curtain grout Backfill grout	m m3	1,960 4,500	200.00	900,000	
	Others (20%)	L.S.	*****		16,792,600	
	Subtotal					100,755,6
3	PENSTOCK					
-			74.000	že na	4 100 DOG	
	Excavation,unnel Concrete,unnel	m3 m3	76,000 15,000	55.00 160.00	4,180,000 2,400,000	
	Reinforcement	ton	450	1,500.00	675,000	
	Curtain grout	· m	2,100	70.00	147,000	
	Backfill grout	m3 L.S.	1,100	200.00	220,000 1,524,400	
	Others (20%)	L.J.			************	
	Subtotal					9,146,4
0 .	OPEN POWERHOUSE					
	Excavation					•
	Execution common	m3	167,000	3.50	584,500	

	Excavation, weathered tock	m3	167,000	6.00	1,002,000	
	Excavation, hard rock	m3 m3	221,000 175,000	10.00 250.00	2,210,000 43,750,000	
	Concrete, substituture Concrete, second stage	m3	25,000	140.00	3,500,000	
	Reinforcement	ton	8,800	1,500.00	13,200,000	
	Others (20%)	L.S.	0,000	1,500.00	12,849,300	
	Subtotal					77,095,800
2.70	TAILRACE					
	Bacavation					
	Excavation, common	m3	12,000	3.50	42,000	
	Excavation, weathered rock	m3	12,000	6.00	72,000	
	Excavation, hard took	m3	16,000	10.00	160,000	
	Concrete, structure	m3	3,200	140.00	448,000	
	Reinforcement	ton	100	1,500.00	150,000	
	Others (20%)	1S.			174,400	
	Subtotel					1,046,400
2.80	ARCHITECTURAL BUILDINGS	m2	5,500	1,100.00	6,050,000	6,050,000
2,90	ACCESS ROAD					
			_	*** *** **	_	
	New construction Upgraded	m m	0 69	600,000.00 50,000.00	0 3,450,000	
	opprace	***	,	30,000,00	214321000	
	Subtotal					3,450,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	7,700	5,000.00	38,500,000	-
	Gates	ton	1,100	7,000.00	7,700,000	
	Subtotal					46,200,000
4.03	GENERATING EQUIPMENT					
	Turbines	ton	4,200	18,700.00	78,540,000	
	Generators	ton	4,900	20,400.00	99,960,000	
	Transformers	MVA	880	2,800.00	2,464,000	
	Subtotal Subtotal					180,964,000
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	15	46,000.00	690,000 D	690,000
	SUBSTRICAS				•	
	Total of Direct Cost					743,338,270
					_	
6.00	LAND AQUISITION AND COMPENSATION	LS			0	37,166,914
7.00	ADMINISTRATION EXPENSES	LS			. 0	7,433,383
9.00	ENGINEERING SERVICES	LS			0	52,033,679
9.00	PHYSICAL CONTINGENCY	L\$			· , 0	74,333,827
	GRAND TOTAL				914,306,072	914,306,072

B/Q of BR-3A (EL.579.0)

iem No.	Work Item	Unit	Quantity	Unit price P.C.(USS)	Amount F.C.(US\$)	
	مارور بروده <u>بروده کی با</u> ده دی برود برود برود برود برود برود برود برود			1,0,033	17.5(03)	
.00 Pi	REPARATORY WORKS (10 % of Civit Works)	L.S.				53,512,775
.00 C	IVIL WORKS					
.10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet					
	Open excavation common	m3	27,000	3.50	94,500	
	Open excavation, weathered rock Open excavation, hard rock	m3 - m3	28,000 36,000	6.00 10.00	168,000 360,000	
	Concrete of Inici & Outlet	. ni3	12,000	140.00	1,680,000	
	Tunnel Excavation	m3	514,000	55.00	28,270,000	
	Tunnel Concrete	m3	151,000	160.00	24,160,000	
	Reinforcement bar Plug Concrete	m3 m3	3,300 18,000	1,500.00 160.00	4,950,000 2,880,000	
	Others (20%)	L.S.	10,000	100.00	12,512,500	
	Subtotal					75,075,000
20	COFFER DAM					
	Excavation	_				
	Excavation, common Embankment	m3	133,000	3.50	465,500	
	Embankment, core	Tn3	287,000	5.00	1,435,000	•
	Embankment filter	m3	71,000	10.00	710,000	
	Embarkment, rock Others (20%)	та3 L.S.	2,060,000	6.00	12,360,000 2,994,100	1.00
		K-5.			4,7,71,100	
	Subtotal	•				17,964,600
.30	MAIN DAM				* * *	•
	Excavation Excavation,common	т3	643,000	3.50	2,250,500	
	Excavation, weathered rock	m3	600,000	6.00	3,600,000	
	Excavation hard	m3	350,000	10.00	3,500,000	
	Embankment Embankment.core	m3	2,468,000	5.00	12,340,000	
	Embankment, filter	m3	544,000	10.00	5,440,000	
	Embankment, rock	m3	15,843,000	6.00	95,058,000	
	Curtain Grouting Consolidation Grouting	m m	82,000 20,000	70.00 90.00	5,740,000 1,800,000	
	Others (10%)	L.S.	20,000	20.00	12,972,850	
	Subtoral					142,701,350
.40	SPILLWAY					•
•	Excavation		-			
	Excavation, common	m3	211,000	3.50	738,500	
	Excavation, weathered sock	m3	294,000	6.00	1,764,000	
	Excavation hard rock Concrete	m3 m3	2,281,000 118,000	140.00	22,810,000 16,520,000	
	Reinforcement bars	tom	3,540	1,500.00	5,310,000	
	Others (20%)	L.S.			9,428,500	
	Subtotel	•			•	56,571,000
.50	INTAKE and INTAKE TUNNEL					
	Excavation		172.000	2 10	ANT EM	
	Excavation, common Excavation, weathered took	m3 m3	173,000 173,000	3.50 6.00	605,500 1,038,000	
	Excavation hard rock	m3	231,000	10.00	2,310,000	
	Concrete,open structure	m3	26,000	140.00	3,640,000	
	Reinforcement Others (20%)	ton L.S.	780	1,500.00	1,170,000 1,752,700	
	,	2.3.	4		1,102,100	
	Subtoral	;				10,516,20
60	HEADRACE TUNNEL	•	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1			
	Excavation tunnel	m3	892,000	55.00	49,060,000	
	Concrete, tunnel Reinforcement	m3 ton	262,000 2,620	160.00 1,500.00	41,920,000 3,930,000	
	Consolidation grout	m	40,000	90.00	3,600,000	
	Curtain grout	m	21,000	70.00	1,470,000	
	Backfill grout Others (20%)	m3 L.S.	4,600	200.00	920,000 20,180,000	
	Subtotal					121,080,00
90	PENSTOCK			•		
-	Excavation,tunnel	m3	83,000	55.00	4,565,000	
	Concrete tunnel	m3	16,000	160.00	2,560,000	
•	Reinforcement	ton	500	1,500.00	750,000	
	Curtain grout	m	2,200	70.00	154,000	
	Backfill grout Others (20%)	m3 L.S.	1,200	200,00	240,000 1,653,800	
1.00					-1	0.000.00
	Subtotal					9,922,80
.15	OPEN POWERHOUSE					
	Excavation,common Excavation,common	m3	197,000	3,50	689,500	
	Excavation, weathered rock	m3 m3	197,000	6.00	1,182,000	
	Excavation hard rock	m3	263,000	tu/M	2,630,000	

	Concrete, substnicture Concrete, second stage Reinforcement	m3 m3 ton	200,000 34,000 12,000	250.00 140.00 1,500.00	50,000,000 4,760,000 18,000,000	
	Others (20%)	L.S.			15,452,300	
	Subtotal					92,713,800
2.16	TAILRACE					
	Excavation					
	Excavation, common	m3	15,000	3.50	52,500	
	Excavation weathered rock	m3	15,000	6.00	90,000	
	Excavation hard rock	m3	22,000	10.00	220,000	
	Concrete, structure	m3	4,000	140.00	560,000	
	Reinforcement	ton	120	1,500.00	180,000	
	Others (20%)	L.S.			220,500	
	Subtotal					1,323,000
2.17	ARCHITECTURAL BUILDINGS	m2	6,600	1,100.00	7,260,000	7,260,000
2.18	ACCESS ROAD					
	New construction	ET)	0	600,000.00	0	
	Upgreded	m	69	50,000.00	3,450,000	
	Subtotal					3,450,000
3.00	METAL WORKS				•	
	Penstock steel pipes	ton	10,300	5,000.00	51,500,000	
	Gates Gates	ten	1,800	7,000.00	12,600,000	
	Oğles	rot.	,,,,,,	.,,,,,,,,	12,000,000	
	Subtotal					64,100,000
4.00	GENERATING EQUIPMENT					
	Turbines	100	4,700	18,700.00	87,890,000	
	Generators	ton	5,600	20,400.00	114,240,000	
	Transformers	MVA	1,100	2,650.00	2,915,000	
	Subtotal					205,045,000
5.00	TRANSMISSION LINES AND	kon	15	46,000.00	690,000	690,000
	SUBSTATIONS		•			
	Total of Direct Cost					861,925,525
6.00	LAND AQUISITION AND COMPENSATION	L.S.		•	0	43,0%6,276
7.00	ADMINISTRATION EXPENSES	L.S.			0	8,619,255
8.00	ENGINEERING SERVICES	L.S.			0	60,334,787
9.00	PHYSICAL CONTINGENCY	L.S.			0	86,192,553
					* *	
	GRAND TOTAL				1,060,168,396	1,060,168,396

	Work Item	Unit			mount C.(US\$)	
00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				41,808,34
. 00	CIVIL WORKS	•				
10	DIVERSION TUNNEL					
			•			•
	Open Excavation of Inlet & Outlet Open excavation, common	m3	15,000	3.50	52,500	
	Open excavation, weathered rock	m3	15,000	6.00 10.00	90,000 250,000	
	Open excavation, hard rock Concrete of Inlet & Outlet	m3 m3	25,000 7,000	140.00	980,000	
	Turnel Excavation Turnel Concrete	m3 m3	428,500 126,600	55.00 160.00	23,567,500 20,256,000	
	Reinforcement bar	m3	2,550	1,500.00	3,825,000	
	Ping Concrete Others (20%)	m3 L.S.	9,850	160.00	1,576,000 10,119,490	
		1,0,			INTI NESO	
	Subtotal					60,716,40
.0	COFFER DAM					
	Excavation		***			
	Excavation common Embankment	m3	140,700	3.50	492,450	
	Embankment, core	m3	371,300	5.00	1,856,500	
	Embankment, filter Embankment, rock	m3 m3	85,600 2,093,100	10.00 6.00	856,000 12,558,600	
	Others (20%)	1. .S.			3,152,710	
	Subtotal				·	18,916,26
ю	MAIN DAM					•
	Excavation					
	Excavation common	m3	518,700	3.50	1,815,450	
	Excavation, weathered rock Excavation, hard	ns3 m3	158,700 1,023,900	6.00 10.00	952,200 10,239,000	
	Embankment			5.00		
	Embenkment,core Embenkment,filter	m3 m3	2,782,300 604,500	10.00	13,911,500 6,045,000	
	Embankment, rock	m3	21,649,200	6.00 70.00	129,841,200	
	Curtain Grouting Consolidation Grouting	m m	72,000 14,000	90.00	5,040,000 1,260,000	
	Others (10%)	L.\$.			16,910,435	
	Subtotal					186,014,78
0	SPILLWAY					
	Excavation			*.		
	Excavation common	т3 m3	389,600 569,300	- 3.50 6.00	1,363,600 3,415,800	
	Excavation, weathered rock Excavation, hard rock	m3	4,656,000	10.00	46,560,000	
	Concrete Reinforcement bars	m3 tom	128,000 3,850	140.00 1,500.00	17,920,000 5,775,000	
	Others (20%)	L.S.	5,050	1,500.00	15,006,880	
	Subtotal		•			90,041,28
0	INTAKE and INTAKE TUNNEL					
	Excavation					
	Excavation common	m3 m3	11,500 11,500	3.50 6.00	40,250 69,000	
	Excavation, weathered rock Excavation, hard rock	m3	15,300	10.00	153,000	
	Concrete open structure Reinforcement	m3 ton	17,200 520	140.00 1,500.00	2,408,000 780,000	-
	Others (20%)	L.S.	320	1,500.00	690,050	
	Subtotal					4,140,31
0	HEADRACE TUNNEL					
	*,					
	Excavation tunnel Concrete, tunnel	m3 m3	116,500 34,700	55.00 160.00	6,407,500 5,552,000	
	Reinforcement	ton.	350	1,500.00	525,000	
	Consolidation grout Curtain grout	m m	5,000 1,400	90.00 70.00	450,000 98,000	
	Backfill grout	m3	500	200.00	100,000	
	Others (20%)	L.S.			2,626,500	
٠	Subtotal		•			15,759,00
0	PENSTOCK					
	Excavation, tunnel	m3	37,400	55.00	2,057,000	
	Concrete, tunnel Reinforcement	m3 ton	8,000 160	160.00 1,500.00	1,280,000 240,000	
	Curtain grout	m	. 0	70.00	0	
	Backfill grout Others (20%)	m3 L.S.	250	200.00	50,000 725,400	
					•	4 161 4
	Subtotal					4,352,4
	OPEN POWERHOUSE					
5	the state of the s					
5	Excavation Excavation.common	m3	80,300	3.50	281,050	

	Concrete, substructure Concrete, second stage Reinforcement Others (20%)	m3 ten U.S.	. 76,500 19,200 5,000	250.00 140.00 1,500.00	19,125,000 2,688,000 7,500,000 6,229,370	·
	Subtotal					37,376,220
2.16	TAILRACE					
	Excavation Excavation, common Excavation, weathered rock Excavation, hard rock Concrete, structure Reinforcement Others (20%)	m3 m3 m3 m3 ton 1\$.	7,000 7,000 11,000 2,500 75	3.50 6.00 10.00 140.00 1,500.00	24,500 42,000 110,000 350,000 112,500 127,800	
	Sulvotal					766,800
2.17	ARCHITECTURAL BUILDINGS	m2	4,000	1,100.00	4,400,000	4,400,000
2.18	ACCESS ROAD					
	New construction Upgraded	ni m	0 69	600,000.00 50,000.00	0 3,450,000	
	Subtotal					3,450,000
3.00	METAL WORKS			-		
	Penetock strel pipes Gates	ton ton	4,290 800	5,000.00 7,000.00	21,000,000 5,600,000	
	Subtotal			•		26,600,000
4.00	GENERATING EQUIPMENT					
	Turbines Generators Transformers	ton ton MVA	3,600 4,800 900	18,700.00 20,400.00 2,700.00 846.00	67,320,000 97,920,000 2,430,000	
	Subtolal					167,670,000
5.00	Transmission lines and substations	kan	35	46,000.00	000,013,1 0	1,610,000
	Total of Direct Cost					663,621,790
6.00	LAND AQUISITION AND COMPENSATION	LS			0	33,181,069
7.00	ADMINISTRATION EXPENSES	LS			0	6,636,218
8.00	ENGINEERING SERVICES	LS			0	46,453,525
9.00	PHYSICAL CONTINGENCY	LS			0	66,362,179
	GRAND TOTAL			4.5	816,254,801	816,254,801

ARATORY WORKS (10 % of Civil Works) WORKS DIVERSION TUNNEL Open Excavation of Inlet & Outlet Open excavation, weathered rock Open excavation, weathered rock Open excavation, herd rock Concrete of Inlet & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bur Ping Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation common Embankment Embankment, fiber Embankment, fiber Embankment, fiber Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation hard Embankment Embankment Embankment Embankment Embankment Excavation, weathered Excavation hard Embankment	m3 m3 m3 m3 m3 m3 m3 m3 m3 c.s.	15,000 15,000 25,000 7,000 459,800 135,800 2,850 9,850 140,700 371,300 85,800 2,093,100	3.50 6.00 10.00 140.00 55.00 160.00 1,500.00 160.00 3.50 5.00 10.00 6.00	\$2,500 90,000 250,000 980,000 25,289,000 21,728,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500 856,000	43,631,91
DIVERSION TUNNEL Open Excavation of Inlet & Outlet Open excavation, weathered rock Open excavation, weathered rock Open excavation, herd rock Concrete of Inlet & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation common Embankment, fiber Embankment, fiber Embankment, core Embankment, mck Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation Excavation, weathered rock Excavation, weathered rock Excavation, weathered rock Excavation, weathered rock Excavation, weathered	n3 m3 m3 m3 m3 m3 LS.	15,000 25,000 7,000 459,800 135,800 2,850 9,850	6.00 10.00 140.00 55.00 160.00 1,500.00 160.00	90,000 250,000 980,000 25,289,000 21,728,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500	65,088,60
Open Excavation of Inlet & Outlet Open excavation, common Open excavation, weathered rock Open excavation, hard rock Concrete of Inlet & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation, common Embankment Embankment, core Embankment, fiber Embankment, fiber Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation, weathered	n3 m3 m3 m3 m3 m3 LS.	15,000 25,000 7,000 459,800 135,800 2,850 9,850	6.00 10.00 140.00 55.00 160.00 1,500.00 160.00	90,000 250,000 980,000 25,289,000 21,728,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500	03,880,23
Open excavation, common Open excavation, weathered rock Open excavation hard rock Concrete of inter & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation, common Embankment Embankment, core Embankment, filter Embankment, filter Embankment, filter Embankment, filter Embankment, filter Embankment, mock Others (20%) Subtotal MAIN DAM Excavation Excavation, weathered rock Excavation, weathered rock Excavation, weathered rock Excavation, weathered Embankment Embankment Embankment	n3 m3 m3 m3 m3 m3 LS.	15,000 25,000 7,000 459,800 135,800 2,850 9,850	6.00 10.00 140.00 55.00 160.00 1,500.00 160.00	90,000 250,000 980,000 25,289,000 21,728,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500	03,880,23
Open excavation, common Open excavation, weathered rock Open excavation hard rock Concrete of inter & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation, common Embankment Embankment, core Embankment, filter Embankment, filter Embankment, filter Embankment, filter Embankment, filter Embankment, mock Others (20%) Subtotal MAIN DAM Excavation Excavation, weathered rock Excavation, weathered rock Excavation, weathered rock Excavation, weathered Embankment Embankment Embankment	n3 m3 m3 m3 m3 m3 LS.	15,000 25,000 7,000 459,800 135,800 2,850 9,850	6.00 10.00 140.00 55.00 160.00 1,500.00 160.00	90,000 250,000 980,000 25,289,000 21,728,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500	65,088,60
Open escavation, hard rock Concrete of Inlet & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation common Embankment, core Embankment, fiber Embankment, fiber Embankment, mck Others (20%) Subtotal MAIN DAM Excavation Embankment Embankment Excavation Excavation Excavation Excavation Embankment	m3 m3 m3 m3 m3 t.s.	25,000 7,000 459,800 135,800 2,850 9,850 140,700 371,300 85,800	10.00 140.00 55.00 160.00 1,500.00 160.00	250,000 980,000 25,289,000 21,728,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500	65,088,60
Concrete of Intel & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation, common Embankment Embankment, core Embankment, filter Embankment, filter Embankment, filter Embankment, ook Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation, weathered rock Excavation, weathered rock Excavation hard Embankment	m3 m3 m3 m3 t2.5. m3 m3 m3 e3 L.S.	7,000 459,800 135,800 2,850 9,850 140,700 371,300 85,800	140.00 55.00 160.00 1,500.00 160.00 3.50 5.00 30.00	980,000 25,289,000 21,728,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500	23,880,23
Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation common Embankment Embankment, core Embankment, fiber Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Embankment Embankment Excavation Excavation Excavation Excavation Excavation Embankment	m3 m3 m3 L.S. m3 m3 m3 L.S.	459,800 135,800 2,850 9,850 140,700 371,300 85,800	55.00 160.00 1,500.00 160.00 3.50 5.00 30.00	25,289,000 21,778,000 4,275,000 1,576,000 10,848,100 492,450 1,856,500) 3,880, 23
Reinforcement bar Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation, common Embankment Embankment, core Embankment, filter Embankment, filter Embankment, filter Embankment, ock Others (20%) Subtotal MAIN DAM Excavation Excavation, weathered rock Excavation, weathered rock Excavation hard Embankment	m3 m3 L.s. m3 m3 m3 L.s.	2,850 9,850 140,700 371,300 85,800	1,500.00 160.00 3.50 5.00 10.00	4,275,000 1,576,000 10,848,100 492,450 1,856,500	65,888,60
Plug Concrete Others (20%) Subtotal COFFER DAM Excavation Excavation common Embankment Embankment fiber Embankment, fiber Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, ornmon Excavation, weathered rock Excavation, weathered rock Excavation, hard Embankment	m3 L.S. m3 m3 m3 L.S.	9,850 140,700 371,300 85,800	3.50 5.00 10.00	1,576,000 10,848,100 492,450 1,856,500	65,088,60
Others (20%) Subtotal COFFER DAM Excavation Excavation common Embankment filter Embankment, filter Embankment, filter Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation, hard Embankment	n3 m3 m3 m3 L.S.	140,700 371,300 85,800	3.50 5.00 10.00	10,848,100 492,450 1,856,500	03,880,23
COFFER DAM Excavation Excavation, common Embankment Embankment, core Embankment, filter Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation hard Embankment	m3 m3 m3 L.S.	371,300 85,800	5.00 10.00	1,856,500	13,880,23
Excavation Excavation common Embankment Embankment, core Embankment, filter Embankment, filter Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation, hard Embankment	m3 m3 m3 L.S.	371,300 85,800	5.00 10.00	1,856,500	
Excavation Excavation common Embankment Embankment, core Embankment, filter Embankment, filter Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation, hard Embankment	m3 m3 m3 L.S.	371,300 85,800	5.00 10.00	1,856,500	
Excavation.common Embankment Embankment, core Embankment, filter Embankment, mek Others (20%) Subtotal MAIN DAM Excavation Excavation.common Excavation, weathered rock Excavation hard Embankment	m3 m3 m3 L.S.	371,300 85,800	5.00 10.00	1,856,500	
Embankment, core Embankment, filter Embankment, mock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation hard Embankment	m3 m3 L.S.	85,800	10.00		
Embankment, filter Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation hard Embankment	m3 m3 L.S.	85,800	10.00		
Embankment, rock Others (20%) Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation hard Embankment	m3 L.S.				
Subtotal MAIN DAM Excavation Excavation, common Excavation, weathered rock Excavation hard Embankment	m3			12,558,600	. "
MAIN DAM Excavation Excavation common Excavation weathered rock Excavation hard Embankment				3,152,710	
Recavation Excavation_common Excavation_weathered_rock Excavation_hard Embankment					18,916,26
Excavation.common Excavation,weathered rock Excavation.hard Embankmena				•	
Excavation.common Excavation,weathered rock Excavation.hard Embankmena					
Excavation, hard Embankment		829,400	3.50	2,202,900	
Embankment	m3 m3	185,700 1,200,000	6.00 10.00	1,114,200	
	IID	1,200,000	10.00	12,000,000	
	т3	3,459,300	5.00	17,296,500	
Embankment filter	m3	747,300	10.00	7,473,000	
Embankment, rock Curtain Grouting	m3,	24,823,100 80,000	6.00 70.00	148,938,600 5,600,000	
Consolidation Grouting	m	16,000	90.00	1,440,000	
Others (10%)	L.S.			19,606,520	
Subtotal					215,671,7
SPILLWAY					
Excavation					
Excavation, common	m3	327,600	3.50	1,146,600	
Excavation, weathered rock	m3	470,400	6.00	2,822,400	
Excavation hard rock	m3	2,587,400	10.00	25,874,000	
Concrete Reinforcement bass	m3 tom	133,100 4,808	140.00	18,634,000 6,000,000	
Others (20%)	L.S.			10,895,400	
Subtotal					65,372,4
INTAKE and INTAKE TUNNEL	•				
Excavation				•	
Excavation, common	m3	13,900	3.50	48,650	
Excavation, weathered rock	. m3	13,900	6.00	83,400	
Excavation,hard rock Concrete,open structure	m3 m3	18,500 20,900	10.00 140.00	185,000 2,926,000	
Reinforcement	ton	825	1,500.00	937,500	
Others (20%)	L.S.	.*		836,110	
Subtotal					5,016,6
HEADRACE TUNNEL					
	pu.3	139 300	55.00	7,601,000	٠.
Excavation,tunnel Concrete, tunnel	m3 : m3	138,200 41,000	160.00	6,560,000	
Reinforcement	ton	410	1,500.00	615,000	
Consolidation grown	TO	5,400	90.00	486,000	
Curtain grout Backfill grout	नाः सा3	1,500 600	70.00 200.00	105,000 120,000	
Others (20%)	L.S.	000	evv.W	3,097,400	
Subtotal					18,584,4
PENSTOCK					
•		40		0.000	
Excavation tunnel Concrete, tunnel	m3 m3	42,600 8,500	55.00 160.00	2,343,000 1,360,000	
	ton	170	1,500.00	255,000	
Reinforcement	m	. 0	70.00	0	
Curtain grout	m3 I∡S.	300	200.00	60,000 803,600	
					4,821,6
Curtain grow Backfill growt Others (20%)		•			7,041,6
Curtain grout Backfill grout Others (20%) Sutsotal					
Contain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE	m3	90,400	3.50	316,400	
Contain grout Backfill grout Others (20%) Subsotal OPEN POWERHOUSE Excavation		90,400	6.00	542,400	
Contain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE	. m3	120,500	10.00	1,205,000	
Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation, common		86,100	250.00	21,525,000	

					* -	
	Concrete, second stage Reinforcement Others (20%)	m3 ton L.S.	21,600 5,600	140.00 1,500.00	3,024,000 8,400,000 7,002,560	
	Subtotal				•	42,015,360
2.16	TAILRACE					
	Excavation					-
	Excavation, common Excavation, weathered rock Excavation, hard rock Concrete, structure Reinforcement Others (20%)	m3 m3 m3 in3 ton L.S.	8,000 8,000 12,000 2,700 80	3.50 6.00 10.00 140.00 1,500.00	28,000 48,000 120,000 378,000 120,000 138,500	
	Subtota!					832,800
2.17	ARCHITECTURAL BUILDINGS	m2	4,500	1,100.00	4,950,000	4,950,000
2.18	ACCESS ROAD					
	New construction Upgraded	т :	0 69	600,000.00 50,000.00	0 3,450,000	
	Subtotal					3,450,000
3.00	METAL WORKS					
	Penstock steel pipes Gates	ton ton	9,200 960	5,000.00 7,000.00	46,000,000 6,720,000	
	Subtotal					52,720,000
4.00	GENERATING EQUIPMENT					1.1.
	Turbines Generators Transformers	ton ton MVA	4,450 5,500 1,059	18,700.00 20,400.00 2,500.00	83,215,000 112,200,000 2,647,500	
	Subtotal					198,062,500
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	35	46,000.00	1,610,000 0	1,610,000
	Total of Direct Cost					740,744,280
6.00	LAND AQUISITION AND COMPENSATION	LS			o	37,037,214
7.00	ADMINISTRATION EXPENSES	LS			0	7,407,443
8.00	ENGINEERING SERVICES	LS			0	51,852,100
9.00	PHYSICAL CONTINGENCY	LS			0	74,074,428
	GRAND TOTAL				911,115,464	911,115,464

tem No.	Work Item	Unit			nount	····
			F.C	(USS) F.	C.(US\$)	
.00	PREPARATORY WORKS	1\$.				47,357,09
	(10 % of Civil Works)					
.00	CIVIL WORKS					
.10	DIVERSION TUNNEL	•				
	Open Excavation of Inlet & Outlet Open excavation common	m3	17,000	3.50	59,500	
	Open excavation weathered rock	m3	17,000	6.00	102,000	
	Open excavation hard rock	m3	28,000	10.00	280,000	
	Concrete of Inlet & Outlet Tunnel Excavation	m3 m3	9,000 477,200	140.00 55.00	1,260,000 26,246,000	
	Tunnel Concrete	m3	141,000	160.00	22,560,000	
	Reinforcement bar	m3	3,000	1,500.00	4,500,000	
	Plug Concrete Others (20%)	m3 L.S.	9,850	160.00	1,576,000 11,316,700	
	·	23.04				(7.003.7
_	Subtotal					67,900,20
20	COFFER DAM					
	Excavation Excavation.common	m3	140 700	3.50	402.450	
	Embarkment	1113	140,700	3.30	492,450	
	Embankment,core	m3	371,300	5.00	1,856,500	
	Embankment, liker Embankment, rock	m3 m3	85,600	10.00 6.00	856,000	
	Others (20%)	L.S.	2,093,100	0.00	12,558,600 3,152,710	
	Subtotal		•			18,916,28
_			•	•		10,710,2
0	MAIN DAM				•	
	Excavation Excavation.common	m3	698,900	3.50	2,446,150	
	Excavation, weathered rock	m3	216,800	6.00	1,300,800	
	Excavation hard	Em	1,424,800	10.00	14,248,000	
	Embankment Embankment, core	т3	3,900,000	5.00	19,500,000	
	Embankment, filter	m3	840,100	10.00	8,401,000	
	Embanionent, rock	m3	28,514,900	6.00	171,089,400	
	Curtain Grouting	m	85,000	70.00	5,950,000	
	Consolidation Grouting Others (10%)	m L.S.	19,000	90.00	1,710,000 22,464,535	
		Ladi			*5404523	
	Subtotal					247,109,8
9	SPILLWAY				٠.	
	Excavation	_1	271 500	2.40	ere 260	
	Excavation, common Excavation, weathered rock	лз m3	271,500 389,700	3.50 6.00	950,250 2,284,200	
	Excavation hard rock	m3	1,871,000	10.00	18,710,000	
	Concrete	m3	136,000	140.00	19,040,000	
	Reinforcement bars Others (20%)	tom L.S.	4,100	1,500.00	6,150,000 9,426,890	
		L.Q.			312201030	
:	Subtotal					56,561,3
0	INTAKE and INTAKE TUNNEL					
	Excavation		45 700	2.50	C+ 050	
	Excavation common Excavation, weathered rock	ກ3 ຄ3	15,700 15,700	3.50 6.00	54,950 94,200	
	Excavation hard rock	m3	21,000	10.00	210,000	
	Concrete, open structure	m3	23,500	140.00	3,304,000	• •
	Reinforcement Others (20%)	ton L.S.	710	1,500.00	1,065,000 945,630	
	Outers (EVA)	1000			,,,,,,,	
	Subtotal					5,673,7
)	HEADRACE TUNNEL		•			
	Excavation,tunnel	m3	161,900	55.00	8,904,500	
	Concrete, tunnel	m3	47,700	160.00	7,632,000	*
	Reinforcement Consolidation grout	ton	480 5,900	1,500.00 90.00	720,000 531,000	
	Contain grout	m m	1,700	70.00	119,000	
	Backfill grout	m3	700	200.00	140,000	
	Others (20%)	L.S.			3,609,300	
	Subtotal		*			21,655,8
)	PENSTOCK			•		
		m1	48,100	55.00	2,645,500	
	Excavation tunnel Concrete tunnel	m3 m3	9,100	160.00	1,456,000	
	Reinforcement	ton	180	1,500.00	270,000	
	Curtain grout	m	0	70.00	0	
	Backfilf grout Others (20%)	m3 L.S.	400	200.00	80,000 890,300	
	and the second s	2,000			370,500	
	Subtotal					5,341,8
5	OPEN POWERHOUSE					
5	OPEN POWERHOUSE Excavation		180 000		Age don	
s	OPEN POWERHOUSE	m3 m3	106,200 106,200	3.50 6.00	371,700 637,200	

	Concrete, substructure	m3	101,200	250.00	25,300,000	• '
	Concrete, second stage	m3	25,300	140.00	3,542,000	
	Reinforcement	ton	6,800	1,500.00	9,900,000	
	Others (20%)	L.S.			8,233,380	
	Subtotal				•	49,400,280
2.16	TAILRACE					
	Excavation					
	Excavation, common	m3	10,000	3.50	35,000	
	Excavation, weathered rock	m3	10,000	6.00	60,000	
	Excavation,hard rock	m3	15,000	10.00	150,000	
	Concrete, structure	£m	3,200	140.00	448,000	*
	Reinforcement	ton	100	1,590.00	150,000	
	Others (20%)	L.S.		•	168,600	
	Subtotal				•	1,011,600
		_	F 500			
2.17	ARCHITECTURAL, BUILDINGS	m2	5,500	1,100.00	6,050,000	6,050,000
2.18	ACCESS ROAD					
	New construction	m	0	600,000.00	0	
	Upgraded	m	69	50,000.00	3,450,000	
	Subtotal		:			3,450,000
3.00	METAL WORKS					
	Post and about allows		10,800	5,000.00	54,000,000	
	Penstock steel pipes Gates	ton ton	1,100	7,000.00	7,700,000	
	Subtotal					61,700,000
4.00	GENERATING EQUIPMENT				.*	
			C 400 :	10.70		
	Turbines	ton	5,100	18,700.00	95,370,000	
	Generators	· ton	8,150 1,259	20,400.00 2,350.00	125,460,000	
	Transformers	MVA	1,205	2,350.00	2,958,650	
	Subtotal					223,788,650
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	35	46,000.00	1,610,000 0	1,610,000
	Total of Direct Cost					817,526,690
		•				
6.00	LAND AQUISITION AND COMPENSATION	LS			0	40,876,334
7.00	ADMINISTRATION EXPENSES	LS			0	8,175,267
8.00	ENGINEERING SERVICES	LS			0	57,226,868
9.00	PHYSICAL CONTINGENCY	LS			0	81,752,669
			•			
	GRAND TOTAL				1,005,557,828	1,005,557,828

em No.	Work Item	Unit			mount C.(US\$)	
.00 PRH	PARATORY WORKS	1S.				59,886,38
	(10 % of Civil Works)					
00 CIVI	IL WORKS					
10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet	3	20.000	2.50	70.000	
	Open excavation common Open excavation weathered rock	.m3 .m3	20,000 20,000	3.50 6.00	70,000 120,000	
	Open excavation hard rock	m3	30,000	10.00	300,000	
	Concrete of Inlet &Outlet	m3	10,000	140.00	1,400,000	
	Tunnel Excavation	m3	308,600	55.00	16,973,000	
	Turnel Concrete	m3	91,400	160.00	14,624,000	
	Reinforcement bar	m3	2,100	1,500.00	3,150,000	
	Plug Concrete Others (20%)	m3 L.S.	9,100	160.00	1,456,000 7,618,600	
	Subtotal					45,711,60
0 .	COFFER DAM					40,711,00
	Excavation				*	
	Excavation, common	m3	479,000	3.50	1,676,500	
	Embankment Embankment,core	m3	974,000	5.00	4,870,000	
	Embankment, filter	m3	233,000	10.00	2,330,000	
	Embankment, rock Others (20%)	m3 L.S.	6,144,000	6.00	36,864,000 9,148,100	
					7,110,100	94 996 6
	Subtotal					54,888,66
D	MAIN DAM					
	Excavation Excavation.common	m3	389,000	3.50	1,361,500	
	Excavation, weathered rock	m3	400,000	6.00	2,400,000	
	Excavation,hard	m3	250,000	10.00	2,500,000	
	Embankment Embankment,core	m3	5,293,000	5.00	26,465,000	
	Embankment, filter	m3	1,159,000	10.00	11,590,000	
	Embankment, rock	m3	38,372,000	6.00	230,232,000	
•	Curtain Grouting Consolidation Grouting	n n	72,000 14,000	70.00 90.00	5,040,000 1,260,000	
	Others (10%)	L.S.	14,000	70.00	28,084,850	
	Subtotal					308,933,3
D	SPILLWAY					
	Excavation					
	Excavation, common	m3	289,000	3.50	1,011,500	
	Excavation, weathered rock Excavation hard rock	m3 m3	429,000 7,367,000	6.00 10.00	2,574,000 73,670,000	
	Concrete	m3	98,900	140.00	13,846,000	
	Reinforcement bars	tom	3,000	1,500.00	4,500,000	
•	Others (20%)	L.S.			19,120,300	
	Subtotal					114,721,8
)	WATERWAY					
ı	INTAKE					
	Excavation		0.700	2.50	72.550	
	Excavation common Excavation weathered rock	m3 m3	9,300 9,300	3.50 6.00	32,550 55,800	
	Excavation hard rock	m3	12,400	10.00	124,000	
	Concrete,open structure	m3 ton	14,000 420	140.00 1,500.00	1,960,000 630,000	
	Reinforcement Others (20%)	ton L.S.	420	1,300.00	560,470	
	Subtotal					3,362,8
2	HEADRACE TUNNEL					
	Excavation tunnel	m3	235,600	55.00	12,958,000	
	Concrets, turnel Reinforcement	m3 ton	70,200 700	160.00 1,500.00	11,232,000 1,050,000	
.:	Consolidation grout	m	10,100	90.00	909,000	
	Curtain grout	m 3	1,400	70.00	98,000	
	Backfill grout Others (20%)	m3 L.S.	1,800	200.00	360,000 5,321,400	
	Subtotal				-	31,928,4
ı	PENSTOCK					2,5,2041
3 .	and the second second		E£ 000		2 124 000	
100	Bacavation,tunnel Concrete,tunnel	m3 m3	56,800 12,600	55.00 160.00	3,124,000 2,016,000	
	Reinforcement	ton	250	1,500.00	375,000	
	Curtain grout	m —?	1,400	70.00	98,000	
	Backfill grout Others (20%)	m3 L.S.	800	200.00	160,000 1,154,600	
					-1-2-1000	
	Subtotal				÷	6,927,
ס	OPEN POWERHOUSE			•		
-4-	Excavation					
		- 21 -				

- 21 -

	Excavation.common	m3	68,200	3.50	238,700	
	Excavation, weathered rock	m3	68,200	6.00	409,200	
	Excavation hard rock	m3	91,000	10.00	910,000	
	Concrete, substructure	m3	65,000	250.00	16,250,000	
	Concrete, second stage	m3	16,300	140.00	2,282,000	
	Reinforcement	ton	4,250	1,500,00	6,375,000	
	Others (20%)	L.S.			5,292,980	
	Subtotal					31,757,880
2.70	TAILRACE					
	Excavation					
	Excavation, common	m3	7,000	3.50	24,500	
	Excavation, weathered tock	m3	7,000	6.00	42,000	
	Excavation hard rock	m3	9,000	10.00	90,000	
	Concrete, structure	m3	2,000	140.00	280,000	
	Reinforcement	ton	60	1,500.00	90,000	
	Others (20%)	L.S.			105,300	
	Subtotal					631,800
2.80	ARCHITECTURAL BUILDINGS	m2	4,000	1,100.00	4,400,000	4,400,000
2.90	ACCESS ROAD					•
			_			
	New construction	m	0 -	600,000.00	. 0	
	Upgraded	tu	69	50,000.00	3,450,000	
	Subtotal					3,450,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	4,500	5,000.00	22,500,000	
	Gates	ton	750	7,000.00	5,250,000	
	Subtotal					27,750,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	3,400	18,700.00	63,580,000	
	Generators	ten	4,300	20,400.00	87,720,000	
	Transformers	MVA	704	2,900.00	2,041,600	
	Subtotal		•			153,341,600
5.00	TRANSMISSION LINES AND	kan	65	46,000.00	2,990,000	2,990,000
2.30	SUBSTATIONS			,	_,,,	
	Total of Direct Cost					850,681,835
4 500	LAND ACCIONANT AND COMPENSATION	10			0	43 534 002
6.00	LAND AQUISITION AND COMPENSATION	LS				42,534,092
7.00	ADMINISTRATION EXPENSES	LS			0	8,506,818
8.00	ENGINEERING SERVICES	LS			0	59,547,728
9,00	PHYSICAL CONTINGENCY	LS			0	85,068,184
	GRAND TOTAL				1,046,338,657	1,046,338,657

liem No.	Work Item	Unit			rnount C.(US\$)	
1.00	PREPARATORY WORKS	L.S.				69,766,259
	(10 % of Civil Works)					
2.00	CIVIL WORKS					
2.10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet	2	20,000	3.50	70.000	
	Open excavation common Open excavation weathered rock	m3 m3	20,000	6.00	70,000 120,000	
	Open excavation, hard rock	m3	30,000	10.00	300,000	
	Concrete of Inlet & Outlet	m3	10,000	140.00	1,400,000	
	Tunnel Excavation	m3	321,400	55.00	17,677,000	
•	Tunnel Concrete	m3	95,200	160.00	15,232,000	
	Reinforcement bar Plug Concrete	m3 nt3	2,100 9,100	1,500.00 160.00	3,150,000 1,456,000	
	Others (20%)	L.S.	4,144	100.00	7,881,000	
	Subrotal					47,286,000
.20	COFFER DAM		•			
	Excavation		*			
	Excavation,common Embankment	m3	479,000	3.50	1,676,500	
	Embankment,core	m3	974,000	5.00	4,870,000	
	Embankment, filter	m3	233,000	10.00	2,330,000	
	Embankment, rock Others (20%)	m3 L.S.	6,144,000	6.00	36,864,000 9,148,100	
	Subtotat					54,888,600
30	MAIN DAM					
	Excavation			•		
	Excavation common	m3	1,295,000	3.50	4,532,500	
	Excavation, weathered rock Excavation hard	m3 m3	318,000 3,781,000	6.00 10.00	1,908,000 37,810,000	
	Embankment					
	Embankment core Embankment filter	m3 m3	6,199,000 1,352,000	5.00 10.00	30,995,000 13,520,000	
	Embankment, rock	m3	45,584,000	6.00	273,504,000	
	Curtain Grouting	m	82,000	70.00	5,740,000	
	Consolidation Grouting Others (10%)	m L.S.	16,100	90.00	1,449,000 36,945,850	
	Subtotal					406,404,350
40	YAWLLIIGZ					
77	. *					
	Excavation Excavation,common	m3	287,000	3.50	1,004,500	
	Excavation, weathered rock	m3	426,000	6.00	2,556,000	
	Excavation,hard rock Concrete	m3 m3	6,567,000 100,700	10.00 140.00	65,670,000 14,098,000	
	Reinforcement bars	tom	3,050	1,500.00	4,575,000	
	Others (20%)	L.\$.			17,580,700	
	Subtotal	ė.				105,484,200
50	WATERWAY					•
51	INTAKE					
	Excavation					
	Excavation, common	m3 m3	10,400	3.50 6.00	36,400	
	Excavation, weathered rock Excavation, hard rock	m3	10,400 13,900	10.00	62,400 139,000	
	Concrete, open structure	m3	15,600	140.00	2,184,000	
	Reinforcement Others (20%)	ton L.S.	470	1,500.00	705,000 625,360	•
	Subtotal					3,752,160
52	HEADRACE TUNNEL					,,, , ,,
,			266.000	£6.00	14 620,000	
	Excavation,tunnel Concrete, tunnel	m3 m3	266,000 79,000	55.00 160.00	14,630,000 12,640,000	
	Reinforcement	ton	008	1,500.00	1,200,000	•
	Consolidation grout Cuntain grout	m m	10,900 1,500	90,00 70.00	.981,000 105,000	
	Backfill grout	m3	2,000	200.00	400,000	
	Others (20%)	L.S.			5,991,200	
	Subtotal					35,947,20
53	PENSTOCK					
	Excavation, tunnel	m3	69,000	55.00	3,795,000	
٠.	Concrete tunnel	m3	14,400	160.00	2,304,000	
	Reinforcement Curtain grout	ton m	300 2,000	1,500.00 70.00	450,000 140,000	
	Backfill grout	m3	900	200.00	180,000	
	Others (20%)	L.S.			1,373,800	
	Subtoral					8,242,800
60	OPEN POWERHOUSE					
			*			
	Evaporion					

Excavation

							i
	Excavation common	m3	75,200	3,50	263,200		
	Excavation, weathered rock	m3	75,200	6.00	451,200		
	Excavation, hard rock	m3	100,200	10.00	1,002,000		
	Concrete, substructure Concrete, second stage	m3	71,600	250.00 140.00	17,900,000 2,506,000		
	Reinforcement	m3 ton	17,900 4,650	1,500.00	6,975,000		
	Others (20%)	L.S.	4,020	1,500,00	5,819,480		
	•				• • •		
	Subtotal					34,916,880	
2.70	TAILRACE						
	Bacavation						
	Excavation common	m3	8,000	3.50	28,000		
	Excavation, weathered rock	m3	8,000	6.00	48,000		
	Excavation hard rock	m3	10,000	10.00	100,000		
	Concrete, structure	m3	2,400	140.00	336,000		
	Reinforcement Others (20%)	ton	70	1,500.00	105,000 · 123,400		
	Outers (20%)	l.S.			125,400		
	Subtotal					740,400	
2.80	ARCHITECTURAL BUILDINGS	m2	4,500	1,100.00	4,950,000	4,950,000	
		tilZ .	4,500	1,100.00	4,930,000	4,950,000	
2,90	ACCESS ROAD						
	New construction	m	0	600,000.00	0		
•	Upgraded	m	69	50,000.00	3,450,000		
	Subtotal			-		3,450,000	
3.00	METAL WORKS			•			
	Pensiock steel pipes	ton	6,200	5,000.00	31,000,000		
	Gates	ton	820	7,000.00	5,740,000		
	Subtotal	•			•	36,740,000	
4.00	GENERATING EQUIPMENT						
	Turbines	ton	3,900	18,700.00	72,930,000		
	Generators	ton	4,800	20,400.00	97,920,000		
	Transformers	MVA	850	2,700.00	2,295,000		
	Subtotal					173,145,000	
	Shoors					173,(43,000	
5.00	TRANSMISSION LINES AND	km	65	46,000.00	2,990,000	2,990,000	
	SUBSTATIONS						
	Total of Direct Cost					988,703,849	
6.00	LAND AQUISITION AND COMPENSATION	LS			0	49,435,192	
7.00	ADMINISTRATION EXPENSES	1.3			0	9,837,038	
8.00	ENGINEERING SERVICES	LS			0	69,209,269	
9.00	PHYSICAL CONTINGENCY	LS			. 0	98,870,385	
7.00				•	~	,,-	
	GRAND TOTAL				1,216,105,734	1,216,105,734	

Item No.	Work Item	Unit			Amount F.C.(US\$)	
1.00	PREPARATORY WORKS	L.S.	•		-	77,258,951
	(10 % of Civil Works)					
2.00	CIVIL WORKS					
2.10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet	2				
	Open excavation common	m3	20,000	3.50	70,000	
	Open excavation weathered rock Open excavation hard rock	m3 m3	20,000 30,000	6.00 10.00	120,000	
	Concrete of Inlet & Outlet	m3	10,000	140.00	300,000 1,400,000	
	Tunnel Excavation	m3	340,700	55.00	18,738,500	
	Tunnel Concrete	m3	100,900	160.00	16,144,000	
	Reinforcement bar	m3	2,200	1,500.00	3,300,000	
	Plug Concrete	т.3	9,100	160.00	1,456,000	
	Others (20%)	L.S.	••		8,305,700	
	Subtotal					49,834,200
2.20	COFFER DAM					
	Excavation				1 (51 500	
	Excavation, common Embankment	m3	479,000	3.50	1,676,500	
	Embankment,core	m3	974,000	5.00	4,870,000	
	Embankment, filter	m3	233,000	10.00	2,330,000	
	Embankmers, rock Others (20%)	ភាវិ L.S.	6,144,000	6.00	36,864,000 9,148,100	
	Subtotal				>1+ 10,100	54,888,600
2.30	MAIN DAM	-				34,000,000
		•			•	
	Excavation Common	n13	1,427,000	3.50	4,994,500	
	Excavation, weathered rock	m3	352,000	6.00	2,112,000	
	Excavation,hard	m3	4,269,000	10.00	42,690,000	
	Embankment	1	7 175 000	5.00	25 625 002	
	Embankment, core Embankment, filter	m3 m3	7,125,000 1,549,000	10.00	35,625,000 15,490,000	
	Embankment, rock	m3	53,035,000	6.00	318,210,000	
	Curtain Grouting	m	98,600	70.00	6,902,000	
-	Consolidation Grouting Others (10%)	m L.S.	19,400	90.00	1,746,000 42,776,950	
		LAG.			12,170,330	
	Subtotal	-			•	470,546,450
1.40	SPILLWAY					
	Excavation					
	Excavation common	m3	279,000	3.50 6.00	976,500	
	Excavation, weathered rock Excavation, hard rock	m3 m3	410,000 5,889,000	10.00	2,460,000 58,800,000	
	Concrete	m3	110,900	140.00	15,526,000	
	Reinforcement bars	loun.	3,350	1,500.00	5,025,000	
	Others (20%)	L.S.			16,557,500	
	Subtotal				•	99,345,000
.50	WATERWAY					
.51	INTAKE					
	Excavation	_			44 740	
	Excavation, common Excavation, weathered rock	m3 m3	12,200 12,200	3.50 6.00	42,700 73,200	
	Excavation hard rock	m3	16,300	10.00	163,000	
	Concrete,open structure	m3	18,300	140.00	2,562,000	
	Reinforcement	tori	550	1,500.00	825,000 233,180	
	Others (20%)	L.S.			733,180	
	Subtotal					4,399,08
.52	HEADRACE TUNNEL					
	Excavation tunnel	m3	305,400	55.00	16,797,000	
	Concrete, tunnel	re3	90,500	160.00	14,480,000	
	Reinforcement Consolidation grout	ton.	910 12,000	1,500.00 90.00	1,365,000 1,080,000	:
	Curtain grout	. m	1,600	70.00	112,000	
	Backfill grout	m3	2,500	200.00	500,000	
	Others (20%)	L.S.			6,866,800	
	Subtotal					41,200,80
.53	PENSTOCK					
	Excavation tunnel	m3	86,900	55.00	4,779,500	
	Concrete, tunnel	m3	17,200	160.00	2,752,000	
	Reinforcement	ton	350	1,500.00	525,000	
	Curtain grout	m . m3	1,600	70.00 200.00	112,000 440,000	
	Backfill grout Others (20%)	L.S.	2,200	200.00	1,721,700	
	Subtotal					10,330,20
.60	OPEN POWERHOUSE			•		

	Excavation common	m3	88,700	3.50	310,450		
	Bacavation, weathered rock Excavation, hard rock	m3 m3	88,700	6.00	532,200		
	Concrete, substructure	m3	118,200 84,400	10.00 250.00	1,182,600 21,100,000		
	Concrete, second stage	m3	21,100	140.00	2,954,000		
	Reinforcement	ton	5,500	1,500.00	8,250,000		
	Others (20%)	L.S.	5,000	1,505.00	6,865,730		
	Subtotal					41,194,380	
2.70	TAILRACE						
	Excavation						
	Excavation, common	m3	10,000	3.50	35,000		
	Excavation, weathered rock	m3	10,000	6.00	60,000		
	Excavation hard rock	m3	13,000	10.00	130,000		
	Concrete, structure Reinforcement	m3	2,600	140.00	364,000		
	Others (20%)	ton L.S.	80	1,500.00	120,000		
	•	L.3.			141,800		
	Subtotal					850,800	
2.80	ARCHITECTURAL BUILDINGS	m2	5,000	1,100.00	5,500,000	5,500,000	•
2.90	ACCESS ROAD				•		
	New construction	m	0	600,000.00	0 '		
	Upgraded	m	69	50,000.00	3,450,000		•
	Subtotal					3,450,000	
3.00	METAL WORKS						
	Penstock steel pipes	ton	7,900	5,000.00	39,500,000		
	Gates	ton	950	7,000.00	6,650,000		
	Subtotal					46,150,000	
4.00	GENERATING EQUIPMENT						
	Turbines	ton	4,700	18,700.00	87,890,000		
	Generators	ton	5,800	20,400.00	118,320,000		
	Transformers	MVA	1,018	2,500.00	2,545,000		
			1.				
	Subtotal					208,755,000	
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	65	46,000.00	2,990,000	2,990,000	
	Total of Direct Cost				•	1,116,693,461	
6.00	LAND AQUISITION AND COMPENSATION	LS			0	55,834,673	
7.00	ADMINISTRATION EXPENSES	LS			0	11,166,935	
8.00	ENGINEERING SERVICES	LS			. 0	78,168,542	
9.00	PHYSICAL CONTINGENCY	LS			0	111,669,346	
	GRAND TOTAL				1,373,532,957	1,373,532,957	•

Item No.	Work Item	Unit			mount C.(USS)	1.	.C.(N.Rps.)
1.00	PREPARATORY WORKS	L.S.		(000)		53,197,946	
	(10 % of Civil Works)	-					
2.00	CIVIL WORKS						
2.10	DIVERSION TUNNEL						
	Open Excavation of Inlet & Outlet Open excavation common	m3	15,000	3.50	52,500		
	Open excavation, weathered rock	m3	15,000	6.00	90,000		
	Open excavation hard rock Concrete of Inlet & Outlet	m3 m3	25,000 7,000	10.00 140.00	250,000 980,000		
	Tunnel Excavation	m3	340,700	55.00	18,738,500		
	Tunnel Concrete Reinforcement bar	m3 m3	100,900 2,200	160.00 1,500.00	16,144,000 3,300,000		
	Plug Concrete	m3	9,100	160.00	1,456,000		
	Others (20%)	L.S.			8,202,200		
2.20	Subtotal					49,213,200	
20	COFFER DAM						
	Excavation common	m3	283,100	3.50	990,850		
	Embankment Embankment.core	m3	536,600	5.00	2,683,000		
	Embankment filter	m3	130,800	10.00	1,306,000		
	Embankment, rock Others (20%)	m3 L.S.	3,115,800	6.00	18,693,600 4,734,690		
	Subtotal		•			28,408,140	
.30	MAIN DAM		•				
	Excavation						
	Excavation, common Lixcavation, weathered rock	m3 m3	1,042,000 198,500	3.50 6.00	3,647,000 1,191,000		
	Excavation, weathered foca	. m3	743,800	10.00	7,438,000		
	Embankment Embankment.core	m3	5,808,800	5.00	29,044,000		
	Embankment, filter	m3	1,258,500	10.00	12,585,000		
	Embankment, rock Curtain Grouting	m3 m	40,091,000 90,000	6.00 70.00	240,546,000 6,300,000		
	Consolidation Grouting Others (10%)	m L.S.	20,000	90.00	1,800,000 30,255,100	•	
	Subtotal	E.O.			30,233,103	332,806,100	
.40	SPILLWAY					,,	
	Excavation						
	Excavation common	m3	293,400	3.50	1,026,900		
	Excavation, weathered rock Excavation, hard rock	m3 m3	385,200 2,059,500	6.00 10.00	2,311,200 20,595,000		:
	Concrete	m3	111,400	140.00	15,596,000		
	Reinforcement bars Others (20%)	tom L.S.	3,400	1,500.00	5,100,000 8,925,820		
		2.07			************	#2 ##4 020	
	Subtotal					53,554,920	
.50	INTAKE and INTAKE TUNNEL						
	Excavation Excavation.common	· m3	9,600	3.50	33,600		
	Excavation, weathered rock	· m3	9,600	6.00	57,600		
	Excavation hard rock Concrete open structure	m3 m3	12,700 14,400	10.00 140.00	127,000 2,016,000		
	Reinforcement	ton L.S.	430	1,500.00	645,000 575,840		
	Others (20%)	L.J.		•	373,640		
	Subtotal HEADRACE TUNNEL					3,455,040	
2.60	· · · · · · · · · · · · · · · · · · ·		400 50-				
	Excavation tunnel Concrete, tunnel	m3 m3	162,500 48,400	55.00 160.00	8,937,500 7,744,000		
	Reinforcement	ton	490	1,500.00	735,000		
	Consolidation grout Curtain grout	m m	7,000 1,400	90.00 70.00	630,000 98,000		
	Backfill grout Others (20%)	m3 L.S.	800	200.00	120,000 3,652,900	,	
	Subtotal		4			21,917,400	
.90	PENSTOCK						
٠.	Excavation,tunnel	· m3	48,700	\$5.00	2,678,500		
	Concrete tunnel Reinforcement	m3 ton	10,500 210	160.00 1,500.00	1,680,000 315,000		
	Curtain grout	·m	0	70.00	0		
	Backfill grout Others (20%)	m3 L.S.	300	200.00	60,000 946,700		
	Subtotal					5,680,260	
.15	OPEN POWERHOUSE	•				-	
•	Excavation						
	Excavation common	m3	. 77,900	3.50	272,650		
		2	77 000	< 00	ለፋኝ ለበበ		
	Excavation, weathered rock Excavation, hard rock	,m3 m3	77,900 103,800 74,100	6.00 10.00 250.00	467,400 1,038,000 18,525,000		

	Concrete, second stage Reinforcement Others (20%)	m3 ton L.S.	18,500 4,800	140.00 1,500.00	2,590,000 7,200,000 6,018,610	
	Subtotal					36,111,660
2.16	TAILRACE					
	Excavation Excavation, common Excavation, weathered rock Excavation, hard rock Concrete, structure Reinforcement Others (20%)	m3 m3 m3 m3 ton L.S.	8,000 8,000 12,000 2,700 80	3.50 6.00 10.00 140.00 1,500.00	28,000 48,000 120,000 378,000 120,000 138,800	
	Subtofal					832,800
2.17	ARCHITECTURAL BUILDINGS	m2	5,000	1,100.00	5,500,000	5,500,000
2.18	ACCESS ROAD					
	New construction Upgraded	m m	0 69	600,000.00 50,000.00	0 3,450,000	
	Subtotal				•	3,450,000
3.00	METAL WORKS					
	Penstock steel pipes Gates	ion ton	11,000 760	5,000.00 7,000.00	55,000,000 5,320,000	
	Subtotal					60,320,000
4.00	GENERATING EQUIPMENT					
	Turbines Generators Transformers	ton ton MVA	3,900 5,100 929	18,700.00 20,400.00 2,600.00	72,930,000 104,040,000 2,415,400	· ,
	Subrotal				-	179,385,400
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	45	46,000.00	2,070,000 0	2,070,000
	Total of Direct Cost	•			•	835,902,806
6.00	LAND AQUISITION AND COMPENSATION	LS			0	41,795,140
7.00	ADMINISTRATION EXPENSES	LS			o	8,359,028
8.00	ENGINEERING SERVICES	LS			. 0	58,513,196
9.00	PHYSICAL CONTINGENCY	LS			. 0	83,590,281
	GRAND TOTAL				1,028,160,451	1,028,160,451

Total amount

tem No.	Work Item	Unit			mouni C.(US\$)	L	.C.(N.Rps.)
.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				57,145,808	
.00	CIVII. WORKS						
.10	DIVERSION TUNNEL						
	Open Excavation of Inlet & Outlet						
	Open excavation common	m3	15,000	3.50 6.00	52,500 90,000		
	Open excavation, weathered rock Open excavation, hard rock	m3 m3	15,000 25,000	10.00	250,000		
	Concrete of Inlet & Outlet	m3	7,000	140.00	980,000		
	Tunnel Excavation Tunnel Concrete	m3 m3	366,400 108,500	55.00 160.00	20,152,000 17,360,000		
	Reinforcement bar	m3	2,300	1,500.00	3,450,000	•	
	Plug Concrete	m3	9,100	160.00	1,456,000		
	Others (20%)	L.S.			8,758,100		
	Subtoral					52,548,600	
20	COFFER DAM						
	Excavation Excavation, common	m3	283,100	3.50	990,850		
	Embankment		£3£ £00	5.00	2,683,000		
	Embankment,core Embankment,filter	m3 m3	536,600 130,600	10.00	1,306,000		
	Embankment, rock	m3	3,115,600	6.00	18,693,600		
	Others (20%)	LS.			4,734,690		
	Subtotal					28,408,140	
.30	MAIN DAM					-	
	Excavation Excavation,common	m 3	1,120,100	3.50	3,920,350		
	Excavation, weathered rock	m3	206,600	6.00	1,239,600		
	Excavation hard Embankment	m3	773,700	10.00	7,737,000		
	Embsnkment,core	m3	6,198,500	5.00	30,992,500		
	Embankment, filter	л3 2	1,340,700	10.00	13,407,000		
	Embankment, rock Curtain Grouting	m3 m	43,467,200 100,000	6.00 70.00	260,803,200 7,000,000		
	Consolidation Grouting	m .	25,000	90.00	2,259,000		
	Others (10%)	1.5.			32,734,965		
	Subtotal					360,084,615	•
40	SPILLWAY	•					
	Excavation	_	215.000	2.00	250.000		
	Excavation,common Excavation,weathered rock	m3 m3	245,200 326,900	3.50 6.00	858,200 1,961,400		
	Excavation, hard rock	m3	1,844,500	10.00	18,445,000		
	Concrete	Esa	112,600	140.00	15,764,000		
	Reinforcement bars Others (20%)	tom L.S.	3,400	1,500.00	5,100,000 8,425,720		•
	Subtotal					50,554,320	
50	INTAKE and INTAKE TUNNEL						
	Excavation						
	Excavation, common	п3	11,000	3.50	38,500		
	Excavation,weathered rock Excavation hard rock	m3 m3	11,000 14,600	6.00 16.00	66,000 146,000		
	Concrete, open structure	m3	16,400	140.00	2,296,000		
	Reinforcement	. loti	500	1,500.00	750,000		
	Others (20%)	L.S.			659,300		
	Subtotal					3,955,800	
50	HEADRACE TUNNEL	~			10.000		
	Excavation,turnel Concrete, turnel	m3 m3	192,900 57,100	55.00 160.00	10,609,500 9,136,000		
	Reinforcement	ton	570	1,500.00	855,000		
	Consolidation grout	m	7,600 1,500	90.00 70.00	684,000		
	Curtain grout Backfill grout	m m3	1,500 720	70.00 200.00	105,000 144,000		
	Others (20%)	L.S.			4,306,700		
	Subtotal				•	25,840,200	
0	PENSTOCK						
	Excavation, tunnel	m3	55,600	55.00	3,058,000		
	Concrete,tunnel	m3	11,200	160.00 1,500.00	1,792,000 360,000		
	Reinforcement Curtain grout	ton m	240 0	70.00	360,000	•	
	Backfill grout	m3 ·	350	200.00	70,000 1,056,000		
	Others (20%)	L.S.			riviolitin	. 224 000	
_	Subtotal					6,336,000	
5	OPEN POWERHOUSE	•					
	Excavation Excavation common	m3	92,000	3.50	322,000		
	Excavation, weathered rock	m3	92,000	6.00	552,000		-
	Excavation hard rock	rn3	122,700	10.00	1,227,000		
	Concrete, substructure	m3	87,700	250.00	21,925,000		

	Concrete, second stage	m3	21,900	140.00	3,066,000		
	Reinforcement	ton	5,700	1,500.00	8,550,000		
	Others (20%)	L.S.			7,128,400		
	Subrotat					42,770,400	
2.16	TAILRACE						
	Excavation						
	Excavation common	m3	10,000	3.50	35,000	•	
	Excavation weathered rock	m3	10,000	6.00	60,000		
	Excavation, hard rock	m3	15,000	10.00	150,000		
	Concrete, structure	m3	3,000	140.00	420,000		
	Reinforcement	ton	90	1,500.00	135,000		
	Others (20%)	L.S.	•		160,000		
	Subtotal		-			960,000	
		+ .					
2.17	ARCHITECTURAL BUILDINGS	m2	6,000	1,100.00	6,600,000	6,600,000	
2.18	ACCESS ROAD						
	Y			<00 000 00		4	
	New construction	m	0	600,000.00	2.450.000		
	Upgraded	m	69	50,000.00	3,450,000		
	Subtotal					3,450,000	
3.00	METAL WORKS				÷	-	
	Penstock steel pipes	ton	12,800	5,000.00	64,000,000		
	Gates	ton	890	7,000.00	6,230,000		
	Subtotal			•		70,230,000	
4.00	GENERATING EQUIPMENT	÷					
	Turbines	ton	4,450	18,700.00	83,215,000		
	Generators	ton	5,700	20,400.00	116,280,000		
	Transformers	MVA	1,110	2,440.00	2,708,400		
	Subtotal					202,203,400	
	•						
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	45	46,000.00	2,070,000 0	2,070,000	
	Total of Direct Cost					913,157,283	
			·		•	·	
6.00	LAND AQUISITION AND COMPENSATION	LS			0	45,657,864	
7.00	ADMINISTRATION EXPENSES	LS			0	9,131,573	
8.00	ENGINEERING SERVICES	LS			0	63,921,010	
9.00	PHYSICAL CONTINGENCY	LS			0	91,315,728	

Total amount

			ı				
					B/Q of BR-	5 (EL. 755.0)	
	Item No.	Work Item	Unit	Quantity	Unit price F.C.(US\$)	Amouat F.C.(US\$)	L.C.(N.Rps.)
	1.00	PREPARATORY WORKS (10 % of Civil Works)	18.	•			67,274,595
	2.00	CIVIL WORKS					
	2.10	DIVERSION TUNNEL					
		Open Excavation of Inlet & Outlet					
		Open excavation, common Open excavation, weathered rock Open excavation, hard rock Concrete of Inlet & Outlet Tunnel Excavation Tunnel Concrete Reinforcement bar Plug Concrete	m3 m3 m3 m3 m3 m3 m3	15,000 15,000 25,000 7,000 385,700 114,200 2,450 9,100	6.0 10.0 140.0 55.0 160.0	0 90,000 0 250,000 0 980,000 0 21,213,500 0 18,272,000 0 3,675,000 0 1,456,000	
		Others (20%)	L.S.			9,197,800	65 x0 x 0 x 0
		Subtotal					55,186,800
	2.20	COFFER DAM					4
		Excavation common	m3	283,100	3.5	0 990,850	
		Embankment. Embankment,core	m3	536,600			
		Embankmens, filter Embankmens, rock Others (20%)	m3 m3 L.S.	130,600 3,115,600	10.0	0 1,306,000	
		Subtotal		1			28,408,140
	2.30	MAIN DAM					4 · · · · · · · · · · · · · · · · · · ·
		Excavation				•	
•		Excavation, common Excavation, weathered rock Excavation, hard	m3 m3 m3	1,339,900 233,300 910,100	6.0	0 1,399,800	
		Embankment core	п3	7,463,100			
		Embankment, filter Embankment, rock Curtain Grouting Consolidation Grouting	m3 m3 m	1,607,300 54,915,900 110,000 30,000	6.0 70.0	0 329,495,400 0 7,700,000	
		Others (10%)	L.S.			40,847,435	
		Subtotal					449,321,785
	2.40	SPILLWAY					
		Excavation		tre con		0 678 200	
		Excavation, common Excavation, weathered rock Excavation, hard rock Concrete Reinforcement bars Others (20%)	m3 m3 m3 m3 tom L.S.	165,200 290,000 1,607,000 116,400 3,500	6.0 10.0 140.0	0 1,740,000 0 16,070,000 0 16,296,000	
:		Subtotal					47,921,040
	2.50	INTAKE and INTAKE TUNNEL		•			
		Excavation					
		Excavation, common Excavation, weathered rock Excavation, hard rock Concrete, open structure Reinforcement	m3 m3 m3 m3 ton	13,300 13,300 17,700 20,000 600	6.0 10.0 140.9	0 79,800 0 177,000 0 2,800,000	
		Others (20%)	L.S.			800,670	
**		Subtotal				8	4,804,020
	2.60	HEADRACE TUNNEL					
		Excavation, numed Concrete, tunnel Reinforcement Consolidation grout Curtain grout Backfill grout Others (20%)	m3 m3 ton m m m3 L.S.	209,000 61,800 620 7,900 1,600 800	160.0 1,500.0 90.0 70.0	0 9,888,000 0 930,000 0 711,000 0 112,000	
		Subtotal				-1	27,955,200
	2.90	PENSTOCK					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
124 1		Excavation, unnet Concrete, tunnel Reinforcement	m3 m3 ton	62,900 12,000 250) 160.0) 1,500.0	0 1,920,000 0 375,000	
		Curtain grout Backfill grout Others (20%)	m m3 L.S.	400 400			
	-	Sultotal	•				7,001,400
:	2.15	OPEN POWERHOUSE					
		Bxcavation Excavation.common Excavation,weathered rock	m3 m3	109,400 109,400	6.0	0 656,400	
		Excavation hard rock Concrete, substructure	m3 m3	145,900 104,200			

	Concrete, second stage Reinforcement Others (20%)	m3 ton L.S.	26,100 6,800	140.00 1,500.00	3,654,000 10,200,000 8,480,460	
	Subtolal					50,882,760
2.16	TAILRACE					
	Excavation	m3	12,000	3.50	42,000	
	Excavation,common Excavation,weathered rock	ກເ3	12,000	6.00	72,000	
	Excavation hard rock	m3	20,000	10.00	200,000	
	Concrete, structure	m3	4,000	140.00	560,000	
	Reinforcement	ton	120	1,500.00	180,000	
	Others (20%)	L.S.		•	210,800	
	Subtotal					1,264,800
	•				-	• •
2.17	ARCHITECTURAL BUILDINGS	m2	7,000	1,100.00	7,700,000	7,700,000
2.18	ACCESS ROAD					
				400 00m 00		
	New construction Upgraded	m m	0 69	600,000.00 50,000.00	0 3,450,000	
						3,450,000
	Subtotal					3,430,000
3.00	METAL WORKS		•			
	Penstock steel pipes	ton	15,300	5,000.00	76,500,000	
	Gates	ton	1,050	7,000.00	7,350,000	
	Subtotal					83,850,000
4.00	GENERATING EQUIPMENT					
9.00	GENERATING EQUIPMENT					
	Turbines	ton	5,100	18,700.00	95,370,000	
	Generators	noi	6,400	20,400.00	130,560,000	
	Transformers	MVA	1,340	2,440.00	3,269,600	
	Subtotal			-		229,199,600
						0.070.505
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	45	46,000.00	2,070,000 0	2,070,000
	5000 IA HOUS					•
	Total of Direct Cost					1,066,290,140
6.00	LAND AQUISITION AND COMPENSATION	LS			0	53,314,507
		- "	•		0	
7.00	ADMINISTRATION EXPENSES	LS				10,662,901
8.00	ENGINEERING SERVICES	LS			. 0	74,640,310
9.00	PHYSICAL CONTINGENCY	L\$			0	106,629,014
	GRAND TOTAL				1,311,536,872	1,311,536,872

Total amount

liem No.	. Work Item	Unit	Quantity Uni F.C		Amount F.C.(US\$)	
	PDDD ID I WORLD WAR					
1.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				4,085,74
2.00	CIVIL WORKS					
2.10	INTAKE DAM					
	Open Excavation					
	Open excavation, common	m3	18,900	3.50	59,150	
	Open excavation, weathered rock	m3	16,900	6.00	101,400	
	Open excavation,hard rock	m3	22,500	10.00	225,000	
	Concrete	m3	39,400	90.00	2,736,000	
	Mass concrete Reinforced concrete	m3	71,900	140.00	10,066,000	
	Reinforcement bar	ton	2,200	1,500.00	3,300,000	
	Curtain grouting	m	3,900	70.00	273,000	
	Consolidation grouting	m	2,500	90,00	225,000	
	Others (20%)	L.S.			3,397,110	
	Subtotal					20,382,66
2.20	DESANDING BASIN					
	Excavation, tunnel	ın3	61,700	55.00	3,393,500	
	Concrete, tunnel	m3	14,900	160.00	2,384,000	•
	Reinforcement bars	tom	150	1,500.00	225,000	
	Others (20%)	L.S.			1,200,500	
	Subtota!					7,203,00
2.30	WATERWAY					
2.31	INTAKE	•				
	Excavation					
	Excavation, common	m3	1,300	3.50	4,550	
	Excavation, weathered rock	m3	1,300	6.00	7,800	
	Excavation hard rock	m3	1,700	10.00	17,000	
	Concrete, open structure	m3	1,900 60	140.00 1,500.00	266,000 90,000	
	Reinforcement Others (20%)	ton L.S.	90	1,300.00	77,070	
		2.0.			11,010	400.40
	Subtotal					462,42
2.32	HEADRACE TUNNEL					
	Excavation,tunnel	m3	51,400	55.00	2,827,000	
	Concrete, tunnel	m3	18,200	160.00	2,912,000	
	Reinforcement	ton	200 7,400	1,500.00 90.00	300,000 666,000	
	Consolidation grout Curtain grout	m m	200	70.00	14,000	
•	Backfill grout	m3	940	200.00	188,000	
	Others (20%)	L.S.	4.5		1,381,400	
	Subtotal					8,288,40
2.33	SURGE TANK					
	Excavation, shaft	m3	7,200	55.00	396,000	
	Concrete, shaft	m3	2,100	160.00	336,000	
	Reinforcement	ton	60	1,500.00	90,000	
	Consolidation grout	183	200	90.00	18,000	
	Others (20%)	L.S.			168,000	
	Subtotal					1,008,00
2.34	PENSTOCK					•
	Excavation,tunnel	m3	3,700	55.00	203,500	
	Concrete,tunnel	m3	1,900	160.00	304,000	
	Reinforcement	ton	40	1,500.00	60,000	
	Curtain grout	ETÎ	200	70.00	14,000	
	Backfill grout	m3	90	200.00	18,000	
	Others (20%)	L.S.		-	119,900	
	Subtotat					719,40
2.40	OPEN POWERHOUSE					
	Excavation					
	Excavation common	m3	5,500	3.50	19,250	
	Excavation weathered rock	m3	5,500	6.00	33,000	
					44.000	
	Excavation hard rock	m3	7,400	10.00	74,000	
		m3 m3 m3		10.00 250.00 140.00	74,000 1,325,000 182,000	

		Others (20%)	L.S.				428,650		
		Subtotal						2,571,900	
	2.50	TAILRACE						•	
		Excavation							
•		Excavation, common	m3		1,500	3.50	5,250		
		Excavation, weathered rock	m3		1,500	6.00	9,000		
		Excavation, hard rock	m3		2,100	10.00	21,000		
		Concrete, structure	m3		800	140.00	112,000		
		Reinforcement	ton		25	1,500.00	37,500		
•		Others (20%)	L.S.				36,950		
		Subtotal						221,700	*
	2.60	ARCHITECTURAL BUILDINGS	m2		2,500	1,100.00	2,750,000	2,750,000	
	2.00	ARCHITECTURAL BUILDINGS	mz		2,500	1,100.00	2,730,000	2,730,000	
	2.70	ACCESS ROAD							
	2.10	ACCESORORD					•		
		New construction	[31		80	600,000.00	48,000,000		
		Upgraded	m	*	69	50,000.00	3,450,000		
•									
		Subtotal					•	51,450,000	
			•						
	3.00	METAL WORKS							
•							3		
		Penstock steel pipes	los		850	5,000.00	4,250,000		
		Gates	rots		100	7,000.00	700,000		
		Subtotal						4,950,000	
		SHOOM						4,330,003	•
	4.00	GENERATING EQUIPMENT							
		Turbines	ton		280	18,700.00	5,236,000		
		Generators	ton		639	20,400.00	12,852,000		
		Transformers	MVA		52	4,600.00	239,200		
		Subtotal						18,327,200	
		e e							
	5.00	TRANSMISSION LINES AND	km		152	46,000.00	6,992,000	6,992,000	
		SUBSTATIONS							
		Trail of Winner Charl						129,412,428	
		Total of Direct Cost						129,412,420	
	6.00	LAND AQUISITION AND COMPENSATION	LS				0	1,294,124	
	7.00	ADMINISTO ATION DVDDINGES	. 10				0	1,294,124	
	7.00	ADMINISTRATION EXPENSES	LS				U	1,677,124	
	8.00	ENGINEERING SERVICES	LS				0	9,058,870	•
1									
	9.00	PHYSICAL CONTINGENCY	LS				0	12,941,243	
		GRAND TOTAL					154,000,789	154,000,789	

Item No.	Work Item	Unit	Quantity	Unit price	Amount	
-				F.C.(USS)	F.C.(US\$)	
1.00	NUTRAD A WORLD WORLD	1S,				3,381,7
1.00	PREPARATORY WORKS (10 % of Civil Works)	15.0,			•	V2011
.00	CIVIL WORKS					
.10	INTAKE DAM					
	Open Pagestration					
	Open Excavation Open excavation, common	m3	15,300	3.5	0 53,550	
	Open excavation, weathered rock	m3	15,300	6.0	0 91,800	
	Open excavation,hard rock	m3	20,400	10.0	0 204,000	
	Concrete Mass concrete	m3	28,490	90.0	0 2,556,000	
	Reinforced concrete	m3	88,200			
	Reinforcement bar	ton	2,100			
	Curtain growing	in	3,800			
	Consolidation grouting Others (20%)	m L.S.	2,500	90.0	0 225,000 3,216,070	
	Subtotal					19,296,4
40	DESANDING BASIN			•		,,
.40	DESKIDING BASIN		*			
	Excavation tunnel	m3	41,300			
	Concrete, timnel	m3 tom	10,000 100			
	Reinforcement bars Others (20%)	L.S.	100	, ipoor	804,300	
	Subtotal					4,825,8
.50	WATERWAY					
.50 .51	INTAKE					
.31	INTAKE					
	Excavation	_	4.000			
	Excavation common	m3	1,000			
	Excavation, weathered rock Excavation, hard rock	m3 m3	1,000 1,300			
	Concrete, open structure	m3	1,500			
	Reinforcement	ton	50	1,500.0		
	Others (20%)	L.S.			61,500	
	Subtotal					369,
.52	HEADRACE TUNNEL					
	Excavation,turnel	m3	36,500	55.0	2,007,500	
	Concrete, turnel	m3	13,400			
	Reinforcement	ton	140			
	Consolidation group	m m	6,200 180			
	Curtain grout Backfill grout	m3	750			
	Others (20%)	L.S.			1,016,420	
	Subtotal					6,098,
5 3	SURGE TANK					
	Excavation, shaft	- m3	4,800	55.0	00 264,000	
	Concrete, shaft	m3	1,400			
	Reinforcement	ton	60			
	Consolidation grout Others (20%)	m L.S.	150	90.0	00 13,500 118,300	
	Subtotal	L.G.		-	110,000	709
.54	PENSTOCK					
	Excavation,tunnel	m3	2,800			
	Concrete,turned Reinforcement	m3	1,850 30			
	Curtain grout	ton m	150			
	Backfill grout	m3	50		00 10,000	
	Others (20%)	L.S.			96,700	
	Subtoial					580,
	OPEN POWERHOUSE					
50						
60	Excavation					
60	Excavation, common	m3	3,700			
60	Excavation, common Excavation, weathered rock	m3	3,700	6.0	0 22,200	
.60	Excavation, common			6.0 10.0	0 22,200 0 49,000	
.60	Excavation, common Excavation, weathered rock Excavation, hard rock	m3 m3	3,700 4,900	6.0 10.0 250.0 140.0	22,200 00 49,000 00 900,000 00 126,000	

		•					
•		Others (20%)	L.S.			291,030	
		Subtotal				•	1,746,180
	2.70	TAILRACE					
1		Excavation					
		Excavation, common	m3	.1,300	3.50	4,550	
		Excavation, weathered rock	m3	1,300	6.00	7,800	
		Excavation hard rock	m3	1,900	10.00	19,000	
		Concrete, structure	m3	700	140.00	98,000	
	•	Reinforcement	ton	20	1,500.00	30,000	
		Others (20%)	L.S.			31,870	
		Subtotal	÷				191,220
		4					
	2.80	ARCHITECTURAL BUILDINGS	m2	2,000	1,100.00	2,200,000	2,200,000
	2.90	ACCESS ROAD					
	2.70	ACCISS ROAD		· .			
		New construction	m	80	600,000.00	48,000,000	:
		Upgraded	m ·	69	50,000.00	3,450,000	
		Subtotal					51,450,000
		Succes					21,430,000
	3.00	METAL WORKS			•	•	
	•	Penstock steel pipes	ton	600	5,000.00	3,000,000	
		Gates	ton	70	7,000.60	490,000	
		Subtousl			:		3,490,000
		o o o o o o o o o o o o o o o o o o o					3,470,000
	4.00	GENERATING EQUIPMENT		•			
		furbines	ton	200	18,700.00	3,740,000	
		Generators	ton	500	20,400.00	10,200,000	
		Transformers	MVA	35	5,000.00	175,000	
			******		0,000.00		
		Subtouil					14,115,000
		•					
* •	5.00	TRANSMISSION LINES AND SUBSTATIONS	km	152	46,000.00	6,992,000	6,992,000
		30831A110N3		•		•	
		Total of Direct Cost					115,445,854
		*					
	6.00	LAND AQUISITION AND COMPENSATION	LS			Ð	1,154,459
	7.00	ADMINISTRATION EXPENSES	LS			0	1,154,459
	8.00	ENGINEERING SERVICES	LS			0	8,081,210
	9.00	PHYSICAL CONTINGENCY	LS			0	11,544,585
	7.00	**************************************					
	7.00			•	*	•	

hem No.	Work Item	Unit			mount C(USS)	
			F.C.	(US\$) F	.C.(US\$)	
.00	PREPARATORY WORKS	L.S.				2,849,5
	(10 % of Civil Works)					
.00	CIVIL WORKS					
.10	INTAKE DAM					
-	Open Excavation		42.700		47.050	
	Open excavation, common Open excavation, weathered rock	m3 m3	13,700 13,700	3,50 6,00	47,950 82,200	
	Open excavation, weaming fock	m3	18,300	10.00	183,000	
	Concrete					
	Mass concrete	m3	28,300	90.00	2,367,000	
	Reinforced concrete Reinforcement bar	m3 ton	63,000 1,900	140.00	8,820,000 2,850,000	
	Curain grouting	m	3,400	70.00	238,000	
	Consolidation growing	m	2,500	90.00	225,000	
	Others (20%)	L.S.			2,962,630	
	Subtotal					17,775,7
40	DESANDING BASIN					
	Excavation numbel	m3	31,000	55.00	1,705,000	
	Concrete, tunnel	m3	7,500	160.00	1,200,000	
	Reinforcement bars Others (20%)	ton L.Ş.	75	1,500.00	112,500 603,500	
		in).			603,500	
	Subtotal					3,621,0
.50	WATERWAY					
.51	INTAKE					
	Excavation					
	Excavation, common	m3	900	3.50	3,150	
	Excavation, weathered rock	m3 •	900	6.00	5,400	
	Excavation, hard rock Concrete, open structure	m3 m3	1,200 1,300	10.00 140.00	12,000 182,000	
	Reinforcement	ton	40	1,500.00	60,000	
	Others (20%)	L.S.			52,510	
	Subtotal					315,0
.52	HEADRACE TUNNEL					
	Excavation,turnel	m3	24,200	55.00	1,331,000	
	Concrete, tunnel	m3	9,300	160.00	1,488,000	
	Reinforcement	ton	100	1,500.00	150,000	
	Consolidation grout	m	5,000	90.00	450,000	
	Curtain grout Backfill grout	m m3	150 700	70.00 200.00	10,500 140,000	
	Others (20%)	L.S.		200.00	713,900	
	Subtetal					4,283,4
53	SURGE TANK					
	Excavation, shaft	m3	3,800	55.00	198,000	
	Concrete, shaft	m3	1,100	160.00	176,000	
	Reinforcement	ton	40	1,500.00	60,000	
	Consolidation grout Others (20%)	m L.S.	120	90.00	10,800 88,960	
	Subtoral					533,7
C 1	PENSTOCK					
54						
	Excavation,tunnel Concrete,tunnel	m3 т3	2,300 1,450	55.00 160.00	126,500 232,000	
	Reinforcement	ton	30	1,500.00	45,000	
	Cutain grout	m	130	70.00	9,100	
	Backfill grown	m3	40	100.00	8,000	
	Others (20%)	L.S.		٠	84,120	
	Subtotal					504.7
60	OPEN POWERHOUSE					
	Excavation	_				
	Excavation, common	m3	2,800	3.50	9,800	
	Excavation weathered rock Excavation hard rock	m3 m3	2,800 3,700	6.00 10.00	16,800 37,000	
	Concrete, substructure	m3	2,700	250.00	675,000	
	Concrete, second stage	m3	600	140.00	84,000	

	Others (20%)	L.S.			215,520		
	•					4 402 440	
	Subtotal					1,293,120	
2.70	TAILRACE						
	Excavation						
	Excavation common	m3	1,100	3,50	3,850		
	Excavation, weathered rock	m3	1,100	6.00	6,600		
	Excavation, hard rock	m3	1,600	10.00	16,000		
	Concrete, structure	m3	600	140.00	84,000		
	Reinforcement	ton	20	1,500.00	30,000		
	Others (20%)	L.Ş.		1,500.00	28,090		
						150 510	
	Subtotal					168,540	
	•						
2.80	ARCHITECTURAL BUILDINGS	m2	1,800	1,100.00	1,980,000	1,980,000	
2.90	ACCESS ROAD						
	New construction	m	80	600,000.00	48,000,000		
	Upgraded	m ·	69	50,000.00	3,450,000		
	Subtotal					51,450,000	
	Securat					31,450,000	
3.00	METAL WORKS	÷					
	Penstock steel pipes	ton	450	5,000.00	2,250,000		
4	Gatas	ton	60	7,000.00	420,900		
4.	Subtotal					2,670,000	•
	Subotal					2,010,000	
4.00	GENERATING EQUIPMENT	•					
	· Musicana	tan	160	18,700.00	2,992,000		
	Turbines	ton	400	20,400.00	8,160,000		
	Generators	lon		5,300.00			
	Transformers	MVA	26	5,300.00	137,800		
	Subtoral					11,289,800	
5.00	TRANSMISSION LINES AND	km	152	46,000.00	6,992,000	6,992,000	•
7,00	SUBSTATIONS				••		•
	Total of Direct Cost					105,726,718	
6.00	LAND AQUISITION AND COMPENSATION	LS				1,057,267	
7.00		LS			0	1,057,267	
	ADMINISTRATION EXPENSES						
00.8	ENGINEERING SERVICES	LS			0	7,400,870	
9.00	PHYSICAL CONTINGENCY	LS			0	10,572,672	
	GRAND TOTAL				125,814,794	125,814,794	
	GRAND IOIAL				120,027,137	100,017,137	

tem No.	Work Item	Unit			nount C.(US\$)	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	and a reconstruction					2,515,5
.00 ji	REPARATORY WORKS (10 % of Civil Works)	L.S.				2,313,3
.00 0	CIVIL WORKS					
.10	INTAKE DAM				*	
	Open Excavation					
	Open excavation, common	m3	11,500	3,50	40,250	
	Open excavation, weathered rock Open excavation, hard rock	m3 m3	11,500 15,400	6.00 10.00	69,000 154,000	
	Concrete Mass concrete	m3	21,400	90.00	1,926,000	
	Reinforced concrete	m3	63,100	140.00	8,834,000	
	Reinforcement bar	ton	1,900	1,500.00	2,850,000	
	Curtain growing	m	3,900	70,00	273,000	
	Consolidation grouting Others (20%)	m L.S.	2,100	90.00	189,000 2,867,050	
	Subtotal					17,202,3
40	DESANDING BASIN				•	
	Excavation,tumnel	m3	10,600	55.00	583,000	
	Concrete, namel	m3	2,900	160.00	464,000	
	Reinforcement bars Others (20%)	ton L.S.	30	1,500,00	45,000 218,400	
	Subtotal					1,310,6
50	WATERWAY					
5 1	INTAKE					
	Bacavatien					
	Excavation, common	m3	600	3.50	2,100	
	Excavation, weathered rock	m3	600	6.00	3,600	
	Excavation hard rock	m3	800	10.00	8,000	
	Concrete,open structure	m3	900	140.00	126,000	
	Reinforcement Others (20%)	ton L.S.	25	1,500.00	37,500 35,440	
	Subtotal					212,0
52	HEADRACE TUNNEL					
	Excavation tunnel	m3	27,200	55.00	1,496,000	
	Concrete, turnel	m3	10,500	160.00	1,680,000	
	Reinforcement	ton	50	1,500.00	75,000	
	Consolidation grout	m	100	90.00	9,000	
	Curtain grout	m	130	70.00	9,100	
	Backfill groot	m3	50	200.00	10,000	
	Others (20%)	L.S.			655,820	
_	Subtotal					3,934,
53	HEAD POND			·		
	Excavation	_2	1,200	3.50	4,200	. *
	Excavation, common Excavation, weathered rock	m3 m3	1,200	6.00	7,200	
	Excavation,hard rock	m3	1,600	10.00	16,000	
	Concrete, open structure	m3	1,400	140.00	196,000	
	Reinforcement	ton	40	1,500.00	60,000	
٠	Others (20%)	L.S.			56,680	
	Subtotal					340,
54	PENSTOCK					٠
	Excavation Excavation, common	m3	3,600	3.50	12,600	
	Excavation, common Excavation, weathered rock	m3	3,600	6.00	21,600	
	Excavation, hard rock	m3	4,800	10.00	48,000	
	Concrete, open structure	m3	3,800	140.00	504,000	
	Reinforcement Others (20%)	ton L.S.	60	1,500.00	90,000 135,240	
	Subtotal	Lond.			222000	811,
				•		• ••
0	OLEH LOMEVIIOGE					
3	OPEN POWERHOUSE					
0	Excavation Excavation	m3	2,400	3.50	8,400	
	Excavation	m3 m3	2,400 2,400	3.50 6.00	8,400 14,400	

		Consents and dispateurs	2	2,300	250.00	575,000		
		Concrete, substructure Concrete, second stage	m3 m3	2,500 600	140.00	\$75,000 84,000		
		Reinforcement	ton	150	1,500.00	225,000		
		Others (20%)	L.S.		*(*********	187,760		
1.1								
		Subtotal					1,126,560	
	2.70	TAILRACIS						
		F			•			
		Excavation Excavation, common	3	1,200	3.50	4,200		
		Excavation, weathered rock	m3 m3	1,200	6.00	7,200		
		Excavation, hard rock	m3	2,000	10.00	20,000		
		Concrete, structure	m3	800	140.00	112,000		
		Reinforcement	ton	. 25	1,500.00	37,500		
		Others (20%)	L.S.		1,500.00	36,180		
						,		
		Subtotal					217,080	
		•		•			•	
	2.80	ARCHITECTURAL BUILDINGS	m2	3,000	1,100.00	3,300,000	3,300,000	
	2.90	ACCESS ROAD		•				•
				÷				
		New construction	m	96	600,000.00	57,600,000		
		Upgraded	πì	69	50,000.00	3,450,000		
		Subtotal				*	61,050,000	
	3.00	METAL WORKS						
	:							*
		Penstock steel pipes Gates	ton	1,000 20	5,000.00 7,000.00	5,000,000 140,000	•	
			ton.		7,000.00	110,000		
		Subtotal					5,140,000	
	4.00	GENERATING EQUIPMENT						•
				405	***			
		Turbines	ton	120	18,700.00	2,244,000	•	
		Generators	ton	450	20,400.00	9,180,000		•
		Transformers	MVA	32	5,100.00	163,200		
		Subtotal	•				11,587,200	
		ī						
	5.00	TRANSMISSION LINES AND	ken	167	46,000.00	7,682,000	7,682,000	
		SUBSTATIONS						
		Total of Direct Cost					116,430,162	
								•
,	6.00	LAND AQUISITION AND COMPENSATION	LS			0	1,164,302	
	7.00	ADMINISTRATION EXPENSES	LS			0	1,164,302	
	8.00	ENGINEERING SERVICES	LS			0	8,150,111	
	9.00	PHYSICAL CONTINGENCY	LS			0	11,643,016	
		GRAND TOTAL				138,551,893	138,551,893	

em No.	Work Item	Unit			(C.(US\$)	
.00 PR	EPARATORY WORKS (10 % of Civil Works)	L.S.				2,286,7
.00 CI	VIL WORKS				•	
.10	INTAKE DAM					
	Open Excavation Open excavation, common	m3	10,400	3.50	36,400	
	Open excavation, weathered rock	m3	10,400	6.00	62,400	
	Open excavation, hard reck	m3	13,900	10.00	139,000	
	Concrete	*				
	Mass concrete	m3	19,900	90.00	1,791,000	
	Reinforced concrete	m3	58,500	140.00	8,190,000	
	Reinforcement bar	ton	1,800 3,600	1,500.00 70.00	2,700,000 252,000	
	Curtain grouting Consolidation growting	m m	2,000	90.00	180,000	
	Others (20%)	L.S.	2,000		2,670,160	
	Subtotal					16,020,
0	DESANDING BASIN					
•		9	7 100	55.00	200 600	
	Excavation times	m3 m3	7,100 2,000	55.00 160.00	390,500 320,000	
	Concrete, turnel Reinforcement bars	ms ton	2,000	1,500.00	30,000	
	Curisin grouting	EORL TO	20	70.00	0	
	Consolidation grouting	DJ.		90.00	o	
	Others (20%)	L.S.			148,100	
	Subtotal					888,
60	WATERWAY					
1	INTAKE					
					. *	
	Excavation common	m3	500	3.50	1,750	
	Excavation, weathered rock	m3	500	6.00	3,000	
	Excavation, hard rock	m3	600	10.00	6,000	
	Concrete,open structure	m3	700	140.00	98,000	
	Reinforcement	šóu –	20	1,500.00	30,000	
	Others (20%)	1\$.			27,750	
	Sultom		•		1 " "	166,
2	HEADRACE TUNNEL					
	Excavation, hunnel	m3	27,200	55.00	1,496,000	
	Concrete, tunnel	m3	10,500	160.00	1,680,000	
	Reinforcement	ton	50	1,500.00	75,000	
	Consolidation grout	m	100	90.00	9,000	
	Curtain grout	m 2	130	70.00	9,100	
	Backfill grout Others (20%)	m3 L.S.	50	200.00	10,000 655,820	
	Subsolal					3,934,
_						5,52.,
3	HEAD POND					
	Excavation Excavation,common	m3	900	3.50	3,150	
	Excavation, weathered rock	m3	900	6.00	5,400	
	Excavation,hard rock	m3	1,200	10.00	12,000	
	Concrete, open structure	m3	1,100	140.00	154,000	
	Reinforcement Others (20%)	ton L.S.	35	1,500.00	52,500 45,410	
		15.15.		-	75,110	272,
	Subtotal					614;
1	PENSTOCK				•	
	Excavation Excavation, common	m3	3,000	3.50	10,500	
	Excavation weathered rock	m3	3,000	6.00	18,000	
	Excavation hard took	m3	4,000	10.00	40,000	
	Concrete open structure	m3	3,000	140.00	420,000	
	Reinforcement Others (20%)	ton L.S.	50	1,500.00	75,000 112,700	
	Subtotal				-	676,
			* .			u14,
)	OPEN POWERHOUSE					
	Excavation Excavation, common	m3	1,600	3.50	5,600	

	Excavation, weathered rock	m3	1,800	6,00	9,600		
	Excavation hard rock	m3	2,200	10.00	22,000		
	Concrete, substructure	m3	1,500	250.00	375,000		
	Concrete, second stage	m3	400	140.00	56,000		
	Reinforcement	ton	100	1,500.00	1.50,000		
	Others (20%)	L.S.		·	123,640		
	Subtotal					741,840	
2.70	TAILRACE						
	-				÷		
	Excavation						
	Excavation common	m3	1,000	3,50	3,500		
	Excavation, weathered rock	m3	1,000	6.00	6,000		
	Excavation, hard rock	m3	1,500	10.00	15,000		
	Concrete, structure	tn3	600	140.00	84,000		
	Reinforcement	ton T	20	1,500.00	30,000		
	Others (20%)	L.S.			27,700		
	Subtotal					166,200	
			•			140,441	
2.80	ARCHITECTURAL BUILDINGS	m2	2,000	1,100.00	2,200,000	2,200,000	
		, mz	2,000	1,100.00	2,200,000	2,200,000	4
2.90	ACCESS ROAD						
	New construction	m	95	600,000.00	57,600,000		
	Upgraded	m	69	50,000.00	3,450,000		
	Subtotal					61,050,000	
3.00	METAL WORKS						
2130	•						
	Penstock steel pipes	ton	700	5,000.00	3,500,000		
	Gates	ton	15	7,000.00	105,000		
	Subtotal				* .	3,605,000	
4.00	GENERATING EQUIPMENT				. '	*	
4.00	Obligation Education						
	Turbines	ten	90	18,700.00	1,683,000		
	Generators	ton	35D	20,400.00	7,140,000		
	Transformers	MVA	21	5,500.00	115,500		
	Subtotal					8,938,500	
						-,,,,	
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	167	46,000.00	7,682,000	7,682,000	· · · · · · · · · · · · · · · · · · ·
:							
	Total of Direct Cost					108,629,948	
6.00	LAND AQUISITION AND COMPENSATION	LS			0	1,086,299	
7.00	ADMINISTRATION EXPENSES	LS			. 0	1,086,299	
8.00	ENGINEERING SERVICES	LS			G	7,604,096	
9.00	PHYSICAL CONTINGENCY	LS			0	10,862,995	
	GRAND TOTAL				129,269,638	129,269,638	

1.00 PREPARATORY WORKS	item No.	Work Item	Unit	Quantity	Unit price F.C.(US\$)	Amount F.C.(US\$)	
(10 % of Civil Works) CIVIL WORKS 1.10 NTAKE DAM							
Open Exercation	.00		L.S.				2,107,8
Open Excavation		(10 % of Civil Works)					
Open Exervation Open tectoration, examined 13 9,400 3.50 32,000 Open tectoration, examined 13 9,400 3.50 32,000 Open tectoration, examined 13 9,400 1.00 125,000 Open tectoration, examined 13 12,500 1.00 125,000 Open tectoration 13 12,500 50,00 1,655,000 Mast concrete 13 14,500 50,00 1,655,000 Reinforcement ber 10 1,555 1,500,00 2,475,000 Reinforcement ber 10 1,555 1,500,00 2,475,000 Others (Dish) 1,500,00 2,475,000 Others (Dish) 1,500,00 2,477,000 Others (Dish) 1,500,00 2,477,000 Others (Dish) 1,500,00 2,470,000 Others (Dish) 1,500,00 1,500,00 Others (Dish) 1,500,00	.00	CIVIL WORKS					
Open securation, evaluated as well as 3,400 3,50 32,000	10	INTAKE DAM					
Open accuration/acadered rock m3 9,400 6.00 56,400		Open Excavation					
Open carvation-hard rock		=					
Mass centrate m3		•					
Mass concetae			m3	12,500) 10.0	00 125,000	
Reinforcements bar to no			m3	18 590	90.0	00 1.665.000	
Constitution growing m							
Consolidation grouting m		Reinforcement bar	ton				
Description							
Subtotal DISANDING BASIN Excession_tunnel m3				2,000	3 90.0		
DESANDING BASIN Excavation, named m3 5,200 55.00 286,000 Concreta, tamed m3 1,400 160.00 224,000 Reinforcement bars ten 15 1,500.00 22,500 Cohert (10%) L.S. 106,500 Subtotal Subt		Onless (2000)	Lio.			2,472,000	
Excavation,tunnel		Subtotal					14,832,3
Concrete, named m3	10	DESANDING BASIN					
Concreta, tamael m3		Excavation,tunnel	m3	5,200	55.0	00 286,000	
Reinforcement bars Lon LS L500,00 22,500 106,500							
Subtotal				15	1,500.0	•	
Secand S		Others (20%)	L.S.			106,500	
INTAKE Excavation Excavation, common m3 400 3.50 1,400 Excavation, weathered rock m3 400 5.00 2,400 Excavation, weathered rock m3 550 10.00 5.500 Concrete, open structure m3 600 140.00 84,000 Reinforcement ton 20 1,500.00 30,000 Others (20%) L.S. 24,660		Subtotal					639,0
INTAKE Excavation Excavation, common m3 400 3.50 1,400 Excavation, weathered rock m3 400 5.00 2,400 Excavation, weathered rock m3 550 10.00 5.500 Concrete, open structure m3 600 140.00 84,000 Reinforcement ton 20 1,500.00 30,000 Others (20%) L.S. 24,660 Subtotal Excavation, funnel m3 27,200 55.00 1,496,000 Concrete, tunnel m3 10,500 160.00 1,880,000 Reinforcement ton 50 1,500.00 75,000 Consolidation grout m 100 90.00 9,000 Curtain grout m 130 70.00 9,100 Reinforcement ton 50 1,500.00 75,000 Consolidation grout m 130 70.00 9,100 Reinforcement ton 550 200.00 10,000 Others (20%) L.S. 50 200.00 10,000 Concrete, (which is a simple state of the concolidation of the con	'n	WATERWAY					
Excavation Excavation, weathered rock m3 400 3.50 1,400 Excavation, weathered rock m3 400 6.00 2,400 Excavation, hard rock m3 550 10.00 5.500 Concrete, open structure m3 600 140.00 84,000 Reinforcement ton 20 1,500.00 30,000 24,660 Concrete, open structure m3 600 140.00 84,000 Concrete, tonnel m3 27,200 55.00 1,496,000 Concrete, tunnel m3 10,500 160.00 1,680,000 Concrete, tunnel m3 10,500 160.00 1,680,000 Concrete, tunnel m3 10,500 160.00 1,680,000 Consolidation grout m 100 90.00 9,000 Consolidation grout m 100 90.00 9,000 Consolidation grout m 130 70.00 9,100 Excitill grout m3 50 200.00 10,000 Others (20%) L.S. Subtotal Subtotal HEAD POND Excavation Excavation, weathered rock m3 750 3.50 2,625 Excavation, weathered rock m3 750 6.00 4.500 Excavation, weathered rock m3 750 6.00 4.500 Concrete, open structure m3 900 140.00 126,000 Concrete, open structure m3 2,400 6.00 14,400 Excavation, weathered rock m3 2,400 6.00 14,400 Excavation, teachered rock m							
Escavation,common m3 400 3.50 1,400 Escavation, weathered rock m3 400 6.00 2,400 Escavation, hard rock m3 550 10.00 5.500 Concrete, open structure m3 600 140.00 84,000 Reinforcemena ton 20 1,500.00 30,000 Others (20%) L.S. 20 1,500.00 30,000 Others (20%) L.S. 20 1,500.00 30,000 Concrete, tunnel m3 10,500 160.00 1,880,000 Concrete, tunnel m3 10,500 160.00 1,880,000 Reinforcement ton 50 1,500.00 75,000 Reinforcement ton 50 1,500.00 75,000 Consolidation grout m 100 90.00 9,000 Curtain grout m 130 70.00 9,100 Backfill grout m3 50 200.00 10,000 Others (20%) L.S. 500 200.00 10,000 Concrete, open structure m3 750 3.50 2,625 Escavation Escavation m3 750 6.00 4,500 Escavation And rock m3 7,500 1,600 1,000 Concrete, open structure m3 900 140.00 126,000 Concrete, open structure m3 9,000 140.00 126,000 Concrete, open structure m3 2,400 6.00 1,400 Escavation, weathered rock m3 2,400 6.00 1,400 Escavation, weathered rock m3 2,400 6.00 1,400 Escavation, weathered rock m3 2,400 6.00 1,400 Concrete, open structure m3 2,700 140.00 378,000 Concrete, open structure m3 2,700 14	1	INTAKE				*	
Excavation, weathered rock m3 400 6.00 2,400		Excavation					
Excavation_hard rock							
Concrete, open structure m3 800 140.00 84,000 Reinforcement ten 20 1,500.00 30,000							
Reinforcement ten							
Subtotal Subtotal							
Exercation,tunnel m3 27,200 55.00 1,496,000			L.S.				
Bacavation_tunnel m3		Subtotal					147,
Excavation, tunnel m3	52	HEADRACE TUNNEL					
Concrete, tunnel m3	-						
Reinforcement ton 50 1,500.00 75,000 Consolidation grout m 100 90.00 9,000 9,000 Curtain grout m 130 70.00 9,100 Backfill grout m3 50 200.00 10,000 Others (20%) L.S. 50 200.00 10,000							
Consolidation grout							
Curtain grout m 130 70.00 9,100 Backfill grout m3 50 200.00 10,000 Others (20%) L.S. 50 200.00 10,000 Others (20%) L.S. 50 200.00 10,000 Subtotal Excavation Excavation, common m3 750 3.50 2,625 Excavation, weathered rock m3 750 6.00 4,500 Excavation, tard rock m3 10,000 10,000 10,000 Concrete, open structure m3 900 140.00 126,000 Reinforcement ton 30 1,500.00 45,000 Others (20%) L.S. 37,625 Subtotal 4 PENSTOCK Excavation Excavation, common m3 2,400 3.50 8,400 Excavation, weathered rock m3 3,200 10.00 32,000 Concrete, open structure m3 2,700 140.00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,060							
Backfill grout						·	
Subtotal Subtotal		Backfill grout		50	200.0		
Bxcavation Bxcavation,common m3 750 3.50 2,625 Excavation,weathered rock m3 750 6.00 4,500 Excavation,weathered rock m3 7,000 10.00 10,000 Excavation flard rock m3 900 140.00 126,000 Reinforcement ton 30 1,500.00 45,000 Others (20%) L.S. 37,625		Others (20%)	L.S.			655,820	
Excavation Excavation, common m3 750 3.50 2,625		Subtotal					3,934,
Bacavation common m3 750 3.50 2,625 Excavation weathered rock m3 750 6.00 4,500 Excavation flard rock m3 1,000 10.00 10,000 Concrete, open structure m3 900 140.00 126,000 Reinforcement ton 30 1,500.00 45,000 Others (20%) L.S. 37,625 Subtotal	3	HEAD POND					
Excavation common m3 750 3.50 2,625 Excavation weathered rock m3 750 6.00 4,500 Excavation flard rock m3 1,000 10.00 10.000 Concrete, open structure m3 900 140.00 126,000 Reinforcement ton 30 1,500.00 45,000 Others (20%) L.S. 37,625 Subtotal 4 PENSTOCK		Excavation					
Excavation flared rock m3 1,000 10.00 10,000		•	m3	750	3.:	50 2,625	
Concrete, open structure m3 900 140.00 126,000 Reinforcement ton 30 1,500.00 45,000 37,625							
Reinforcement Lon 30 1,500.00 45,000 37,625							
Subtotal							
Excavation Excavation, common m3 2,400 3.50 8,400 Excavation, weathered rock m3 2,400 6.00 14,400 Excavation, hard rock m3 3,200 10.00 32,000 Concrete, open structure m3 2,700 140,00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,060				0.	1,500.		
Excavation Excavation, common m3 2,400 3.50 8,400 Excavation, weathered rock m3 2,400 6.00 14,400 Excavation, hard rock m3 3,200 10.00 32,000 Concrete, open structure m3 2,700 140,00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,060							225,
Excavation m3 2,400 3.50 8,400 Excavation, weathered rock m3 2,400 6.00 14,400 Excavation, hard rock m3 3,200 10.00 32,000 Concrete, open structure m3 2,700 140.00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,060							
Excavation,common m3 2,400 3.50 8,400 Excavation,weathered rock m3 2,400 6.00 14,400 Excavation,hard rock m3 3,200 10.00 32,000 Concrete,open structure m3 2,700 140.00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,080	7		.*				
Excavation, weathered rock m3 2,400 6.00 14,400 Excavation hard rock m3 3,200 10.00 32,000 Concrete, open structure m3 2,700 140.00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,060			- -1	a Ann	1 34	(n 9.4nn	
Excavation hard rock m3 3,200 10.00 32,000 Concrete, open structure m3 2,700 140,00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,060		•					
Concrete, open structure m3 2,700 140.00 378,000 Reinforcement ton 45 1,500.00 67,500 Others (20%) L.S. 100,060							
Others (20%) L.S. 100,060 Subtotal		Concrete open structure	m3	2,700	140.0	00 378,000	
Subtotal				45	1,500.0	and the second second	
			Lode			100,000	
OPEN POWERHOUSE			•				600,
· · · · · · · · · · · · · · · · · · ·)	OPEN POWERHOUSE					
Excavation		Excavation					
Excavation, common m3 1,200 3.50 4,200							÷
Excavation, weathered rock m3 1,200 6.00 7,200		the state of the s					
Excavation,hard rock m3 1,800 10.00 16,000		Excavation, hard rock	m3	1,600	10.0	.u 16,000	•

	Concrete, substructure	m3		1,150	250.00	287,500	
	Concrete, second stage	m3		300	140.00	42,000	
	Reinforcement	ton		75	1,500.00	112,500	
	Others (20%)	L.S.		70	1,000.00	93,880	
	Subtotal						563,280
	Silvog						303,200
2.70	TAILRACE						•
	Excavation						
	Excavation, common	m3 .		800	3.50	2,800	
	Excavation weathered rock	m3 .		800	6.00	4,800	
	Excavation,hard took	m3		1,200	10.00	12,000	
	Concrete, structure	m3		500	140.00	70,000	
	Reinforcement	ton		15 :	1,500.00	22,500	
	Others (20%)	L.S.			:	22,420	
	Subtotal						134,520
2.80	ARCHITECTURAL BUILDINGS	m2		1,500	1,100.00	1,650,000	1,650,000
2.90	ACCESS ROAD						
	New construction	m .		98	600,000.00	57,600,000	
	Upgraded	m		69	50,000.00	3,450,000	
	Subtotal						61,050,000
3.00	METAL WORKS	-					
•	Penstock steel pipes	ton		550	5,000.00	2,750,000	
	Gaics	ton		15	7,000.00	105,000	
	Subtotal						2,855,000
	·		:				
4.00	GENERATING EQUIPMENT						
	Turbines	ton		70	18,700.00	1,309,000	
	Generators	ton		300	20,400.00	6,120,000	
	Transformers	MVA		16	5,750.00	92,000	
	Subtotal				•		7,521,000
	Suleota						1,521,000
5.00	TRANSMISSION LINES AND SUBSTATIONS	km		167	46,000.00	7,682,000	7,682,000
	Total of Direct Cost						103,943,965
	•						
6.00	LAND AQUISITION AND COMPENSATION	LS				0	1,039,440
7.00	ADMINISTRATION EXPENSES	LS				. 0	1,039,440
8.00	ENGINEERING SERVICES	LS				. 0	7,276,078
9.00	PHYSICAL CONTINGENCY	LS			* -	0	10,394,397
	GRAND TOTAL	•				123,693,318	123,693,318

liem No.	Work Item	Unit			nount C.(US\$)	
1.00	PREPARATORY WORKS	L.S.				3,783,024
	(10 % of Civil Works)			•		
2.00	CIVIL WORKS					
2.10	INTAKE DAM					
	Open Excavation		00.707		74.DAA	
	Open excavation, common Open excavation, weathered rock	m3 m3	20,000 20,000	3. 50 6.00	70,000 120,000	•
	Open excavation, hard rock	m3	26,300	10.00	263,000	
	Concrete					
	Mass concrete	m3	34,300	90.00	3,087,000	
	Reinforced concrete	m3	75,100	140.00	10,514,000	
	Reinforcement ber Consin growing	ton m	2,300 3,900	1,500.00 70,00	3,450,000 273,900	
	Consolidation growing	m	2,800	90.00	252,000	
	Others (20%)	L.S.			3,605,800	
	Subtotal				1	21,634,800
2.40	DESANDING BASIN					
	Excavation,turnel	m3	29,600	55.00	1,628,000	
	Concrete, tunnel	m3	7,500	160.00	1,200,000	
	Reinforcement bars	ton	75	1,500.00	112,500	
•	Others (20%)	LS.			588,100	
-	Subtotal					3,528,600
2.50	WATERWAY					
2.51	INTAKE					
	Excavation					
	Excavation common	m3	900	3.50	3,150	
	Excavation, weathered sock Excavation leard sock	m3 m3	980 1,200	6.00 10.00	5,400 12,000	
	Concrete, open structure	m3	1,400	140.00	196,000	
	Reinforcement	ton	40	1,500.00	60,000	
	Others (20%)	LS.			55,310	
	Subsolut			٠.		331,860
2.52	HEADRACE TUNNEL					
	Excavation,tannel	a13	30,000	55.00	1,650,000	
	Concrete, namel	m3	11,000	160.00	1,760,000	
	Reinforcement	ton	110	1,500.00	165,000	
	Consolidation grout	m m	5,000 160	90.00 70.00	450,000 11,200	
	Curtain grout Backfill grout	m3	760	200.00	152,000	
	Others (20%)	L.S.			837,640	
	Sultotal					5,025,840
2.53	SURGE TANK					
	Excavation, shaft	m3	3,700	55.00	203,500	
	Concrete, shaft	m3	1,100	160.00	176,000	
	Reinforcement	ton	50	1,500.00	75,000	
	Consolidation grout Others (20%)	m L.S.	150	90.00	13,500 93,600	
	Subtotal					561,600
2.54	PENSTOCK				•	
			0.700	EE 00	140 500	
	Excavation,turnel Concrete,turnel	m3 m3	2,700 1,700	55,00 160,00	148,500 272,000	
	Concrete, minutes Reinforcement	ton	40	1,500.00	60,000	
	Curtain grout	m	160	70.00	11,200	
	Backfill grow Others (20%)	m3 L.S.	20	200.00	4,000 99,140	
	Subtotal					594,840
2.60	OPEN POWERHOUSE				-	-21,010
2.60						
	Excavation		50.000	3.50	45,500	
		m3	1.3 111114			
	Excavation, common Excavation, weathered rock	m3 m3	13,000 13,000	6.00	78,000	
	Excavation, common Excavation, weathered rock Excavation, hard rock	<i>Ear</i> 8m	13,000 17,000	00.6 00.01	78,000 170,000	•
	Excavation, common Excavation, weathered rock	Ear	13,000	6.00	78,000	

	· ·					
	Others (20%)	L.S.			968,700	
	Subtotal					5,812,200
2.70	TAILRACE					
	Excavation					-
	Excavation common	m3	2,500	3.50	8,750	
	Excavation, weathered rock	m3	2,500	6.00	15,000	
	fixcavation, hard tock	m3	3,200	10.00	32,000	
	Concrete, structure	m3	1,200	140.00	168,000	•
	Reinforcement	lon	40	1,500.00	60,000	•
	Others (20%)	L.S.			56,750	
٠.	Subtotal					340,500
2.80	ARCHITECTURAL BUILDINGS	m2	5,000	1,100.00	5,500,000	5,500,000
2.90	ACCESS ROAD		•			-
	Manage at a set		400	4== 000 00	74 -40 000	
	New construction	m .	120 89	600,000.00	72,000,000	
	Upgraded	m."	03	50,000.00	3,450,000	
	Sutxotal					75,450,000
3.00	METAL WORKS					
	_					
	Penstock steel pipes	ion	3,100	5,000.00	15,500,000	
	Gates	ton	200	7,000.00	1,400,000	
	Subtotal					16,900,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	80	18,700.00	1,496,000	
	Generators	ton ton	470	20,400.00	9,588,000	
	Transformers	MVA	32	5,100.00	163,200	
	3.10131013111033	with.	31	3,100.00	103,000	
	Subtotel					11,247,200
5.00	TRANSMISSION LINES AND SUBSTATIONS	kra	193	46,000.00	8,878,000	8,878,000
	Total of Direct Cost					159,588,464
6.00	LAND AQUISITION AND COMPENSATION	LS			0	1,595,885
7.00	ADMINISTRATION EXPENSES	LS			. 0	1,595,885
8.00	ENGINEERING SERVICES	LS			: o	11,171,192
9.00	PHYSICAL CONTINGENCY	LS			0	15,958,846
	GRAND TOTAL				189,910,272	189,910,272
						• • •

Item No.	Work Item	Unit			neunt 2.(US\$)	
1.00	PREPARATORY WORKS	L.S.				3,147,438
1.00	(10 % of Civil Works)	Evo.	•		*.	3,147,438
2.00	CIVIL WORKS					
.10	INTAKE DAM					
	Open Excavation					
	Open excavation, common	m3	17,900	3.50	62,650	
	Open excavation, weathered rock	m3	17,900	6.00	107,400	
	Open excavation hard rock Concrete	m3	23,800	10.00	238,000	
	Mass concrete	m3	32,000	90.00	2,880,000	
	Reinforced concrete	m3	70,500	140.00	9,870,000	
	Reinforcement bar	ton	2,200	1,500.00	3,300,000	
	Curtain groating	វា	3,600	70.00	252,000	
	Consolidation grouting Others (20%)	m L.S.	2,700	90.00	243,000 3,390,610	
	Subtotal		· · · · · · · · · · · · · · · · · · ·			20,343,66
						Zoja rajoo
2.40	DESANDING BASIN				1.4	
	Excavation tunnel	m3	19,800	55.00	1,089,000	
	Concrete, timnel	m3 ten	5,000 50	160.00 1,500.00	800,000 75,000	
	Reinforcement bars Others (20%)	L.S.	30	1,300.00	392,800	•
	Subtotal					2,356,80
2.50	WATERWAY					
2.51	INTAKE					
	Excavation					
	Excavation common	m3	800	3.50	2,800	
	Excavation, weathered rock Excavation, hard rock	m3 m3	800 1,000	6.00 10.00	4,800 10,000	
	Concrete,open structure	m3	1,100	140.00	154,000	
	Reinforcement	ten	35	1,500.00	52,500	
	Others (20%)	L.S.		-	44,820	
	Subtotai					268,92
2.52	HEADRACE TUNNEL					
	Excavation,tunnel	m3	19,500	55.00	1,072,500	
	Concrete, turnel	m3	7,600	160.00	1,216,000	
	Reinforcement	ton	80	1,500.00	120,000	
	Consolidation grout	m	4,000	90.00	360,000	
	Curtain grout	m 2	150 600	70.00 200.00	10,500 120,000	
	Backfill grout Others (20%)	m3 L.S.	000	200.00	579,800	
	Subtotal					3,478,80
		•				
.53	SURGE TANK	_		***		
	Excavation, shaft Concrete, shaft	m3 m3	2,500 720	55.00 160.00	137,500 115,200	
	Reinforcement	ton	30	1,500.00	45,000	
	Consolidation grout	m	120	90.00	10,800	
	Others (20%)	L.S.			61,700	
	Subtotal		•			370,20
.54	PENSTOCK					
	Excavation,tunnel	т3	2,100	55.00	115,500	
	Concrete,turnel	m3	1,400	160.00	224,000	
	Reinforcement	ton	30	1,500.00	45,000	
	Curtain grout	m	140	70.00	9,800	
	Backfill grout Others (20%)	m3 L.S.	20	200.00	4,000 79,660	
	Subtotal	-			•••	477,96
40	•		:			411,70
:.60	OPEN POWERHOUSE	*.				
	Excavation Excavation, common	m3	8,400	3.50	29,400	
	Excavation, common Excavation, weathered rock	тэ m3	8,400	6.00	50,400	
	Excavation, hard rock	m3	11,000	10.00	110,000	
	Concrete, substructure	m3	8,000	250.00	2,000,000	· .
	Concrete, second stage Reinforcement	m3 ton	2,000 520	140.00 1.500.00	280,000 780,000	

•	Subtoial					3,899,760
	Suototai					3/032/100
2.70	TAILRACE					
	Excavation					
	Excavation common	m3	2,200	3.50	7,700	
	Excavation weathered rock	m3	2.200	6.00	13,200	
	Excavation hard rock	m3	2,600	10.00	26,000	
	Concrete, structure	m3	1,000	140.00	140,000	
	Reinforcement	ton	30	1,500.00	45,000	:
	Others (20%)	L.S.			46,380	•
	Subtotal					278,280
			*			
2.80	ARCHITECTURAL BUILDINGS	m2	4,000	1,100.00	4,400,000	4,400,000
2.90	ACCESS ROAD				. "	
	New construction	ฮเ	120	600,000.00	72,000,000	
	Upgraded	ដា	. 69	50,000.00	3,450,000	
	Opgraced	[11	. 00	30,000.00	3,430,000	
	Subtotal					75,450,000
3.00	METAL WORKS					
	Penslock steel pipes	ton	2,100	5,000.00	10,500,000	
	Gates	ton	150	7,000.00	1,050,000	
	Cana			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1,000,000	
	Subtotal					11,550,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	60	18,700.00	1,122,000	
	Generators	ion	360	20,400.00	7,344,000	
	Transformers	MVA	21	5,500.00	115,500	
-						
	Subtoial			-		8,581,500
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	193	46,000.00	8,878,000	8,878,000
	Total of Direct Cost					143,481,318
400	LAMB AGUIDITION AND COLORDING - 770V	io				1 454 614
6.00	LAND AQUISITION AND COMPENSATION	LS		•	0	1,434,813
7.00	ADMINISTRATION EXPENSES	L\$			0	1,434,813
8.00	ENGINEERING SERVICES	LS			0	10,043,692
•	ENGINEERING SERVICES					
9.00	PHYSICAL CONTINGENCY	LS			0	14,348,132

.00						
.00	DISTRIBUTE AND A STORY OF THE S	1.6				271047
	PREPARATORY WORKS (10 % of Civil Works)	L.S.				2,710,47
.00	CIVIL WORKS					
.10	INTAKE DAM			:		
	Open Excavation					
	Open excavation, common	m3	16,000	3.50	56,000	
	Open excavation weathered rock	m3	16,000	6.00	96,000	
	Open excavation,hard rock	m3	21,400	10.00	214,000	
	Concrete	тЗ	30,000	90.00	2,700,000	
	Mass concrete Reinforced concrete	m3	86,200	140.00	9,268,000	
	Reinforcement bar	ton	2,000	1,500.00	3,000,000	
	Curtain grouting	at	3,400	70.00	238,000	
	Consolidation grouting	m	2,700	90.00	243,000	
	Others (20%)	L.S.			3,163,000	
	Subtotal		:			18,978,00
40	DESANDING BASIN					
	Excavation tunnel	m3	14,800	55.00	814,000	-
	Concrete, turnel	m3	3,800	160,00	608,000	
	Reinforcement bars	ton	40	1,500.00	60,000	
	Others (20%)	L.S.			296,400	
	Subtotal				•	1,778,40
50	WATERWAY					
51	INTAKE					
	Excavation					
	Excavation common	m3	800	3.50	2,100	
	Excavation, weathered rock	m3	800	6.00	3,600	
	Excavation hard rock	m3	800	10.00	8,000	
	Concrete open structure	m3	920	140.00	128,800	
	Reinforcement Others (20%)	ton L.S.	30	1,500.00	45,000 37,500	
	Subtom				· · ·	225,00
52	HEADRACE TUNNEL			•	.*	,
	WESTERNOOD - THEE		4 2		•	
	Excavation,tunnel	m3	11,600	55.00	638,000	
	Concrete, tunnel	m3	4,900	160.00	784,000	
	Reinforcement	ton	50	1,500.00	75,000	
	Consolidation grout	m	3,000	90.00	270,000	
	Curtain grout	m ·	120	70.00	8,400	
	Beckfill grout	m3	450	200.00	90,000	
	Others (20%)	L.S.			373,080	
	Subtotal		:			2,238,41
53	SURGE TANK					
	Excavation, shaft	m3	1,900	55.00	104,500	
	Concrete, shaft	m3	550	160.00	88,000	
	Reinforcement	ton	20	1,500.00	30,000	
	Consolidation grout Others (20%)	m L.S.	100	90.00	9,000 46,300	
	Subtotal					277,80
54	PENSTOCK					
	Excavation,turnel	m3	1,900	55.00	104,500	
	Concrete,tunnel	m3	1,350	160.00	216,000	
	Reinforcement	ton	30	1,500.00	45,000	
	Curtain grout	m	100	70.00	7,000	
	Backfill grout	rn3	15	200.00	3,000	* .
	Others (20%)	L.S.			75,100	
	Subtotal					450,60
	OPEN POWERHOUSE	* + .				
0	Excavation		2 404	4 -	24.0	
0				2.50	22.040	
0	Excavation,common	m3	6,300	3.50	22,050	
60	Excavation, common fixcavation, weathered rock	т3	6,300	6.00	37,800	
60	Excavation.common Excavation.weathered rock Excavation.hard rock	m3 m3	6,300 8,300	6.00 10.00	37,800 83,000	
0	Excavation, common fixcavation, weathered rock	т3	6,300	6.00	37,800	

	Others (20%)	L.S.				487,770	
:	Subtotal						2,926,620
2.70	TAILRACE						
	Excavation						
	Excavation, common	m3		1,900	3.50	6,650	
	Excavation, weathered rock	m3		1,900	6.00	11,400	
	Excavation hard rock	m3		2,400	10.00	24,000	
	Concrete, structure	m3		800	140.00	112,000	
	Reinforcement	ton		25	1,500.00	37,500	*
	Others (20%)	L.S.				38,310	
	Subtotal				:	•	229,860
2.80	ARCHITECTURAL BUILDINGS	-2		3,600	1,100.00	3,960,000	3,960,000
	•	m2		3,000	1,100.00	2,900,000	2/200/000
2.90	ACCESS ROAD						
	New construction	m		120	600,000.00	72,000,000	
	Upgraded	m		69	50,000.00	3,450,000	
	Subtotsl						75,450,000
4.00	Length I Manya	•					
3.00	METAL WORKS						
	Penstock steel pipes	ton		1,800	5,000.00	9,000,000	
	Gates	ton		120	7,000.00	840,000	
	Subtotal						9,840,000
	CIPATER ASSESSED FOR LINE SERVICE						* **
4.00	GENERATING EQUIPMENT			-			
	Turbines	ton		55	18,700.00	1,028,500	
	Generators	ton		320	20,400.00	6,528,000	
	Transformers	MVA		16	5,700.00	91,200	
٠	Subtotal						7,647,700
					٠.		
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	• •	193	46,000.00	8,878,000	8,878,000
	Total of Direct Cost						135,590,936
6.00	LAND AQUISITION AND COMPENSATION	LS				0	1,355,909
7,00	ADMINISTRATION EXPENSES	LS				0 ·	1,355,909
20.8	ENGINEERING SERVICES	LS				0	9,491,366
9.00	PHYSICAL CONTINGENCY	1.\$			1.1	. 0	13,559,094
	GRAND TOTAL					161,353,214	161,353,214
	OMMIN TOTAL					.01,000,217	203100000

	Work Item	Unit		Unit price F.C.(USS)	Amount F.C.(US\$)	
1.00	DBYN LD LDAN V WADER	L.S.				10 204 3
1.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				10,296,3
.00	CIVIL WORKS					
.10	INTAKE DAM					
	Open Excavation					
	Open excavation, common	m3	17,900	3.50	•	•
	Open excavation, weathered rock Open excavation, hard rock	ກ3 ຄ3	17,900 23,800	6.00 10.00		
	Concrete		20,000	14100		
	Mass concrete	m3	31,700	90.00	2,853,000	
	Reinforced concrete Reinforcement bar	m3 ten	72,400 2,200	140.00 1,500.00		
	Curtain growing	m	3,900	70.00		
	Consolidation grouting	m	2,600	90.00	•	
	Others (20%)	L.S.			3,440,810	
	Subtotal					20,644,8
10	DESANDING BASIN					
	Excavation, tunnel	m3	189,800	55.00	10,439,000	
	Concrete, tunnel	m3	45,800	160.00	7,328,000	
	Reinforcement bars	n L.S.	460	1,500.00	690,000 3,691,400	
	Others (20%)	L.S.			3,091,400	
	Subiotal				÷	22,148,
50	WATERWAY					
51	INTAKE					
	Excavation					
	Excavation common	m3	2,300	3.50		
	Excavation, weathered rock	m3	2,300 3,100	6.00 10.00		
	Excavation, hard rock Concrete, open structure	m3 m3	3,500	140.00		
	Reinforcement	lon	110	1,500.00	165,000	
	Others (20%)	L.S.			141,570	
	Subtotal					849,
52	HEADRACE TUNNEL					
	Excavation,tunnel	m3	307,300	55.00	16,901,500	
	Concrete, tunnel	m3	98,200	160.00		
	Reinforcement	ton	990	1,500.00		
	Consolidation grout Curtain grout	m m	25,400 350	90.00 70.00		
	Backfill grout	m3	2,200	200.00		
	Others (20%)	L.S.			7,369,800	
	Subtotal					44,218,
3	SURGE TANK					
	Excavation, shaft	m3	25,800	55.00	1,419,000	
	Concrete, shaft	កា3	7,500	160.00		• •
	Reinforcement	ton	230	1,500.00		
	Consolidation grout	m F C	500	90,00	45,000 601,800	
	Others (20%)	1				
	Others (20%) Subtotal	I.S.				3,610.
54	Subtotal	1			·	3,610,
54	Subtotal PENSTOCK		40 400	:	212.000	3,610,
54	Subtotal PENSTOCK Excavation,tunnel	m3	10,400 3,800	55.00 160.00		3,610,
54	Subtotal PENSTOCK		10,400 3,800 80	55.00 160.00 1,500.00	608,000	3,610,
ંદ	Subtotal PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Cuntain grout	m3 m3 ton m	3,800 80 350	160.00 1,500.00 70.00	608,000 120,000 24,500	3,610,
4	Subtotal PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout	m3 m3 ton m m3	3,800 80	160.00 1,500.00	608,000 120,000 24,500 28,000	3,610,
4	Subtotal PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Cunain grout Backfill grout Others (20%)	m3 m3 ton m	3,800 80 350	160.00 1,500.00 70.00	608,000 120,000 24,500	
	Subtotal PENSTOCK Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal	m3 m3 ton m m3	3,800 80 350	160.00 1,500.00 70.00	608,000 120,000 24,500 28,000	
	Subtotal PENSTOCK Excavation, tunnel Concrete, tunnel Reinforcement Cunain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE	m3 m3 ton m m3	3,800 80 350	160.00 1,500.00 70.00	608,000 120,000 24,500 28,000	
	Subtotal PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Cunain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation	m3 m3 toq m m3 L.S.	3,600 80 350 140	1,500.00 1,500.00 70.00 200.00	608,000 120,000 24,500 28,000 270,500	
	Subtotal PENSTOCK Excavation, tunnel Concrete, tunnel Reinforcement Cunain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE	m3 m3 ton m m3	3,800 80 350	160.00 1,500.00 70.00	608,000 120,000 24,500 28,000 270,500	
54	Subtotal PENSTOCK Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfil grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation, common Excavation, weathered rock Excavation, hard rock	m3 toa m m3 L.S, m3 m3	3,600 80 350 140 19,000 19,000 25,200	160.00 1,500.00 70.00 200.00 3,50 6,00 10.00	608,000 120,000 24,500 28,000 270,500 66,500 114,000 252,000	
	Subtotal PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Cutain grout Backfilt grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Bacavation,common Excavation,weathered rock	m3 toa m m3 L.S.	3,600 80 350 140 19,000	160.00 1,500.00 70.00 200.00 3.50 6.00	608,000 120,000 24,500 28,000 270,500 66,500 114,000 252,000	3,610,1 1,623,1

		Others (20%)	L.S.				1,472,500		
•		Subjected						8,835,000	
	2.70	TAILRACE							
		Excavation			0.400	2.50	20.400		
		Excavation,common	m3 — 2		8,400	3.50 6.00	29,400 50,400		
		Excavation, weathered rock	m3 m3		8,400 12,600	10.00	126,000		
		Excavation,hard rock Concrete, structure				140.00	490,000		
		Reinforcement	m3		3,500 110	1,500.00	165,000		
		Others (20%)	ton L.S.		710	1,300.00	172,160		
		Galeta (40.07	2.01				,		
		Subtotal						1,032,960	
	2.80	ARCHITECTURAL BUILDINGS	m2 .		7,000	1,100.00	7,700,000	7,700,000	
	2.90	ACCESS ROAD							
		AT			050	(00 000 00	454 200 000		
		New construction Upgraded	m m		252 79	600,000.00 50,000.00	151,200,000 3,950,000		
		Оругания	, iii		,,	30,000.00	3,330,000	•	
		Subtotal					.*	155,150,000	
	3.00	METAL WORKS	-				. •		
		D			3,300	5 000 00	17 500 000		
		Penstock steel pipes Gates	ton ton		260	5,000.00 7,000.00	16,500,000 1,820,000		
		Oates	μηι		. 200	7,000.00	1,020,000		
		Subtotal						18,320,000	
	4.00	GENERATING EQUIPMENT			·				
		•							
		Turbines	tou	1	750	18,700.00	14,025,000		
		Generators	ton		1,450	20,400.00	29,580,000	* *	
		Transformers	MVA		189	3,500.00	661,500		
		Subtotal						44,266,500	
•		Guixotzi						49,400,500	
	5.00	TRANSMISSION LINES AND	km		162	46,000.00	7,452,000	7,452,000	
		SUBSTATIONS							
		Total of Direct Cost						346,148,064	
		TAND LOUISISSING AND COMPUNICATION		:			•	4 (61 (0)	
	6.00	LAND AQUISITION AND COMPENSATION	LS				0	3,461,481	
	7.00	ADMINISTRATION EXPENSES	LS				. 0	3,461,481	
	8.00	ENGINEERING SERVICES	LS				0	24,230,364	
	9.00	PHYSICAL CONTINGENCY	rs				. 0	34,614,806	
		GRAND TOTAL					411,916,196	411,916,196	
		• 1							

00 00 10	PREPARATORY WORKS (10 % of Civil Works) CIVIL WORKS	L.S.				7,599,0
00	(10 % of Civil Works)	La,				7,375,0
	CIVIL WORKS					
10						
	INTAKE DAM					
	Open Excavation				* .	
	Open excavation, common	m3	16,100	3.50	56,350	•
	Open excavation, weathered rock Open excavation, hard rock	m3 m3	16,100 21,500	6.00 10.00	96,600 215,000	
	Concrete Mass concrete	m3	29,800	90.00	2,664,000	
	Reinforced concrete	m3	87,800	140.00	9,492,000	
	Reinforcement bar	ton	2,050	1,500.00	3,075,000	
	Curtain grouting	m3	3,800	70.00	252,000	
	Consolidation grouting Others (20%)	ta L.S.	2,800	90.00	234,000 3,216,990	
	Subtotal	- ,	•			19,301,9
	DESANDING BASIN					
9		_	400.000	00		
	Excavation, tunnel	m3	126,600	55.00	6,963,000	
	Concrete, turnel	m3	30,500 310	160.00 1,500.00	4,880,000 465,000	
	Reinforcement bars Others (20%)	ton L.S.	310	4,500.00	465,000 2,461,600	•
	Subtotal					14,769,0
0	WATERWAY					
1	INTAKE					
					•	
	Excavation		4 040	2 00	¢ 700	
	Excavation, common	m3 _^	1,800 1,800	3.50 6.00	6,300 10,800	
	Excavation, weathered rock Excavation, hard rock	m3 m3	2,500	10.00	25,000	
	Concrete, open structure	m3	2,800	140.00	392,000	
	Reinforcement	ton	08	1,500.00	120,000	
	Others (20%)	L.S.			110,820	
	Subtotal					664,9
2	HEADRACE TUNNEL					
	Excavation tunnel	m3	208,500	55.00	11,467,500	
	Concrete, tunnel	m3	88,500	160.00	10,960,000	
	Reinforcement	ton	700	1,500.00	1,050,000	
	Consolidation grout	m	20,800	90.00	1,872,000	
	Curtain grout	m	300	70.00	21,000	
	Backfill grout Others (20%)	m3 L.S.	2,000	200.00	400,000 5,154,100	
	Subtotal	-			, .	30,924
1	SURGE TANK					
•		•	47.000	****	044 000	
	Excavation, shaft	m3 m3	17,200 5,000	55.00 160.00	946,000 800,000	
	Concrete, shaft Reinforcement	ton	150	1,500.00	225,000	
	Consolidation grout	TIL.	400	90.00	36,000	
	Others (20%)	L.S.			401,400	
	Suttotal			•		2,408,
§.	PENSTOCK					
	Excavation,tunnel	m3	7,300	55.00	401,500	٠
	Concrete tunnel	m3	3,200	160.00	512,000	
	Reinforcement	ion	60 200	1,500.00	90,000	
	Curtain grout	m m³	300 120	70.00 200.00	21,000 24,000	
	Backfill grout Others (20%)	m3 L.S.	120	200.00	209,700	
	Subtotal					1,258,3
,	OPEN POWERHOUSE					
	Excavation					
	Excavation, common	m3	12,600	3.50	44,100	
	Excavation, weathered rock	m3	12,600	6.00		
4	Excavation hard rock	m3 3	18,800	10.00	168,000	
*	A				2 000 000	
•	Concrete, substructure Concrete, second stage	m3 m3	12,000 3,000	250.00 140.00	3,000,000 420,000	

	Others (20%)	L.S.			975,540	
	Subtotal					5,853,240
2.70	TAILRACE					
	Excavation	4				
	Excavation common	m3	7,000	3.50	24,500	
	Excavation, weathered rock	m3	7,000	6.00	42,000	
	Excavation, hard rock	m3	11,000	10.00	110,000	
	Concrete, sinicture	m3	2,700	140.00	378,000	
	Reinforcement	ton	80	1,500.00	120,000	
	Others (20%)	L.S.	00	1,500,50	134,900	
	Subtotal	•				809,400
2.80	ARCHITECTURAL BUILDINGS	m2	6,000	1,100.00	6,600,000	6,600,000
2.90	ACCESS ROAD					
	New construction	m	252	600,000.00	151,200,000	
	Upgraded	. 103	79	50,000.00	3,950,000	
	оррание			00,000,00	2(/30(000	
	Subtotal					155,150,000
3.00	METAL WORKS					
-						
	Pensiock steel pipes	100	2,200	5,000.00	11,000,000	
	Gates	ton	170	7,600.00	1,190,000	
	Subtotal					12,190,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	530	18,700.00	9,911,000	
	Generators	ton .	1,100	20,400.00	22,440,000	•
	Transformers	MVA	126	3,800.03	478,600	
	Subtotal					32,829,800
5.00	Transmission lines and substations	km	162	46,000.00	7,452,000	7,452,000
	Total of Direct Cost					297,811,130
6.00	LAND AQUISITION AND COMPENSATION	LS	٠		0	2,978,111
7.00	ADMINISTRATION EXPENSES	LS			Q	2,978,111
8.00	ENGINEERING SERVICES	LS			0	20,846,779
9.00	PHYSICAL CONTINGENCY	LS			Q	29,781,113
7-3-3	A A SHALL CONTRICUENCY	200			•	11
	GRAND TOTAL		•	+	354,395,245	354,395,245

em No.	Work Item	Unit			nount C.(US\$)	
	When a company would					
00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				6,242,42
90	CIVIL WORKS		•		-	
10	INTAKE DAM					
	Open Excavation					
	Open excavation, common	m3	14,500	3.50	50,750	
	Open excavation, weathered rock	m3	14,500	6.00	87,000	
	Open excavation, hard rock	m3	19,300	10.00	193,000	
	Concrete	3	27 500	90.00	2,475,000	
	Mass concrete Reinforced concrete	ന3 മാ3	27,500 63,500	140.00	8,890,000	
	Reinforcement bar	ton	1,900	1,500.00	2,850,000	
	Curtain grouting	m	3,400	70.00	238,000	
	Consolidation grouting	m	2,500	90.00	225,000	
	Others (20%)	IS.			3,001,750	
	Subtotal					18,010,5
,	DESANDING BASIN					
	Excavation,tunnel	m3	94,800	55,00	5,214,000	
	Concrete, tunnel	m3	22,900	160.00	3,664,000	
	Reinforcement bars	ton	,000	1,500.00	0	
	Others (20%)	L.S.			1,775,600	
	Subtotal					10,653,6
)	WATERWAY		•			
1	INTAKE					
	Excavation	1	1.000	2.50	£ 400	
	Excavation, common Excavation, weathered rock	1113 1213	1,690 1,600	3.50 6.00	5,600 9,600	
	Excavation hard rock	m3	2,100	10.00	21,000	
	Concrete,open structure	rn3	2,400	140.00	336,000	
	Reinforcement	ton	70	1,500.00	105,000	
	Others (20%)	L.S.			95,440	
	Subtotal			4		572,6
2	HEADRACE TUNNEL				•	
	Excavation tunnel	£m	186,300	55.00	9,146,500	
	Concrete, tunnel	m3	55,700	160.00	8,912,000	
	Reinforcement	ton	560	1,500.00	840,000	
	Consolidation grout	m	18,500	90.00	1,665,000	
	Curtain grout	m	250	70.00	17,500	
	Backfill grout	m3	1,800	200.00	360,000 4,188,200	
	Others (20%)	L.S.			4,180,200	
	Subtotal					25,129,2
	SURGE TANK					
	Excavation, shaft	m3	12,900	55.00	709,500	
	Concrete, shaft	m3	3,800	160.00	608,000	
	Reinforcement	ton m	120 350	1,500.00 90.00	180,000 31,500	
	Consolidation grout Others (20%)	L.S.	3,00	70.00	305,800	
	Subtoral					1,834,8
	PENSTOCK					
	Excavation,tunnel	m3 .	6,000	55.00	330,000	
	Concrete,tunnel	m3	2,800	00.00	448,000	
	Reinforcament	ton	55	1,500.00	82,500	
	Curtain grout	m	250	70.00	17,500	
	Backfill grout Others (20%)	m3 L.S.	110	200,00	22,000 180,000	•
		L.O.			100,000	1 000 0
	Subtoral					1,080,0
	OPEN POWERHOUSE					
	Excavation		n.+ m.		38.05-	
	Excavation, common	m3	9,500	3.50	33,250	
	Excavation, weathered rock Excavation hard rock	m3 m3	9,500 12,800	6.00 10.00	57,000 126,000	
		ctta	(2)UUU	10.00	, ev pou	
	· · · · · · · · · · · · · · · · · · ·	m3	9.000	250.00	2,250,000	
	Concrete, substructure Concrete, second stage	m3 m3	9,000 2,300	250.00 140.00	2,250,000 322,000	1

	Subtotel				4,425,90
2.70	TAILRACE		·,		
	Excavation Excavation common	m3	8 000	3.50 21.000	

737,650

2,731,902

325,096,295

325,096,295

L.S.

Others (20%)

LAND AQUISITION AND COMPENSATION

GRAND TOTAL

6.00

	Sporting					1,125,500
2.70	TAILRACE		•			
	Excavation					
	Excavation, common	m3	6,000	3.50	21,000	
	Excavation, weathered rock	· m3	6,000	6.00	36,000	
	Excavation,hard rock	m3	10,000	10.00	100,000	
	Concrete, structure	m3	2,400	140.00	336,000	
	Reinforcement	ton	70	1,500.00	105,000	
	Others (20%)	L.S.	•		119,600	
	Subtotal				*.	717,600
		- "				
2.80	ARCHITECTURAL BUILDINGS	m2	5,000	1,100.00	5,500,000	5,500,000
		•				
2.90	ACCESS ROAD			•		
	New construction	m	252	600,000.00	151,200,000	
	Upgraded	m	79	50,000.00	3,950,000	
	-,,					
	Subtotal					155,150,000
3.00	ADDAL MORVE					
3.00	METAL WORKS		•	67.4		
	Penstock steel pipes	ton	1,700	5,000.00	8,500,000	
	Gates	ton	130	7,000.00	910,000	
	Subtotal					9,410,000
4.00	GENERATING EQUIPMENT	* * .	,			-
4.1.0	OBILITATING EQUIPMENT					
	Turbines	ton	420	18,700.00	7,854,000	
	Generators	ton	920	20,400.00	18,768,000	
	Transformers	AVM	95	4,100.00	389,500	
	Subtotal					27,011,500
			•			
5.00	TRANSMISSION LINES AND SUBSTATIONS	km .	162	46,000.00	7,452,000	7,452,000
	Total of Direct Cost					273,190,164
	***				•	

LS

Item No.	Work Item	Unit			nount C.(US\$)	
1.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				6,508,59
.00	CIVEL WORKS					
,10	INTAKE DAM					
	One Frantisis				. :	•
	Open Excavation Open excavation, common	m3	17,500	3.50	61,250	
	Open excevation, weathered rock	m3	17,500	6.00	105,000	
	Open excavation hard rock	m3	23,400	10.00	234,000	
	Concrete		•			
	Mass concrete	m3	31,200	90.00	2,808,000	
	Reinforced concrete	m3	71,900	140.00	10,066,000	
	Reinforcement ber	lon	2,200	1,500.00	3,300,000	
	Curtain grouting	m	3,900	70.03	273,000	
	Consolidation grouting	m.	2,800	90.00	234,000	
	Others (20%)	L.S.			3,416,250	-
	Subtotal					20,497,5
40	DESANDING BASIN					
	Excavation, name!	m3	177,900	55.00	9,784,500	-
	Concrete, turnel	m3	42,800	160.00	6,864,000	
	Reinforcement bars	ton	430	1,500.00	645,000	
	Others (20%)	LS.			3,458,700	
	Subtotal					20,752,2
2.50	WATERWAY					*
2.51	INTAKE		•			
	Excavation	_	4.000	4 50	# 500	
	Excavation, common	m3	2,200	3.50	7,700	
	Excavation, weathered tock	m3	2,200 3,000	6.00 10.00	13,200 30,000	
	Excavation, hard rock Concrete, open structure	m3 m3	3,300	140.60	462,000	
	Reinforcement	ton	100	1,500.00	150,000	
	Others (20%)	L.S.		,	132,580	
	Subtotal					795,4
:52	HEADRACE TUNNEL				•	
	IEADANCE IONALE				•	
	Excavation, trainel	т3	83,800	55,00	4,609,000	
	Concrete, tunnel	ജ്ഷ്	28,800	160,00	4,288,000	
	Reinforcement	ton	270	1,500.00	405,000	
	Consolidation grout	m	7,000	90.00	630,000	
	Curtain grout	m	350	70.00	24,500	
	Backfill grout	m3	480	200.00	96,000 2,010,500	
	Others (20%)	L.S.			2,010,500	
	Suitotal					12,063,0
.53	SURGE TANK					
	Excavation, thaft	m3	17,500	55.00	962,500	
	Concrete, shaft	m3	5,100	160.00	816,000	
	Reinforcement	ton	150	1,500.00	225,000	
	Consolidation grout	m	400	90.00	36,000	
	Others (20%)	L.S.			407,900	
	0.6					2,447,4
	Subtotal					
54	PENSTOCK					
.54	PENSTOCK	m3	17 40n	55.00	957.000	
.54	PENSTOCK Excavation,tunnel	m3	17,400 8 600	55.00	957,000	
<u>5</u> 4	PENSTOCK Excavation,tunnel Concrete,tunnel	m3	6,600	160.00	1,056,000	
54	PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement	m3 ton	6,600 130		1,056,000 195,000	
54	PENSTOCK Bxcavation,tunnel Concrete,tunnel Reinforcement Curtain grout	m3	6,600	160.00 1,500.00	1,056,000	
54	PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement	m3 ton m	8,600 130 350	160.00 1,500.00 70.00	1,056,000 195,000 24,500	
54	PENSTOCK Excavation tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout	m3 ton m m3	8,600 130 350	160.00 1,500.00 70.00	1,056,000 195,000 24,500 40,000	2,727,0
	PENSTOCK Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%)	m3 ton m m3	8,600 130 350	160.00 1,500.00 70.00	1,056,000 195,000 24,500 40,000	2,727,0
	PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subrotal OPEN POWERHOUSE	m3 ton m m3	8,600 130 350	160.00 1,500.00 70.00	1,056,000 195,000 24,500 40,000	2,727,0
	PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation	m3 ton m m3 L.S.	6,600 130 350 200	160.00 1,500.00 70.00 200.00	1,056,000 195,000 24,500 40,000 454,500	2,727,0
	PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation,common	m3 ton m m3 L.S.	6,600 130 350 200	160.00 1,500.00 70.00 200.00	1,056,000 195,000 24,500 40,000 454,500	2,727,0
	PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation,common Excavation,weathered rock	m3 ton m m3 t.s.	6,600 130 350 200 10,700 10,700	160.00 1,500.00 70.00 200.00 3.50 6.00	1,056,000 195,000 24,500 40,000 454,500 37,450 64,200	2,727,0
	PENSTOCK Bacavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subsotal OPEN POWERHOUSE Excavation Excavation,common Excavation,weathered rock Excavation,hard rock	m3 ton m m3 t.s.	6,600 130 350 200 10,700 10,700 14,200	160.00 1,500.00 70.00 200.00 3.50 6.00 10.00	1,056,000 195,000 24,500 40,000 454,500 37,450 64,200 142,000	2,727,0
.54	PENSTOCK Excavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation,common Excavation,weathered rock	m3 ton m m3 t.s.	6,600 130 350 200 10,700 10,700	160.00 1,500.00 70.00 200.00 3.50 6.00	1,056,000 195,000 24,500 40,000 454,500 37,450 64,200	2,727.00

i	Others (20%)	18.			829,530	
	Subtotal	•				4,977,180
2.70	TAILRACE					
	Excavation					
		4	7 000	2.50	24 600	
	Excavation common	m3	7,000	3.50	24,500	
	Excavation, weathered rock	m3	7,000	6.00	42,000	
	Excavation, hard rock	m3	9,500	10,00	95,000	
	Concrete, structure	m3	2,800	140.00	392,000	
	Reinforcement	ton	90	1,500.00	135,000	*
	Others (20%)	L.S.			137,700	
	Subtotal	. :				826,200
					100	
2.60	ARCHITECTURAL, BUILDINGS	m2	8,000	1,100.00	6,600,000	6,600,000
*****	Jacon Local Dolean	1112	0,000	1,100.00	0,000,000	0,000,000
2.90	ACCESS ROAD					
2.50	ACCESS NOAD					
•	Manage and again			caa 600 an	1/2 500 000	
	New construction	m	272	600,000.00	163,200,000	
	Upgraded	· m	79	50,000.00	3,950,000	
	Subtotal					167,150,000
•	Supouri		•			107,130,000
3.00	METAL WORKS					
						•
	Penstock steel pipes	ten	3,000	\$,000.00	15,000,000	
	Gates	ton	250	7,000.00	1,750,000	
	Subtotal					16,750,000
4.00	GENERATING EQUIPMENT					
	m et in e	•	500	10 700 00	0.714.000	
	Turbines	ton	520	18,700.00	9,724,000	
	Generators	ton	840	20,400.00	17,136,000	
	Transformers	MVA	82	3,500.00	287,000	
	Subtotal		•			27,147,000
	de a voi de cross à como a sus		•••	46.000.65	0.204.000	0.797.000
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	191	46,000.00	8,786,000	8,786,000
	Total of Direct Cost					298,027,556
						-
6.00	LAND AQUISITION AND COMPENSATION	LS			0	2,980,276
7.00	ADMINISTRATION EXPENSES	LS			0	2,980,276
8.00	ENGINEERING SERVICES	LS			0	20,861,929
9.00	PHYSICAL CONTINGENCY	LS			. 0	29,802,756
	GRAND TOTAL				354,652,792	354,652,792

(10 % of Civil Works) CIVIL WORKS 1.0 INTAKE DAM Open Extravision, seathered rock in 3 15,800 3.59 55,200 for extravision, seathered rock in 3 15,800 3.09 54,800 do pen extravelsor, hard rock in 3 15,800 3.09 54,800 do pen extravelsor, hard rock in 3 29,100 90.00 2,419,000 for Reinforcement but in 2,050 1,300,00 3,075,000 do pen extravelsor, hard rock in 3 29,100 90.00 2,419,000 do pen extravelsor, hard rock in 3 29,100 90.00 2,419,000 do pen extravelsor, hard rock in 3 29,100 90.00 3,075,000 do pen extravelsor, hard rock in 3 2,600 90.00 3,075,000 do pen extravelsor, hard rock in 3 2,600 90.00 3,075,000 do pen extravelsor, hard rock in 3 2,600 90.00 3,075,000 do pen extravelsor, hard rock in 3 2,600 90.00 3,075,000 do pen extravelsor, mends in 3 116,700 55.00 6,524,500 do pen extravelsor, mends in 3 116,700 55.00 6,524,500 do pen extravelsor, mends in 3 28,600 160.00 4,576,600 do pen extravelsor, mends in 3 28,600 160.00 4,576,600 do pen extravelsor, mends in 3 28,600 160.00 4,576,600 do pen extravelsor, mends in 3 28,600 160.00 4,576,600 do pen extravelsor, mends in 3 2,800 160.00 4,576,600 do pen extravelsor, mends in 3 2,800 160.00 4,576,600 do pen extravelsor, mends in 3 2,800 160.00 4,576,600 do pen extravelsor, mends in 3 2,800 160.00 2,307,000 do pen extravelsor, mends in 3 2,800 160.00 2,307,000 do pen extravelsor, mends in 3 2,800 160.00 2,307,000 do pen extravelsor, mends in 3 2,400 1600 24,000 do pen extravelsor, mends in 3 2,400 1600 24,000 do pen extravelsor, mends in 3 2,400 1600 24,000 do pen extravelsor, mends in 3 2,400 1600 24,000 do pen extravelsor, mends in 3 2,400 1600 24,000 do pen extravelsor, mends in 3 2,400 20,000 31,000 do pen extravelsor, mends in 3 2,400 1600 24,000 do pen extravelsor, mends in 3 2,400 20,000 31,000 do pen extravelsor, mends in 3 3,400 160,00 24,000 do pen extravelsor, mends in 3 3,400 160,00 24,000 do pen extravelsor, mends in 3 3,400 160,00 34,000 do pen extravelsor, mends in 3 3,400 160,00 34,000 do pen extravelsor, mends in 3 3,400 160,00 34,000 do pen extra	Hem No.	Work hem	Vait			Amount F.C.(US\$)	
(10							
Open Sixer strict	.00		L.S.				4,981,638
Open Extervation	.00	CIVIL WORKS					
Cope accession/accentument 15,500 1.50 1.50	.10	INTAKE DAM					•
Cypn travarion variations deck m3 15,800 6.00 94,800		Open Excavation				-	
Cognesses Mass concrete		•					
Mais occinete		Open excavation hand rock					٠
Reinforcement bar ton 2,050 1,000 9,448,000 Control regioning in 3,600 7000 253,000 Control growing in 3,600 7000 253,000 Control growing in 3,600 7000 253,000 Control growing in 3,600 7000 253,000 Control flower (076) L.S. 900 9000 253,000 Control flower (076) L.S. 900 9000 253,000 Control flower (076) L.S. 900 9000 253,000 Control flower (076) L.S. 900 118,000 4,576,000 Control flower (076) L.S. 900 118,000 4,576,000 Control flower (076) L.S. 900 118,000 145,000 Control flower (076) L.S. 900 150,000 150,000 Control flower (076) L.S. 900 150,000 Control flower (0		The state of the s	m3	29,100	90.00	2,619,000	
Counting growing							14
Convenient of growting		Reinforcement bar	ton				
Substantial 19,138 19,13		- · · · · · · · · · · · · · · · · · · ·					
DESANDING BASIN				5'80ñ	90.00	4.4	
Bacevalien, pumpel m3		Subtotal			·		19,138,92
Concrete, tutned m3	.40	DESANDING BASIN					
Concrete, tunned		Excavation tunnel	m3	118.700	55.00	6,528,500	
Reinforcement bars							
Substate 13,847 1,250 WATERWAY 2.51 WITAKE		Reinforcement bars		290	1,500.00		
Solution		Others (20%)	L.S.			2,307,900	
Exervation Exe		Subtotal				÷ '	13,847,40
Example Exam	2.50	WATERWAY					
Excavation, common m3	!. 5 1	INTAKE					
Ricavation, weathered rock m3							
Recavation_bard mock							
Concrete, open structure		·					
Reinforcement							
Subtotal		Reinforcement	ton	80	1,500.00		
Bicavation,tunnel		Others (20%)	L.\$.			107,820	
Bacavation,tunnel		Subtotal					646,92
Concrete, name m3	2.52	HEADRACE TUNNEL					
Reinforcement		Excavation,tunnel	m3	56,900	55,00	3,129,500	
Consolidation groot					160.00	2,992,000	
Curtain groot m 300 70.00 21,000 Backfill grout m3 430 200,00 86,000 Chess (20%) L.S. 1,405,300							
Backfill grout		· · · · · · · · · · · · · · · · · · ·					
Subtotal							
Excavation, shaft m3				100	200.00		
Excavation, shaft m3		Subtotal					8,431,80
Concrete, shaft	.53	SURGE TANK					
Reinforcement		Excavation, shaft					
Consolidation grout m 300 90.00 27,000 Others (20%) L.S. 272,900							
Subtotal L.S. 272,900							
PENSTOCK					70.00		
Excavation,tmmel		Subtotal					1,637,40
Concrete,tunnel m3 5,500 160.00 880,000 Reinforcement ton 110 1,500.00 165,000 Curtain grout m 300 70.00 21,000 Backfill grout m3 180 200.00 36,000 Cthers (20%) L.S. 339,000 Subtotal 2,154	.54	PENSTOCK				•	
Reinforcement ton		Excavation tunnel	m3				
Curtain grout m 300 70.00 21,000 Backfill grout m3 180 200.00 36,000 Others (20%) L.S. 359,000 Subtotal 2,154 60 OPEN POWERHOUSE							
Backfill grous m3 180 200.00 36,000 359,000							
Subtotal Subtotal 2,154		-					
60 OPEN POWERHOUSE Excavation Excavation, common m3 7,100 3.50 24,850 Excavation, weathered rock m3 7,100 6.00 42,600 Excavation, hard rock m3 9,500 10.00 95,000 Concrete, substructure m3 6,800 250.00 1,700,000 Concrete, second stage m3 1,700 140.00 238,000					200,00		
Excavation m3 7,100 3.50 24,850 Excavation, weathered rock m3 7,100 6.00 42,600 Excavation, hard rock m3 9,500 10.00 95,000 Concrete, substructure m3 8,800 250.00 1,700,000 Concrete, second stage m3 1,700 140.00 238,000		Subtotal			•		2,154,60
Excavation,common m3 7,100 3.50 24,850 Excavation,weathered rock m3 7,100 6.00 42,600 Excavation,hard rock m3 9,500 10.00 95,000 Concrete, substructure m3 6,800 250.00 1,700,000 Concrete, second stage m3 1,700 140.00 238,000	.60	OPEN POWERHOUSE	4				
Excavation, weathered rock m3 7,100 6.00 42,600 Excavation, hard rock m3 9,500 10.00 95,000 Concrete, substructure m3 6,800 250.00 1,700,000 Concrete, second stage m3 1,700 140.00 238,000			m3	7 100	1 S n	24 850	
Excavation, hard rock m3 9,500 10.00 95,000 Concrete, substructure m3 6,800 250.00 1,700,000 Concrete, second stage m3 1,700 140.00 238,000							
Concrete, substructure m3 6,800 250.00 1,700,000 Concrete, second stage m3 1,700 140.00 238,000	,						
		Concrete, substructure	m3	6,800	250.00	1,700,000	
Reintograment 10n 440 1,500.00 660,000							
		Reinforcement	เอก	440	1,500.00	660,000	

	Others (20%)	18.			552,090	
	Subtotal					3,312,540
2.70	TAILRACE					
	Excavation					
	Excavation common	m3	5,000	3.50	17,500	
	Excavation, weathered rock	m3	5,000	6.00	30,000	
	Excavation,hard rock	m3	6,500	10.00	65,000	
	Concrete, structure	m3 .	2,300	140.00	322,000	
	Reinforcement	ton	. 70	1,500.00	105,000	
	Others (20%)	L.S.			107,900	
	Subtotal					647,400
		•				
2.80	ARCHITECTURAL BUILDINGS	m2	5,000	1,100.00	5,500,000	5,500,000
2.90	ACCESS ROAD					
	V		670	(00 000 00	140 000 000	
	New construction Upgraded	m m	272 79	600,000.00 50,000.00	163,200,000 3,950,000	
	Subtotal				•	167,150,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	2,200	5,000.00	11,000,000	
	Gates	ton	160	7,000.00	1,120,000	
						•
	Subtotal					12,120,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	370	18,700.00	6,919,000	
	Generators	ton	650	20,400.00	13,260,000	
	Transformers	MVA	55	4,600.00	253,000	
	Subtotal					20,432,000
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	191	46,000.00	8,786,000	8,786,000
	Total of Direct Cost					268,786,018
	$+$ $\frac{1}{2}$				•	
6.00	LAND AQUISITION AND COMPENSATION	LS			. 0	2,687,860
7.00	ADMINISTRATION EXPENSES	LS			0	2,687,860
8.00	ENGINEERING SERVICES	LS			0	18,815,021
9.00	PHYSICAL CONTINGENCY	LS			. 0	26,878,602
	GRAND TOTAL			٠	319,855,361	319,855,361

Item No.	Work Item	Unit			nount C.(US\$)	
1.00	PREPARATORY WORKS	L.S.				4,036,4
.00	(10 % of Civil Works)	L.S.				4,030,1
2.00	CIVIL WORKS		•			
2.10	INTAKE DAM			-		
	Open Excavation					
	Open excavation, common	m3	14,200	3.50	49,700	
	Open excavation, weathered rock	m3	14,200	6.00	85,200	
	Open excavation, hard rock	m3	18,900	10,00	189,000	
	Concrete		27.000	90.00	0.430.000	
	Mass concrete Reinforced concrete	m3 m3	27,000 62,900	140.00	2,430,000 8,806,000	
	Reinforcement ber	ton	1,900	1,500.00	2,850,000	
	Curtain grouting	m	3,400	70.00	238,000	
	Consolidation grouting	m	2,500	90.00	225,000	
	Others (20%)	L.S.			2,974,580	
	Subtotal			•		17,847,4
.40	DESANDING BASIN					
	Excavation,tannel	m3	88,800	55.00	4,884,000	
	Concrete, tunnel	m3	21,400	160.00	3,424,000	
	Reinforcement bars	ton	220	1,500.00	330,000	
	Others (20%)	L.S.			1,727,600	* .
	Subtotal					10,365,6
2.50	WATERWAY					
2.51	INTAKE					
	Excavation					
	Excavation, common	m3	1,500	3.50	5,250	
	Excavation, weathered rock	m3	1,500	6.00	9,000	
	Excavation,hard rock	m3	2,000	10.00	20,000	
	Concrete, open structure	m3	2,300	140.00	322,000	
	Reinforcement	ton	70	1,500.00	105,000	
	Others (20%)	L.S.			92,250	
	Subtotal					553,5
.52	HEADRACE TUNNEL					
	Excavation, tunnel	m3	35,200	55.00	1,936,000	
	Concrete, tunnel	m3	12,100	160.00	1,936,000	
	Reinforcument	ton	120	1,500.00	180,000	
	Consolidation grout	m	4,400	90.00	396,000	
	Curtain groun	τn	250	70.00	17,500	
	Backfill grout	m3	380	200.00	76,000	
	Others (20%)	L.S.			908,300	
	Subtotal					5,449,8
53	SURGE TANK					
	Excavation, shaft	រោ3	8,800	55.00	484,000	
	Concrete, shaft	m3	2,800	160.00	416,000	
	Reinforcement	ton	80	1,500.00	120,000	
	Censelidation grout Others (20%)	m L.S.	250	90.00	22,500 208,500	
	Subtotal					1,251,0
	DEMOTO CV					
54	PENSTOCK	_				
54	Excavation,tunnel	m3	10,200	55.00	561,000	
54	Excavation,tunnel Concrete,tunnel	m3	4,900	160.00	784,000	
54	Excavation, tunnel Concrete, tunnel Reinforcement	m3 ton	4,900 100	160.00 1,500.00	784,000 150,000	٠
54	Excevation,tunnel Concrete,tunnel Reinforcement Curtain grout	m3 ton m	4,900 100 250	160.00 1,500.00 70.00	784,000 150,000 17,500	
54	Excavation, tunnel Concrete, tunnel Reinforcement	m3 ton	4,900 100	160.00 1,500.00	784,000 150,000	
54	Bxcavation,tunnel Concrete,tunnel Reinforcement Curtain grout Backfill grout	m3 ton m m3	4,900 100 250	160.00 1,500.00 70.00	784,000 150,000 17,500 32,000	1,853,
	Excavation, numbel Concrete, tunnel Reinforcement Curtain grow Backfill growt Others (20%) Subtotal	m3 ton m m3	4,900 100 250	160.00 1,500.00 70.00	784,000 150,000 17,500 32,000	1,853,4
	Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE	m3 ton m m3	4,900 100 250	160.00 1,500.00 70.00	784,000 150,000 17,500 32,000	1,853,
•	Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation	m3 ton m m3 L.S.	4,900 100 250 180	160.00 1,500.00 70.00 200.00	784,000 150,000 17,500 32,000 308,900	1,853,4
•	Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation, common	m3 ton m m3 L.S.	4,900 100 250 180 5,300	160.00 1,500.00 70.00 200.00	784,000 150,000 17,500 32,000 308,900	1,853,4
•	Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation, common Excavation, weathered rock	m3 ton m ton state m3 L.S.	4,900 100 250 180 5,300 5,300	160.00 1,500.00 70.00 200.00 3.50 6.00	784,000 150,000 17,500 32,000 308,900 18,550 31,800	1,853,
	Excavation, tunnel Contrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation, ornmon Excavation, weathered rock Excavation, hard rock	m3 ton m m3 L.S.	4,900 100 250 180 5,300 5,300 7,100	160.00 1,500.00 70.00 200.00 3.50 6.00 10.00	784,000 150,000 17,500 32,000 308,900 18,550 31,800 71,000	1,853,4
54	Excavation, tunnel Concrete, tunnel Reinforcement Curtain grout Backfill grout Others (20%) Subtotal OPEN POWERHOUSE Excavation Excavation, common Excavation, weathered rock	m3 ton m ton state m3 L.S.	4,900 100 250 180 5,300 5,300	160.00 1,500.00 70.00 200.00 3.50 6.00	784,000 150,000 17,500 32,000 308,900 18,550 31,800	1,853,4

	Others (20%)	LS.			414,670	
	Subtotal					2,488,020
2.70	TAILRACH					٠.
	Excavation					
	Excavation, common	m3	4,000	3.50	14,000	-
	Excavation, weathered took	m3	4,000	6.00	24,000	1
	Excavation, hard rock	m3	5,500	10.00	55,000	
	Concrete, structure	m3	2,000	140.00	280,000	
	Reinforcement	con :	80	1,500.00	90,000	4.4
	Others (20%)	L.S.		1,500.00	92,600	
	Subtotal					555,600
2.80	ARCHITECTURAL BUILDINGS	m2	4,000	1,100.00	4,400,000	4,400,000
2.90	ACCESS ROAD					
	New construction		0.70	*********		
		TZI.	272	600,000.00	163,200,000	
	Upgraded	m ·	79	50,000.00	3,950,000	
	Subtotal					167,150,000
3.00	METAL WORKS					
			. =			
	Penstock steel pipes	ton	1,700	5,000.00	8,500,000	
	Geter	ton	120	7,000.00	840,000	
	Subtotal					9,340,000
4.00	GENERATING EQUIPMENT					
	Turbines		400	10 700 00	£ 400 000	•
	Generators	top	290	18,700.00	5,423,000	
	Transformers	ton MVA	540 41	20,400.00	11,016,000	
	1 (402704000)	MYA	41	4,900.00	200,900	
	Subtotal	·				16,639,900
5.00	TRANSMISSION LINES AND SUBSTATIONS	kni	191	46,000.00	8,786,000	8,786,000
	Total of Direct Cost					250,716,740
6.00	LAND AQUISITION AND COMPENSATION	LS				2,507,167
7.00	ADMINISTRATION EXPENSES	LS			0	2,507,167
8.00	ENGINEERING SERVICES	LS			0	17,550,172
9.00	PHYSICAL CONTINGENCY	LS	•		. 0	25,971,674
	GRAND TOTAL				298,352,921	298,352,921

tem No.	Work Item	Unit	Quantity Unit F.C.(nount C.(US\$)	
σ n	PAGOW VOOT LAAPO	L.S.				£ 000 41
00 P	REPARATORY WORKS (10 % of Civil Works)	12.3.				6,999,4
00 0	AVIL WORKS					
<i>w</i> (TAIL MOKES					
10	INTAKE DAM					
	Open Excavation		•			
	Open excavation common	m3	15,700	3.50	54,950	
	Open excavation, weathered rock Open excavation, hard rock	m3 m3	15,700 21,000	6.00 10.00	94,200 210,000	
	Concrete			24.00		
	Mass concrete	m3	28,700	90.00	2,583,000	
	Reinforced concrete Reinforcement bar	m3 ton	69,200 2,100	149.00 1,500.00	9,688,000 3,150,000	
	Curtain grouting	m	3,900	70.00	273,000	
	Consolidation grouting	m .	2,400	90.00	216,000	
	Others (20%)	L.S.			3,253,830	
	Subtotal					19,522,9
10	DESANDING BASIN					
	Excavation tunnel	m3	139,600	55.00	7,678,000	
	Concrete, tunnel	m3	33,700	160.00	5,392,000	
	Reinforcement bars	ton	340	1,500.00	510,000	
	Others (20%)	L.S.			2,716,000	
	Subtotal					16,296,0
50	WATERWAY				•	
51	INTAKE				•	
	Excavation					
	Excavation, common	m3	1,900	3.50	6,650	
	Excavation, weathered rock	m3 m3	1,900 2,600	6.00 10.00	11,400 26,000	
	Excavation,hard rock Concrete,open structure	m3	2,900	140.00	406,000	
	Reinforcement	ton	85	1,500.00	127,500	
	Others (20%)	L.S.			115,510	
	Subtotal					693,0
52	HEADRACE TUNNEL			٠		
	Excavation tunnel	m3	168,200	55.00	9,251,000	
	Concrete, tunnel	m3	55,300	160.00	8,848,000	
	Reinforcement	ton.	560	1,500.00 90.00	840,000 1,512,000	
	Consolidation grout Curtain grout	m m	16,800 350	70.00	24,500	
	Backfill grout	m3	1,450	200.00	290,000	
	Others (20%)	L.S.			4,153,100	
	Subtotal					24,918,
53	SURGE TANK					
	Excavation, shaft	m3	18,000	55.00	990,000	
	Concrete, shaft	m3	5,200	160.00	832,000	
	Reinforcement Consolidation grout	ton m	160 400	1,500.00 90.00	240,000 36,000	
	Othess (20%)	L.S.			419,600	
	Subtotal					2,517,
i4	PENSTOCK				·	
	Excavation tunnel	m3	5,900	55.00	324,500	
	Concrete, tunnel	m3	2,400	160.00	384,000	
	Reinforcement	ton	50	1,500.00	75,000	
	Curtain grout	m 3	350	70.00	24,500	
	Backfill grout Others (20%)	m3 L.S.	80	200.00	16,000 164,800	
	Subtotal					988,
0	OPEN POWERHOUSE					
	Excavation					
	Excavation, common	m3	9,300	3.50	32,550	
	Excavation weathered rock	rn3	9,300	6.00	55,800	
	Excavation, hard rock	m3 m3	12,400 8 900	10.00 250.00	124,000 2,225,000	
	Concrete, substructure	m3	8,900		308,000	
	Concrete, second stage	1113	2,200	140.00	300,000	

	and the second s					
	Others (20%)	L.S.	•		723,070	
	Subtotal					4,338,420
2.70	TAILRACE				·	
2.10	THE WOOD	•				
	Excavation					
	Excavation, common	m3	6,000	3.50	21,000	
	Excavation, weathered rock	m3	6,000	6.00	36,000	
	Excavation,hard rock	- m3	8,000	10.00	80,000	•
	Concrete, structure	m3	2,500	140.00	350,000	
	Reinforcement	ion ·	75	1,500.00	112,500	
	Others (20%)	L.S.			119,900	
	Subtotal					719,400
					:	•
2.80	ARCHITECTURAL BUILDINGS	m2	6,000	1,100.00	6,600,000	6,600,000
2.90	ACCESS ROAD					
2.70	ACCISS NOAD					• •
	New construction	m	290	600,000.00	174,000,000	
	Upgraded	m	79	50,000.00	3,950,000	
	Subtoust		*			177,950,000
3.00	METAL, WORKS		•			
	Penstock steel pipes	ton	1,100	5,000.00	5,500,000	
	Gates	ton	190	7,000.00	1,330,000	
						c 020 000
	Subtotal					6,830,000
4.00	GENERATING EQUIPMENT					
4.00	OLINAMINO LIQUE MEM					
	Turbines	ton	450	18,700.00	8,415,000	
	Generators	ton	800	20,400.00	16,320,000	
	Transformers	MVA	76	4,300.00	326,800	
	Subtotal					25,061,800
			•			
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	210	46,000.00	9,660,000	9,660,000
	•					
	Total of Direct Cost					303,096,146
<i>c</i> 00	LANDA COMBINION AND COMBENDATION	LS				3,030,961
6.00	LAND AQUISITION AND COMPENSATION					
7.00	ADMINISTRATION EXPENSES	LS			0	3,030,961
8.00	ENGINEERING SERVICES	LS		*	. 0	21,216,730
9.00	PHYSICAL CONTINGENCY	LS				30,309,615
	GRAND TOTAL				360,684,414	360,684,414

item No.	Work Item	Unit			Amount P.C.(US\$)	
		4				
1.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				5,586,7
.00	CIVIL, WORKS					-
.10	INTAKE DAM					
	Open Excavation					
	Open excavation, common	m3	14,200	3.50	49,700	
	Open excavation, weathered rock	m3	14,200	6.00	85,200	
	Open excavation,hard rock	m3	18,900	10.00	189,000	
	Concrete Mass concrete	m3	28,700	90.00	2,403,000	
	Reinforced concrete	n13	64,500	140.00	9,030,000	
	Reinforcement ber	ton	1,950	1,500.00	2,925,000	·
	Curtain grouting	το	3,800	70.00	252,000	
	Consolidation grouting Others (20%)	m L.S.	2,400	90.00	216,000 3,029,980	
	Suboui					18,179,
10	DESANDING BASIN					
		2	92 200	er 00	£ 136 000	
	Excavation, tunnel Concrete, tunnel	m3 m3	93,200 22,400	55.00 160.00	5,126,600 3,584,000	
	Concrete, tunner Reinforcement bass	ton	230	1,500.00	345,000	
	Others (20%)	L.S.			1,811,000	•
	Subtotal				+ .	10,866,
50	WATERWAY		•			
51	INTAKE					
	Excavation					
	Excevation, common	m3	1,800	3.50	5,600	
	Excavation, weathered rock	m3	1,600	6.00	9,600	
	Excavation,hard rock	m3	2,100	10.00	21,000	1
	Concrete, open structure	m3	2,300 70	140.00	322,000 105,000	
	Reinforcement Others (20%)	ton L.S.	ru	1,500.00	92,640	
	Subtotal					555,
52	HEADRACE TUNNEL			-		
	Excavation,ttendel	m3	134,200	55.00	7,381,000	
	Concrete, tunnel	m3	44,990	160.00	7,184,000	
	Reinforcement	ton	450	1,500.00	675,000	•
	Consolidation grout	m	14,900	90.00	1,341,000	
	Curtain grout	m	300	.70.00 200.00	21,000	
	Backfill grout Others (20%)	m3 L.S.	1,300	200.00	260,000 3,372,400	
	Subtotal					20,234,
3	SURGE TANK				4.	
	Excavation, shaft	m3	12,000	55.00	660,000	
	Concrete, shaft	m3	3,500	160.00	560,000	
	Reinforcement	ton	110	1,500.00	165,000	
	Consolidation grout Others (20%)	m L.S.	350	90.00	31,500 283,300	
	Subsotal	2.0				1,699,
4	PENSTOCK					
	Excavation, bunnel	m3	4,300	55.00	236,500	
	Concrete, tunnel	m3	2,100	160.00	336,000	
	Reinforcement	ton	40	1,500.00	60,000	
	Cartain grout	m	300	70.00	21,000	
	Backfill grout Oxhers (20%)	m3 L.S.	70	200.00	14,000 133,500	
	Subtout	2.2/				801
0	OPEN POWERHOUSE					
	Excavation		.*		÷	
	Excavation, common	m3	8,200	3.50	21,700	
	Excavation, weathered rock	m3	8,200	6.00	37,200	
	Excavation,hard rock	m3	8,300	10.00	83,000	
	Company and designer-					
	Concrete, substructure Concrete, second mage	m3 m3	5,900 1,500	250.00 140.00	1,475,000 210,000	

		Others (20%)	L.S.	•		482,380	
		Subtotal					2,894,280
	2.70	TAILRACE					
		Excavation					
		Excavation common	m3	5,000	3.50	17,500	
		Excavation, weathered rock	m3	5,000	6.00	30,000	
		Excavation,hard rock	m3	7,000	10.00	70,000	
		Concrete, structure	East	2,200	140.00	308,000	
		Reinforcement	ton	70	1,500.00	105,000	
		Others (20%)	L.S.		•	106,100	
		Subtotal					636,690
	2.80	ARCHITECTURAL BUILDINGS	m2	5,000	1,100.00	5,500,000	5,500,000
	2.90	ACCESS ROAD		· -			
		New construction	m	290	600,000.00	174,000,000	
		Upgraded	ta.	79	50,000.00	3,950,000	
-		Subtotal		•			177,950,000
	3.00	METAL WORKS					**
	,	Penstock steel pipes	ton	790	5,000.00	3,950,000	
		Gates	ton	125	7,000.00	875,000	:
	•	Subtotal		•		٠	4,825,000
	4.00	GENERATING EQUIPMENT					
						- na . naa	
		Turbines	ton	320	18,700.00	5,984,000	
		Generators	ton	620	20,400.00	12,648,000	
		Transformers	MVA	51	4,650.00	237,150	
		Subtotuj					18,869,150
	5.00	TRANSMISSION LINES AND SUBSTATIONS	km	210	46,000.00	9,660,000	9,660,000
		Total of Direct Cost					278,258,730
	6.00	LAND AQUISITION AND COMPENSATION	LS	•		0	2,782,587
	7.00	ADMINISTRATION EXPENSES	LS			0	2,782,587
	8.00	ENGINEERING SERVICES	LS			0	19,478,111
	9.00	PHYSICAL CONTINGENCY	LS			0	27,825,873
		GRAND TOTAL				331,127,889	331,127,889

liem No.	Work Item	Unit			mount .C.(US\$)	
1.00	DREDAD ASSON WINDES	L.S.				4 655 476
1.00	PREPARATORY WORKS (10 % of Civil Works)	1.3.				4,655,436
2.00	CIVII. WORKS			٠		
2.10	INTAKE DAM					
	Open Excavation			•	•	
	Open excavation common	m3	12,800	3.50	44,800	
	Open excavation, weathered rock	m3	12,800	6.00 10.00	76,800	
	Open excavation hard rock Concrete	m3	17,000	10.00	. 170,000	
	Mass concrete	m3	24,900	90.00	2,241,000	
	Reinforced concrete	m3	60,200	140.00	8,428,000	
	Reinforcement bar	ton	1,850	1,500.00	2,775,000	
	Curain grouting	m 	3,400 2,400	70.00 90.00	238,000 216,000	
	Consolidation grouping Others (20%)	m L.S.	2,400	\$0.00	2,837,920	
	Subsotal		•			17,027,530
2.40	DESANDING BASIN					
	Excavation tunnel	m3	69,800	55.00	3,839,000	
	Concrete, tunnel	m3	16,900 170	160.00 1,500.00	2,704,000 255,000	•
	Reinforcement bars Others (20%)	ton L.S.	170	1,200.00	1,359,600	
	• •	L.J.			1,000,000	8,157,60
	Subtoial					8,137,60
2.50	WATERWAY		·			
2.51	INTAKE					
	Excavation					
	Excavation common	m3 -	1,400	3,50	4,900	
	Excavation, weathered rock	m3	1,400 1,800	6.00 10.00	8,400 18,000	
	Excavation hard rock Concrete, open structure	m3 m3	2,000	140,00	280,000	
	Reinforcement	ton	60	1,500,00	90,000	
	Others (20%)	L.S.			80,260	
	Subtotal					481,560
2.52	HEADRACE TUNNEL				100	
	Excavation tunnel	m3	104,000	55.00	5,720,000	
	Concrete, tunnel	m3	35,700	160.00	5,712,000	
	Reinforcement	ton	380	1,500.00	540,000	
	Consolidation grout	m	13,100	90.00	1,179,000	
	Curtain grout	m 3	250 1,200	70,00 200.03	17,500 240,000	
	Backini grout Others (20%)	L.S.	1,200	200.00	2,681,700	
	Subtotal					16,090,20
2.53	SURGE TANK					
	Evanuation shell	rn3	9,000	55.00	495,000	
	Excavation, shaft Concrete, shaft	m3	2,600	160.00	416,000	
	Reinforcement	ton	80	1,500.00	120,000	
	Consolidation grout	m	300	90.00	27,000	
	Others (20%)	L.S.			211,600	•
	Subtotal					1,269,60
2.54	PENSTOCK					
	Excavation, tunnel	m3	3,500	55,00	192,500	
	Concrete,tonnel	m3	1,800	160.00	288,000	
	Reinforcement	ton	35	1,500.00	52,500	
	Curtain grout	m	250	70.00	17,500	
	Backfill grout Others (20%)	m3 L.S.	60	200,00	12,000 112,500	
	Sultotal					675,00
2.60	OPEN POWERHOUSE					
	Excavation					
	Excavation, common	m3	4,700	3.50	16,450	
	Excavation, weathered rock	m3	4,700	6.00	28,200	
	Excavation, hard rock	m3	8,200	10.00	62,000	
	Concrete, substructure Concrete, second stage	m3 m3	4,500 1,800	250.00 140.00	1,125,000 252,000	
	Reinforcement	ton	290	1,500.00	435,000	
				,	,,_	

	•					
	Others (20%)	L.S.			383,730	
*	Subtotal					2,302,380
2.70	TAILRACE					
	Excavation					
	Excavation common	.m3	4,500	3.50	15,750	
	Excavation, weathered rock	m3	4,500	6.00	27,000	
	Excavation hard rock	m3	6,000	10.00	60,000	
	Concrete, structure	m3	1,900	140.00	266,000	
	Reinforcement	ton	60	1,500.00	90,000	
	Others (20%)	L.S.			91,750	
						- tn =0.0
	Subtotal					550,500
		٠	•			
2.80	ARCHITECTURAL BUILDINGS	m2	4,500	1,100.00	4,950,000	4,950,000
2.90	ACCESS ROAD					٠.
2.70	ACCESS ROAD					
	New construction	m	290	600,000.00	174,000,000	
	Upgraded	m	79	50,000.00	3,950,000	
	Satural					122.050.000
	Subtotal					177,950,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	610	5,000.00	3,050,000	
	Gates	ton	100	7,000.00	700,000	
					-	
	Subtotal					3,750,000
4.00	GENERATING EQUIPMENT					
		•				
	Turbines	ton	260	18,700.00	4,862,000	
	Generators	ton	520	20,400.00	10,608,000	
	Transformers	MVA	38	5,000.00	190,000	
	Subtotal				•	
	Sunous				•	15,660,000
5.00	TRANSMISSION LINES AND SUBSTATIONS	kam	210	46,000.00	9,660,000	9,660,000
					-	
	Total of Direct Cost					263,179,796
6.00	LAND AQUISITION AND COMPENSATION	LS	•		0	2,631,798
7.00	ADMINISTRATION EXPENSES	LS			0	2,631,798
	ENGINEERING SERVICES	LS			. 0	
8.00					•	18,422,586
9.00	PHYSICAL CONTINGENCY	LS	•		. 0	26,317,980
	GRAND TOTAL				313,183,957	313,183,957

		·············		***************************************	 	
m No.	Work Item	Unit			mount C.(US\$)	
00	PREPARATORY WORKS	LS.				6,505,1
	(10 % of Civil Works)					
0	CIVIL WORKS					
0	INTAKE DAM					
	Open Excavation	2	16 000	2.60	e2 660	
	Open excavation, common Open excavation, weathered rock	m3 m3	15,300 15,300	3.50 6.00	53,550 91,800	
	Open excavation hard rock	m3	20,300	10.00	203,000	
	Concrete Mass concrete	m3	27,900	90.00	2,511,000	
	Reinforced concrete	m3	68,400	140.00	9,576,000	
	Reinforcement bar	ton	2,050	1,500.00	3,075,000	
	Curtain grouting	m	3,900	70.00	273,000	
	Consolidation grouting Others (20%)	m LS.	2,400	90.00	216,000 3,199,870	
	Subtotal		• .			19,199,2
	DESANDING BASIN					
	Excavation,tunnel	m3	128,700	55.00	7,078,500	
	Concrete, bannel	m3	31,000	160.00	4,960,000	
	Reinforcement bars	tou	310	1,500.00	465,000	
	Others (20%)	L.S.			2,500,700	
	Subtotal					15,004,2
1	WATERWAY					
	INTAKE					
	Excavation		1,900	3,50	6,650	
	Excavation, common Excavation, weathered rock	ബ3 ബ3	1,900	6.00	11,400	
	Excavation, hard rock	m3	2,500	10.00	25,000	
	Concrete, open structure	m3	2,800	140.00	392,000	
	Reinforcement Others (20%)	ton L.S.	85	1,500.00	127,500 112,510	
	Subtotal			• .		675,0
	HEADRACE TUNNEL					
	Excavation,tunnel	m3	125,600	55.00	6,908,000	
	Concrete, tunnel	m3	41,300	160.00	6,608,600	
	Reinforcement	ton	420	1,500.00	630,000	
	Consolidation grout	w	12,500	90.00	1,125,000	
	Curtain grout	m .a	350	70.00 200.00	24,500	
	Backfill grout Others (20%)	m3 L.S.	1,100	200.00	220,000 3,103,100	
	Subtota)					18,618,
	SURGE TANK					
	Excavation, shaft	m3	16,000	55.00	880,000	
	Concrete, shaft	m3	4,500	160.00	720,000	
	Reinforcement	ton	140 500	1,500.00 90.00	210,000 45,000	
	Consolidation grout Others (20%)	m L.S.		31.00	371,000	
	Subtetal					2,226,0
	PENSTOCK					
	Excavation					
	Excavation, common	m3	55,200	3.50	193,200	
	Excavation, weathered rock	m3	55,200	6.00	331,200	
	fixcavation,hard rock Excavation,turnel	m3 m3	73,600 4,800	10.00 55.00	736,000 264,000	
	Concrete, open structure	m3	800	140.00	112,000	
	Concrete,tunnel	m3	1,600	160.00	256,000	
	Reinforcement	ton	70	1,500.00	105,000	
	Curtain grout	m	350	70.00	24,500	
	Backfill grout Others (20%)	m³ L.S.	40	200.00	8,000 405,980	
	Subtotal					2,435,8
	OPEN POWERHOUSE	•				
	Excavation				* * * *	
	ALCO THE IVE				42,350	

		•						
		Excavation, weathered rock	m3	12,100	6.00	72,600		
		Excavation, hard rock	m3	18,200	10.00	162,000		
•		Concrete, substructure	m3	11,500	250.00	2,900,000		
		Concrete, second stage	m3	2,900	140.00	406,000		
	•	Reinforcement	- ton	750	1,500.00	1 125,000		
		Others (20%)	L.S.			941,590		
		Subtotal					5,649,540	
2	2.70	TAILRACE						
		Excavation						•
		Excavation, common	m3	8,000	3.50	28,000		
		Bacavation, weathered rock	m3	8,000	6.00	48,000		•
		Excavation, hard rock	m3	12,000	10.00	120,000		
		Concrete, structure	m3	4,500	140.00	630,000		
		Reinforcement	ton	140	1,500.00	210,000		
		Others (20%)	L.S.		.,	207,200		
								••
		Subtotal					1,243,200	
	2.80	ARCHITECTURAL BUILDINGS	m2	6,000	1,100.00	6,600,000	6,600,000	
•		ARCHITECTURAS DOLLOMOS	IIIp	0,000	1,100.00	0,000,000	. 0,000,000	
. 2	1.90	ACCESS ROAD						••

	•	New construction	m	302 79	600,000.00 50,000.00	181,200,000		
		Upgraded	m.	19	30,000.00	3,950,000		
		Subtotal					185,150,000	
								•
3	.00 META	L WORKS						
				0.400	f ann 80			
		Penstock steel pipes	ion	8,40B	5,000,00	42,000,000	100	
		Gates	ton	180	7,000.00	1,260,000		
		Subtotal					43,260,000	
4	.00 GENE	RATING EQUIPMENT						•
		T. Atana	•	520	18,700.00	0.724.000		
		Turbines	ton	520		9,724,000		•
4		Generators Transformers	ton MVA	1,100 120	20,400.00 3,900.00	22,440,000 468,000		
		Transionness	MIVA	120	3,900,00	400,000		
		Subtotal					32,632,000	
	•	•						
	.00 TRAN	SMISSION LINES AND	km	221	46,000.00	10,166,000	10,166,000	
•		TATIONS					*********	
		Post of Process Const.					240.264.070	
		Total of Direct Cost					349,364,870	
6	i.00 LAND	AQUISITION AND COMPENSATION	LS			0	3,493,649	
7	.00 ADMI	NISTRATION EXPENSES	LS			. 0	3,493,649	
				-				
	I.00 ENGIN	NEERING SERVICES	LS			0	24,455,541	•
9	0.00 PHYS	ICAL CONTINGENCY	LS		•	0	34,936,487	•
		GRAND TOTAL				415,744,195	415,744,195	

item No.	Work Item	Unit	Quantity		Amount F.C.(US\$)	
	DODD ID LOAD WINDOW	2.1				4.005.10
.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				4,865,17
.00	CIVIL WORKS				· · · · · · · · · · · · · · · · · · ·	•
.10	INTAKE DAM					
	Open Excavation					
	Open excavation, common	m3	13,800		48,300	
	Open excavation, weathered rock	m3 '2	13,800		82,800	
	Open excavation,hard rock Concrete	m3	18,400	10.00	184,000	
	Mass concrete	m3	26,100	90.00	2,349,000	
	Reinforced concrete	m3	63,800		8,932,000	
	Reinforcement bar	ton	1,950		2,925,000	
	Curtain growting	m	3,600		252,000	
	Consolidation grouting Others (20%)	m L.S.	2,400	90.00	216,000 2,997,820	
	Subtotal			-		17,986,9
40	DESANDING BASIN					111

	Excavation,tunnel	т3 m3	85,900 20,800		4,724,500	
	Concrete, tunnel Reinforcement han	m3 ton	20,800 210		3,328,000 315,000	
	Reinforcement bars Others (20%)	L.S.	210	4,500.00	1,673,500	
				:		
	Subtotal					10,041,0
50	WATERWAY					
51	INTAKE		*			
	Excavation					
	Excavation common	m3	1,500		5,250	
	Excavation, weathered rock	m3	1,500		9,000	
	Excavation hard rock Concrete, open structure	m3 m3	2,000 2,200		20,000 308,000	
	Reinforcement	ton	85		97,500	
	Others (20%)	13.		•	87,950	•
	Subtotal				:	527,7
52	HEADRACE TUNNEL					
			77.00		1200.000	
	Excavation tunnel Concrete, tunnel	m3 m3	77,606 26,700		4,268,000 4,272,000	
	Reinforcement	ton	270		405,000	
	Consolidation grout	10)	9,800		882,000	
	Cunzin grout	m	300	70.00	21,000	
	Backfill grout	m3	1,000	200.00	200,000	
	Others (20%)	L.S.			2,009,600	
	Subtotal					12,057,6
53	SURGE TANK					
	Excavation, shaft	m3	10,300		566,500	
	Concrete, shaft	m3	3,000		480,000	
	Reinforcement	ton	90 400		135,000 36,000	
	Consolidation grout Others (20%)	m L.S.	400	90.00	243,500	
	Subtotal		•			1,461,0
54	PENSTOCK					
	Excavation					
	Excavation, common	m3	44,200	3.50	154,700	
	Excavation, weathered rock	m3	44,200	6.00	265,200	•
	Excavation, hard rock	m3	58,900		589,000	
	Excavation,tunnel	m3	3,000 600		165,000 84,000	
	Concrete, open structure Concrete, tunnel	m3 m3	1,000		160,000	
	Reinforcement	ton	50		75,000	
	Curtain grout	m	300	-	21,000	
	Backfill grout	m3	30	200.00	6,000	
	Others (20%)	L.S.			303,980	* *
	Subtotal					1,823,8
O	OPEN POWERHOUSE					
	Excavation	m3	8,100	3.50	28,330	
	Excavation, common	III3	6,100	. 3.30	20,330	

	Excavation, weathered rock	m3	8,100	6.00	48,600	
	Excavation, hard rock	m3	10,800	10.00	108,000	
	Concrete, substructure	m3	7,700	250.00	1,925,000	
	Concrete, second stage	m3	2,000	140.00	280,000	
	Reinforcement	ton	500	1,500.00	750,000	
	Others (20%)	L.Ş.		, .	627,990	
	, , ,		•			
	Subtotal					3,767,940
2.70	TAILRACE					
		.=-				
	Excavation		0.000	2.50	21.020	
	Excavation common	m3	6,000	3.50	21,000	
	Excavation, weathered rock	m3	6,000	6.00	36,000	
	Excavation, hard rock	m3	9,500	10.00	95,000	
	Concrete, structure	m3	3,600	140.00	564,000	
	Reinforcement	ton	110	1,500.00	165,000	
	Others (20%)	L.S.			164,200	
	Subtrated					985,200
	Subtotal					300,200
2.80	ARCHITECTURAL BUILDINGS	m2	5,000	1,100.00	5,500,000	5,500,000
2.90	ACCESS ROAD				* * * * * * * * * * * * * * * * * * * *	
			4 4			
	New construction	m	302	600,000.00	181 200,000	
	Upgraded	m	79	50,000.00	3,950,000	
						185,150,000
	Subtotal					183,130,000
3.00	METAL WORKS				•	
3.00	MILIAL WORKS					
	Penstock steel pipes	ton	5,900	5,000.00	29,500,000	
	Gales	ten	120	7,000.00	840,000	
	Option					
	Subtotal					30,340,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	380	18,700.00	7,106,000	
	Generators	ton	820	20,400.00	16,728,000	
	Transformers	MVA	80	4,300.00	344,000	
						24 179 000
	Subtoul					24,178,000
	*					
5.00	TRANSMISSION LINES AND	km	221	46,000.00	10,165,000	10,166,000
	SUBSTATIONS					
	Total of Direct Cost					308,850,364
				-	*	
4.00	A DATE A CONTROL OF A DATE OF CALLED AND A DESCRIPTION OF THE PARTY OF	LS			. 0	3,088,504
6.00	LAND AQUISITION AND COMPENSATION	Lo	N			3,000,104
7.00	ADMINISTRATION EXPENSES	LS			0	3,088,504
				,	. 0	21 610 525
8.90	ENGINEERING SERVICES	LS	•		U	21,619,525
9.00	PHYSICAL CONTINGENCY	LS			. 0	30,885,036
	OR AND DOTAL				367,531,933	367,531,933
	GRAND TOTAL				201,331,333	201,221,233

Item No.	Work Item	Unit			Amount R.C.(US\$)	
				/ 1 , 1		
.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				4,029,9
00	CIVIL WORKS					
						•
.10	INTAKB DAM					
	Open Excavation Open excavation, common	m3	12,400	3.50	43,400	
	Open excavation, weathered took	m3	12,400	6.00	74,400	
	Open excavation, hard rock	m3	16,500	10.00	165,000	
	Concrete					
	Mass concrete	m3	24,200	90,00	2,178,000	
	Reinforced concrete Reinforcement bar	m3 ton	59,500 1,800	1,500.00	8,330,000 2,700,000	
	Curtain grouting	m	3,400	70.00	238,000	
	Consolidation grouting	m	2,300	90.00	207,000	
	Others (20%)	L.S.			2,787,160	
	Subtotal					16,722,9
4 0	DES ANDING BASIN					
	Excavation,transel	m3	64,400	55.00	3,542,000	
	Concrete, timnel	m3	15,500	160.00	2,480,000	
	Reinforcement bars	ton	155	1,500.00	232,500	
	Others (20%)	L.S.			1,250,900	
	Subtotal					7,505,4
50	WATERWAY				•	
.51	INTAKE					
	Excavation					
	Excavation, common	m3	1,300	3.50	4,550	
	Excavation, weathered rock	m3	1,300	6.00	7,800	
	Excavation hard rock	m3	1,700	10.00	17,000	
	Concrete,open structure	m3 ton	1,900 08	140.00 1,500.00	266,000 90,000	
	Reinforcement Others (20%)	L.S.	00	1,300.00	77,070	
		5.0.			,	462.4
	Subtotal					462,4
52	HEADRACE TUNNEL					
	Excavation, turnel	m3	57,900	55.00	3,184,500	
	Concrete, tempel	m3	20,500 210	160.00 1,500.00	3,280,000 315,000	
	Reinforcement Consolidation grout	ton m	8,400	90.00	756,000	
	Curtain grout	. ED	250	70.00	17,500	
	Backfill grout	m3	900	200,00	180,000	
	Others (20%)	L.S.			1,546,600	
	Subtotal					9,279,6
53	SURGE TANK					
	Excavation, shaft	m3	7,700	55.00	423,500	
	Concrete, shaft	m3	2,300	160.00	368,000	
	Reinforcement	ton	70	1,500.00	105,000	
	Consolidation grout Others (20%)	m L.S.	350	90.00	31,500 185,600	
		austi.			-404044	1 140 -
	Subtotal					1,113,6
54	PENSTOCK				* .	
	Excavation	÷	20 200	3.50	130 300	
	Excavation, common Excavation, weathered rock	m3 m3	39,800 39,800	6.00	139,300 238,800	
	Excavation hard rock	m3	53,100	10.00	531,000	
	Excavation, tunnel	m3	2,200	55.00	121,000	
	Concrete, open structure	m3	500	140.00	70,000	
	Concrete,tunnel	m3	800	160.00	128,000	
	Dation :	ton	40 250	1,500.00 70.00	60,000 17,500	
	Reinforcement	P*		70.00	11,200	
	Curtain grout	m m3		200.00	4.000	
		m m3 L.S.	20	200.00	4,000 261,920	•
	Curtain grout Backfill grout	m3		200.00		1,571,5
0	Curtain grout Backfill grout Others (20%)	m3		200.00		1,571,5
)	Curtain grout Backfill grout Others (20%) Subtotal	m3		200.00		1,571,5

		Excavation, weathered tock Excavation, hard rock Concrete, substructure Concrete, second stage Reinforcement Others (20%)	m3 m3 m3 ton L.S.	6,100 8,100 5,800 1,500 380	6.00 10.00 250.00 140.00 1,500.00	36,600 81,000 1,450,000 210,000 570,000 473,790			
		Subsotal					2,842,740		
	2.70	TAILRACE Bxcavation							
		Excavation, common Excavation, weathered rock Excavation, frard rock Concrete, structure Reinforcement Others (20%)	m3 m3 m3 m3 ton L.S.	4,500 4,500 7,000 3,000 90	3.50 6.00 10.00 140.00 1,500.00	15,750 27,000 70,000 420,000 135,000 133,550			
		Subtotal					801,300		
	2.80	ARCHITECTURAL BUILDINGS	m2	4,500	1,100.00	4,950,000	4,950,000		
	2.90	ACCESS ROAD					•		
		New construction Upgraded	m m	302 79	600,000.00 50,000.00	181,200,000 3,950,000			
.*	3.00	Subtotal NORMS					185,150,000		
	3.00	METAL WORKS Penstock steel pipes Gates	ton ton	4,400 90	5,000.00 7,000.00	22,000,009 630,000			· r
		Subtotal					22,630,000		
	4.00	GENERATING EQUIPMENT			•				٠
		Turbines Generators Transformers	ton ton MVA	300 680 60	18,700.00 20,400.00 4,500.00	5,610,000 13,872,000 270,000			
		Subtotal					19,752,000		
	5.00	TRANSMISSION LINES AND SUBSTATIONS	kom	221	46,000,00	10,166,000	10,166,000	•	
		Total of Direct Cost					286,977,494		
	6.00	LAND AQUISITION AND COMPENSATION	LS	•		0	2,869,775		
	7.00 8.00	ADMINISTRATION EXPENSES ENGINEERING SERVICES	1.5 1.5			0	2,869,775 20,088,425		
٠	9.00	PHYSICAL CONTINGENCY	LS			0	28,697,749		
		GRAND TOTAL				341,503,218	341,503,218		
			4 - *						
* .	* .	distribution of the second of							
	.						.		
			·	٠					
	1. Jan. 1								
i.	ee								
								5	
	• .								
•	•								
			- 77 -					•	

Item No.	Work Item	Unit			mount C.(US\$)	
1.00	PREPARATORY WORKS	L.S.				35,910,846
	(10 % of Civil Works)					
2.00	CIVII, WORKS					
2.10	DIVERSION TUNNEL					
	Open Excavation of Inlet &Outlet	m3	20,000	3.50	70.000	
	Open excavation common Open excavation, weathered rock	m3	20,000	6,00	70,000 120,000	
	Open excavation, hard rock	m3	30,000	10.00	100,000	
	Concrete of Inlet & Outlet	m3	10,000	140.00	1,400,000	
	Turnel Excavation	m3	246,900	55.00	13,579,500	
	Tunnel Concrete Reinforcement bar	m3 m3	74,200 1,700	160.00 1,500.00	11,872,000	
	Plug Concrete	m3	6,300	160.00	1,008,000	
	Others (20%)	L.S.			6,179,900	
	Subtotal				·	37,079,400
2.20	COFFER DAM		-			
	Excavation Excavation common	m3	66,400	3.50	232,400	
	Embarkment		,		,	
	Embankment.core Embankment,filter	1113 1113	152,500 36,800	5.00 10.00	762,500 368,000	
	Embankment, rock	m3	676,400	6.00	4,058,400	
	Others (20%)	LS.			1,084,260	
	Subtotal					6,505,560
2.30	MAIN DAM			•		-
	Excavation	a	439,300	3.50	1,537,550	
	Excavation, common Excavation, weathered rock	m3 m3	126,100	6.00	756,600	
	Excavation hard	m3	1,262,300	10.00	12,623,000	
	Embankment Embankment, core	E_{III}	1,910,100	5.00	9,550,500	
	Embankment, filter	m3	434,800	10,00 6.00	4,348,000 91,798,800	
	Embankment, rock Curtain Grouting	m3 m	15,299,800 60,000	70.00	4,200,000	
	Consolidation Grouting	m L.S.	10,000	90.00	900,000 12,571,445	
	Others (10%)	L.J.			22,012,11	138,285,895
2.40	Subtoral SPILL,WAY			4.5		136,263,693
2.40						
	Excavation common	m3	523,500	3.50	1,832,250	
	Excavation, weathered rock	m3	754,100	6.00 10.00	4,524,600	
	Excavation, hard rock Concrete	m3 m3	8,874,600 97,600	140.00	88,746,000 13,664,000	
	Reinforcement bars	tom	2,950	1,500.00	4,425,000	
	Others (20%)	L.S.	٠		22,638,370	
	Subtotal					135,830,220
2.50	WATERWAY					
2.51	INTAKE					
	Excavation Excavation, common	m3	3,100	3.50	10,850	
	Excavation, weathered took	Era	3,100	6.00	18,600	
	Excavation, hard rock Concrete, open structure	m3 m3	4,200 4,650	10.00 140.00	42,000 651,000	
	Reinforcement	ton	140	1,500.00	210,000	
	Others (20%)	L.S.		-	186,490	
	Subtotal					1,118,940
2.52	HEADRACE TUNNEL					
	Excevation, tunnel Concrete, tunnel	m3 m3	156,300 48,500	55.00 160.00	8,596,500 7,760,000	•
	Reinforcement	ton	500	1,500.00	750,000	
	Consolidation growt Curtain growt	m m	10,300 600	90.00 70.00	927,000 42,000	
	Backfill grout	m3	2,300	200,00	460,000	
	Others (20%)	L.S.			3,707,100	
	Subtotal					22,242,600
2.53	SURGE TANK					
	Excavation, shaft	m3	33,400	55.00	1,837,000	
	Concrete, shaft	3n3	9,700	160.00	1,552,000	
	Reinforcement Consolidation growt	ron	300 1,200	1,500.00 90.00	450,000 108,000	
	Others (20%)	L.S.	*1200	30.100	789,400	
	Subsotal			:		4,736,400
2.53	PENSTOCK				•	

	Dunasialan hungs		A 100	66.00	500,500	
	Excavation,tunnel	m3	9,100	55.00		
	Concrete tunnel	n±3	2,700	160.00	432,000	
	Reinforcement	ton	. 60	1,500.00	90,000	
	Curtain grout	in .	600	70.00	42,000	
	Backfill grout	m3	250	200.00	50,000	
	Others (20%)	L.S.	250	£EU155	222,900	
	Otters (20%)	13.			222,700	
	0.1					1 227 600
	Subtotal					1,337,400
	· ·					
2.60	OPEN POWERHOUSE		4			
	Bacavation					
	Excavation, common	m3	24,600	3.50	86,100	
	Excavation, weathered rock	m3	24,600	6.00	147,600	
	Excavation hard rock	m3	32,700	10.00	327,000	
	Concrete, substructure	m3	23,400	250.00	5,850,000	
	Concrete, second stage					
		m3	5,900	140.00	826,000	
	Reinforcement	ton	1,550	1,500.00	2,325,000	
	Others (20%)	L.S.			1,912,340	
						. *
-	Subtota)					11,474,040
2.70	TAILRACE				•	
	Excavation					
	Excavation, common	m3	6,000	3.50	21,000	
	Excavation, weathered rock	m3	6,000	6.00	36,000	
	Excavation, hard rock	m3	13,000	10.00	130,000	
	Concrete, structure	m3	1,200	140.00	163,000	
	Reinforcement	ton	40	1,500.00	60,000	
	Others (20%)	L.S.			83,000	
	· · · · · · · · · · · · · · · · · · ·					
	Subtotal					498,000
	3050041					470,000
	I DOMESTICATION OF THE PARTY OF			1 100 00	3 000 000	0.000.000
2.80	ARCHITECTURAL BUILDINGS	. m2	3,000	1,100.00	3,300,000	3,300,000
2.90	ACCESS ROAD					
	New construction	m	99	600,000.00	59,400,000	
	Upgraded	m	79	50,000.00	3,950,000	
	obstages		• • • • • • • • • • • • • • • • • • • •	abjoudiub	5,555,644	
	Subtotal					63,350,000
	040,044					ontopotops
3.00	METAL WORKS					
3.00	MBIAL WORKS					4.5
	The street of the street		2 100	£ 000 00	10 600 000	
	Penstock steel pipes	ton	2,100	5,000.00	10,500,000	
	Gates	ton	300	7,000.00	2,100,000	
	Subtotal					12,600,000
4.00	GENERATING EQUIPMENT					
	•				2.5	
	Turbines	ton	1,300	18,700.00	24,310,000	
	Generators	ton	1,900	20,400.00	38,760,000	
	Transformers	MVA	290	3,100.00	899,000	
	t improverer?	(4147)	270	3,100.00	055,000	
	Subtotal					63,969,000
	2000031					03,707,000
	•					
			<u>-</u> -			
5.00	TRANSMISSION LINES AND	km	79	46,000.00	3,634,000	3,634,000
	SUBSTATIONS					
			1			
	Total of Direct Cost			•		541,872,301
	the second secon					
	· ·					
6.00	LAND AQUISITION AND COMPENSATION	I.S			0	27,093,615
0.00	EMILE RECORDING THE COME BROWN TO	1,22				27,000,000
7.00	ADMINISTO ATTOM GYDENICES	LS			0	5,418,723
7.00	ADMINISTRATION EXPENSES	La			. •	2410115
	DIANTEDING SEDIEGES	1.0				47.641.64
8.00	ENGINEERING SERVICES	LS			0	37,931,061
9.00	PHYSICAL CONTINGENCY	LS			. 0	54,187,230
		1				
	GRAND TOTAL			4.00	666,502,930	666,502,930

iem No.	Work Item	Unit			mount .C.(US\$)	
						22.000
.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				31,967,14
.00	CIVIL WORKS			-		
10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet					
	Open excavation common	m3	20,000	3.50	70,000	
	Open excavation, weathered rock Open excavation, hard rock	m3 m3	20,000 30,000	6.00	120,000 300,000	
	Concrete of Inlet &Outlet	m3	10,000	140.00	1,400,000	
	Tunnel Excavation	m3 m3	222,000 66,700	55.00 160.00	12,210,000	
	Turnel Concrete Reinforcement bar	m3	1,550	1,500.00	10,672,000 2,325,000	
	Plug Concrete	m3	6,300	160,00	1,008,000	
	Others (20%)	L.S.			5,621,000	
	Subtotal					33,726,00
2.20	COFFER DAM					
	Excavation, common	m3	59,800	3,50	209,300	
	Embankment	10.5	35,000	3.50	207,500	
	Embankment core	m3	138,000	5.00	690,000	
	Embarkment, filter Embarkment, rock	m3 m3	33,200 608,800	10.00 6.00	332,000 3,652,800	
	Others (20%)	L.S.	000,000		976.820	
	Subtotel					5,860,9
0	MAIN DAM					3,000,7
-	Excavation					
	Excavation common	m3	395,400	3.50	1,383,900	
	Excavation, weathered rock Excavation hard	т3 т3	113,500 1,136,000	6.0 <i>0</i> 10.00	681,000 11,360,000	
	Embankment	1125	1,120,1000	10.00		
	Embankment, core	m3	1,719,000	5.00	8,595,000	
	Embankment, filter Embankment, rock	m3 m3	391,000 13,769,000	10.00 6.00	3,910,000 82,614,000	
	Curtain Grouting	m	55,000	70.60	3,850,000	
	Consolidation Grouting Others (10%)	m L.S.	9,000	90.00	810,000 11,320,390	
		12.0.			11/200/274	
	Subtotal					124,524,2
Ю	SPILLWAY					
	Excavation common	m3	470,000	3.50	1,645,000	
	Excavation, weathered rock	m3	678,600	6.00	4,071,600	
	Excavation hard rock	m3	7,987,000	10.00	79,870,000	
	Concrete Reinforcement bars	m3 tom	96,000 2,900	140.00 1,500.00	13,440,000 4,350,000	
	Others (20%)	LS.		·	20,675,320	
	Sutxotal					124,051,9
0	WATERWAY			•		
i	INTAKE					
	Excavation					
	Excavation, common	m3	2,700	3.50	9,450	
	Excavation, weathered took Excavation hard rock	m3 m3	2,700 3,500	6.00 10.00	16,200 35,000	
	Concrete, open structure	m3	4,000	140.00	560,000	
	Reinforcement Others (20%)	ton L.S.	120	1,500.00	180,000 160,130	
		L.G.			190,130	
	Subtotal					960,7
2	HEADRACE TUNNEL				9.7	
	Excavation tunnel	m3	115,800	55.00	6,369,000	
	Concrete, tunnel Reinforcement	en3 ton	36,600 370	160.00 1,500.00	5,856,000 555,000	•
	Consolidation grout	m	8,800	90.00	792,000	
	Curtain grout	m 3	500	70.00	35,000	
	Backfill grout Others (20%)	m3 L.S.	2,000	200.00	400,000 2,801,400	
	Subsotat				÷	16,808,4
3	SURGE TANK					
	: Excavation, shaft	m3	25,100	55.00	1,380,500	
	Concrete, shaft	m3	7,300	160.00	1,168,000	
	Reinforcement	ton	220	1,500.00	330,000	
	Consolidation grout Others (20%)	m L.S.	1,000	90.00	90,000 593,700	
			•		,	3,562,2
	Subtotal					-
ı	Subtotal PENSTOCK					
3	PENSTOCK	•			270 500	
3		m3 m3	6,900 2,300	55.00 160.00	379,500 368,000	

	Curtain grout	rii	500	70.00	35,000	
	Backfill grout	m3	220	200.00	44,000	
	Others (20%)	L.S.			180,300	
	•					
	Subtotal					1,081,800
2.60	OPEN POWERHOUSE				-	
2.00	OFBR FOWERHOUSE					
	Excavation	•				
	Excavation, common	m3	18,400	3.50	64,400	
	Excavation, weathered rock	m3	18,400	6.00	110,400	
	Excavation, hard rock	m3	24,600	10,00	246,000	
	Concrete, substructure	m3	17,600	250.00	4,400,000	
	Concrete, second stage	m3	4,400	140.00	616,000	
	Reinforcement	ton	1,200	t,500.00	1,800,000	
	Others (20%)	L.S.			1,447,360	
	Subtotal					8,684,160
	•					4,,
2.70	TAILRACE		•			
	Excavation					
	Excavation, common	2	5,000	3.50	17,500	
	Excavation, contrient Excavation, weathered rock	m3 m3	5,000	6.00	30,000	
	Excavation hard rock	m3	11,000	10.00	110,000	
	Concrete, structure	m3	1,000	140.00	140,000	
	Reinforcement	ton	30	1,500.00	45,000	
	Others (20%)	L.S.	30	1,500.00	68,500	
	Others (EGN)	L			06,500	
	Subtotal					411,000
2.80	ARCHITECTURAL BUILDINGS	m2	2,500	1,100.00	2,750,000	2,750,000
2.90	ACCESS ROAD					
4.70	Accession					
	New construction	m '	99	600,000.00	59,400,000	
	Upgraded	· m	79	50,000.00	3,950,000	
	Subtotal					63,350,000
3.00	METAL WORKS					
	,					
	Penstock steel pipes	ton	1,600	5,000.00	8,000,000	
	Gates	ton	240	7,000.00	1,680,000	
	Subtotal					9,680,000
4.00	CUMEN STANC COMBINERS					
4.00	GENERATING EQUIPMENT					
	Turbines	ton	1,000	18,700,00	18,700,000	
	Generators	100	1,600	20,400.00	32,640,000	
	Transformers	MYA	220	3,300.00	726,000	
				•	••	
	Subtotal					52,066,000
5.00	TRANSMISSION LINES AND	km	79	46,000.00	3,634,000	3,634,000
	SUBSTATIONS		••	,		
	Total of Direct Cost					483,118,617
600	TAND ADDRESSON AND COMPRIGATION	LS		-	0	24 156 021
6.00	LAND AQUISITION AND COMPENSATION	LS			. 0	24,155,931
7.00	ADMINISTRATION EXPENSES	LS			0	4,831,186
						.,001,100
8.00	ENGINEERING SERVICES	LS	* **		. 0	33,818,303
				+2		
9.00	PHYSICAL CONTINGENCY	LS			0	48,311,862
		* . *		1.5		
	OD AND TOTAL	·		•	F04 025 000	ens 435 per
	GRAND TOTAL				594,235,899	594,235,899

Item No.	Work Item	Unit			mount .C.(US\$)	
1.00	PREPARATORY WORKS	L.S.				43,971,405
.,,,,	(10 % of Civil Works)	21.04				10(1) 11(10
2.00	CIVIL WORKS					
2.10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet					
	Open excavation common Open excavation, weathered rock	m3 m3	20,000 20,000	3.50 6.00	70,000 120,000	
	Open excavation hard rock	m3	30,000	10.00	300,000	
	Concrete of Inlet & Outlet	m3	10,000	140.00	1,400,000	
	Tunnel Excavation	m3	296,000	55.00	16,280,000	*
	Tunnel Concrete	m3	89,000	160.00	14,240,000	
	Reinforcement bar	m3 m3	2,050	1,500.00	3,075,000 1,008,000	
	Plug Concrete Oshers (20%)	L.S.	6,300	160.00	7,298,600	
	Subcomi					43,791,600
2.20	COFFER DAM					
				••		
	Excavation Excavation, common	m3	79,760	3.50	278,950	
	Embankment					
	Embankment,core Embankment,filter	m3 m3	183,000 44,500	5.00 10.00	915,000 445,000	
	Embankment, nock	m3	811,700	6.00	4,870,200	
	Others (20%)	L.S.			1,301,830	
	Subtotal					7,810,980
2.30	MAIN DAM					
	Excavation					
	Excavation, common Excavation, weathered rock	m3 m3	527,000 151,000	3.50 6.00	1,844,500 906,000	
	Excavation, hard	m3	1,514,000	10.00	15,140,000	
	Embankment	_2	2.200.600		11.450,000	
	Embankment,core Embankment,filter	m3 m3	2,290,000 522,000	5.00 10.00	11,450,000 5,220,000	
	Embankment, rock	m3	18,358,000	5.00	110,148,000	
	Curtain Grouting Consolidation Grouting	m m	70,000 12,000	70.00 90.00	4,900,000 1,080,000	
	Others (10%)	L.S.	12,000	,	15,068,850	
	Subtotal					165,757,350
2.40	SPILLWAY					
	Excavation					
	Excavation, common	m3	628,000	3.50	2,198,000	
	Excavation, weathered rock Excavation, hard rock	ш3 m3	904,000 10,649,000	6.00 10.00	5,424,000 106,490,000	
	Concrete	m3	98,500	140.00	13,790,000	
	Reinforcement bars Others (20%)	tom L.S.	3,100	1,500.00	4,650,000 26,510,400	
		IAJ.			20,510,100	150 052 400
	Subtotal					159,062,400
2.50	WATERWAY					
2.51	INTAKE					
	Excavation	4		2.50	14 000	
	Excavation, common Excavation, weathered rock	m3 m3	4,000 4,000	3.50 6.00	14,000 24,000	
	Excavation, hard rock	m3	5,300	10.00	53,000	
	Concrete, open structure Reinforcement	m3 ton	6,000 180	140.00 1,500.00	840,000 270,000	
	Others (20%)	L.S.	100	1,500.00	240,200	
	Subcoral	•				1,441,200
2.52	HEADRACE TUNNEL					
	Excavation,tunnel	m3	255,500	55.00	14,052,500	
	Concrete, tunnel	m3	77,400	160.00	12,384,000	
	Reinforcement	ton	780 13,200	1,500.00 90.00	1,170,000 1,188,000	
	Consolidation growt Curtain growt	រោ វេរា -	800	70.00	56,000	
	Backfill grout	m3	2,800	200.00	560,000	
	Others (20%)	L.S.			5,882,100	
	Subtotal	. •				35,292,600
2.53	SURGE TANK					*
	Excavation, shaft	m3	50,200	55.00	2,761,000	
	Concrete, shaft	m3	14,500	160.00	2,320,000	
	Reinforcement	ton	450	1,500.00	675,000	
	Consolidation grout Others (20%)	m L.S.	1,500	90.00	135,000 1,178,200	
	Carola (Mara)				-,,,	47.5
	Subtotal					7,069,200
.\$3	PENSTOCK		:			

- 82 -

Riserweins, Journal								
Concrete, bassed 133 3,200 15,200 15,200 15,0								
Concrete, bassed 133 3,200 15,200 15,200 15,0		•				•		
Reinforcement ton 70 1,500,00 105,000		Excavation,tunnel	m3	12,300	55.00	676,500		
Cutation France				3,200				
Beskill gools						105,000		
Column C						60,000		
Exercise Exercise Exercise Exercise Exercise Exercise Constitute Co	•				_43.55			
Exercise Exercise Exercise Exercise Exercise Exercise Constitute Co							1 (01 400	
Exercision		Subtotat					1,091,400	
Excursion-common 3 36,800 1.50 178,800 1.50 178,800 1.50 178,800 1.50 178,800 1.50	2.60	OPEN POWERHOUSE		*	100			
Excursion-common 3 36,800 1.50 178,800 1.50 178,800 1.50 178,800 1.50 178,800 1.50		Excavation						
Exercision_based stock			m3	36,800	3.50			
Construct, published used stage m3 35,000 29,000 3,750,000								
Concrete, second stage m3 8,800 140,00 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,232,000 1,142,100 1,142	• •							
Reinforcement Note (20%) L.S. 1,500,00 3,450,000 2,854,200 2,854				35,000			*	
Chees (20%) L.S. 2,854,520 17,127,120				2300				
TAILRACE Excession common m3 7,000 3.50 24,500				2,500	1,500.00		100	
TAILRACE Exercision common m3 7,000 3.59 24,500 Exercision common m3 7,000 6.00 42,000 10,0000 10,000							:	
Excavation Excavation common m3 7,000 3.50 24,500 24,000 Excavation, weathered rock m3 1,500 10.00 150,000 20,00		Subtetal					17,127,120	
Excession.common m3 7,000 5.00 42,000 Excession.pardrect rock m3 15,000 10.00 120,000 Excession.pardreck m3 15,000 10.00 120,000 Concrete, statistics m3 1800 140.00 222,200 Reinforcement ton 60 1,500.00 30,000 Concrete, statistics 111,000 100,000 111,000 Concrete, statistics 111,000 100,000 111,000 Concrete, statistics 111,000 111,000 4,400,000 4,400,000 Concrete, statistics 111,000 111,000 4,400,000 4,400,000 Concrete, statistics 111,000 111,000 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m2 4,000 1,100.00 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m3 4,000,000 3,150,000 Concrete, statistics 11,100.00 14,500,000 Concrete, statistics 14,500,000 Concrete, statistics 14,500,000 Concrete, stat	2.70	TAILRACE					1.	
Excession.common m3 7,000 5.00 42,000 Excession.pardrect rock m3 15,000 10.00 120,000 Excession.pardreck m3 15,000 10.00 120,000 Concrete, statistics m3 1800 140.00 222,200 Reinforcement ton 60 1,500.00 30,000 Concrete, statistics 111,000 100,000 111,000 Concrete, statistics 111,000 100,000 111,000 Concrete, statistics 111,000 111,000 4,400,000 4,400,000 Concrete, statistics 111,000 111,000 4,400,000 4,400,000 Concrete, statistics 111,000 111,000 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m2 4,000 1,100.00 4,400,000 4,400,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m2 4,000 1,100.00 3,940,000 Concrete, statistics m3 4,000,000 3,150,000 Concrete, statistics 11,100.00 14,500,000 Concrete, statistics 14,500,000 Concrete, statistics 14,500,000 Concrete, stat		T						
Excession, weathered rock			m3	7 000	3 50	24 500		
Escavation hard rock m3				7,000				
Concrete, statement m3								
Cohen (20%) L.S. 111,700		Concrete, structure	m3		140.00			
Subtotal Subtotal F/0,200				60	1,500.00			
2.50 ARCHTECTURAL BUILDINGS m2 4,000 1,100.00 4,460,000 4,400,000 2.90 ACCESS ROAD New construction m 99 600,000.00 59,400,000		Others (20%)	L.S.			111,700		
2.80 ARCHITECTURAL BUILDINGS m2 4,000 1,100.00 4,400,000 4,400,000 2.90 ACCESS ROAD New construction m m 99 600,000.00 59,400,000 Upgraded m 79 50,000.00 3,950,000 Subtotal 63,350,000 3.00 METAL WORKS Penstock steel pipes ton 2,900 5,000.00 14,500,000 Gates ton 450 7,000.00 3,150,000 4.00 GENERATING EQUIPMENT Turbines ton 1,800 18,700.00 33,650,000 Generators ton 2,900 20,400.00 51,000,000 Transformers MVA 450 2,650.00 1,192,500 Subtotal 85,852,500 5.00 TRANSMISSION LINES AND km 79 46,000.00 3,634,000 3,634,000 SUBSTATIONS Total of Direct Cost 659,571,955 6.00 LAND AQUISITION AND COMPENSATION LS 0 32,928,598 7.00 ADMINISTRATION EXPENSES LS 0 6,5857,196		Subtotal					670,200	V
2.90 ACCESS ROAD New construction m 99 600,000 00 59,400,000	280	ARCHITECHIRAL RUU DINGS	•	4.000	1.100.00	4 400 000	4.400.000	
New construction			412		1,100.00		4,,	
Subtotal	2.90	ACCESS ROAD						
Subtotal		New construction	m	99	600,000.00	59,400,000		
Metal Works								
Metal Works	-	Subjected					63.350.000	
Penstock steel pipes ton 2,900 5,000.00 14,500,000 14,500,000 17,650,		o de la companya de l		•				100
Substall	3.00	METAL WORKS						
Substall	•	Penstock steel nines	ton.	2 900	5,000,00	14.500.000		
4.00 GENERATING EQUIPMENT Turbines								
4.00 GENERATING EQUIPMENT Turbines		(habana)					17.650,000	
Turbines		Suotetai		•			17,050,000	
Generators Lon 2,500 20,400.00 51,000,000 Transformers MVA 450 2,650.00 1,192,500 Substate 85,852,500 Substate 85,852,500 Substate 85,852,500 Substate 85,852,500 Substations 100 1,192,500 3,634,000 3,634,000 Substations 79 46,000.00 3,634,000 3,634,000 Substations 658,571,955 Good Land Aquisition and Compensation Ls 0 32,928,598 Total of Direct Cost 0 6,585,710 Substations 1,192,500 1,192,500 Good Land Aquisition and Compensation Ls 0 0 6,585,720 Substations 1,192,500 0 6,585,720 Substations 1,192,500 0 1,192,500 Good Land Aquisition and Compensation Ls 0 0 0,585,720 Substations 1,192,500 0 0 0,585,720 Substations 1,192,500 0 0 0,585,720 Good Land Aquisition and Compensation Ls 0 0 0,585,720 Substations 1,192,500 0 0 0,585,720 Good Land Aquisition and Compensation Ls 0 0 0 0,585,720 Good Land Aquisition and Compensation Ls 0 0 0 0,585,720 Good Land Aquisition and Compensation Ls 0 0 0 0,585,720 Good Land Aquisition and Compensation Ls 0 0 0 0,585,720 Good Land Aquisition 1,192,500 0 0 0,585,720 Good Land Aquisition 1,192,	4.00	GENERATING EQUIPMENT						
Generators Lon 2,500 20,400.00 51,000,000 51,		Tyrhines	ton	1 400	18 700 00	33,660,000		
Transformers MVA 450 2,650.00 1,192,500								
5.00 TRANSMISSION LINES AND km 79 46,000.00 3,634,000 3,634,000 Total of Direct Cost 658,571,955 6.00 LAND AQUISITION AND COMPENSATION LS 0 32,928,598 7.00 ADMINISTRATION EXPENSES LS 0 6,585,720 8.00 ENGINEERING SERVICES LS 0 46,100,037 9.00 PHYSICAL CONTINGENCY LS 0 65,857,196							•	•
5.00 TRANSMISSION LINES AND km 79 46,000.00 3,634,000 3,634,000 Total of Direct Cost 658,571,955 6.00 LAND AQUISITION AND COMPENSATION LS 0 32,928,598 7.00 ADMINISTRATION EXPENSES LS 0 6,585,720 8.00 ENGINEERING SERVICES LS 0 46,100,037 9.00 PHYSICAL CONTINGENCY LS 0 65,857,196							95 950 COO	
SUBSTATIONS Total of Direct Cost 658,571,955		Suptotal					03,032,300	
SUBSTATIONS Total of Direct Cost 658,571,955	111		_			2.40 * ***	0.00.000	÷
### Total of Direct Cost	5.00		km	79	46,000.00	3,634,000	3,634,000	
6.00 LAND AQUISITION AND COMPENSATION LS 0 32,928,598 7.00 ADMINISTRATION EXPENSES LS 0 6,585,720 8.00 ENGINEERING SERVICES LS 0 46,100,037 9.00 PHYSICAL CONTINGENCY LS 0 65,857,196				•				
7.00 ADMINISTRATION EXPÉNSES LS 0 6,585,720 8.00 ENGINEERING SERVICES LS 0 46,100,037 9.00 PHYSICAL CONTINGENCY LS 0 65,857,196		Total of Direct Cost					658,571,955	
7.00 ADMINISTRATION EXPÉNSES LS 0 6,585,720 8.00 ENGINEERING SERVICES LS 0 46,100,037 9.00 PHYSICAL CONTINGENCY LS 0 65,857,196						•		
8.00 ENGINEERING SERVICES LS 0 46,100,037 9.00 PHYSICAL CONTINGENCY LS 0 65,857,196	6.00	LAND AQUISITION AND COMPENSATION	LS			0	32,928,598	***
8.00 ENGINEERING SERVICES LS 0 46,100,037 9.00 PHYSICAL CONTINGENCY LS 0 65,857,196	7.00	ADMINISTRATION EXPENSES	LS			. 0	6,585,720	
9.00 PHYSICAL CONTINGENCY LS 0 65,857,196		·				n	46,100.037	
		•			+		**	
GRAND TOTAL. 810.043 505 810.043 505	9.00	PHYSICAL CONTINGENCY	LS			. 0	65,857,196	
		GRAND TOTAL				810.043.505	810.043.505	

1.00 2.00 2.10	PREPARATORY WORKS (10 % of Civil Works)	LS.		:(US\$) F.	C.(US\$)	34,769,9
.00		L.S.				34,769,9
	(10 % of Civil Holixy)					
						:
10	CIVIL WORKS					
	INTAKE DAM					
	Open Excavation					
	Open excavation common	m3	27,700	3.50	96,950	
	Open excavation, weathered rock	m3	27,700	6.00	166,200	
	Open excavation, hard rock	m3	35,900	10.00	369,000	
	Concrete	m3	44,500	90.00	4,005,000	
	Mass concrete Reinforced concrete	m3	85,900	140.00	12,026,000	
	Reinforcement bar	ton	2,600	1,500.00	3,900,000	
	Curtain grouting	m	3,900	70.00	273,000	
	Consolidation grouting	si)	3,400	90.00	306,000	
	Others (20%)	L.S.			4,228,430	
	Subtotal					25,370,5
0	DESANDING BASIN				4	
	Excavation,tunnet	m3	800,700	55.00	44,038,500	
	Concrete, tennel	m3	192,900	160.00	30,864,000	
	Reinforcement bars	ton	1,930	1,500.00	2,895,000	
	Others (20%)	L.S.			15,559,500	
	Subtotal					93,357,0
60	WATERWAY					
1	INTAKE					
	•					
	Excavation	m3	5,300	3,50	18,550	
	Excavation common Excavation weathered rock	m3	5,300	6.00	31,800	
	Excavation, hard rock	m3	7,100	10.00	71,000	
	Concrete, open structure	m3	7,900	140.00	1,106,000	
	Reinforcument	ton	240	1,500.00	360,000	
	Others (20%)	L.S.	•		317,470	
	Subtotal					1,904,8
52	HEADRACE TUNNEL					
	Excavation,tunnel	m3	1,340,200	55.00	73,711,000	
	Concrete, tunnel	m3	399,400	160.00	63,904,000	
	Reinforcement	ton	4,000	1,500.00	6,000,000	
	Consolidation grout	m	57,100	90.00	5,139,000	
	Curtain grout	m	700	70.00	49,000	
	Backfill grout	m³	5,000	200.00	1,000,000 29,960,600	
	Others (20%)	L.S.			27,700,000	
	Subtotal					179,763,6
3	SURGE TANK					
	Excavation, shaft	m3	111,900	55.00	6,154,500	
-	Concrete, shaft	m3	32,400	160.00	5,184,000	
	Reinforcement Consolidation grout	ton m	980 1,200	1,500.00 90.00	1,470,000 108,000	
	Others (20%)	m L.S.	1,400	50.00	2,583,300	
	Subtotal			*		15,499,8

4	PENSTOCK	**	•			•
	Excavation Excavation, common	m3	37,600	3.50	131,600	
	Excavation, weathered rock	m3	37,600	6.00	225,600	
	Excavation, hard rock	m3	50,100	10.00	501,000	
	Excavation tunnel	m3	18,300	55.00	1,006,500	
	Concrete, open structure	m3	1,500	140.00	210,000	
	Concrete,tunnel	m3	5,800	160.00	896,000	
	Reinforcement	ton	220	1,500.00	330,000	
	Curtain grout Backfill grout	स्य m3	700 100	70,00 200.00	49,000 20,000	
	Others (20%)	L.S.	100	200.00	673,940	
	•					4,043,6
	Subtotal					* *,U*J.C
.		•				4,043,0
ì	OPEN POWERHOUSE					· •,093,0
0		m3	55,200	3.50	193,200	***************************************

	Excavation weathered rock	m3	55,200	6.00	331,200	
	Excavation leard rock	m3	73,600	10.00	736,000	
	Concrete, substructure	กเรี	52,600	250.00	13,150,000	
	Concrete, second stage	Etn.	13,200	140.00 1,500.00	1,848,000	
	Reinforcement	ton .	3,450	1,300.00	5,175,000	
	Others (20%)	L.S.			4,286,680	
	Subtotal					25,720,080
2.70	TAILRACE					
	Bxcavation					
	Excavation, common	m3	20,000	3,50	70,000	
	Excavation, weathered rock	mĴ	20,000	6.00	120,000	
	Excavation hard rock	m3	30,000	10.00	300,000	
	Concrete, structure	m3	8,500	140.00	910,000	•
	Reinforcement	lon	200	1,500.00	300,000	
	Cihers (20%)	L.S.	200	1,500.00	340,000	
	Subtotal					2,040,000
÷						
2.80	ARCHITECTURAL BUILDINGS	m2	7,000	1,100.00	7,700,000	7,700,000
2.90	ACCESS ROAD			:		
	New construction	m ·	41	600,000.00	24,600,000	
	Upgraded	m	79	50,000.00	3,950,000	
	Opgraceu	ш	(9	30,000.00	3,930,000	
	Subtotal					28,550,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	12,100	5,000.00	60,500,000	
	Gates	ton	1,100	7,000.00	7,700,000	
	Gres	wii	1,100	7,000.00	1,100,000	
	Subtotal					68,200,000
4.00	GENERATING EQUIPMENT					•
						- '
	Turbines	2003	5,000	18,700.00	37,400,000	
	Generators	ton	2,600	20,400.00	53,040,000	
	Transformers	MVA	459	2,600.00	1,193,400	
	Subtotal					91,633,400
	Sugoral					71,053,400
5.00	TRANSMISSION LINES AND	km	15	46,000.00	690,000	690,000
	SUBSTATIONS					
	Total of Direct Cost	÷				579,242,872
6.00	LAND AQUISITION AND COMPENSATION	LS			0	5,792,429
7,00	ADMINISTRATION EXPENSES	LS			0	5,792,429
8.00	ENGINEERING SERVICES	LS			0	40,547,001
9.00		LS			0	57,924,287
y.00	PHYSICAL CONTINGENCY			* 2		31,727,601
	GRAND TOTAL				689,299,018	689,299,018

ltem No.	Work Item	Unit Quantity Unit price Amount F.C.(US\$) F.C.(US\$)						
.00	PREPARATORY WORKS	L.S.				25,613,92		
	(10 % of Civil Works)							
00	CIVIL WORKS							
10	INTAKE DAM							
	Open Excavation							
	Open excavation, common	m3	25,100	3.50	87,850			
	Open excavation, weathered rock	m3	25,100	6.00	150,600			
	Open excavation hard rock	m3	33,400	10.00	334,000			
	Concrete Mass concrete	m3	41,500	90.00	3,735,000			
	Reinforced concrete	m3	81,200	140.00	11,368,000			
	Reinforcement bar	ton	2,450	1,500.00	3,675,000			
	Curtain grouting	m	3,600	70.00	252,000			
	Consolidation grouting	m	3,300	90.00	297,000			
	Others (20%)	1.8.			3,979,890			
	Subtotal					23,879,34		
40	DESANDING BASIN							
	Evacuation burnel	m3	533,800	55.00	29,359,000			
	Excavation tunnel Concrete, tunnel	m3	128,60D	160.00	20,576,000			
	Reinforcement bars	ion	1,300	1,500.00	1,950,000			
	Others (20%)	L.S.		-	10,377,000			
	Subtotal					62,262,00		
.50	WATERWAY							
51	INTAKE							
	P							
	Excavation	m3	4,200	3.50	14,700			
	Excavation,common Excavation,weathered rock	m3	4,200	6.00	25,200			
	Excavation, hard rock	m3	5,800	10.00	56,000			
	Concrete open structure	m3	6,300	140.00	882,000			
	Reinforcement	ton	190	1,500.00	285,000			
	Others (20%)	L.S.			252,580			
	Subtotal					1,515,48		
.52	HEADRACE TUNNEL							
	Excavation,tunnel	m3	1,004,600	55.00	55,253,000			
	Concrete, tunnel	m3	302,900	160.00	48,464,000			
	Reinforcement	ton	3,100	1,500.00	4,650,000	•		
	Consolidation grout	m	49,300	90.00	4,437,000			
	Curtain grout	m	600	70.00	42,000			
	Backfill grout	m3	4,200	200.00	840,000			
	Others (20%)	L.S.			22,737,200			
	Subtotal			ě		136,423,20		
53	SURGE TANK							
	Excavation, shaft	m3	74,600	55.00	4,103,000			
	Concrete, shaft	m3	21,600	160.00	3,456,000			
	Reinforcement	ton	650	1,500.00	975,000			
	Consolidation grout	m	1,000	90.00	90,000			
	Others (20%)	L.S.		•	1,724,800			
	Subtotal					10,348,8		
54	PENSTOCK							
	Excavation		20 100	2.60	105,350			
	Excavation, common	តា3 m3	30,100 30,100	3.50 6.00	180,600			
	Excavation, weathered rock Excavation, hard rock	m3	40,100	10.00	401,000			
	Excavation turnel	m3	12,800	55.00	704,000			
	Concrete, open structure	m3	1,200	140.00	168,000	1		
	Concrete,turnel	m3	4,000	160.00	640,000			
	Reinforcement	ton	160	1,500.00	240,000			
	Cutain grout	m	600	70.00	42,000			
	Backfill grout	ம3	80	200.00	16,000			
	Others (20%)	L.S.	•		499,390			
	Subtotal					2,996,3		
0	OPEN POWERHOUSE							
	Excavation							
	Excavation, common	m3	38,800	3.50	128,800			
	·	0.0						

	Excavation, weathered rock	m3	36,800	6.00	220,800		
	Excavation, hard rock	m3	49,100	10.00	491,000		
	Concrete, substructure	m3	35,100	250.00	8,775,000		
	Concrete, second stage	m3	8,800	140.00	1,232,000		
	Reinforcement	ton	2,300	1,500.00	3,450,000		
	Others (20%)	L.S.			2,859,520		
	Subtotal					17,157,120	
						17,127,120	•
2.70	TAILRACE						
	Excavation		46 500	4.50	54.500		
	Excavation, common Excavation, weathered sock	m3 3	15,000	3.50 6.00	52,500 90,000		
	Excavation, hard rock	m3 m3	15,000 23,000	10.00	230,000		
	Concrete, structure	m3	5,000	140.00	700,000		
	Reinforcentent	ton	150	1,500.00	225,000	-	
	Others (20%)	L.S.	100	1,500100	259,500		1. 1. 1. 1.
	Subtota!					1,557,000	
		_					•
2.80	ARCHITECTURAL BUILDINGS	m2	6,000	1,100.00	6,600,000	6,600,000	
2.90	ACCESS ROAD						
2.70	Addition (ONE)						
	New construction	m	41	600,000.00	24,600,000		
	Upgraded	m	79	50,000.00	3,950,000		
	Subtotal					28,550,000	
3.00	METAL WORKS	:					
	•						
	Penstock steel pipes	ton	8,500	5,000.00	42,500,000		
	Gates	ton	730	7,000.00	5,110,000		
	Subtotal					47,610,000	
4,00	GENERATING EQUIPMENT						
	•				*	·	
	Turbines	ton	1,400	18,700.00	26,180,000		
	Generators	ton	2,000	20,400.00	40,800,000		
	Transformers	MVA	305	00,000,8	915,000		
	Subtotal					67,895,000	
	Signori				* .	07,893,000	
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	15	46,000.00	690,000	690,000	
	SUBSTATIONS					*	
	Total of Direct Cost					433,098,208	
6.00	LAND AQUISITION AND COMPENSATION	LS			0	4,330,982	
0.00	ENTE ROOM TON MED COMPENSATION	2.5				1,330,702	
7.00	ADMINISTRATION EXPENSES	LS			0	4,330,982	
8.00	ENGINEERING SERVICES	LS			0	30,316,875	
	•						1
9.00	PHYSICAL CONTINGENCY	LS			0	43,309,821	
	GRAND TOTAL			-	515,386,868	515,386,868	

Item No.	Work Item	Unit	Quantity	Unit price F.C.(USS)	Amount F.C.(US\$)	
1.00	PREPARATORY WORKS (10 % of Civil Works)	L.\$.				19,391,83
2.00	CIVIL WORKS		•			
2.10	INTAKE DAM					
	Open Excavation				•	
	Open excavation, common	m3	22,500			
	Open excavation weathered rock	m3	22,500			
	Open excavation hard rock	m3	30,000	10.00	300,000	
	Concrete Mass concrete	m3	38,500	90.00	3,465,000	
	Reinforced concrete	m3	77,000			
	Reinforcement bar	ion	2,300			
	Curtain grouting	m	3,400			
	Consolidation grouting Others (20%)	m L.S.	3,300	90.00	297,000 3,748,750	
	Subtotal					22,492,50
.40	DESANDING BASIN				1	
	Excavation,tunnel	m3	400,500	55.00	22,027,500	
	Concrete, hmnel	m3	97,500			
	Reinforcement bars Others (20%)	ton L.S.	970	1,500.00	1,455,000 7,816,500	•
	Subtotal					46,899,00
.50	WATERWAY				•	
.51	INTAKE					
	Excevation					
	Excavation common	m3	3,500	3.50	12,250	
	Excavation weathered rock	m3	3,500			
	Excavation, hard rock	m3	4,700			
	Concrete,open structure	m3	5,300			
	Reinforcement	ton L.S.	160	1,500.00	240,000 212,450	
	Others (20%)	L.S.			212,430	•
	Subtotal					1,274,70
.52	HEADRACE TUNNEL					
	Excavation tunnel	m3	717,200			
	Concrete, tunnel	m3	219,600			
	Reinforcement	ton m	2,200 41,500	-		
	Consolidation grout Curtain grout	171	500			
	Backfill grout	m3	3,500			
	Others (20%)	L.S.			16,470,400	
	Subtotal					98,822,40
.53	SURGE TANK					
	Excavation, shaft	m3	58,000			
	Concrete, shaft	m3	16,200			
	Reinforcement Consolidation grout	ton m	500 850			
	Others (20%)	L.S.		72.00	1,299,700	
	Subtotal					7,798,20
.54	PENSTOCK					
	Excavation					
	Excavation, common	m3 1	27,100			
	Excavation, weathered rock Excavation, hard rock	m3 тъ3	27,100 36,100			
	Excavation,tornel	m3	9,700	4.5		
	Concrete open structure	m3	1,000			
	Concrete,turnel	m3	3,100			
	Reinforcement	ton	120			
	Curtain grout	m 3	500			
	Backfill grout Others (20%)	m3 L.S.	70	200.00	14,000 403,390	
	Subtotal					2,420,34
60	OPEN POWERHOUSE					
	Bacavation				* .	
	Excavation, common	m3	27,600	3.50	96,600	

	Excavation, weathered rock	m3 .	27,600	6.00	165,600	
	Excavation, hard rock	m3	38,800	10.00	368,000	
	Concrete, substructure	m3	26,300	250.00	6,575,000	
	Concrete, second stage	m3	8,800	140.00	924,000	
	Reinforcement	เดก	1,700	1,500.00	2,550,000	
	Others (20%)	L.S.	1,100	1,500,00	2,135,840	
	Orieis (20%)	£.3.			4133,010	
	Subtotal				•	12,815,040
2.70	TAILRACE					
	Bxcaystion	_	40.000			
	Excavation, common	m3	13,000	3.50	45,500	
	Excavation, weathered rock	m3	13,000	6.00	78,000	
	Excavation, hard rock	m3	20,000	10.00	200,000	
	Concrete, structure	ın3	4,500	140.00	630,000	
	Reinforcement	tou	140	1,500.00	210,000	
	Others (20%)	L.S.			232,700	
	Subtotal					1,396,200
	•					
2.80	ARCHITECTURAL BUILDINGS	m2	5,500	1,100.00	6,050,000	6,050,000
200	A CATEGO DO A D					
2.90	ACCESS ROAD					
	New construction	TS3	41	600,000.00	24,600,000	
	Upgraded	ro	79	50,000.00	3,950,000	
	•-				•	
	Subtolal					28,550,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	8,500	5,000.00	32,500,000	
	Gates	ton	550	7,000.00	3,850,000	
	O ALCS	ton.	000	7,000.00	2,030,000	
	Subtota]					36,350,000
	Growing				•	20,230,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	1,100	18,700.00	20,570,000	
	Generators	ton	1,650	20,400.00	33,660,000	
	Transformers	MVA	229	3,300.00	755,700	
	Subtotal					54,985,700
						·
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	15	46,000.00	690,000	690,000
	SUBSTATIONS	• '				
	Total of Direct Cost					339,935,918
6.00	LAND AQUISITION AND COMPENSATION	LS			0	3,399,359
7.00	ADMINISTRATION EXPENSES	LS			0	3,399,359
8.00	ENGINEERING SERVICES	LS			0	23,795,514
	and the second s					
9.00	PHYSICAL CONTINGENCY	LS			0	33,993,592
	GRAND TOTAL				404,523,742	404,523,742

Item No.	Work Item	Unit			mount .C.(US\$)	
1.00	BDEDAD ATODY WORKS	L.S.	•			10.001.5
1.00	PREPARATORY WORKS (10 % of Civil Works)	Lob				10,901,5
2.00	CIVIL WORKS		•			
2.10	INTAKE DAM					
	Open Excavation					
	Open excavation, common	m3	23,600	3.50	82,600	
	Open excavation, weathered rock	m3	23,600	6.00	141,600	
	Open excavation, hard rock	m3	31,400	10.00	314,000	
	Concrete					
	Mass concrete	m3	39,500	90.00	3,555,000	
	Reinforced concrete	m3	80,500	140.00 1,500.00	11,270,000	
	Reinforcement bar Curtain grouting	ton m	2,450 3,900	70.00	3,675,000 273,000	
	Consolidation grouling	m	3,100	90.00	279,000	
- 1	Others (20%)	L.S.	·		3,918,640	
	Subtotal					23,508,2
2.40	DESANDING BASIN					
2		_	222.222	~ ~ ~ ~		
	Excavation,tunnel	m3 m3	366,300 88,300	55,00 160.00	20,146,500 14,128,000	
	Concrete, tunnel Reinforcement bars	ton	890 890	1,500.00	1,335,000	
	Others (20%)	L.S.	090	1,500.00	7,121,900	
	Subtotal					42,731,4
2.50	WATERWAY					
2.51	INTAKE					
	Excavation					
	Excavation common	m3	3,400	3.50	11,900	
	Excavation, weathered rock	m3	3,400	6.00	20,400	
	Excavation,hard rock	m3	4,500	10.00	45,000	
	Concrete, open structure	m3	4,500 150	140.00 1,500.00	630,000 225,000	
	Reinforcement Others (20%)	ton L.S.	100	1,500.00	186,460	
	Subtotal					1,118,7
2.52	HEADRACE TUNNEL					
	Excavation, numbel	m3	198,000	55.00	10,890,000	
	Concrete, tunne)	m3	61,000	160.00	9.760,000	
	Reinforcement	ton	610	1,500.00	915,000	
	Consolidation grout	m	12,200	90.00	1,098,000	•
	Curtain grout	m	480	70.00	33,600	
	Backfill grout	m3	780	200.00	156,000	
	Others (20%)	L.S.			4,570,520	•
	Subtotal					27,423,1
2.53	SURGE TANK					
	Excavation, shaft	m3	38,300	55.00	2,106,500	
	Concrete, shaft	m3	11,100	160.00	1,776,000	
	Reinforcement	ton	340	1,500.00	510,000	
	Consolidation grout	m	500	90.00	45,000	
	Others (20%)	L.S.			887,500	
	Subrotal			1		5,325,0
2.54	PENSTOCK				•	
	Excavation	_		2	00.000	
	Excavation common	m3 m3	6,300 6,300	3.50 6.00	22,050 37,800	
	Excavation, weathered rock Excavation hard rock	m3 m3	6,300 8,400	6.00 10.00	37,800 84,000	
	Excavation tunnel	ബ സ്	4,900	55.00	269,500	
	Concrete,open structure	m3	400	140.00	56,000	
	Concrete,tunnel	m3	1,800	160.00	256,000	
	Reinforcement	ton	60	1,500.00	90,000	
	Curtain grout	m	480	70.00	33,600	
	Backfill grout	m3	25	200.00	5,000 170,790	
	Others (20%)	L.S.			110/130	
	Subtotal					1,024,7
2.60	OPEN POWERHOUSE					
	Excavation					
	Excavation common	m3	14,700	3.50	51,450	

		Excavation, weathered rock	m3		14,700	6.00	88,200		
		Excavation, hard rock	m3		19,600	10.00	196,000		
		Concrete, substructure	'm3		14,000	250.00	3,500,000		
		Concrete, second stage	m3		3,500	140.00	490,000		
		Reinforcement	ton		910	1,500.00	1,365,000	•	
		Others (20%)	1\$.				1,138,130		
	·	Subtotal						6,828,780	
•	2.70	TAILRACE							
	2	TAILARCS			•				
		Excavation				•			
		Bacavation,common	m3		9,000	3.50	31,500		
		Excavation, weathered rock	m3		9,000	6.00	54,000		
		Excavation, hard rock	m3	*	12,500	10.00	125,000		
		Concrete, structure	m3		3,600	140.00	504,000		
		Reinforcement	ton		110	1,500.00	165,000		
		Others (20%)	L.S.				175,900		
		Subtotal						1,055,400	
								1,035,100	
	2.80	ARCHITECTURAL BUILDINGS	m2		5,000	1,100.00	5,500,000	5,500,000	
	2.00	•			0,000	3,3-2-7-		-,,,	
	2.90	ACCESS ROAD							
		New construction	m		167	600,000.00	100,200,000		
		Upgraded	nt .		79	50,000.00	3,950,000		
		Subtotal						104,150,000	
	2.00							-	
	3.00	METAL WORKS							
		Penstock steel pipes	ton		1,350	5,000.00	6,750,000		
		Gates	ton		497	7,000.00	3,479,000		
·									
		Subtotal						10,229,000	
	4.00	OF AND A TIMO FOLLOWING TO THE							1
	4.00	GENERATING EQUIPMENT							
		Turbines	ton		730	18,700.00	13,651,000		
		Generators	ton	4.5	910	20,400.00	18,564,000		
		Transformers	MVA		93	4,100.00	381,300		
		Subtotal						32,596,300	
		•							
	5.00	TRANSMISSION LINES AND SUBSTATIONS	km		154	46,000.00	7,084,000	7,084,000	
	·	Total of Direct Cost						279,476,284	
		Total of Different						219,910,284	
	6.00	LAND AQUISITION AND COMPENSATION	LS				0	2,794,763	
	7.00	ADMINISTRATION EXPENSES	LS				0	2,794,763	
	8.00	ENGINEERING SERVICES	LS				. 0	19,563,340	
	9.00	PHYSICAL CONTINGENCY	LS				. 0	27,947,628	
	,		ιφ					£1,741,928	
		GRAND TOTAL					332,576,778	332,576,778	

tem No.	Work Item	Unit			mount C.(US\$)	
	•					
1.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				7,939,08
:.00	CIVIL WORKS					
10	INTAKE DAM					
	Open Excavation Open excavation common	m3	21 200	3.50	74,550	
	Open excavation, weathered rock	m3	21,300 21,300	6.00	127,800	
	Open excavation, hard rock	m3	28,400	10.00	281,000	
	Concrete					
	Mass concrete	m3	36,700	90.00	3,303,000	
	Reinforced concrete	m3	75,900	140.00	10,626,000	
	Reinforcement bar Custain grouting	ton m	2,300 3,600	1,500.00 70.00	3,450,000 252,000	
	Consolidation grouting	m	3,000	90.00	270,000	
	Others (20%)	L.S.			3,677,470	
	Subtotal					22,064,82
4 0	DESANDING BASIN					
	Excavation,tunnel	m3	244,100	55.00	13,425,500	
	Concrete, namel	m3	58,800	160.00	9,408,000	
	Reinforcement bars	ton L.S.	590	1,500.00	885,000 4,743,700	
	Others (20%)	L.O.			4,143,100	
	Subtotal					28,462,20
50	WATERWAY					
51	INTAKE					•
	Excavation					
	Excavation common	m3	2,600	3.50	9,100	
	Excavation, weathered rock Excavation, hard rock	m3 m3	2,600 3,500	6.00 10.00	15,600 35,000	
	Concrete, open structure	m3	4,000	140.00	560,000	
	Reinforcement	ton	120	1,500.00	180,000	
	Others (20%)	L.S.			159,940	
	Subtotal					959,64
52	HEADRACE TUNNEL					
	Excavation,turnel	m3	128,200	55.00	7,051,000	:
	Concrete, tunnel	m3	40,500	160.00	6,480,000	
	Reinforcement	ton	410	1,500.00	615,000	
	Consolidation grout	m	9,800	90.00	882,000	
	Curtain grout	m	400	70.00	28,000	
	Backfill grout	m3	620	200.00	124,000	
	Others (20%)	L.S.			3,036,000	
	Subtotal					18,216,00
53	SURGE TANK					
	Excavation, shaft	m3	25,600	55.00	1,408,000	
	Concrete, shaft	m3	7,400	160.00	1,184,000	
	Reinforcement	ton	230	1,500.00 90.00	345,000 36,000	
	Consolidation grout Others (20%)	m L.S.	460	90.00	36,000 594,600	
	Subtoral					3,567,60
.54	PENSTOCK					
	Excavation					
	Excavation, common	m3	5,000	3.50	17,500	
	Excavation, weathered rock	m3	5,000	6.00	30,000	
	Excavation, hard rock	m3	8,800	10.00	68,000	
	Excavation,tunnel	m3 m3	3,000 300	55.00 140.00	165,000 42,000	
	Concrete, open structure Concrete, tunnel	m3	940	160.00	150,400	
	Reinforcement	ton	40	1,500.00	60,000	
	Curtain grout	m	400	70.00	28,000	
	Backfill grout	m3	20	200.00	4,000	
	Others (20%)	L.S.			112,980	
	Subtotal					677,88
60	OPEN POWERHOUSE					
	Excavation	m ²	9,800	3.50	34,300	
	Excavation,common	m3	9,000	5.30	34,3UU	

		Excavation, weathered rock	m3 ·	9,800	6.00	58,800		
	100	Excavation, hard rock	m3	13,000	10.00	130,000		
		Concrete, substructure	m3	9,300	250.00	2,325,000		
		Concrete, second stage	m3	2,400	140.00	336,000		
		Reinforcement	ton	810	1,500.00	915,000		
		Others (20%)	L.S.			759,820		
		Subtotal				-	4,558,920	
	2.70	TAILRACB			•			
		Excavation						
•	100	Excavation, common	m3	7,000	3.50	24,500		
		Excavation, weathered rock	സീ	7,000	6.00	42,000		
		Excavation, hard rock	m3	10,000	10.00	100,000		
		Concrete, structure	m3	3,000	140.00	420,000		
		Reinforcement	ton	100	1,500.00	150,000		
		Others (20%)	L.S.			147,300		
		Subtotal		•			883,800	
			•					
	2.80	ARCHITECTURAL BUILDINGS	m2	4,000	1,100.00	4,400,000	4,400,000	
	2.90	ACCESS ROAD						
		New construction	m,	187	600,000.00	100,200,000		•
*		Upgraded	m	79	50,000.00	3,950,000		
		Subtotal					104,150,000	
	3.00	METAL WORKS			•			
_		Provide and along	•	950	£ 000.00	4.760.000		
		Penstock steel pipes Gates	ton ton	330	5,000.00 7,000.00	4,750,000 2,310,000		
•					•			**
		Subtotal					7,060,000	
	4.00	GENERATING EQUIPMENT					•	
		Turbines	ton	520	18,700.00	9,724,000		
		Generators	ton	700	20,400.00	14,280,000		
		Transformers	MVA	62	4,500.00	279,000		
		Subsoral					24,283,000	
	5.00	TRANSMISSION LINES AND	km	154	46,000.00	7,084,000	7,084,000	
	0.00	SUBSTATIONS			,			
		Total of Direct Cost					234,306,946	
	6.00	LAND AQUISITION AND COMPENSATION	LS			0	2,343,069	
	7.00	ADMINISTRATION EXPENSES	LS		-	0	2,343,069	
	8.00	ENGINEERING SERVICES	เร			0	16,401,486	
	9.00	PHYSICAL CONTINGENCY	LS			. 0	23,430,695	
		GRAND TOTAL		- •		278,825,266	278,825,266	
		A14 11 1 - 1 - 1						

ltem No.	Work Item	Unit			\mount \.C.(US \$)	
1.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				6,662,15
.00	CIVIL WORKS				4	
		•			-	
.10	INTAKE DAM					
	Open Excavation	2	24 200	3.50	74,550	
	Open excavation, common Open excavation, weathered rock	m3 m3	21,300 21,300	6.00	127,800	
	Open excavation, hard rock	m3	28,400	10.00	284,000	
	Concrete				•	
	Mass concrete	m3	34,100	90.00	3,069,000	
	Reinforced concrete	m3	71,600	140.00	10,024,000	
	Reinforcement bar	ton m	2,150 3,400	1,500.00 70.00	3,225,000 238,000	
	Curtain grouting Consolidation grouting	m.	3,000	90.00	270,000	
	Others (20%)	L.S.	*****		3,462,470	
	Subtotal	•		-		20,774,8
10	DESANDING BASIN					
	•	_	400.000	*****	10.00 € 000	
	Excavation,tunnel Concrete, tunnel	m3 m3	183,000 44,100	55.00 160.00	10,065,000 7,056,000	
	Concrete, tunnet Reinforcement bars	ton	440	1,500.00	660,000	
	Others (20%)	L.S.			3,556,200	
	Subtotal					21,337,2
50	WATERWAY		•			
51	INTAKE				1.414	
	Excavation Excavation, common	m3	2,300	3.50	8,050	
	Excavation, weathered rock	m3	2,300	6.00	13,800	
	Excavation, hard rock	m3	3,000	10.00	30,000	
	Concrete, open structure	m3	3,400	140.00	476,000	
	Reinforcement Others (20%)	ton L.S.	100	1,500.00	150,000 135,570	
	Subtotal					813,4
					٠.	015,1
52	HEADRACE TUNNEL					
	Excavation, tunnel	m3	108,390	55.00	5,956,500	
	Concrete, tunnel	m3	34,600	160.00	5,536,000 525,000	
	Reinforcement	n ton	350 9,000	1,500.00 90.00	810,000	
	Consolidation grout Curtain grout	m	350	70.00	24,500	
	Backfill grout	m3	560	200.00	112,000	•
	Others (20%)	L.S.			2,592,800	
	Subtotal			•		15,556,8
i3	SURGE TANK					
	Eion sheft	- m3	20,000	55.00	1,100,000	
	Excavation, shaft Concrete, shaft	m3	5,600	160.00	896,000	
	Reinforcement	ton	170	1,500.00	255,000	
	Consolidation grout	m	350	90.00	31,500	
	Others (20%)	L.S.			456,500	
	Subtotal				100	2,739,
i4	PENSTOCK					
	Excavation	2	4,500	3.50	15,750	
	Excavation, common Excavation, weathered rock	ரை3 ரா3	4,500	6.00	27,000	
	Excavation hard rock	m3	61,200	10.00	612,000	
	Excavation, tunnel	m3	2,400	55.00	132,000	
	Concrete, open structure	m3	260	140.00	36,400	
	Concrete,tunnel	m3	780 25	160.00	124,800 52,500	
	Reinforcement	lon	35 350	1,500.00 70.00	52,500 24,500	
	Curtain grout Backfill grout	m m3	15	200.00	3,000	
	Others (20%)	L.S.		230,00	205,590	
	Subtotal					1,233,
0	OPEN POWERHOUSE					
-						
	Excavation, common	an3	7,400	3.50	25,900	
	Parties and the state of the st		11.0-		•	

	Excavation, weathered rock	m3	7,400	6.00	44,400	
	Excavation, hard rock	m3	9,800	10.00	98,000	
	Concrete, substructure	m3	7,000	250.00	1,750,000	
	Concrete, second stage	m3	1,700	140.00	238,000	
	Reinforcement	ton	460	1,500.00	690,000	
	Others (20%)	L.S.	400	1,500.00	569,260	:
	Ga(64 (2010)	EMS.			207,200	
	Subtotal					3,415,560
2.70	TAILRACE					
	Excavation					
	Excavation common	m3	6,000	3.50	21,000	
	Excavation, weathered rock	m3	6,000	6.00	36,000	
	Excavation hard rock	m3	8,500	10.00	85,000	
	Concrete, structure	m3	2,800	140.00	364,000	
	Reinforcement				120,000	
		lon	80	1,500.00	125,200	
	Others (20%)	L.S.			125,200	
	Subtotal					751,200
2.80	ARCHITECTURAL BUILDINGS	m2	3,500	1,100.00	3,850,000	3,850,000
2.90	ACCESS ROAD					
	New construction		167	600,000.00	100,200,000	
	· · · · · · · · · · · · · · · · · · ·	m.	79	50,000.00	3,950,000	
	Upgraded	m	13	30,000.00	3,930,000	
	Subtotal					104,150,000
			: '			
3.00	METAL WORKS			•		
	Penstock steel pipes	ton	780	5,000.00	3,800,000	
	Gates	ton	250	7,000.00	1,750,000	
	Gates	toni	200	7,000.00	1,730,000	
	Subtotal					5,550,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton.	410	18,700.00	7,667,000	
			. 590	-		
	Generators	ton MVA		20,400.00	12,036,000	* 4
	Transformers	MVA	46	4,800.00	220,800	
	Subtotal					19,923,800
				•		
						·
5.00	TRANSMISSION LINES AND SUBSTATIONS	km	154	46,000.00	7,084,000	7,084,000
	Total of Direct Cost					213,841,494
					-	
6.00	LAND AQUISITION AND COMPENSATION	ıs		:	0	2,138,415
7.00	ADMINISTRATION EXPENSES	LS			0	2,138,415
8.00	ENGINEERING SERVICES	LS			0	14,958,905
	4					71 704 140
9.00	PHYSICAL CONTINGENCY	LS		•	0	21,384,149
	GRAND TOTAL				254,471,378	254,471,378

Item No.	Work Item	Unit			Draft Rate 0.3	3)
					C.(US\$)	
1.00	BBEALD & TODY Was ve	L.S.				15 512 746
1.00	PREPARATORY WORKS (10 % of Civil Works)	L3,				15,512,744
2.00	CIVII, WORKS					
	DIVERSION TUNNEL					
2.10					4	1
	Open Excavation of Inlet & Outlet Open excavation.common	m3	3,000	3.50	10,500	
	Open excavation, weathered rock Open excavation, hard rock	m3 m3	3,000 6,000	6.00 10.00	18,000 60,000	
	Concrete of Inlet & Outlet Tunnel Excavation	m3 m3	2,000 48,000	140.00 55.00	280,000 2,640,000	
	Tunnel Concrete	កា3	16,000	160.00	2,560,000	
	Reinforcement bar Plug Concrete	m3 m3	350 2,300	1,500.00 160.00	525,000 368,000	
	Others (20%)	L.S.			1,292,300	
	Subtotal					7,753,800
2.20	COFFER DAM		·			
	Excavation					•
	Excavation, common Embankment	m3	150,000	3.50	525,000	
-	Embankment,core Embankment,filter	m3	350,000	5.00	1,750,000	
	Embankment, rock	m3 m3	70,000 1,930,000	10.00 6.00	700,000 11,580,000	
	Others (20%)	L.S.			2,911,000	
	Subtotal					17,466,000
2.30	MAIN DAM					
	Excavation		154 000	2 50	£47.000	
	Excavation, common Excavation, weathered rock	ന3 ബ3	156,000 66,000	3.50 6.00	546,000 396,000	
	Excavation hard Embankment	. m3	472,000	10.00	4,720,000	
	Embankment,core Embankment,filter	Em Em	1,210,000 280,000	5.00 10.00	6,050,000 2,800,000	
	Embankment, rock	т3	4,216,000	6.00	25,296,000	
	Curtain Grouting Consolidation Grouting	in m	90,000 36,000	70.00 90.00	6,300,000 3,240,000	
	Others (10%)	L-S.			4,934,800	-
	Subtotal					54,282,800
2.40	SPILLWAY					
	Excavation			÷		
	Excavation,common Excavation, weathered rock	: m3 :m3	620,000 880,000	3.50 6.00	2,170,000 5,280,000	
	Excavation hard rock	m3 m3	1,153,000 85,000	10.00 140.00	11,530,000	
	Concrete Reinforcement bars	tom	2,700	1,500.00	4,050,000	
	Others (20%)	L.S.			6,986,000	
	Subtotal					41,916,000
2.50	WATERWAY					
2.51	INTAKE					
2.31	H. I. M.E.					
	Excavation Excavation common	m3	5,300	3.50	18,550	
	Excavation, weathered took	m3	5,300	6.00	31,800	
	Excavation, hard tock Concrete, open structure	m3 m3	7,100 7,900	10.00 140.00	71,000 1,106,000	
	Reinforcement	ton	240	1,500.00	360,000	
	Others (20%)	L. S .			317,470	
	Subtotal					1,904,820
2.52	HEADRACE TUNNEL					
2.32	ilenovice former					
	Excavation,tunnel Concrete, tunnel	ற3 183	135,400 40,460	55.00 160.03	7,447,000 6,464,000	
	Reinforcement	tort	410	1,500.00	615,000	
	Consolidation grout	1U	5,200	90.00 70.00	468,000	
	Curlain grout Backfill grout	m m3	600 850	200.00	42,000 130,000	
	Others (20%)	L.S.			3,033,200	
	Subtotal					18,199,200
2 52						· ·
2.53	PENSTOCK					
	Excavation, tunnel	m3	43,600	55.00	2,398,000	
	Concrete, tunnel Reinforcement	m3 ton	9,300 190	160.00 1,500.00	1,488,000 285,000	
	Curtain grout	m	600	70.00	42,000	
	Backfill grout	m3	420	200.00	84,000	*

	Subtotal						5,156,400
2.60	OPEN POWERHOUSE						
	Parameter .	•					
	Excavation	_					
	Excavation, common	m3		31,300	3,50	109,550	
	Excavation, weathered rock	m3		31,300	6.00	187,800	
	Excavation,hard rock	m3 .		41,700	10.00	417,000	
	Concrete, substructure	m3		29,800	250.00	7,450,000	
	Concrete, second stage	m3		7,500	140.00	1,050,000	
	Reinforcement	ton		2,000	1,500.00	3,000,000	
	Others (20%)	L.S.				2,442,870	
	Subtotal						14,657,220
2.70	TAILRACE						
	Excavation						
	Excavation, common	m3		15,000	3.50	52,500	
	Excevation, weathered rock	m3		15,000	6.00	90,000	
	Excavation hard rock	m3		22,000	10.00	220,000	
	Concrete, structure	m3		5,000	140.00	700,000	
	Reinforcement	ton		150	1,500.00	225,000	
	Others (20%)	L.S.				257,500	
	Subtotal						1,545,000
	0000121						1,545,000
	the second second second second						
2.80	ARCHITECTURAL BUILDINGS	m2		7,000	1,100.00	7,700,000	7,700,000
2.90	ACCESS ROAD						
	New construction	m		- 55	600,000.00	33,000,000	
	Upgraded	m		79	50,000.00	3,950,000	
	Subtotal						36,950,000
	Sucotai						36,930,000
3.00	METAL WORKS						
	· ·						
	Penstock steel pipes	ton		4,900	5,000.00	24,500,000	*
	Gates	ton		1,100	7,000.00	7,790,000	
	Subtotal						32,200,000
	Succiai						32,200,000
4.00	GENERATING EQUIPMENT						
	Turbines	ton		1,400	18,700.00	26,180,000	
	Generators	ton		1,500	20,400.00	30,600,000	
	Transformers	MVA		195	3,400.00	663,000	
	118113101118015	MIN		190	3,400.00	803,000	
	Subtotal						57,443,000
5.00	TRANSMISSION LINES AND	km		41	46,000.00	1,886,000	1,886,000
3.05	SUBSTATIONS			• • •	10,000.00	,,000,000	1,000,000
					*		
	Total of Direct Cost						314,572,984
6.00	LAND AQUISITION AND COMPENSATION	LS				o	15,728,649
7.00	ADMINISTRATION EXPENSES	LS				0	3,145,730
			•				
8.00	ENGINEERING SERVICES	LS		٠		0.	22,020,109
9.00	PHYSICAL CONTINGENCY	LS				. 0	31,457,298
	ORANIA TOWAY					204 024 770	201 024 330
	GRAND TOTAL					386,924,770	386,924,770

liem No.	Work Item	Unit			nount C.(USS)	
00.	PREPARATORY WORKS (10 % of Civil Works)	1,.\$.		-		13,340,003
2.00	CIVII. WORKS					
2.10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet				0.100	
	Open excavation, common Open excavation, weathered rock	m3 m3	2,400 2,400	3.50 6.00	8,400 14,400	
	Open excavation, hard rock	m3	4,000	10.00	40,000	
	Concrete of Inlet & Outlet Tunnel Excavation	m3 m3	1,600 43,700	140.00 55.00	224,000 2,403,500	
	Tunnel Concrete	m3	13,800	160.00	2,208,000	
	Reinforcement bar Plug Concrete	m3 m3	300 2,300	1,500.00 160.00	450,000 368,000	
	Others (20%)	1S.			1,143,260	
	Subtotal					6,859,56
.20	COFFER DAM					
	Excavation	a	112 200	3.50	396,200	
	Excavation, common Embankment	m3	113,200		-	
	Embarkment, core	m3 m3	315,500 64,300	5.00 10.00	1,577,500 643,000	
	Emberkment, filter Emberkment, rock	m3	1,731,300	6.00	10,387,800	
	Others (20%)	18.			2,600,900	
	Subtotal					15,605,40
.30	MAIN DAM					
	Excavation Excavation, common	m3	143,000	3.50	500,500	
	Excavation, weathered rock	Em	57,600	6.00 10.00	345,600 4,198,000	
	Excavation,hard Embankment	m3	419,800	10.00	4,178,000	
	Embankment, tose Embankment, filter	m3 m3	1,113,400 256,000	5.00 10.00	5,567,000 2,560,000	
	Embankment,rock	m3	3,943,000	6.00	23 658 000	
	Curtain Grouting Consolidation Grouting	m.	80,000 30,000	70.00 90.00	5,600,000 2,700,000	
	Others (10%)	L.S.		74.00	4,512,910	
	Subtotal					49,642,01
,40	SPILLWAY					
	Excavation	7	E00.000	3.50	2,131,500	
	Excavation, common Excavation, weathered rock	m3 m3	609,000 839,900	6.00	5,039,400	
	Excavation hard rock	m3 m3	1,023,300 79,800	10.00 140,00	10,233,000 11,172,000	
	Concrete Reinforcement bars	tom	2,400	1,500.00	3,600,000	
	Others (20%)	L.S.			6,435,180	
	Subtotal					38,611,08
.50	WATERWAY					
.51	INTAKE					
	Excavation					
	Excavation,common	m3	4,200	3.50	14,700	
	Excavation, weathered rock Excavation, hard rock	m3 m3	4,200 5.500	6.00 10.00	25,200 55,000	
	Concrete open structure	m3	8,200	140.00	868,000	
	Reinforcement Others (20%)	ton L.S.	190	1,500.00	285,000 249,580	
		E.g.			. 247,500	
	Subtotal		•			1,497,48
.52	HEADRACE TUNNEL					
	Excavation tunnel	m3	91,250	55.00	5,018,750	
	Concrete, tunnel Reinforcement	m3 ton	27,760 670	160.00	4,432,000 1,005,000	
	Consolidation grout	m	4,700	90.00	423,000	•
	Curtain grout	n)	570	70.00	39,900	
	Backfili grovi Others (20%)	тоЗ L.S.	500	200.00	100,000 2,203,730	
	Subtotal					13,222,38
53	PENSTOCK					
	•	_2	24 506	55.00	1 70F poo	
	Excavation,tunnel Concrete,tunnel	m3 m3	31,000 7,700	55.00 160.00	1,705,000 1,232,000	
		ion	160	1,500.00	240,000	
	Reinforcement	1011		-1		
	Curtain grout Backfifl grout	m m3	570 350	70.00 200.00	39,900 70,000	

2.60 OPEN POWERHOUSE Excavation Excavation,common 21,000 73,500 m3 3.50 21,000 27,800 19,800 Excavation, weathered rock 6.00 126,000 10.00 250.00 278,000 4,950,000 693,000 Excavation hard rock m3 Concrete, substructure m3Concrete, second stage m3 4,950 140.00 Reinforcement 1,950,000 1,300 1,500.00 ton Others (20%) L.S. 1,614,100 Subtotal 9,684,600 2.70 TAILRACE Excavation Excavation common m3 12,000 3.50 42,000 Excavation, weathered rock m3 12,000 6.00 72,000 Excavation,hard rock m3 14,000 10.00 140,000 Concrete, structure m_3 4,000 140.00 560,000 Reinforcement ton L.S. 180,000 120 1,500.00 Others (20%) 198,800 Subtotal 1,192,800 ARCHITECTURAL BUILDINGS 2.80 m2 6,000 1,100.00 6,600,000 6,600,000 2.90 ACCESS ROAD New construction 55 600,000.00 33,000,000 m Upgraded 79 50,000.00 3,950,000 m 36,950,000 3.00 METAL WORKS 3,500 Penstock steel pipes 5,000.00 17,500,000 ton Gates lon 730 7,000.00 5,110,000 22,610,000 Subtotal 4.00 GENERATING EQUIPMENT Turbines ton 1,000 18,700.00 18,700,000 Generators 1,150 20,400.00 23,460,000 MVA Transformers 130 3,550.00 461,500 42,521,500 Subtotal TRANSMISSION LINES AND SUBSTATIONS 5.00 46,000.00 41 1,886,000 1,886,000 km Total of Direct Cost 264,267,093 6.00 LAND AQUISITION AND COMPENSATION LS 0 13,213,355 7.00 ADMINISTRATION EXPENSES 2,642,671 LS 0 8.00 ENGINEERING SERVICES LS 0 18,498,697

Subtotal

9.00

PHYSICAL CONTINGENCY

GRAND TOTAL

3,944,280

26,426,709

325,048,524

0

325,048,524

LS

Item No.	Work Item	Unit			nount C.(US\$)	
1.00	PREPARATORY WORKS	L.S.			٠	12,106,17
	(10 % of Civil Works)			•		
2.00	CIVIL WORKS					
2.10	DIVERSION TUNNEL					
	Open Excavation of Intel & Outlet	2	2 000	3.50	7.000	
	Open excavation, common Open excavation, weathered rock	m3 m3	2,000 2,000	5.00	7,000 12,000	
	Open excavation, hard rock	m3	3,500	10.00	35,000	
	Concrete of Inlet & Outlet Tunnel Excavation	m3 m3	1,460 42,000	140.00 55.00	196,000 2,310,000	
	Tunnel Concrete	m3	12,000	160.00	1,920,000	
•	Reinforcement bar	m3	260	1,500.00	390,000	
	Plus Concrete Others (20%)	m3 L.S.	2,300	160.00	368,000 1,047,600	
	Subtotat					6,285,60
2.20	COFFER DAM					
	Excavation Excavation, common	m3	105,000	3,50	367,500	
	Embankment	1113				
	Embantament, core	m3	278,000	5.00	1,390,000	
	Embankment, filter Embankment, rock	m3 m3	58,000 1,652,000	10,00 6,00	580,000 9,912,000	
	Others (20%)	L.S.			2,449,900	
	Subtotal					14,699,40
2.30	MAIN DAM					
	Excavation Excavation, common	m3	134,000	3.50	469,000	
	Excavation, weathered rock	m3	53,000	6.00	318,000	
	Excavation,hard Embankment	m3	396,000	10.00	3,960,000	
	Embankment, core	ro3	1,064,000	5.00	5,320,000	
	Embankment, filter Embankment, rock	m3 m3	230,000 3,744,000	10,00 6,00	2,300,000 22,464,000	
	Curtain Grouting	lu 2	72,000	70.00	5,040,000	
	Consolidation Grouting	m.	26,000	90,00	2,340,000	
	Others (10%)	L.S.			4,221,100	46 422 11
2.40	Subtotal SPRLWAY					46,432,10
2.90						
	Excavation Excavation.common	m3	550,000	3.50	1,925,000	
	Excavation, weathered rock	m3	780,000	6.00	4,680,000	
	Excavation,hard rock Concrete	m3 m3	985,000 77,000	10.00 140.00	9,850,000 10,780,000	
	Reinforcement bars Others (20%)	tom L.S.	2,200	1,500.00	3,300,000 6,107,000	
	Subtotal	2.5.			0 ,101,000	36,642,00
2.50	WATERWAY					u-,,
2.51	INTAKE		•			
.31						
	Excavation Excavation, common	់តា3	3,500	3.50	12,250	
	Excavation, weathered rock	m3	3,500	6.00	21,000	
	Excavation hard rock	m3	4,700	10.00	47,000	
	Concrete, open structure	m3	5,200	140.00	728,000	
	Reinforcement Others (20%)	ton L.S.	180	1,500.00	240,000 209,650	
	Subtotal					1,257,90
2.52	HEADRACE TUNNEL				•	
		m3	72,500	55.00	3,987,500	
	Excavation,tunnet Concrete, tunnel	m3	22,200	160.00	3,552,000	
	Reinforcement	ton	450	1,500.00	675,000	
	Consolidation grout	m	4,200	90.00	378,000	
	Curtain grout	m	500	70.00	35,000	
	Backfill grout Others (20%)	m3 L.S.	420	200.00	84,000 1,742,300	
	Subtotal				-	10,453,80
.53	PENSTOCK		•			
	•		B. 866		1 Bac 200	
	Excavation, tunnel	m3	24,000	\$5.00 140.00	1,320,000	
	Concrete,tunnel Reinforcement	m3 ton	6,700 140	160.00 1,500.00	1,072,000 210,000	
	Curtain grout	m	520	70.00	36,400	
	Backfill grout	m3	300	200.00	60,000	
	Others (20%)	L.S.			539,680	
		- 100 -				

	Questing.					-120011.00
2.60	OPEN POWERHOUSE					
		•				
	Excavation common		15 800	3.50	54,600	
	Excavation, weathered rock	m3 m3	15,800 15,800	6.00	93,600	
	Excavation, hard rock	m3	20,800	10.00	208,000	
	Concrete, substructure	สวิ	14,900	250.00	3,725,000	
	Concrete, second stage	m3	3,800	140.00	532,000	
	Reinforcement	ton	1,000	1,500.00	1,500,000	
	Others (20%)	1S.			1,222,640	
	Subtotal					7,335,840
2.70	TAILRACE					*
	Excavation					
	fixcavation, common	m3	9,000	3.50	31,500	
	Excavation, weathered rock	กเรี	9,000	6.00	54,000	
	Excavation, hard rock	m3	11,000	10.00	110,000	
	Concrete, structure	m3	3,500	140.00	490,000	
	Reinforcement	ton	100	1,500.00	150,000	
	Others (20%)	L.S.			167,100	
	Subtotal					1,002,600
	35374					444
2.80	ARCHITECTURAL BUILDINGS	m2	4,500	1,100.00	4,950,000	4,950,000
2.90	ACCESS ROAD	*		•		
	New construction	m.	55	600,000.00	33,000,000	-
	Upgraded	m	79	50,000.00	3,950,000	•
	Subtotal					36,950,000
3.00 ME	TAL WORKS					
	Penstock steel pipes	ton	2,700	5,000.00	13,500,000	
	Gates	ton	550	7,000.00	3,850,000	
				•		
	Subtotal					17,350,000
4.00 GE	NERATING EQUIPMENT	•				-
	Turbines	ton	780	18,700.00	14,586,000	
	Generators	ton	940	20,400.00	19,176,000	
	Transformers	MVA	98	4,100.00	401,800	
				4		
	Subtotal					34,163,800
	ANSMISSION LINES AND BSTATIONS	km	41	46,000.00	1,886,000	1,886,000
	Total of Direct Cost					234,753,292
6.00 LA	ND AQUISITION AND COMPENSATION	LS			0	11,737,665
100	MINISTRATION EXPENSES	LS	٠.	-	0	2,347,533
	GINEERING SERVICES	LS			. 0	16,432,730
			•			
9.00 PH	YSICAL CONTINGENCY	LS	•		0	23,475,329
	GRAND TOTAL		•		288,746,549	288,746,549

Subtotal

3,238,080

tem No.	Work Item	Unit			nount ?:(US\$)	
	DDCD LG LTODY WARVES					/ 22: 12
.00	PREPARATORY WORKS (10 % of Civil Works)	L.S.				6,231,49
00	CIVIL WORKS					
.10	DIVERSION TUNNEL					
	Open Excavation of Inlet &Outlet Open excavation,common	rn3	2,400	3.50	8,400	
	Open excavation, weathered rock	m3	2,400	6.00	14,400	
	Open excavation,hard rock Concrete of Infet & Outlet	m3 m3	4,000 1,600	10.00 140.00	40,000 224,000	
	Tunnel Excavation	m3	43,700	55.00	2,403,500	
	Tunnel Concrete	m3 m3	13,800 300	1,500.00	2,208,000 450,000	
	Reinforcement bar Plug Concrete	m3	2,300	160.00	368,000	
	Others (20%)	lS.			1,143,260	
	Subtotal					6,859,56
20	COFFER DAM					
	Excavation					
	Excavation,common Embankment	m3	47,900	3.50	167,650	
	Embankment, core	m3	73,400	5.00	367,000	
	Embankment, filter	m3	18,700	10.00 6.00	187,000 2,303,400	-
	Embankment, rock Others (20%)	m3 L.S.	383,900	0.00	605,010	
						3,630,00
	Subtotal				•	3,030,0
30	MAIN DAM					
	Excavation Excavation common	m3	155,400	3.50	543,900	
	Excavation weathered rock	m3	74,900	6.00	449,400	
	Excavation hard Embankment	m3	155,800	10.00	1,558,000	
	Embankment,core	m3	548,700	5.00	2,743,500	
	Embankment, filter	m3	127,500	10.00	1,275,000	
	Embankment rock Curtain Grouting	m3 m	3,050,000 19,400	6.00 70.00	18,300,000 1,358,000	
	Consolidation Grouting	no	4,500	90.00	405,000	
	Others (10%)	L.S.			2,663,280	
	Subtotal					29,296,0
10	SPILLWAY					
	Excavation			_1_		
	Excavation, common Excavation, weathered rock	тъ3 m3	116,300 168,300	3.50 6.00	407,050 1,009,800	
	Excavation, hard rock	m3	581,200	10.00	5,812,000	
	Concrete	m3	29,100	140.00	4,074,000	
	Reinforcement bars Others (20%)	tom L.S.	870	1,500.00	1,305,000 2,521,570	
	Subtosal					15,129,4
ю	WATERWAY		•			
ı	INTAKE					
•	Excavation					
	Excavation, common	m3	3,200	3.50	11,200	
	Excavation, weathered rock	m3 − m3	3,200 4,300	6.00 10.00	19,200 43,000	
	Excavation,hard rock Concrete,open structure	m3	4,800	140.00	672,000	
	Reinforcement	ton L.S.	150	1,500.00	225,000 194,080	
	Others (20%)	L.J.				
	Subtotal					1,164,4
2	HEADRACE TUNNEL					
	Excavation tunnel	m3 .	11,600	55.00	638,000	:
	Concrete, tunnel Reinforcement	m3 ton	3,800 40	160.00 1,500.00	608,000 60,000	
	Consolidation grout	a -	1,050	90.00	94,500	
	Curtain grout Backfill grout	m m3	320 80	70.00 200.00	22,400 16,000	
	Others (20%)	L.S.	••	20000	287,780	
	Subtotal					1,726,6
3	PENSTOCK	•				
	Excavation, unnel	m3	5,200	55.00	286,000	
	Concrete,tunnel	m3	2,000	160.00	320,000	
	Reinforcement	ton	40	1,500.00	60,000	
	Curtain grout Backfill grout	m3	0 70	70.00 200.00	0 14,000	
	Others (20%)	L.S.			136,000	
	Subtotal					816,0
נ	OPEN POWERHOUSE					
	Excavation		•			
	Excavation, common	m3	7,500	3.50	26,250	
			_			

	· ·					
	Excavation, weathered rock	m3	7,500	6,00	45,000	
	Excavation, hard rock	m3	10,000	10.00	100,000	
	Concrete, substructure	m3	7,100	250.00	1,775,000	
	Concrete, second stage	m3	1,800	140.00	252,000	
	Reinforcement	ton	470	1,500.00	705 000	
			410	1,500.00		
	Others (20%)	L.S.			580,650	
	Subtotal					3,483,900
2.70	TAILRACE					
	Excavation					
	Excavation.common	m3	1,000	3.50	3,500	
	Excavation, weathered rock	m3	1,000	6.00	6,000	:
	Excavation hard rock	m3	1,500	10.00	15,000	
	Concrete, structure		800			
		113		140.00	112,000	
	Reinforcement	ion	25	1,500.00	37,500	
	Others (20%)	L.S.			34,800	
	Subtotal					208,800
2.80	ARCHITECTURAL BUILDINGS	m2	1,000	1,100.00	1,100,000	1,100,000
25			•		• •	
2.90	ACCESS ROAD					
	New construction	1	. 0	400 000 00	Δ.	
	Upgraded	km km	79	600,000.00 50,000.00	0 3,950,000	
	opgrade	A411	"	30,000.00	3,730,000	
	Subtotal		*			3,950,000
3.00	METAL WORKS					
	Penstock steel pipes	ton	300	5,000.00	1,500,000	
	Gates	ton	50	7,000.00	350,000	
	, 4-1 -1			.,	,	
	Subsoral	,				1,850,000
4.00	GENERATING EQUIPMENT					
	Turbines	ton	200	18,700.00	3,740,000	
	Generators	ton	290	20,400.00	5,916,000	
	Transformers	MVA	50	4,700.00	235,000	
	TIMESTOTING!S	MIVA	50	4,700.00	233,000	
	Subtotal					9,891,000
					100	
5.00	TRANSMISSION LINES AND	km	2	46,000.00	92,000	92,000
	SUBSTATIONS					- 7
				4		
	Total of Direct Cost					85,429,478
6.00	LAND AQUISITION AND COMPENSATION	LS			0	4,271,474
3.00	Zan Agamentan into com propriet	2.5			."	
7.00	ADMINISTRATION EXPENSES	LS			0	854,295
8.00	ENGINEERING SERVICES	LS			0	5,980,063
9.00	PHYSICAL CONTINGENCY	LS			0	8,542,948
	GRAND TOTAL		1		105,078,258	105,078,258

.00	PREPARATORY WORKS	L.S.				7,004,6
.00	(10 % of Civil Works) CIVIL WORKS				•	
.10	DIVERSION TUNNEL					
	Open Excavation of Inlet & Outlet					
	Open excavation common	m3	2,400	3.50	8,400	
	Open excavation, weathered rock Open excavation, hard rock	m3 m3	2,400 4,000	6.00 10.00	14,400 40,000	
	Concrete of Inlet & Outlet	m3	1,600	140.00	224,000	
	Tunnel Excavation Tunnel Concrete	n:3 m3	46,300 14,600	55.00 160.00	2,546,500 2,336,000	•
	Reinforcement bar	m3	320	1,500.00	480,000	
	Plug Concrete	กา3 L.S.	2,300	160.00	368,000 1,203,460	
	Others (20%) Subtotal	L.G.			1,203,100	7,220,7
0	COFFER DAM					7,220,1
•	Excavation					
	Excavation common Embankment	m3	47,900	3.50	167,650	
	Embankment, core	m3	73,400	5.00	367,000	•
	Embankmert, filter Embankmert, rock	m3 m3	18,700 383,900	10.00 6.00	187,000 2,303,400	
	Others (20%)	L.S.	. 303,200	0.00	605,010	
	Subtotal					3,630,0
0	MAIN DAM					
	Excavation Excavation,common	m3	180,900	3.50	633,150	
	Excavation weathered rock	m3	81,600	6.00	489,600	
	Excavation hard Embankment	m3	168,600	10.00	1,686,000	
	Embankment, core	m3	654,300	5.00	3,271,500	
	Embankment, filter Embankment, rock	m3 m3	151,000 3,743,000	10.00 6.00	1,510,000 22,458,000	
	Curtain Grouting	m	21,400	70.00	1,498,000	
	Consolidation Grouting Others (10%)	m L.S.	4,800	90.00	432,000 3,197,825	
	Subtotal	L.U.			3,171,023	35,176,0
0	SPILLWAY	•				32,270,
-						
	Excavation Excavation common	m3	111,300	3.50	389,550	
	Excavation, weathered rock	· m3	159,900	6.00	959,400	
	Excavation hard rock Concrete	m3 m3	578,700 30,000	10.00 140.00	5,787,000 4,200,000	
	Reinforcement bars	torn	900	1,500.00	1,350,000	
	Others (20%)	L.S.	,		2,537,190	18000
n	Subtotal					15,223,
1	INTAKE					
-	Excavation					
	Excavation, common	m3	3,800	3.50	13,300	
	Excavation, weathered rock	m3 2	3,800	6.00 10.00	22,800 50,000	
	Excevation hard rock Concrete open structure	m3 m3	5,000 5,600	140.00	784,000	
	Reinforcement	ton L.S.	170	1,500.00	255,000 225,020	
	Others (20%)	L.a.			223,020	
_	Subtotal					1,350,
2	HEADRACE TUNNEL	•	14,000	55.00	770,000	
	Excavation, tunnel Concrete, tunnel	m3 m3	4,500	160.00	720,000	
	Reinforcement	ton	45	1,500.00	67,500	
	Consolidation grout Cunain grout	m m	1,150 350	90.00 70.00	103,500 24,500	
	Backfill grout	' m3	100	200.00	20,000	
	Others (20%)	L.S.			341,100	2011
	Subtotal					2,046,
}	PENSTOCK	•		•		
	Excavation,tumnel	m3	6,250	55.00	343,750	
	Concrete, tunnel Reinforcement	m3 ton	2,300 45	160.00 1,500.00	368,000 67,500	
	Curtain grout	m	. 0	. 70.00	0	
	Backfill grout Others (20%)	m3 L.S.	85	200.00	17,000 159,250	
	Subtotal					955,5
)	OPEN POWERHOUSE					
	Excavation					
	Excavation, common	m3	9,000	3.50	31,500	
		- 104 -				